
 
 

 

MONROE COUNTY 
BID PROPOSAL 

Division of Purchasing 
County Office Building, Room 200 

39 West Main Street 
Rochester, NY  14614 

(585) 753-1100 
 
BID PROJECT NUMBER:  0807-13   BID TITLE:  SWEEPSTER EQUIPMENT PARTS 
                       
BUYER:  Sharon A. Berndt    BID TIME:    11:00 AM     
PHONE:  (585) 753-1110     BID DATE:   September 6, 2013   
 

              
             BID SECURITY REQUIRED:        No: __X___ 
                                                                    Yes, in the amount of ___ as specified herein 
 

 

ITEM 
AND/OR 

GROUP NO. 

ESTIMATED 
ANNUAL 

QUANTITY 

 
 

ARTICLES OR SERVICES 

 
UNIT 

PRICE 

 
 

EXTENSION 

 
 

 
 
 

 
 
 
 
 
 

 
 
 
 
 

 
 

SWEEPSTER EQUIPMENT PARTS 
Per attached Specifications & 

Appendix A – Dexter Parts Pricing List 
Effective January 2, 2013 

 

 
DISCOUNT OFF PRICE LIST   __________% 

 
 

PLEASE SUBMIT TWO (2) COPIES OF BID 
PROPOSAL AT TIME OF BID OPENING. 

 
 

 
 
 
 
 
 

 
 
 
 
 
 
 
 
 

I have received, read and agree to the terms and conditions as set forth in General Terms and Conditions, Monroe County, attached, 
and any special terms and conditions set forth in the General and Technical Specifications herein.  I have read, understand and 

agree to all Instructions to Bidders (including the Non-Collusion Bidding Certification) on the reverse hereof.  I hereby recognize and 
agree that upon execution of this document by an authorized officer of Monroe County, that this document, together with the 

Contractor’s bid as accepted by Monroe County and all other documents prepared by or on behalf of Monroe County for this bid 
solicitation, shall become the binding contract between the parties for the services to be provided in accordance with the terms and 

conditions set forth herein. 

 
 

FIRM NAME       SIGNED BY        
 
ADDRESS         PRINTED NAME       
 
              TITLE         
 
FEDERAL ID NO.      PHONE NO.        
 
E-MAIL ADDRESS      FAX NO.        
____________________________________________________________________________________ _______ 

 
BID ACCEPTANCE AND CONTRACT AWARD 

The above bid is accepted, except as noted, and the contract is awarded to you for the following item(s): 
               
Authorization to furnish supplies/services will be made via Purchase Order, as appropriate, signed by the 
Monroe County Purchasing Manager, or designated agent.  Contract period from      
to     . 
 
Date:      BY:           
                                                                            Dawn C. Staub, Purchasing Manager, Monroe County





 1 
 

CERTIFICATION REGARDING 

DEBARMENT, SUSPENSION AND RESPONSIBILITY 

 

 

The undersigned certified, to the best of his/her knowledge and belief, that the Contractor and its 

principals: 

 

1. Are not presently debarred, suspended, proposed for debarment, declared ineligible or voluntarily 

excluded by any Federal department or agency; 

 

2. Have not within a three-year period preceding this transaction/application/ 

proposal/contract/agreement been convicted of or had a civil judgment rendered against them for 

commission of fraud or a criminal offense in connection with obtaining, attempting to obtain or 

performing a public (Federal, State or local) transaction or contract under a public transaction; 

violation of Federal or State antitrust statutes or commission of embezzlement, theft, forgery, 

bribery, falsification or destruction or records, making false statements or receiving stolen 

property; 

 

3. Are not presently indicted for or otherwise criminally or civilly charged by a governmental entity 

(Federal, State or local) with commission of any of the offenses enumerated in paragraph 2 of this 

certification and; 

 

4. Have not within a three-year period preceding this transaction/application/ 

proposal/contract/agreement had one or more public transactions (Federal, State or local) 

terminated for cause or default. 

 

 

 

Date: ____________________   _______________________________ 

                  [Print Name of Contractor] 

 

 

       By:  ___________________________ 

         [Signature] 

 

 

              ___________________________ 

         [Print Name] 

 

 

              ___________________________ 

         [Print Title/Office] 

 

 

VENDOR MUST COMPLETE THIS FORM AND SUBMIT WITH BID.  



 2 

TERMS AND CONDITIONS 

 

 

BID ITEM:  SWEEPSTER EQUIPMENT PARTS 

   

FOR:  Fleet Maintenance 

   

DEPARTMENT 

CONTACT: 

 Melvin Rose, (585) 753-7572 

   

DUPLICATE COPIES:  PLEASE SUBMIT YOUR BID IN DUPLICATE; THE ORIGINAL AND ONE (1) 

COPY. 

   

BID INFORMATION:  At the time of bid, the bidder shall supply detailed specifications covering the 

item(s) contained herein and shall clearly indicate any areas in which item or 

items offered do not fully comply with the specifications contained herein. 

   

SUBMITTAL OF  

FORMAL PROPOSAL: 

 Bid proposal must be legible and submitted in the original form, bearing an 

original signature. EMAILS AND FACSIMILES ARE NOT ACCEPTABLE. 

 

All bidders must submit proof that they have obtained the required Workers’ 

Compensation and disability benefits coverage or proof that they are 

exempt if awarded the contract. 

   

SPECIFICATION 

ALTERATIONS: 

 Specifications will be construed to be complete and be considered the entire 

description of the goods or services upon which Monroe County is now 

seeking bids. Only formal written addenda can materially alter this set of 

specifications. No verbal statement made by a Monroe County employee or 

anyone else is binding nor shall such statement be considered an official part 

of this public bid proposal. 

   

BRAND REFERENCE:  Any reference to a product by name or selection of specific price lists is done 

to establish the quality and performance characteristics required and to 

provide a standard price list by which discounts can be compared. Items of 

equal or better performance and quality will be considered. All bidders must 

take note that submission of a bid offering other than brand name products 

specified on the price list requires the following: 

 

1. Clearly state manufacturer's price list number, price column 

to discount, as well as the discount for the product you are 

offering. 

 

2. Alternate bids from price lists of other manufacturers must 

offer products which directly correspond and are exact 

replacements for those items originally referenced in the bid. 

Alternate price lists must provide a minimum coverage of 

90% of the items requested in the bid. 



 3 

 

  3. Include two (2) copies, at the time of the bid opening, of the 

alternate manufacturer's price list and catalog you are 

offering in your bid proposal. 

 

4. Bidders offering an alternate manufacturer must provide 

direct cross-references on an item-by-item basis. Failure to 

do so may result in rejection of the bid. Bidders will have two 

business days to respond to a cross-reference request by 

Purchasing. 

 

5. The acceptance of a bidder’s alternate rests solely with 

Monroe County. 

   

QUALIFIED BIDDER:  Each bidder must be prepared to present satisfactory proof of his capacity and 

ability to perform this contract. Such proof may include, but is not limited to, an 

inspection of the bidder’s facilities and equipment, financial statements, 

references and performance of similar contracts. The Purchasing Manager 

reserves the right to reject any bid where the bidder cannot satisfy the 

County as to their ability to perform. Monroe County reserves the right to 

reject any and all bids if the Monroe County Purchasing Manager deems said 

action to be in the best interests of Monroe County. 

   

METHOD  OF AWARD: 

 

 Monroe County intends to award a contract to the lowest responsible and 

responsive bidder. The lowest bid will be determined by applying 

discounts to price list column as indicated on the Discount Price Sheet. 

The County reserves the right to reject any and all bids if the Purchasing 

Manager deems said action to be in the best interest of the County. 

   

CONTRACT TERM:  Contract will start with the date of the contract award and run through 

September 30, 2014, with the option to extend the contract for up to four (4) 

additional twelve (12) month terms with the mutual consent of both parties. 

Discount to be firm throughout the term of the contract unless a better discount 

is negotiated at the time of any extension. 

 

In the event a manufacturer releases a new price list during the contract term, 

the contractor must provide the County with two (2) copies of the updated price 

list and catalogs at least one (1) week prior to its taking effect. The County will 

honor the manufacturer's price list in effect at the time the order is placed, 

providing the County is in receipt of such price list. 

   

MINIMUM ORDER:  No minimum order is specified for this contract. Agencies must be able to 

order as needed.  Political subdivisions and others authorized by law may 

participate in this contract. 

   



 4 

 

DELIVERY:  All deliveries to be F.O.B. Monroe County to agency as specified by a 

Purchase Order. Deliveries must be made within two (2) days after receipt of 

purchase order number. The County reserves the right to terminate the 

contract in the event the specified delivery time is not met. 

PURCHASE ORDER 

ISSUANCE: 

 Delivery of goods may be directed by the receipt of a Purchase Order only. 

Items that are not part of this bid will not be paid for by Monroe County. 

As to all purchase orders issued by Monroe County, exceptions may only be 

authorized, in writing, by the Purchasing Manager or her authorized agent prior 

to delivery. 

   

BILLING 

PROCEDURE: 

 All invoices for items sold any authorized agency as a result of this contract 

must be billed in the following manner: Purchase Order #, Quantity, 

Description of Item Purchased, Stock or Catalog #, List Price, Discount, 

Extension and Total. ALL INVOICES MUST BE MARKED WITH THE 

PURCHASE ORDER NUMBER.  INVOICES WITHOUT THIS INFORMATION 

WILL NOT BE PROCESSED FOR PAYMENT. 

   

WARRANTY 

GUARANTEE: 

 All warranties by manufacturer shall apply. Bidder shall, as part of its proposal, 

furnish its warranty/guarantee for all goods/services to be furnished hereunder. 

As a minimum, Bidder shall warrant all goods for a period of one (1) year from 

date of acceptance. Bidder shall be obligated to repair or replace all defects in 

material or workmanship which are discovered or exist during said period. All 

labor, parts and transportation shall be at Bidder's expense. 

   

UNCONTEMPLATED 

PURCHASES: 

 Monroe County reserves the right to request separate bids for such quantities 

of items on this contract that may be best procured via separate public bid 

offering and to otherwise act in furthering its own best interests. 

   

SUBCONTRACT:  The Contractor shall not subcontract any work without first obtaining the 

written consent of the Monroe County Purchasing Manager. 

   

RELATED ITEMS:  The County reserves the right to add miscellaneous related items to this 

contract during the contract term upon agreement by both parties as to the 

price. Pricing must be consistent with contract. Approval must be given in 

writing by the Purchasing Manager or her Designee. 

   

REPORT OF 

PURCHASE: 

 The Contractor must, upon request, provide the County Purchasing Manager 

with detailed information showing how much of each item was delivered, to 

any and all agencies under this contract. This includes deliveries to not only 

the County but any other municipality or agency which orders from this 

contract. 

   



 5 

 

OTHER AGENCIES:  The Contractor(s) must honor the prices, terms and conditions of this contract 

with political subdivisions or districts located in whole or in part within Monroe 

County. In addition, the contractor may, but is not required to, extend the 

prices, terms and conditions of this contract to any other political subdivision 

or district. Usage of this contract by any of these other political subdivisions or 

districts will have to be coordinated between that subdivision or district and the 

contractor. Orders placed against this contract between any subdivision or 

district will be contracts solely between the Contractor(s) and those entities. 

Monroe County will not be responsible for, nor will it have any liability or other 

obligation for, such contract between the Contractor(s) and any third party.  

INDEMNIFICATION:  The Contractor agrees to defend, indemnify and save harmless the County, its 

officers, agents, servants and employees from and against any and all liability, 

damages, costs or expenses, causes of action, suits, judgments, losses and 

claims of every name not described, including attorneys’ fees and 

disbursements, brought against the County which may arise, be sustained or 

occasioned directly or indirectly by any person, firm or corporation arising out 

of or resulting from the performance of the services by the Contractor, arising 

from any act, omission or negligence of the Contractor, its agents and 

employees or arising from any breach or default by the Contractor under this 

Agreement. Nothing herein is intended to relieve the County from its own 

negligence or misfeasance or to assume any such liability for the County by 

the Contractor. 
 

 

 

 

Terms & Conditions-Term Contract-Price List-Single Award.doc (8/03)

 



 6 

NOTICE OF JOB VACANCIES 

 

a) The contractor recognizes the continuing commitment on the part of Monroe County to assist 

those receiving temporary assistance to become employed in jobs for which they are qualified and the 

County's need to know when jobs become available in the community. 

 

b) The contractor agrees to notify the County when the contractor has or is about to have a job 

opening for a full time position within Monroe County or any contiguous county. Such notice shall be 

given as soon as practicable after the contractor has knowledge that a job opening will occur. The 

notice shall contain information that will facilitate the identification and referral of appropriate 

candidates in a form and as required by the Employment Coordinator. This would include at least a 

description of conditions for employment, including the job title and information concerning wages, 

hours per work week, location and qualifications (education and experience). 

 

c) Notice shall be given in writing to: 

Employment Coordinator 

Monroe County Department of Human and Health Services 

Rm 535 

691 St. Paul St. 

Rochester, NY 14605 

Telephone: (585) 753-6322  

Fax:        (585) 753-6308 
 

d) The contractor recognizes that this is an opportunity to make a good faith effort to work with 

Monroe County for the benefit of the community. Nothing contained in this provision, however, shall 

be interpreted as an obligation on the part of the contractor to employ any individual who may be 

referred by or through the County for job openings as a result of the above notice. Any decisions 

made by the contractor to hire any individual referred by or through the County shall be voluntary and 

based solely upon the contractor's job requirements and the individual's qualifications for the job, as 

determined by the contractor. 

 

e) If the contractor is a local municipality within Monroe County, said municipality shall be 

subject to the above subparagraphs, except that said municipalities shall not be required to give 

notice where the position is subject to a published civil service list. 

 

 

 

 

 

Notice of Job Vacancy - Purchasing 7-27-2009.doc 



 7 

COMPLIANCE WITH FEDERAL SINGLE AUDIT ACT 

 

 

In the event the Contractor is a recipient through this contract, directly or indirectly of any funds of or 

from the United States Government, Contractor agrees to comply fully with the terms and requirements of 

Federal Single Audit Act [Title 31 United States Code, Chapter 75], as amended from time to time. The 

Contractor shall comply with all requirements stated in Federal Office of Management and Budget Circulars A- 

102, A-110 and A-133 and such other circulars, interpretations, opinions, rules or regulations that may be 

issued in connection with the Federal Single Audit Act. 

 

If on a cumulative basis the Contractor expends Five Hundred Thousand and no/100 Dollars 

($500,000.00) or more in federal funds in any fiscal year, it shall cause to have a single audit conducted, the 

Data Collection Form (defined in Federal Office of Management and Budget Circular A-133) shall be 

submitted to the County; however, if there are findings or questioned costs related to the program that is 

federally funded by the County, the Contractor shall submit the complete reporting package (defined in Federal 

Office of Management and Budget Circular A-133) to the County. 

 

If on a cumulative basis the Contractor expends less than Five Hundred Thousand and no/100 Dollars 

($500,000.00) in federal funds in any fiscal year, it shall retain all documents relating to the federal programs 

for three (3) years after the close of the Contractor’s fiscal year in which any payment was received from such 

federal programs. 

 

All required documents must be submitted within nine (9) months of the close of the Contractor’s fiscal 

year end to: 

 

Monroe County Internal Audit Unit 

304 County Office Building 

39 West Main Street 

Rochester, New York 14614 

 

 The Contractor shall, upon request of the County, provide the County such documentation, records, 

information and data and response to such inquiries as the County may deem necessary or appropriate and 

shall fully cooperate with internal and/or independent auditors designated by the County and permit such 

auditors to have access to, examine and copy all records, documents, reports and financial statements as the 

County deems necessary to assure or monitor payments to the Contractor under this contract. 

 

 The County’s right of inspection and audit pursuant to this contract shall survive the payment of 

monies due to Contractor and shall remain in full force and effect for a period of three (3) years after the close 

of the Contractor’s fiscal year in which any funds or payment was received from the County under this 

contract. 

 

 
 
 

 
Audit Clauses for Purchasing 002.doc 



 8 

 

 
 
 
 
 

APPENDIX A 
 

 



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

01-0001C SET SECTION 24 P CONV* 214.00$        

01-0002 SECT 32 P FLAT 11.02$          

01-0002C SECT 32 P CONV 15.63$          

01-0003 SECT 36 P FLAT 14.60$          

01-0003C SECT 36 P CONV 25.67$          

01-0005C SET SECT 24 W CONV C48 240.00$        

01-0006 SECT 32 W FLAT 14.30$          

01-0006C SECT 32 W CONV 14.30$          

01-0007 SECT 36 W FLAT 14.00$          

01-0007C SECT 36 W CONV 14.00$          

01-0011 WELD CORE SECT C36 280.00$        

01-0012C SET SECT 24 P CONV C36 178.00$        

01-0013C SET SECT 24 C CONV*** C48 226.00$        

01-0014C SET SECT 24 W CONV C36 194.84$        

01-0015 SECT 24 W FLAT 10.09$          

01-0015C SECT 24 W CONV 10.00$          

01-0016C SET SECT 24 C CONV C36** 189.00$        

01-0017 SET SECT 24 P FLAT B60 273.01$        

01-0017C SET SECT 24 P CONV*** B60 276.00$        

01-0018C SET SECT 24 W CONV B60 303.23$        

01-0019C SET SECT 24 C CONV*** B60 293.00$        

01-0020 SET SECT 32 P FLAT 6 476.26$        

01-0020C SET SECT 32 P CONV 6 397.00$        

01-0021 SET SECT 32 W FLAT 6 612.05$        

01-0021C SET SECT 32 W CONV 6 469.00$        

01-0022 SET SECT 32 C FLAT 6 519.00$        

01-0022C SET SECT 32 C CONV 6 441.00$        

01-0025 WELD CORE SECT 6 HF LONG 554.00$        

01-0030C SET SECT 24 P CONV TR48 250.00$        

01-0032C SET SECT 24 C CONV 1MAT TR48 265.00$        

01-0079 SET SECT 32 P FLAT 7 AH/HF 559.82$        

01-0079C SET SECT 32 P CONV 7 465.00$        

01-0080 SET SECT 32 P FLAT 8 AH/HF 643.36$        

01-0080C SET SECT 32 P CONV 8 539.00$        

01-0081 SET SECT 32 C FLAT 7 AH/HF 640.00$        

01-0081C SET SECT 32 C CONV 7 499.00$        

01-0082 SET SECT 32 C FLAT 8 AH/HF 736.29$        

01-0082C SET SECT 32 C CONV 8 593.35$        

01-0083C SET SECT 32 W CONV 7 576.38$        

01-0084C SET SECT 32 W CONV 8 670.00$        

01-0085 WELD CORE SECT 6 HF SHORT 564.00$        

01-0092C SET SECT 36 C CONV MOBIL/WAYNE 649.37$        

01-0093C SET SECT 36 W CONV MOBIL/WAYNE 440.61$        

01-0094C SET SECT 36 P CONV ELGIN 436.75$        

1



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

01-0095C SET SECT 36 C CONV ELGIN 449.00$        

01-0146 SPACER 10 1.33$            

01-0147 SPACER 6 3/8 0.74$            

01-0171 SECT 36 10 P TYMCO 18.96$          

01-0172 SECT 36 10 W SLPD TYMCO 18.48$          

01-0186 GTRBRM 18 TP60 4HOLE 187.00$        

01-0188 GTRBRM VACALL 18 247.00$        

01-0200P TUBE BROOM ELGIN 954.55$        

01-0209 WELD CORE SECT 5 B60 HD 316.00$        

01-0220C SET SECT 32 P CONV 10 CH 670.00$        

01-0221C SET SECT 32 W CONV 10 CH 832.14$        

01-0222C SET SECT 32 C CONV 10 CH 762.00$        

01-0223 WELD CORE 10 CH 1,374.00$    

01-0224 WELD CORE 6 AH       *** 630.00$        

01-0249 WELD CORE C48 #40 SPKT 409.00$        

01-0250 WELD CORE SECT 7 CH 774.00$        

01-0265C SET SECT 36 P CONV TP60 422.83$        

01-0267C SET SECT 36 C CONV TP60 439.73$        

01-0268 WELD CORE 8 AH       *** 974.00$        

01-0272C SET SECT 32 P CONV 5HF 329.00$        

01-0273C SET SECT 32 W CONV 5HF 405.88$        

01-0274C SET SECT 32 1/2 CONV 5 HF 374.00$        

01-0276 WELD CORE 7 AH       *** 747.00$        

01-0277 WELD CORE SECT 5 558.00$        

01-0278 WELD CORE SECT 5 AH  *** 591.00$        

01-0287 WELD CORE 6 CH NEW STYLE 711.00$        

01-0318 SECT 36 10 5/8 P ELGIN 1 LUG 12.95$          

01-0331 SET SECT 10 5/8 P ELGIN 675.00$        

01-0340 SECT 24 P SLPD 14.39$          

01-0346 SECT 30 10 P FLAT 11.30$          

01-0347 SECT 30 10 W 13.72$          

01-0369 GTRBRM SNAPON WIRE MB 212.87$        

01-0383 WELD CORE 9 CH 1,204.00$    

01-0385 BRUSH STRIP 8 1/2x65 146.67$        

01-0426 WELD CORE 8 CH 980.00$        

01-0496 WELD CORE CP96 645.00$        

01-0496-1 WELD CORE CP84 684.00$        

01-0500 SET SECT 36 C CONV LNSTRPR 227.54$        

01-0501C SET SECT 30 6 3/8 P CONV CP96 619.00$        

01-0503C SET SECT 30 6 3/8 C CONV CP96 734.00$        

01-0506C SECT 30 6 3/8 P CONV 11.10$          

01-0507C SECT 30 6 3/8 W CONV 17.32$          

01-0509 WELD CORE 5 MRH 6 3/8 591.00$        

01-0510-1 WELD CORE 6 MRH 191.00$        

2



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

01-0523 GTRBRM ECOLO 13 WOODBACK WIRE 149.00$        

01-0530 SET SECT 32 P FLAT P108 699.00$        

01-0530C SET SECT 32 P CONV P108 602.00$        

01-0531C SET SECT 32 W CONV P108 746.88$        

01-0532C SET SECT 32 C CONV P108 685.00$        

01-0537C SET SECT 24 P CONV*** MRH 6 339.00$        

01-0538C SET SECT 24 W CONV MRH 6 372.22$        

01-0539C SET SECT 24 C CONV*** MRH 6 359.00$        

01-0545C SET SECT 24 W 16 279.36$        

01-0546C SET SECT 24 P 16 159.51$        

01-0550 WELD CORE C48 #50 SPKT 341.00$        

01-0551C SET SECT 32 PLY 6-7 CONVERSION 89.00$          

01-0553C SET SECT 32 1/2 6-7 CONVERSION 94.00$          

01-0554C SET SECT 32 PLY 6-8 CONVERSION 139.00$        

01-0555C SET SECT 32 WIRE 6-8 CONVERSION 170.53$        

01-0556C SET SECT 32 1/2 6-8 CONVERSION 151.92$        

01-0565C SET SECT 30 6 3/8 PLY CONV CP84 549.00$        

01-0567C SET SECT 30 6 3/8 1/2-1/2 CONV CP84 625.00$        

01-0575 SECT 15 5 P 1 PIN ECOLO/JOHNSTON 12.58$          

01-0586 SECT 18 4.4 WIRE CONV GRAVELY 12.46$          

01-0587 WELD CORE 12 SP 1,638.00$    

01-0610 WELD CORE HB60 655.00$        

01-0616 BRUSH STRIP 8 1/2x48 43.00$          

01-0617 SPACER 4.4 SECT WELDED 0.72$            

01-0621C SET SECT 32 PLY CONV 61 671.58$        

01-0628 SPACER 5 SECT 1.63$            

01-0629 SECT 24 7 P CONV 8.15$            

01-0630 SECT 24 7 W CONV 11.43$          

01-0640 WELD CORE 6 MRM 568.00$        

01-0650 SET SECT 24 P CONV 34 296.20$        

01-0650C SET SECT 24 P CONV 35 312.00$        

01-0651C SET SECT 24 C CONV HB60 332.00$        

01-0668 GTRBRM 16 JOHNSTON600 200.00$        

01-0669 GTRBRM 4 SEGMENTS WIRE THREADED HOLES 272.87$        

01-0671P TUBE BROOM ELGIN EAGLE 996.58$        

01-0674 SECT 15 5 W 1 PIN ECOLO/JOHNSTON 12.58$          

01-0678 SECT 18 4.4 PLY FLAT GRAVELY 8.56$            

01-0679 SECT 18 4.4 WIRE FLAT GRAVELY 16.29$          

01-0692 SECT 21 6 3/8 WIRE CONV 15.00$          

01-0704 GTRBRM ECOLO 13 WOODBACK PLY 149.00$        

01-0715 SET SECT 32 P CONV HBA84 477.00$        

01-0716 SET SECT 32 C CONV HBA84 541.00$        

01-0723 SECT 18 4.4 P SLOPED 8.46$            

01-0734P GTRBRM 18 P TP60 288.00$        

3



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

01-0739 SECT 32 W FLAT HVYF 1 LUG 18.00$          

01-0740C SECT 32 W CONV HVYF 24.00$          

01-0743 SECT 20 5 P FLAT 12.58$          

01-0744C SECT 24 7 P CONV 1PIN BALDERSON 8.91$            

01-0745 SECT 24 7 W FLAT 1P 12.00$          

01-0745C SECT 24 7 W CONV 1PIN BALDERSON 12.00$          

01-0748 SET SECT 18 P M18 220.00$        

01-0749 SET SECT 18 C M18 261.00$        

01-0768 SECT 21 6 3/8 P  FLAT 9.66$            

01-0770 BRUSH STRIP 8 1/2x92 79.00$          

01-0783 SECT 24 7 P FLAT 1P HVY DBL MAT 8.97$            

01-0784 SET SECT TUFT STRIP 11x40 P MDB 514.00$        

01-0793 SET SECT 21 6 3/8 CONV 18P 17W 434.36$        

01-0803 SET SECT 24 P CONV S24P4 232.00$        

01-0804 SET SECT 24 C CONV S24C4 246.00$        

01-0805 SET SECT 24 P CONV S24P5 293.00$        

01-0806 SET SECT 24 C CONV S24C5 312.00$        

01-0807 SET SECT 24 P CONV S24P6 357.00$        

01-0808 SET SECT 24 C CONV S24C6 378.00$        

01-0823 SET SECT 36 10 P TYMC0 SPEC BX 549.00$        

01-0825 SET SECT 24 P CONV HB72 374.00$        

01-0826 SET SECT 24 C CONV HB72 397.00$        

01-0829 SPACER 7 0.77$            

01-0831 SECT 21 6 3/8 W CONV HF USE 01-0015C TRI 15.03$          

01-0844 SECT 30 10 P CONV 2LUG USE 01-5002C-TRIM 14.88$          

01-0845 SECT 30 10 W CONV 2LUG USE 01-0006C-TRIM 18.08$          

01-0848 SECT 26 8 W CONV 14.00$          

01-0849 SET SECT P SB 48 277.00$        

01-0851 SET SECT P SB 60 337.00$        

01-0852 SET SECT C SB 60 392.77$        

01-0853 SET SECT P SB 72 377.00$        

01-0854 SET SECT C SB 72 439.00$        

01-0862 SECT 24 7 W FLAT 1P HVYF 10.45$          

01-0866 SET SECT 30 6 3/8 C S30C5 467.00$        

01-0872 SET SECT 26 P CONV HB48B 305.00$        

01-0873 SET SECT 26 P CONV HB60B 327.00$        

01-0874 SET SECT 26 P CONV HB72B 387.00$        

01-0875 SET SECT 26 C CONV HB48B 299.42$        

01-0876 SET SECT 26 C CONV HB60B 383.08$        

01-0877 SET SECT 26 C CONV HB72B 453.09$        

01-0910 ***STRIP BRSH PLASTIC 24 11 IN TRIM 19.26$          

01-0911 ***STRIP BRSH PLASTIC 36 11 IN TRIM 20.53$          

01-0915 SET BRSH ALL PRO PB 7FT 734.47$        

01-0921 SET SECT 30 6 3/8 C S30C6 556.91$        

4



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

01-0923 SET SECT 26 P CONV 5 M26 300.33$        

01-0924 SET SECT 26 C CONV 5 M26 359.75$        

01-0930 SET SECT 32 10 P/W COMBO CONV 6FT 446.00$        

01-0931 SET SECT 32 10 P/W COMBO CONV 7FT 534.00$        

01-0932 SET SECT 32 10 P/W *** CONV 6-8 CONVERSI 152.00$        

01-0933 SET SECT 32 10 P/W *** CONV COMBO 8FT 605.00$        

01-0933P SET SECT 32 10 P/W CONV COMBO 8 FT NONS 1,034.00$    

01-0945 SET SECT 24 C CONV 8FT SPEC 463.63$        

01-0955 SECT 21 6 3/8 P/W CONV TRIM TO 21" 13.24$          

01-0959 SET SECT COMBO 6-7 CONVERSION 99.00$          

01-0960 SECT 30 10 P/W CONV 13.93$          

01-0974 SET SECT 36 P MHP3 213.11$        

01-0984 SECT 24 6 3/8 P/W CONV 12.00$          

01-0987 SET SECT 32 P/W FLAT COMBO 2FT 189.19$        

01-0994 SET SECT 26 P CONV 4 M26 242.21$        

01-0995 SET SECT 26 C CONV 4 M26 289.74$        

01-1010 SET SECT 26 W CONV 218.40$        

01-1011 SET SECT 26 P CONV 164.72$        

01-1031 SECT 27 10 P FLAT 1 LUG 12.00$          

01-1032 SECT 27 10 W FLAT 1 LUG 15.00$          

01-1034 SET SECT 32 P FLAT 8 RED 959.64$        

01-1070C SET SECT 24 P CONV 4FT HVYFILL 209.10$        

01-1074 WELD CORE C36 TENT SPEC 606.00$        

01-1080 SET SECT 22 6 3/8 C CONV 6FT 21P 19W 483.34$        

01-1083 SECT 30 6 3/8 M CONV 12.17$          

01-1085 SET SECT 32 10 MIXED CONV 5FT 361.29$        

01-1086 SECT 30 8 W CONV 14.13$          

01-1148 SET SECT 32 10 P/W CONV P108 682.00$        

01-1156 SET SECT 26 P/W COMBO CONV HB60B 392.00$        

01-1157 SET SECT 26 P/W COMBO CONV HB72B 463.00$        

01-1158 SET SECT P/W COMBO SB 48 333.00$        

01-1159 SET SECT P/W COMBO SB 60 404.00$        

01-1160 SET SECT P/W COMBO SB 72 474.00$        

01-1161 SET SECT 26 P CONV SB60PBKT 347.00$        

01-1162 SET SECT 26 P  CONV SB72PBKT 406.00$        

01-1163 SET SECT 26 P CONV SB84PBKT 486.00$        

01-1167 SET SECT 26 P/W COMBO CONV SB60MBKT 416.00$        

01-1168 SET SECT 26 P/W COMBO CONV SB72MBKT 487.00$        

01-1169 SET SECT 26 P/W COMBO CONV SB84MBKT 582.00$        

01-1171 SET SECT 26 C CONV SB72CBKT 476.08$        

01-1173 SET SECT 24 P CONV WSP 157.00$        

01-1176 SET SECT 24 C CONV WSP 170.00$        

01-1177 SECT 28 W CONV 26.38$          

01-1182 SECT 18 5 P FLAT 26.00$          

5



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

01-1191 SET SECT 10 36 POLY 14FT 1100 SERIES 1,381.67$    

01-1195 SET SECT 10 36 1/2 & 1/2 14FT 1100 SERIE 1,473.79$    

01-1196 SET SECT 10 36 1/2 & 1/2 16FT 1100 SERIE 1,493.61$    

01-1204 SET SECT 36 M CONV 10FT 214 SERIES 1,301.16$    

01-1209-6 SET SECT 32 10 M CONV 220 SERIES 6FT 432.87$        

01-1209-7 SET SECT 32 10 M CONV 220 SERIES 7FT 507.53$        

01-1209-8 SET SECT 32 10 M CONV 220/221 SERIES 8FT 582.20$        

01-1210-6 SET SECT 32 10 P CONV 220 SERIES 6FT 388.74$        

01-1210-7 SET SECT 32 10 P CONV 220 SERIES 7FT 455.38$        

01-1210-8 SET SECT 32 10 P CONV 220/221 SERIES 8FT 522.01$        

01-1210-9 SET SECT 32 10 P CONV 220/221 SERIES 9FT 870.70$        

01-1211-10 SET SECT 36 10 M CONV 22 SERIES 10FT 869.00$        

01-1211-12 SET SECT 36 10 M CONV 22 SERIES 12FT 1,039.00$    

01-1211-7 SET SECT 36 10 M CONV 22 SERIES 7FT 923.64$        

01-1211-8 SET SECT 36 10 M CONV 22 SERIES 8FT 704.89$        

01-1212-10 SET SECT 36 10 P CONV 22 SERIES 10FT 743.00$        

01-1212-12 SET SECT 36 10 P CONV 22 SERIES 12FT 896.00$        

01-1212-7 SET SECT 36 10 P CONV 22 SERIES 7FT 513.21$        

01-1212-8 SET SECT 36 10 P CONV 22 SERIES 8FT 588.31$        

01-1213-8 SET SECT 32 10 W CONV 220/221 SERIES 8FT 808.24$        

01-1214-8 SET SECT 32 10 C CONV 220 SERIES 8FT 799.48$        

01-4036 CORE SPEC 80x10 1/4 STRIP 1,248.00$    

01-4105 WELD CORE M24 ARIENS 288.00$        

01-4126 TUBE BRSH SMITHCO QC POLY 77.5x35 657.69$        

01-4140 TUBE BRSH 36 59 POLY HEX DRV BLK 1,736.00$    

01-4147 CORE SPEC 95x10 1/4 STRIP 961.00$        

01-4150 WELD TUBE BRSH 36 95 P BLACK W/HEX DRIVE 1,323.00$    

01-4152 TUBE BROOM 8FT 10x32x46 COMBO 2PC 1,498.18$    

01-4153-6 TUBE BROOM IND P/W 10x32x71.0 W/1.0 SPAC 1,105.00$    

01-4153-7 TUBE BRSH IND P/W 10X32X 83.0 W/1.0 SPAC 1,163.00$    

01-5002 SECT 32 10 P FLAT HVY FILL BLACK 12.00$          

01-5002C SECT 32 P CONV HVY FILL BLACK 11.00$          

01-5003 SECT 36 10 P FLAT HVY FILL BLACK 12.00$          

01-5003C SECT 36 10 P CONV HVY FILL BLACK 13.00$          

01-5009 SECT 24 6 3/8 P FLAT HVY FILL BLACK 8.82$            

01-5009C SECT 24 P CONV HVY FILL BLACK 8.92$            

01-5010 SECT 26 8 MIXED CONV HVY FILL BLACK 12.00$          

01-5011 SECT 30 8 P CONV HVY FILL BLACK 11.10$          

01-5012 SECT 30 8 MIXED CONV HVY FILL BLACK 12.44$          

01-5014C SECT 36 10 MIXED CONV 15.00$          

01-5015 SECT 36 10 P 1 LUG FLAT HVY 11.83$          

01-5027 SECT 28 1/2x6 3/8 P CONV HVY FILL BLACK 15.84$          

01-5028 SECT 28 1/2x6 3/8 W CONV 28.03$          

01-5029 SECT 18 6 3/8 P CONV HVY FILL 13.73$          

6



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

01-5030 SECT 28 P CONV 21.80$          

01-5031 SET SECT 36 10 M 10FT HR/213 847.14$        

01-5041P SECT 27 10 M FLAT 13.48$          

01-5045 SET SECT 30 8 MIXED CONV 6FT 485.32$        

01-5171 SECT 36 10 P TYMCO PVM 18.96$          

01-5203 SECT 27 10 P FLAT 2 LUG USE 01-5002-TRIM 12.71$          

01-5210 SECT 26 8 P CONV HVY FILL BLACK 9.91$            

01-5211 SECT 24 8 P CONV HVY FILL BLK 1 PIN 15.02$          

01-5585 SECT 18 4.4 P CONV BLK 8.46$            

01-5675 SECT 21 6 3/8 PLY CONV HVY FILL BLUE 8.92$            

01-5768 SECT 21 6 3/8 P FLAT BLUE HVY FILL 8.92$            

01-5774 SECT 32 10 P FLAT 1 LUG 10.71$          

01-5878 SECT 32 10 MIXED CONV HVY FILL BLK 13.00$          

01-5988 SECT 32 10 MIXED FLAT HVY FILL BLK 22.11$          

01-9048-1 TUBE BRSH JOHNSTON 600 POLY RED .060 328.00$        

01-9048-2 TUBE BRSH JOHNSTON 600 POLY BLUE .060 328.00$        

01-9054 TUBE BRSH STEINER 54 349.70$        

01-9056 TUBE BRSH TYMCO 600 POLY 348.93$        

01-9058 TUBE BRSH VAC-ALL POLY/WIRE 328.00$        

01-9061 TUBE BRSH IND 71x12 3OD POLY 277.20$        

01-9062-1 TUBE BRSH SCHWARTZ 71x18 3OD BLACK MAT 567.00$        

01-9093 ***STRIP BRSH PLASTIC 47.5"x10 1/4" TRIM 44.73$          

01-9095 ELGIN STRIP REFILL 66 PELICAN 18 EA 806.17$        

01-9140 TUBE BRSH ELGIN CROSSWIND 361.44$        

01-9142-2 TUBE BRSH ELGIN WHRLWIND POLY/WIRE .060 345.00$        

01-9143 TUBE BRSH GRAVELY 44 POLY SQ DRIVE 264.00$        

01-9143R TUBE BRSH GRAVELY 44 P SQ DRV WRAP CUST 156.33$        

01-9144 TUBE BRSH GRAVELY 44 POLY/WIRE SQ DRIVE 321.42$        

01-9189-1 TUBE BRSH IND SPEC PW 10DIA WRAP ON CORE 500.26$        

01-9230 TUBE BRSH IND 42 TENNANT POLY WRAP ON CU 206.36$        

01-9247 TUBE BRSH ELGIN WW MV 53.75 POLY/WIRE 345.00$        

01-9251 TUBE BRSH ELGIN WW MV POLY 285.00$        

01-9254 TUBE BRUSH GRAVELY 44 WIRE SQ DRIVE 387.70$        

01-9262 TUBE BRSH RAD 54.375** X21 POLY 419.00$        

01-9263P TUBE BRSH RAD 54x20 POLY/WIRE 858.00$        

01-9266 SET SECT 32 M CONV BDA5 386.22$        

01-9267 SET SECT 32 P CONV BDA5 540.00$        

01-9268 SET SECT 32 M CONV BDA6 460.96$        

01-9269 SET SECT 32 P CONV BDA6 410.92$        

01-9270 SET SECT 32 M CONV BDA7 535.69$        

01-9271 SET SECT 32 P CONV BDA7 477.54$        

01-9272 SET SECT 32 M CONV BDA8 624.00$        

01-9273 SET SECT 32 P CONV BDA8 557.00$        

01-9274 SET SECT 26 M CONV HBC62 406.41$        

7



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

01-9275 SET SECT 26 P CONV HBC62 339.09$        

01-9276 SET SECT 26 M CONV HBC74 476.41$        

01-9277 SET SECT 26 P CONV HBC74 397.21$        

01-9278 SET SECT 26 M CONV HBC84 562.00$        

01-9279 SET SECT 26 P CONV HBC84 465.00$        

01-9315 ASSY TUBE BRSH PERPERATOR FFC 50IN 456.50$        

01-9316 ASSY TUBE BRSH PREPERATOR FFC 62IN 1,417.00$    

01-9317 ASSY TUBE BRSH PREPERATOR FFC 72IN 1,576.00$    

01-9319 SET SECT 32 M CONV BDA/BS9 701.00$        

01-9321 SET SECT 26 M CONV BS26 8 634.00$        

01-9322 SET SECT 26 P CONV BS26 8 525.00$        

01-9354 BRUSH STRIP 4x48 50.00$          

01-9370 SET SECT 26 P CONV HBC72 397.00$        

01-9371 SET SECT 26 M CONV HBC72 478.00$        

01-9378 TUBE BRUSH 54x15.030 .5 PITCH W/SHAFT  D 556.93$        

02-0131 BATCH 1/2 F/13-2218 WELD PLATE SWING LA 217.00$        

03-0001B-1 ROD CYL F/03-1928-1 141.00$        

03-0011 HOSE .25x36 4MP-4MP 3.25K 29.00$          

03-0016 ELBOW 90 12FPX-12MP 29.00$          

03-0018 ELBOW 90 4FP-8MP 20.13$          

03-0021 QD 12 PP F 12FP 43.00$          

03-0022 QD 12 PP M 12FP 25.00$          

03-0028 ELBOW 90 16FP-16MP BP LOW PRESSURE 8.24$            

03-0029 ELBOW 90 12FP-12MP BP LOW PRESSURE 3.90$            

03-0039 FTG 12FP-12MP 15.78$          

03-0045 ELBOW 90 4MP-4FP 12.25$          

03-0067 QD 8 PP M 8FP 23.00$          

03-0068 QD 8 PP F 8FP 22.00$          

03-0072 VALVE CRTG DCV 8 15GPM 2P-1W 125.00$        

03-0076 NIPPLE 6MP-6MP BP CLOSE 5.24$            

03-0129 VALVE RV 12FP 30GPM 3K 169.00$        

03-0152 NIPPLE 8MP-8MP BP CLOSE 3.70$            

03-0172 FTG 8FP-10MB 7.32$            

03-0174 HOSE .25x18 4MP-4MP 3.25K 31.00$          

03-0181 ELBOW 90 6FP-6MP 5.15$            

03-0195 FTG 4FP-4MP 4.91$            

03-0197 ELBOW 90 8FP-10MB 12.28$          

03-0371 SYS HYD MONARCH 12V M-681-0101 2000PSI 2,099.00$    

03-0376 ELBOW 90 12FP-16MB 123.00$        

03-0400 HUB TAPER 16170 PAINTED CH2000 58.00$          

03-0418 QD 4 PP M 4FP 12.64$          

03-0419 QD 4 PP F 4FP 25.00$          

03-0441 HOSE .50x18 8MP-8MP 3.5K 35.00$          

03-0454 BARB 4-2MP90 4.46$            

8



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

03-0457 BARB 6-6MP NYL 3.72$            

03-0458 ELBOW 90 8MB-12FP 41.00$          

03-0572 FTG 12FP-20MP BP 6.18$            

03-0573 FTG 12MB-12MB 15.67$          

03-0577 ELBOW 90 12FP-12MB 21.00$          

03-0593 NIPPLE 2MP-2MP BP CLOSE 3.55$            

03-0597 PUMP 9.9 CID FPTO CW 21 GPM 1,436.00$    

03-0597A KIT SEAL PUMP PTO F/03-0597 & 03-0691 265.00$        

03-0601 VALVE 2SPL RUN/SWG W/HANDLES PAINTED 992.00$        

03-0602 VALVE 3WAY 1SPL LIFT W/HANDLES W/RELIEF 670.00$        

03-0602P VALVE 3WAY 1SPL LIFT W/HANDLES W/RELIEF 650.00$        

03-0636 ELBOW 90 4FP-10MB 26.00$          

03-0665 HANDLE VALVE GRESEN  *** AHH/CHH NO HOLE 66.00$          

03-0666 KIT PIN CLIP F/MOUNTING 03-0665 HANDLE 33.00$          

03-0676 COOLER 18000BTU 2-12GPM 1/2NPT 406.00$        

03-0680 CYL ASSY 3.00x1.13x4.50 CROSS TUBE 347.00$        

03-0691 PUMP 5.7 CID FPTO CW 11.4 GPM 1,378.00$    

03-0692 MOTOR 18.7 CID 1.25 TPR WHEEL EATON 1,303.00$    

03-0709 BARB 16-12MB90 25.00$          

03-0710 BARB 20-16MB90 82.00$          

03-0714 BARB 10-8MP90 21.00$          

03-0727 PLUG DUST 8 PP 3.64$            

03-0729 CAP DUST 8 PP F/03-0067 2.98$            

03-0744 FILTER HYD 25M 1 IN 12MNT 547 SQ IN MEDI 25.00$          

03-0745 FILTER HEAD 1-12MNT 25GPM 3/4NPT PORTS 37.00$          

03-0784 CLAMP HYD METAL 2 POS 13.79$          

03-0785 CLAMP HYD METAL 3 POS 13.79$          

03-0788 NUT STAKE SOC HD 6.84$            

03-0804 ELBOW 90 8FP-8MCOMP 39.00$          

03-0819 FTG 6FP-8MP 11.28$          

03-0824 TEE 8FORT-8FORT-6FP 42.00$          

03-0858 ELBOW 90 6MB-8FP 8.42$            

03-0871 ELBOW 90 4FP-6MB 20.19$          

03-0898 FTG 4FP-6MB 7.22$            

03-0899 FTG 10MB-12FP 25.00$          

03-0912 PUMP .97 CID .62 9T 2BOLT-A CW 778.00$        

03-0928 KIT SEAL CYL F/03-1928/ 1929/2284/2771/3 49.00$          

03-0938 FTG 12MB-12MP 16.59$          

03-0978 FTG 2FP-2FP BP 5.24$            

03-0992 TEE 12FP-12FP-12MP 47.00$          

03-10006 HOSE .50x120 10MB-12MB 3.5K HS 118.00$        

03-10015 MANF AL 12V WEATHEPACK HYD 3-LINE F/HF 1,402.00$    

03-10016 MANF AL 12V WEATHERPACKHYD 5-LINE F/HF 1,494.00$    

03-10019 HOSE .25x13.2 6FJ-6FJ 5K 23.00$          

9



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

03-10025 HOSE .63x78 10FJ-12MB HS 86.00$          

03-10029 HOSE .25x42.5 4FFS-4FFS45 5K HS 46.00$          

03-10030 HOSE .25x47 4FFS-4FFS45 5K HS 48.00$          

03-10031 HOSE .25x19 4FFS-4FFS90 5K HS 40.00$          

03-10032 HOSE .25x29 4FFS-4FFS90 5K HS 81.00$          

03-10033 HOSE .25x61 4FFS-4FFS90 5K HS 112.00$        

03-10036 TEE 4MFS-4FFS-4MFS 22.00$          

03-10040 #8 SOLENOID 3PAW TANDEM CENTER 119.00$        

03-10041 SOLENOID VALVE (WK08K-01 -C-N-0) 140.00$        

03-10042 SOLENOID VALVE (WK08P-01 -C-N-0) 140.00$        

03-10043 COIL 12VDC W/ WEATHERPACK CONN 42.00$          

03-10044 HOSE .25x72 6FJ-6FJ 5K 53.00$          

03-10045 HOSE .25x60 6FJ-6FJ 5K 47.00$          

03-10054 MOTOR 4.0 CID 1.25 TPR WHEEL 1,649.00$    

03-10077 MOTOR 17.1 CID 14T 2BOLT AUGER PARKER TF 864.00$        

03-1010 FILLER ASSY AB-1000-3 W/MAGNET 61.00$          

03-10108 HOSE .25x50 6FFS-6FFS 5.8K HS 42.00$          

03-10111 HOSE .38x79 6FFS-8MB 4K HS 44.00$          

03-10122 MOTOR PISTON 2.48 CID .50 13T 2BOLT-B 1,618.00$    

03-10137 ELBOW 90 6MB-8MFS 13.93$          

03-10143 QD 6 FF F 6FB 86.00$          

03-10144 QD 6 FF M 6FB 37.00$          

03-10151 WIRE HARNESS STD FLOW JD OEM SSL 358.00$        

03-10161 HOSE .50x88 10FFS-10MB 4K HS 83.00$          

03-10165 WIRE HARNESS ADAPTER 14 PIN JD EH CONTRO 371.00$        

03-1022-10 FTG 12MP-12MP 6.45$            

03-1022-7 FTG 8MP-8MP 8.24$            

03-1039 ELBOW 90 12FP-12MP LOW PRESSURE 21.00$          

03-1056 KEY 5/16x1 CHAR2000 MTR 24.00$          

03-1068-13 FTG 12FP-16MP 7.54$            

03-1068-9 FTG 8FP-12MP 13.34$          

03-1069-4 ELBOW 90 4FP-4MP 10.83$          

03-1074 GAUGE SIGHT HYD LENZ T550-5 88.00$          

03-1077 HOSE .75x18 12MP-12MP 2.25K 30.00$          

03-1140 CYL ASSY 2.50x.75x2.00 CROSS HOLE .38 294.00$        

03-1158 MOTOR 17.9 CID 1.00 STR 4HOLE WHITE 699.00$        

03-1182-1 PLUG SQ HEAD 2P 1.03$            

03-1182-3 PLUG SQ HEAD 6P 1.47$            

03-1182-4 PLUG SQ HEAD 8P 2.22$            

03-1182-6 PLUG SQ HEAD 16P BP 3.09$            

03-1182-7 PLUG SQ HEAD 20P BP 3.09$            

03-1197 TUBE HYD 1/2x18GA BULK WELDED PLD 7.96$            

03-1226 BARB 10-8MP 13.04$          

03-1235 FTG 16FP-16FP BP 10.30$          

10



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

03-1272 KIT RELIEF GRESEN K-2030 278.00$        

03-1299 MOTOR PISTON 3.32 CID 4BOLT-C EATON*** 5,309.00$    

03-1312 TEE 12FP-12FP-12FP 26.00$          

03-1314 VALVE CV 12FP-12FP 20GPM 3K 83.00$          

03-1318 KIT SEAL CYL F/03-1317 03-1851 28.00$          

03-1326 PUMP FLOJET WATER 2.1GPM 12V 7.0AMP 35PS 328.00$        

03-1328 MOTOR 17.9 CID 1.00 6B 2BOLT 1,273.00$    

03-1331 FILTER HYD 10M 1-1/2 IN 16MNT 950 SQ IN 39.00$          

03-1332 KIT SEAL VALVE GRESEN K-2001 40.00$          

03-1334 SPACER A FLG ALUMINUM 126.00$        

03-1362 KIT SEAL 2000 CHAR 61252 124.00$        

03-1372 SEAL 2.25x3.280x.375*** AFTER 9/92 SEE 0 47.00$          

03-1390 PLUG HEX HEAD 4P VENT 27.00$          

03-1392 VALVE BALL BR 8FP-8FP 30.00$          

03-1395 CARTRIDGE VALVE DELTA 228.00$        

03-1396 CARTRIDGE VALVE DELTA 155.00$        

03-1407 MOTOR PISTON 7.62 CID 2900 EATON 6,866.00$    

03-1409 KIT SEAL MOTOR ADAN *** MRH F/03-1353/03 68.00$          

03-1411 VALVE SELECTOR 3/8 DELTA 191.00$        

03-1414 COOLER 74 000BTU 30GPM** 663.00$        

03-1415 FILTER SUMP ASSY     *** MP 250S 1,526.00$    

03-1416 FILTER ELE SUMP****** USE FOR DAIICHI ON 296.00$        

03-1420 VALVE NEEDLE BR 4FP-4FP 90.00$          

03-1422 KIT SEAL F/03-1421 CYL 66.00$          

03-1423 QD 4 PP M 4FP 18.43$          

03-1427 TEE 16FP-16FP-16FP BP 8.24$            

03-1433 PUMP .878 CID .75 STR 2BOLT-A CW 996.00$        

03-1434 PUMP .878 CID .75 STR 2BOLT-A CCW 991.00$        

03-1435 FTG 16FP-24MB 24.00$          

03-1457 BARB 20-20MB45 89.00$          

03-1472 KIT SEAL CYL 03-0015 54.00$          

03-1481 ELBOW 90 4FP-8MCOMP 30.00$          

03-1483 NUT CYL F/03-0007 14.90$          

03-1509 KIT SEAL VALVE DELTA F/ 03-1395/96&07-30 34.00$          

03-1520 PLUG HEX HEAD 16B 11.17$          

03-1521 TEE 8FB-8FB-4FP 39.00$          

03-1529 SEAL SHAFT 1 1/4x2x7/16 53.00$          

03-1535 SOLENOID REXROTH 12V 5403-580 1,145.00$    

03-1558 FTG HOSE STEM 4-4MP 10.86$          

03-1585 FTG HOSE STEM 12-12MP 24.00$          

03-1608 FTG HOSE STEM 16-16FL90 FLG 53.00$          

03-1610 ELBOW 90 8FP-10MCOMP 37.00$          

03-1611 TUBE HYD 5/8x18GA ANNLD SAE # J 525 20.09$          

03-1612 TEE 10MCOMP-10MCOMP-8FP 63.00$          

11



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

03-1647 HOSE .25x18.5 4MB-8MP 3K 46.00$          

03-1648 MOTOR PISTON 7.63 CID 1.75 13T 4BOLT 7,752.00$    

03-1661 VALVE CARTRIDGE NO 297.00$        

03-1662 VALVE CARTRIDGE NC 185.00$        

03-1666 FILLER ASSY BF16S15100 E XT 164.00$        

03-1678 FTG 4FP-4MP W/.040 ORF 21.00$          

03-1701 BARB 5-4MP BR 3.27$            

03-1709 BARB 10-6MP NYL 5.98$            

03-1718 KIT SEAL CHAR DESIGN 006 F/03-0692 MOTOR 110.00$        

03-1733 SYS HYD********** MONARCH HORIZ M682 2,080.00$    

03-1734 MOTOR 11.9 CID 1.25 TPR WHEEL C-LYNN 3,016.00$    

03-1737 SEAL OIL 1.875x3.165x.72 9316 47.00$          

03-1738 CYL ASSY 3.00x1.13x7.50 2.5K BALL BALL 222.00$        

03-1746 COIL 12V DELTA F/1690/1691 47.00$          

03-1762 QD 6 PP F 6FP 46.00$          

03-1763 QD 6 PP M 6FP 21.00$          

03-1776 VALVE DCV 6 15.8GPM 2P-4W 3,961.00$    

03-1777 VALVE DCV 6 15.8GPM 3P-4W 596.00$        

03-1778 VALVE DCV 6 15.8GPM 3P-4W 630.00$        

03-1779 KIT SEAL RR F/03-1777 91.00$          

03-1780 SOLENOID 12V ASSY*** F/03-1777 92.00$          

03-1785 FTG 4FP-8MB 10.26$          

03-1795 HOSE .50x96 8MB90-8MP 3K AR 67.00$          

03-1812 STRAINER ASSY 141 *** MICON PAINTED 923.00$        

03-1815 TEE 12MJ-12MJ-12MB 31.00$          

03-1816 VALVE CV 12FB-12FB 30GPM 5K 101.00$        

03-1826 MOTOR 17.1 CID 1.25 TPR WHEEL ROSS 971.00$        

03-1833 ELEMENT STRAINER 141 MICRON 88.00$          

03-1884 ELBOW 45 4FP-6MB 25.00$          

03-1889 KIT SEAL PUMP VICKERS TA19 210.00$        

03-1920 FTG 12MFS-12MFS 23.00$          

03-1930 CYL ASSY 2.00x1.13x4.00 2.5K CROSS HOLE 239.00$        

03-1931 BUSHING RBR SPLIT 3/4 TUBE 4.11$            

03-1932 FTG VENT 9/16 MOR W/BELL CAP 30.00$          

03-1939 FTG 10MB-10MFS 148-8315 8.55$            

03-1940 TEE 12MFS-12MFS-12MFS 32.00$          

03-1943 FTG 12MFS-12MP 15.65$          

03-1945 FTG 12MB-12MFS 148-8327 9.95$            

03-1946 ELBOW 90 10MB-12MFS 24.00$          

03-1950 TEE 12MFS-12MFS-12MB 60.00$          

03-1953 ELBOW 90 6MFS-10MB 205-3692 25.00$          

03-1956 ELBOW 90 12MFS-16MB 50.00$          

03-1957 PLUG HEX HEAD 6MB VENT 31.00$          

03-1958 HOSE .75x78 12FFS-12FFS 3.125K 128.00$        

12



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

03-1963 HOSE .75x56 12FFS-12FFS 2.5K 81.00$          

03-1967-5 TUBE ASSY .75x29.25 10MF-12FF PLD 40.00$          

03-1967-6 TUBE ASSY .75x34.75 10MF-12FF PLD 104.00$        

03-1967-7 TUBE ASSY .75x40.75 10MF-12FF PLD 88.00$          

03-1967-8 TUBE ASSY .75x47.25 10MF-12FF PLD 407.00$        

03-1967-9 TUBE ASSY .75x52.75 10MF-12FF PLD 168.00$        

03-1968 HOSE .63x16 10FFS-10FFS90 3.6K 67.00$          

03-1971 HOSE .75x56 12FFS-12FFS90 1.525K 74.00$          

03-1973 HOSE .75x204 12FFS-12FFS45 1.525K 135.00$        

03-2002 O-RING 10F 1.46$            

03-2003 O-RING 12F 1.66$            

03-2012 VALVE FLOW DIV BG421 FIX 21 GPM 40 GPM 651.00$        

03-2013 PUMP 1.65 CID .62 STR 2BOLT-A CW 625.00$        

03-2030 ELBOW 45 10MB-10MFS 31.00$          

03-2031 FTG 8MP-12MFS 14.47$          

03-2035 FTG 12MFS-16MB 14.47$          

03-2077 MOTOR ELEC F/ MONARCH 03-0371 479.00$        

03-2092 ELBOW 90 6MB-6MFS CAT 6C5OLO-S 148-8378 14.65$          

03-2093 HOSE .38x48 6FFS-6FFS 2.6K 33.00$          

03-2115 ELBOW 45 6MB-6MFS 19.33$          

03-2140 FTG 6MB-6MJ 2.84$            

03-2148 FTG 8MB-12MFS 8.64$            

03-2155 HOSE .25x72 6FFS-6FFS 3.25K 35.00$          

03-2159 FTG 4MP-6MFS 10.57$          

03-2177 ELBOW 90 12MB-12MFS 148-8347 42.00$          

03-2182 ELBOW 45 12MB-12MFS 45.00$          

03-2184 HOSE .75x24 12FFS-12FFS 2.25K 62.00$          

03-2202 HOSE 1.00x84 16MP-20FL6290 4K 355.00$        

03-2256 KIT SEAL RR PUMP 90 *+* 5440-635-002 820.00$        

03-2257 KIT SEAL RR PUMP 125*.* 5450-635-002 676.00$        

03-2278 FTG 6MFS-8MB 8.23$            

03-2291 FTG 6MB-6MFS 148-8336 5.18$            

03-2345 ELBOW 90 6MB-6MFS W/.078 ORF 74.00$          

03-2352 HOSE .38x32 6FFS-6FFS90 4.75K 38.00$          

03-2364-1 MANF AL 12V LFT/RUN/SWG TRAILER 2002 2,853.00$    

03-2368 HOSE .75x98 12FFS-12FFS90 3.1K 148.00$        

03-2396 ELBOW 90 10MFS-12MB 54.00$          

03-2403 HOSE .50x192 8MP-8MP 2.325K 73.00$          

03-2410 VALVE MAN 5 STAT 3/4SAE O-RNG PRT N/FLW 2,579.00$    

03-2412 PUMP PISTON 18 CC .62 9T 2BOLT-A CCW RR 2,197.00$    

03-2415 FILTER HYD 10M 1 IN 12MNT 947 SQ IN MEDI 52.00$          

03-2444 SEAL 2.25x3.355x.375*+** BEFORE 9/92 SEE 56.00$          

03-2473 HOSE .75x204 12FFS-12FFS 3.1K 220.00$        

03-2495 FTG 6MFS-6MFS 4.17$            

13



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

03-2543 MANF AL 12V SWG LEADS W/SCREEN 858.00$        

03-2558 PUMP FLOJET WATER 2.1GPM 24V 3.5AM 362.00$        

03-2588 SEAL OIL AXLE OUTPUT 2ID 29.00$          

03-2600 CYL ASSY 2.00x1.13x4.50 2.5K TANG THREAD 274.00$        

03-2605 CYL ASSY 3.00x1.50x10.00 SPEC SEAL 295.00$        

03-2613 FTG 6MFS-6MP 3.20$            

03-2618 KIT SEAL CYL SPEC SEAL F/03-2617/2048 297.00$        

03-2619 KIT SEAL CYL SPEC SEAL F/03-2608/2611/17 102.00$        

03-2620 KIT SEAL CYL SPEC SEAL F/03-2607/2609/20 198.00$        

03-2621 KIT SEAL CYL SPEC SEAL F/03-2606/1693/27 98.00$          

03-2622 KIT SEAL CYL SPEC SEAL F/03-2605/1230 113.00$        

03-2623 PUMP 1.66 CID .875 13T 2BOLT-B CW 901.00$        

03-2642 HOSE .38x144 6FFS-6FFS 4.75K 141.00$        

03-2643 QD 20 PP M 20FP THREADED 433.00$        

03-2644 QD 20 PP F 20FP THREADED 553.00$        

03-2645 CAP DUST 20 PP F/03-2643 64.00$          

03-2646 PLUG DUST 20 PP F/03-2644 64.00$          

03-2672 CAP DUST 4 PP F/03-2655 2.49$            

03-2675 PLUG DUST 4 PP F/03-2658 2.49$            

03-2683 PUMP 1.65 CID .62 STR 2BOLT-A CCW 696.00$        

03-2698 HOSE .25x306 4MP-6MB90 2.75K 138.00$        

03-2699 HOSE 1.00x300 16MP-16MP 5K 836.00$        

03-2705 HOSE .50x48 8MP-8MP 3.5K 37.00$          

03-2707 HOSE .25x36 4MP-4MP90 2.75K 35.00$          

03-2724 FTG HOSE STEM 16-16FF 44.00$          

03-2729 FTG 16MFS-16MP 26.00$          

03-2732 HOSE .25x48 4MP-4MP 3.25K 40.00$          

03-2734 FILTER ELE F/03-2633/34 TM3100 GOVT 427.00$        

03-2736 PUMP 1.14 CID .85 13T 2BOLT-B CW 879.00$        

03-2740 PUMP 1.66 CID .875 STR 2BOLT-B CW 14GPM@ 668.00$        

03-2741 PUMP 2.318 CID .875 STR 2BOLT-B CCW 19GP 687.00$        

03-2742 MANF AL 24V SWG LEADS W/SCREEN 1,282.00$    

03-2758 HOSE .63x24.25 10FFS-10FFS90 2.75K 27.00$          

03-2762 MOTOR PISTON 125 CC 1.75 13T 4BOLT 7,659.00$    

03-2776 KIT SEAL CYL F/03-2663 /2665 51.00$          

03-2778 KIT SEAL CYL F/03-2661** 132.00$        

03-2788 HOSE .25x18.5 4MP-6MB90 2.75K 35.00$          

03-2790 HOSE .25x36 4MP-6MB90 2.75K 43.00$          

03-2792 HOSE .25x30.5 4MP-4MP90 3.275K 48.00$          

03-2847 SEAL SHAFT F/PUMP&MOTOR RR 125 141.00$        

03-2850 VALVE RV 8 6.6GPM 3.6K 126.00$        

03-2910 TEE 16FP-16FP-16FP 19.89$          

03-2911 FTG 12MFS-16MP 109.00$        

03-2913 KIT SEAL PUMP PRINCE F/03-2740/2741/2736 108.00$        

14



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

03-2914 TEE 12FP-12MP-12FP 30.00$          

03-2926 KIT SEAL VALVE DELTA F/07-3081/3082 52.00$          

03-2927 KIT SEAL VALVE RELIEF F/03-0129/07-3148 33.00$          

03-2928 PUMP PISTON 125 CC 1.75 2/4BOLT-D CCW 10,907.00$  

03-2929 PUMP PISTON 90CC 1.75 13T 2/4BOLT-D CCW 7,422.00$    

03-2941 KIT SEAL MOTOR F/ 03-2743 LT & 03-3052 R 77.00$          

03-2974 HOSE .38x19.75 6FFS-6FFS 3K AR 32.00$          

03-3029 MOTOR 24.9 CID 1.25 TPR 4HOLE WHITE 1,353.00$    

03-3051 KIT SEAL LP F/03-2329/** 03-2907 134.00$        

03-3052 MOTOR 12.15 CID 1.00 TPR 4BOLT-B CHK VAL 968.00$        

03-3053 MOTOR 12.2 CID 1.00 TPR 4BOLT CHECK 993.00$        

03-3061 MOTOR 12.5 CID 1.25 TPR 4HOLE-A 1,229.00$    

03-3069 KIT SEAL F/03-2643 11.98$          

03-3070 KIT SEAL F/03-2644 127.00$        

03-3077 HOSE .25x48 4MP-4MP 5.8K 54.00$          

03-3080 VALVE CHECK 3/4F C SERIE 75GPM 175PSI YL 214.00$        

03-3081 KIT SEAL HP F/03-3061/** 03-3029 124.00$        

03-3087 PUMP PISTON 125 CC 1.75 13T 2+4BOLT CCW 12,647.00$  

03-3089 VALVE CRTG DCV 10 5GPM 2P-2W 163.00$        

03-3095 CYL ASSY 4.00x2.00x5.25 3K CROSS HOLE 687.00$        

03-3103 PUMP PISTON 90 CC 1.25 14T 2/4BOLT CCW 8,738.00$    

03-3135 TEE 12MB-12MFS-12MFS 25.00$          

03-3136 CYL ASSY 3.00x1.13x4.50 CLEVIS CLEVIS 354.00$        

03-3138 VALVE PRINCE 2 SPOOL W/HANDLES 878.00$        

03-3139 VALVE AUTO HGHT CTRL A/S MANL CRTG 1,192.00$    

03-3141 FILTER HYD 10M 1-1/2 IN 16MNT 950 SQ IN 66.00$          

03-3142 FTG 12FB-16MB 22.00$          

03-3146 ASSY TUBE HL BHEAD 48 W/ #16SPUD & NUT # 76.00$          

03-3152 KIT SEAL MTR F/03-3151 03-3153, 03-4022 108.00$        

03-3153 MOTOR 12.5 CID 1.00 STR 4HOLE GRAY WHITE 668.00$        

03-3164 FTG 6MB-6MFS ORIFICE 26.00$          

03-3170 VALVE CRTG CV 10 15GPM 3.5K 116.00$        

03-3171 VALVE CRTG RV 10 10GPM 3K 127.00$        

03-3173 VALVE CRTG RV 4GPM 4K 160.00$        

03-3174 VALVE CRTG DCV 10 20GPM 2P-2W 177.00$        

03-3177 KIT SEAL F/03-3139 ALL COMPONENTS IN 03- 141.00$        

03-3178 KIT SEAL F/03-3138 VALVE ASSY BOTH SPOOL 62.00$          

03-3180 FTG 10MFS-12MB 148-8341 23.00$          

03-3210 VALVE DELTA CARTRIDGE SELECTOR W/MAN OVE 191.00$        

03-3212 VALVE CRTG DCV 10 15GPM 2P-2W 165.00$        

03-3245 O-RING F/03-1833/ASSY 03-1812 6.51$            

03-3247 SEAL SHAFT F/90 PUMP SER 32 105.00$        

03-3248 KIT SEAL F/90 PUMP SER 32 1,296.00$    

03-3251 O-RING INNER/OUTER ELEMENT F/03-1416 0.98$            

15



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

03-3263 ASSY MANIF AS HL  *** 3,281.00$    

03-3265 VALVE CRTG DCV 10 6GPM** 3P-4W 364.00$        

03-3281 HOSE .38x264 6FFS-6FFS90 5K 132.00$        

03-3318 ELBOW 90 8MB-8MFS 22.00$          

03-3320 ELBOW 90 6MFS-8MB 20.17$          

03-3344 FTG 4MB-4MFS 2.54$            

03-3345 HOSE .38x120 6FFS-6FFS 3K AR 44.00$          

03-3365 MOTOR 12.5 CID 1.00 STR 4HOLE BLACK 451.00$        

03-3375 PUMP HAND BRAND W/9/16 O-RING  HP123 PAI 618.00$        

03-3375P PUMP HAND BRAND W/9/16 O-RING  HP123 PUR 571.00$        

03-3382 KIT SEAL F/03-3381 CYL 60.00$          

03-3400 FTG 4MFS-6MB 7.11$            

03-3420 CAP/PLUG DUST 6 PP 6.45$            

03-3464 VALVE CV  6  6FB- 6FB 15GPM 4K 740.00$        

03-3465 FTG HOSE STEM 4-4FFS 13.49$          

03-3474 MOTOR 15.0 CID 1.00 TPR 4BOLT CHECK 1,067.00$    

03-3478 FTG 8MFS-8MP 6.18$            

03-3481 FTG 8MFS-10MB 11.63$          

03-3514 FTG 8MB-8MFS 8.59$            

03-3515 FTG 8MFS-12MB 7.91$            

03-3527 MANF AL 12V SWG LEADS CAT *+* 1,006.00$    

03-3537 O-RING #8 FACE SEAL 1.03$            

03-3548 MANF AL 24V SWG LEADS W/RELIEF W/CHECK 1,799.00$    

03-3549 MANF AL W/RELIEF W/CHECK VALVE JRB 854.00$        

03-3554 PLATE HYD ORIFICE .046 JD #6 FS 13.25$          

03-3555 HOSE .25x45 6FFS90-6MB 3K AR PARKER ONLY 72.00$          

03-3559 KIT SEAL F/03-3508/9 *** 221.00$        

03-3573 O-RING FACE SEAL 3/8 SAE #6 1.03$            

03-3596 VALVE SOL ON/OFF W/MANL OVERRIDE 362.00$        

03-3602 VALVE CV 20MB-20MB 70GPM .025K 175.00$        

03-3608 KIT SEAL MANF F/03-3548 86.00$          

03-3630 FTG HOSE STEM 16-16FF90 57.00$          

03-3636 HOSE 1.00x67 16FFSLG-20FL6290 5K 241.00$        

03-3637 HOSE 1.00x145 16FFSLG-16FFS45 5K 380.00$        

03-3638 HOSE 1.00x64 16FFSLG-20FL6290 5K 230.00$        

03-3639 HOSE 1.00x45 16FFSLG-16FL6290 5K 176.00$        

03-3644 HOSE 1.00x50 16FFS-16FFS90 .25K 118.00$        

03-3646 HOSE .75x49  12FFS-12FFS90 3K AR 78.00$          

03-3647 HOSE .75x42 12FFSLG-12FFS90 3K AR 73.00$          

03-3649 HOSE .50x46 8FFS-8FFS45 3K AR 35.00$          

03-3650 HOSE .50x39 8FFS90-8FFS 3K AR 38.00$          

03-3651 HOSE .50x120 8FFS-8FFS90 3K AR 64.00$          

03-3653 HOSE .50x26 8FFSLG-8FFSLG 3K AR 32.00$          

03-3661 HOSE 1.00x134 16FFS-16FFS90 .25K 196.00$        

16



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

03-3662 HOSE 1.00x64 16FFS-16FFS .25K 110.00$        

03-3711 CPLG MULTIFASTER 8 PORT FIXED HALF 957.00$        

03-3712 CPLG MULTIFASTER 8 PORT MOBILE HALF 527.00$        

03-3713 FILTER HYD 10M 1IN 12MNT 547 SQ IN MEDIA 31.00$          

03-3723 HOSE 1.00x70 16FFSLG-20FL6290 5K AR 257.00$        

03-3724 HOSE .75x85 10FFS90-12MB 3K AR 94.00$          

03-3726 HOSE .50x115 8FFS45-8MB 3K AR 63.00$          

03-3727 HOSE .50x112 8FFS-8MB 3K AR 54.00$          

03-3728 HOSE .25x97 4FFS-6MB 3K AR 36.00$          

03-3734 ELBOW 90 4MFS-6MB 9.77$            

03-3736 HOSE 1.00x103 16FFSLG-16FL6290 5K 270.00$        

03-3737 HOSE 1.00x107 16FFS-16FL62 5K 205.00$        

03-3738 HOSE .75x55 12FFS-12MB 3K AR 63.00$          

03-3778 FTG 16FFS-16MB 46.00$          

03-3779 FTG 12FFS-12MB 42.00$          

03-3787 ELBOW 90 12FFS-12MB 24.00$          

03-3807 HOSE 1.00x84 16FFS-20FL6290 5K 228.00$        

03-3808 HOSE .75x124 12FFSLG-12FJ90 3K 226.00$        

03-3811 HOSE .50x32 8FFS-12MB90 3K 93.00$          

03-3812 HOSE .50x72 8FFS-8FFS 3K AR 38.00$          

03-3815 GAUGE SIGHT WINDOW 1IN NYLON 26.00$          

03-3873 KIT SEAL F/03-3263 MANIFOLD 195.00$        

03-3896 HOSE .50x36 8FFS-8FFS 3K AR 39.00$          

03-3903 PUMP GEAR 4.04 CID 1.75 14T 4BOLT-C CCW 3,335.00$    

03-3915 WASHER THRUST F/03-3364 53.00$          

03-3916 BEARING THRUST F/03-3364 46.00$          

03-3965 FILTER ELE HYD 25Q MPT F/ 03-3816 115.00$        

03-3968 HOSE .75x60 12FFS-12FFS90 3.125K 177.00$        

03-3970 QD 8 PP F 8FP 37.00$          

03-4022 MOTOR 6.8 CID 1.00 PIN HOLE 4BOLT WHITE 707.00$        

03-4024 MOTOR 24.9 CID 1.25 TPR 2BOLT WHITE 1,316.00$    

03-4026 HOSE .75x16.38 10FFS-12FFS90LG 3.125K HS 160.00$        

03-4029 HOSE .63x63 10FFS90-12FFS 3.625K HS 100.00$        

03-4030 HOSE .38x32 6FFS-6FFS90 5K HS 113.00$        

03-4031 ROD END 3/4 FEMALE 3/4-16 FEMALE 98.00$          

03-4037 VALVE MANUAL MRH LIFT/SWG 15GPM 828.00$        

03-4066 HOSE BULK .75 3K AR 26.00$          

03-4071 MOTOR 6.8 CID 1.00 STR 4BOLT WHITE 626.00$        

03-4072 WHITE NYLON BUSHING 1.75ID 2.00 OD 59.00$          

03-4073 HOSE .25x102 6FFS-6MB 5.8K HS 159.00$        

03-4074 HOSE .63x18 10FFS-10FFS90 3.625K HS 119.00$        

03-4083 MOTOR PISTON 28 CC 1.00 STR 2BOLT-A GRAY 2,566.00$    

03-4101 HOSE .75x142 12FFS-12FFS 3K HS 185.00$        

03-4142 MANF AL 12V RUN/RELIEF LEADS FPD AH/CH 1,175.00$    

17



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

03-4170 HOSE 1.00x132 16MP-20FL6290 5K 355.00$        

03-4171 HOSE .75x120 12FFS-12MP 3K HS 128.00$        

03-4182 PUMP PISTON 50 CC 1.00 13T 2BOLT CW 3,901.00$    

03-4232 COOLER 18000BTU 2-12GPM #12SAE 265.00$        

03-4235 MOTOR PISTON 56 CC 1.75 STR 4BOLT 4,865.00$    

03-4297 HOSE .75x52 10FFSLG-12FFS 3K AR 66.00$          

03-4316 HOSE .25x20 6FFS-6FFS 3K AR 70.00$          

03-4362 QD 8 FF F 10FB 123.00$        

03-4368 TEE 12MFS-12MFS-12FFS 37.00$          

03-4390 VALVE DCV 10 6GPM 3P-4W 498.00$        

03-4407 MOTOR 24.9 CID 1.25 TPR 2BOLT WHITE 1,316.00$    

03-4410 FILTER ELEMENT REPLACEMENT F/03-1416 136.00$        

03-4419 MOTOR 22.8 CID 1.25 TPR SAE B RV 2.5K 1,595.00$    

03-4425 MOTOR 24.9 CID 1.25 TPR 4BOLT-A WHITE 1,481.00$    

03-4428 KIT BEARING HOUSING 41.00$          

03-4430 MOTOR 11.9 CID 1.75 TPR WHEEL GRAY  C-LY 1,668.00$    

03-4440 HOSE .50x126 8FFS-8FFS 3K AR 94.00$          

03-4462 HOSE .63x24 10FFS-10FFS90 3.625K HS 71.00$          

03-4469 HOSE .63x96 10FFS45-12MB 3.625K HS 108.00$        

03-4491 HOSE .63x80 10FFS90-12MB 3.625K HS 89.00$          

03-4495 SEAL PINION F/12-1006 GEARBOX 29.00$          

03-4521 FILTER ELE OIL F/03-4129/30 254.00$        

03-4525 FILTER ELE OIL 10 MICRON F\03-3615 153.00$        

03-4562 HOSE .50x60 8FFS-8FFS 4.25K 55.00$          

03-4612 HOSE .75x108 12FFS-12FFS 5K 186.00$        

03-4618 FTG 10FB-12MB 11.64$          

03-4624 FTG 8MFS-10FFS 24.00$          

03-4633 PUMP PISTON 2.48 CID 1.00 15T 2BOLT-B CW 2,534.00$    

03-4634 MOTOR 17.9 CID 1.25 TPR 2BOLT-A WHITE CV 1,047.00$    

03-4637 TEE 12FFS-12MFS-12MFS 34.00$          

03-4642 SCREEN FILLER SPOUT F/03-4639 25.00$          

03-4644 HOSE .25x40 6FFS45-6FFS90 3K AR 39.00$          

03-4651 KIT CHECK VALVE DELETION 130.00$        

03-4652 HOSE .63x16.38 10FFS-12FFS90 3.625K HS 119.00$        

03-4668 PLATE HYD ORIFICE .028 #6 O-RING FACE SE 15.43$          

03-4669 O-RING #10 SAE STRAIGHT THREAD 3.61$            

03-4682 MOTOR 17.9 CID 1.25 TPR 2BOLT-A WHITE CV 1,058.00$    

03-4688 O-RING F/03-2633/2634 95.00$          

03-4690 QD 24 FF F 24FB OSHK HBMP 1,003.00$    

03-4700 ELBOW 45 10MFS-12MB 26.00$          

03-4709 GAUGE SIGHT WINDOW 1IN NPT HIGH TEMP 48.00$          

03-4741 FILLER CAP F\03-3816 ASSY 62.00$          

03-4752 FILTER ELEMENT F/RACOR R90T 97.00$          

03-4763 PLUG VENT PLASTIC MONARCH 18.05$          

18



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

03-4784 FILTER ELE F/03-1415 253.00$        

03-4794 TEE 6MJ-6FJ-6MJ 17.40$          

03-4804 FTG 10MFS-10MFS 14.85$          

03-4822 KIT SEAL F/03-2013 70.00$          

03-4873 SEAL KIT MULTIFASTER INDIV QC F/03-3711 34.00$          

03-4888 KIT SEAL CYL F/03-4887/ 03-5061 102.00$        

03-4891 PLUG HEX HEAD 10B CHECK DISABLE WHITE HB 44.00$          

03-4905 AIR BREATHER F/03-3816 HYD FILTER ASSY 45.00$          

03-4939 COUPLING SHAFT F/03-1826 587.00$        

03-4949 QD 12 FF M 12FB 65.00$          

03-4960 FILTER ELE F\03-3619 *** 280.00$        

03-4967 FTG 16MFS-20MP 24.00$          

03-4971 HOSE .38x84 6FFS-6FFS 3K 35.00$          

03-5005 SEAL INPUT/OUTPUT F/03-2033 GRBX 29.00$          

03-5007 VALVE SERVO STEERING CONTROL 1,848.00$    

03-5016 MOTOR 18.3 CID 1.25 TPR WHEEL WHITE 607.00$        

03-5025 HOSE .50x60 8FFS90-12FFS 3K AR 77.00$          

03-5026 HOSE .50x72 8FFS90-12FFS 3K AR 119.00$        

03-5027 MOTOR 19.7 CID 1.00 TPR 4BOLT WHITE 1,235.00$    

03-5031 MOTOR 14.1 CID 1.00 TPR 4HOLE  WHITE 819.00$        

03-5035 ROD CYL F/03-4887 210.00$        

03-5054 FILTER HYD RETURN LINE IN-TANK A10 25GPM 275.00$        

03-5055 CAP FILLER HYD BREATHER 90.00$          

03-5056 FILTER HYD IN-TANK A25 39GPM NO BREATHER 194.00$        

03-5087 MOTOR 28.3 CID 1.25 TPR WHEEL WHITE 1,117.00$    

03-5101 KIT SEAL F/05-1409 GEARBOX   AM135632 118.00$        

03-5102 SEAL OUTPUT F/05-1409 GEARBOX 39.00$          

03-5106 KIT ROD CYL F/ 03-1928/ 03-1928-1 185.00$        

03-5153 HOSE .50x80 10FFS-12MB 3.5K HS 80.00$          

03-5154 HOSE .50x112 10FFS-10FFS 3.5K 74.00$          

03-5160 TEE 12MFS-12MFS-12MFS BH R 22.00$          

03-5161 HOSE .50x68 10FFS-12FFS45 3.5K 81.00$          

03-5163 HOSE .50x80 10FFS-12FFS45 4k 89.00$          

03-5167 HOSE .50x44 10FFS-12FFS 3.5K 63.00$          

03-5168 HOSE .50x50 10FFS-12FFS 3.5K 61.00$          

03-5173 HOSE .63x60 10FFS-12FFS 3.625K 77.00$          

03-5174 HOSE .50x80 10FFS90-12MB 3.5K HS 76.00$          

03-5179 HOSE .50x56 10FFS-12FFS 3.5K 68.00$          

03-5186 KIT ROD CYL F/ 03-1929/03-1929-1 212.00$        

03-5192 MOTOR 23.9 CID 1.75 TPR WHEEL C-LYNN 1,736.00$    

03-5207 CRADLE HOSE F/1.12 OD 7.80$            

03-5211 KIT SEAL F/03-5031/4785/ 5027/5615/5616 109.00$        

03-5214 FTG 8FFS-8MP 75.00$          

03-5215 MANF AL 12V SWG LEADS 685.00$        

19



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

03-5218 COVER PLATE F/1.12 OD 1.93$            

03-5224 HOSE .50x96 10FFS45-12MB 3.5K HS 112.00$        

03-5234 HOSE .63x46 10FFS45-10FFS90 2.75K 99.00$          

03-5235 HOSE .25x84 4FFS-4FFS45 3K AR 40.00$          

03-5236 HOSE .38x42 6FFS-6FFS90 3K AR 34.00$          

03-5237 HOSE .75x90 12FFS-12FFS 3K AR 102.00$        

03-5238 HOSE .75x82 12FFS-12FFS45 3K AR 111.00$        

03-5239 HOSE .38x32 6FFS-6FFS45 3K AR 30.00$          

03-5241 HOSE 1.00x120 12FFS90-16FFS 3K AR 236.00$        

03-5242 CRADLE HOSE F/1.40 OD 8.19$            

03-5243 COVER PLATE F/1.40 OD 2.34$            

03-5245 HOSE .25x104 4FFS-4FFS45 3K AR 56.00$          

03-5247 HOSE .25x120 4FFS-4FFS90 3K AR 59.00$          

03-5249 TEE 4MFS-4MFS-4MFS BH R 11.49$          

03-5250 RELIEF CROSS OVER F/03-4419 MOTOR 139.00$        

03-5262 MANF AL 50GPM COUNTER BALANCE 656.00$        

03-5277 VALVE CRTG CV 10 15GPM 3.5K 57.00$          

03-5280 MANF AL 24V SWG LEADS** 722.00$        

03-5324 PUMP 1.65 CID .75 STR 2BOLT-A CCW 715.00$        

03-5333 HOSE .25x57 6FFS-6FFS 3K AR 62.00$          

03-5358 FILTER ELE OIL 10 MICRON F/03-5054 FILTE 242.00$        

03-5379 HOSE .63X96 12FFS-12FFS 3K 106.00$        

03-5385 HOSE .63x80 10FFS-10MB 3K HS 90.00$          

03-5403 HOSE .38x88 6FFS-6FFS 3K 52.00$          

03-5404 HOSE .38x94 6FFS-6FFS 3K 55.00$          

03-5409 MANF AL FLOW DVDR W/ CHECK W/RELIEF VAC 786.00$        

03-5500 HOSE .50x24 12FFS-12FFS 3K 52.00$          

03-5503 KIT SEAL F/03-5087/5612/ 5614 135.00$        

03-5506 FTG 16FFS-12MFS 22.00$          

03-5507 CROSS 16MFS-16MFS-16MFS-16MFS 60.00$          

03-5515 MOTOR GEAR 9.6 CC .62 STR 2BOLT MARZOCCH 796.00$        

03-5543 SHAFT F/03-4425 MOTOR 597.00$        

03-5544 PUMP 12 CID TANDEM PC W/07-7450 SPRINGS 1,483.00$    

03-5545 GEAR PUMP: 6.6 EATON #26 401 811.00$        

03-5546 VALVE 4 WAY AO *** 281.00$        

03-5547 MOTOR 11.9 CID 1.00 TPR WHEEL 867.00$        

03-5548 COOLER HYD HPU 285.00$        

03-5551 STRAINER TANK FLOW-EZY 69.00$          

03-5552 FILTER STAUFF RTF20 198.00$        

03-5576 KIT SEAL F/03-4083 139.00$        

03-5585 KIT SEAL F/07-7152 VALVE 22.00$          

03-5592 QD 8 PP F 12 FP 56.00$          

03-5594 QD 8 PP M 12 FP 27.00$          

03-5600 KIT SEAL F/CART 2W NC F/03-5599 24.00$          

20



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

03-5611 MOTOR 24.6 CID 1.00 STR 4BOLT BLACK WHI 451.00$        

03-5612 MOTOR 18.3 CID 1.25TPR WHEEL BI-RV 3K*** 561.00$        

03-5613 MOTOR 28.3 CID 1.25 TPR WHEEL BI-RV 3K 767.00$        

03-5614 MOTOR 14.2 CID 1.25 TPR WHEEL BI-RV 3K** 654.00$        

03-5616 MOTOR 12.2 CID 1.00 TPR WHEEL BI-RV 490.00$        

03-5622 O-RING SHIFTING FORK F/05-1423 9.65$            

03-5623 FTG 16MFS-TUBE WELD PARKER 16LOHT3 163.00$        

03-5630 MOTOR 24.9 CID MODIFIED WAM FIX 878.00$        

03-5643 KIT SEAL F/03-5611 149.00$        

03-5644 KIT SEAL F/03-5613 W/BEARING 108.00$        

03-5645 FTG 8MFS-10MFS 13.29$          

03-5648 KIT SEAL F/03-1734 MOTOR 151.00$        

03-5649 VALVE CARTRIDGE RELIEF PRESSURE F/03-236 267.00$        

03-5653 HOSE .50x120 10FFS-12MB 3K HS 64.00$          

03-5654 HOSE .50x62 10FFS-12FFS 3.5K 65.00$          

03-5655 HOSE .50x68 10FFS-12FFS 3.5K 70.00$          

03-5661 HOSE .50x36 10FFS-10FFS 3.5K 57.00$          

03-5663 KIT SEAL FRONT F/03-5192 48.00$          

03-5673 FTG HOSE STEM 20-20FF 90.00$          

03-5688 ELEMENT F/03-5552 FILTER ASSY 92.00$          

03-5696 KIT SEAL F/ T SERIES CHAR-LYNN MOTORS 81.00$          

03-5708 CYL ASSY 2.50x1.13x7.00 3.5K BALL 360.00$        

03-5710 CYL ASSY 1.75x.75x8.00 3.5K ORF .062 287.00$        

03-5711 CYL ASSY 3.00x1.13x4.50 3.5K CLEVIS 419.00$        

03-5713 CYL ASSY 5.00x2.00x6.00 3.5K CROSS HOLE 1,117.00$    

03-5714 CYL ASSY 4.00x2.00x6.00 3.5K CROSS HOLE 963.00$        

03-5715 CYL ASSY 2.00x1.00x14.00 3.5K CLEVIS 377.00$        

03-5716 CYL ASSY 1.75x.75x4.00 3.5K TANG TANG 262.00$        

03-5717 CYL ASSY 1.75x.75x7.00 3.5K TANG TANG 357.00$        

03-5719 CYL ASSY 1.75x.75x4.00 3.5K TANG TANG 351.00$        

03-5722 CYL ASSY 4.00x2.00x10.00 3.5K BALL BALL 646.00$        

03-5723 CYL ASSY 1.50x.75x6.00 3.5K TANG CLEVIS 317.00$        

03-5724 CYL ASSY 2.50x1.25x7.50 3.5K BALL CROSS 246.00$        

03-5725 CYL ASSY 2.50x1.38x7.50 3.5K BALL BALL 303.00$        

03-5726 CYL ASSY 1.50x.75x8.00 3.5K CLEVIS .765 236.00$        

03-5727 CYL ASS 1.50x.75x6.00 3.5K CROSS TUBE 288.00$        

03-5728 CYL ASSY 2.00x1.25x8.00 3.5K CROSS TUBE 359.00$        

03-5729 CYL ASSY 2.00x1.00x8.50 3.5K THREADED 192.00$        

03-5731 CYL ASSY 1.50x.75x4.50 3.5K CROSS TUBE 246.00$        

03-5733 CYL ASSY 3.00x1.50x16.00 3.5K CROSS TUBE 348.00$        

03-5736 CYL ASSY 1.50x1.00x24.00 3.5K CROSS 419.00$        

03-5737 CYL ASSY 1.50x1.00x12.00 3.5K CROSS 339.00$        

03-5740 KIT SEAL F/ TH SERIES PARKER MOTOR 172.00$        

03-5745 SEAL OIL 5/8 F/05-1423 26.00$          

21



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

03-5753 PILOT PISTON F/P243000 39.00$          

03-5754 SEAL KIT W/GASKET F/03-1415 64.00$          

03-5781 PUMP F/03-0371 MONARCH 343.00$        

03-5782 KIT TUBE HYD CONTROL TANDEM BONDIOLI 274.00$        

03-5783 CYL ASSY 5.00x2.00x6.00 3.5K CLEVIS 830.00$        

03-5784 SEAL SHAFT F/ 74318 SERIES EATON MOTOR 46.00$          

03-5799 KIT SEAL F/ TB&TE SERIES PARKER MOTOR 102.00$        

03-5800 MOTOR 14.2 CID 1.25 TPR WHEEL BI-RV 3K W 600.00$        

03-5805 VALVE CUSHION SGL CART 201.00$        

03-5810 KIT SEAL PLANETARY AUBURN MODEL 6 SGL RE 117.00$        

03-5822 FTG 12FP-M27MDH 18.69$          

03-5835 MANF AL SWG 12V W/ DEUTSCH COILS 669.00$        

03-5836 MANF AL 24V SWG DEUTSCH 669.00$        

03-5843 MANF AL 4GPM 12V SF SNOW BLOWER PACKARD 771.00$        

03-5845 VALVE RELIEF F/03-5262 MANIFOLD 101.00$        

03-5888 MANF AL 12V DEUTCH 965.00$        

03-5890 CYL ASSY 2.50x1.38x6.75 3.5K CROSS HOLE 343.00$        

03-5891 KIT SEAL F/05-1513 74.00$          

03-5892 HOSE .50x48 10FJ-10FJ 3K HS 54.00$          

03-5894 MANF AL 4GPM 12V HF SNOW BLOWER PACKARD 1,099.00$    

03-5897 HOSE RADIATOR F/CUMMINS 50000162 146.00$        

03-5901 FTG 10MB-10MFS 6.13$            

03-5903 MANF AL 10GPM SEQUENCING V-BLD 320.00$        

03-5904 VALVE CHECK INLINE 6MB-6 MF 5 PSI 46.00$          

03-5905 VALVE CHECK INLINE 8MB-8 MF 120 PSI 70.00$          

03-5960 VALVE SEQUENCE F/ STEERING CONTROL 216.00$        

03-5978 MOTOR PISTON 30 CC 30.0 STR 4BOLT 3,425.00$    

03-5995 HOSE BULK 1.25 3K AR 36.00$          

03-6015 FTG HOSE STEM 20-20FF90 71 SER 6000PSI 116.00$        

03-6051 FTG 20MFS-16FFS 55.00$          

03-6062 CYL ASSY 2.50x1.38x7.50 3.5K BALL CROSS 286.00$        

03-6101 HOSE .50x136 10FFS-12MB 3.5K HS 125.00$        

03-6131 MOTOR 105 CC 14T 2BOLT-C BRM 3,993.00$    

03-6137 MOTOR 50 CC 31.2 14T 2BOLT-C BLW 3,029.00$    

03-6142 SEAL KIT F/ 03-10122 193.00$        

03-6153 FILTER CHARGE 10-MN PARKER RLT9VZ10F20D5 770.00$        

03-6173 RELIEF CARTRIDGE RV08-20H-0-N-18/09 77.00$          

03-6179 BOLT KIT 2.88" SAE 8 54.00$          

03-6180 MANAPAK PILOT/OP CHECK 221.00$        

03-6181 MANAPAK FLOW CONTROL 182.00$        

03-6182 MANF AL VALVE AD03P072S 398.00$        

03-6183 BOLT KIT 4.38" SAE 8 68.00$          

03-6184 PROP VALVE 783.00$        

03-6185 DIR CNTRL SOL OPER V 323.00$        

22



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

03-6291P CYL ASSY 5.00x2.00x6.00 3.5K CLEVIS 951.00$        

03-6301 ELBOW 90 20MFS-24MB 105.00$        

03-6331 FTG HOSE STEM 16-16FFSD90 118.00$        

03-6332 SYS HYD POWER UNIT 12V DC SWING/LIFT 1,645.00$    

03-6335 MOTOR 24.7 CID 1.25 TPR WHEEL BI-RV 3K 859.00$        

03-6389 KIT BEARING FRT HOUSING F/03-5613 MTR 80.00$          

03-6421 MOTOR PISTON 125 CC 1.75 13T 4BOLT D FFP 5,819.00$    

03-6432 HOSE 1.00x216 16FFS-16FL62 90 6K 1,075.00$    

03-6433 HOSE .75x288 12FFS-12FFS 3K 403.00$        

03-6434 HOSE .5x288 8FFS-8FFS90 3K 237.00$        

03-6435 HOSE .38x288 6FFS-6FFS 3K 196.00$        

03-6436 HOSE .25x288 4FFS-4MP 3K 181.00$        

03-6437 HOSE .25x120 4FFS-4FFS90 3K 197.00$        

03-6444 MOTOR 17.1 CID 1.25 TPR WHEEL BI-RV 3K 701.00$        

03-6454 MOTOR PISTON 3.32 CID 1.50 STR 4BOLT-C 3,806.00$    

03-6468 KIT SEAL F/03-6335/6444 PARKER MTR 95.00$          

03-6512 ADAPTER FLANGE CD 62-16 TO CD 62-20 488.00$        

03-6523 ADAPTER FLANGE CD62-20 TO CD 62-16 262.00$        

03-6524 KIT MOUNTING FLANGE ADAPTER F/ 03-6523 28.00$          

03-9539 FTG 12MFS-12MFS BH 13.63$          

03-9587 ENGINE HONDA GXV160 843.00$        

03-9601 ENGINE HONDA GX390 MANUAL START 1,620.00$    

03-9603 ENGINE HONDA GX390 ELECTRIC START 644940 1,951.00$    

03-9621 GENSET 3.2 DIESEL LX 12,769.00$  

04-4001 WIRE .0275 D.BRGHT CRMPD 5.53$            

04-4004 WIRE GB .025x.125x26 OIL TEMPD 7.38$            

04-5035 TUBE RD 2 x 1/4 DOM 26.38$          

04-5648 TUBE SQ 4x3/8 31.89$          

05-0003 GEARBOX TEC 101 RH 7/8RD -7/8RD 448.00$        

05-0004 GEARBOX TEC 101 LH 3/4RD -3/4RD 422.00$        

05-0204 U-JOINT H7 HX 1RD .25KWY 73.00$          

05-0211 HUB GL1-201110 IHC2300* 149.00$        

05-0214 U-JOINT H7 HX/HX*** 117.00$        

05-0220P U-JOINT H7 7/8 HX 3/4RD* STD 3/16KWY 71.00$          

05-0236 SHAFT PUMP 6SPL 14x3/4RD HARDEN RC48-52 37.00$          

05-0256 CPLG HALF 4016 7/8BORE 3/16KWAY 5/16SET 55.00$          

05-0256A CPLG HALF 4016 7/8BORE 1/4KWAY 5/16SET S 55.00$          

05-0257 CPLG HALF 4016 3/4BORE 3/16KWAY 5/16SET 55.00$          

05-0259 CPLG CHAIN 4016 15.27$          

05-0284 HUB C5NN-N879A 13SPL FRD 167.00$        

05-0290 SHAFT PUMP 13SPL 11 1/2* HARDEN RC48-52 79.00$          

05-0292 SHAFT PUMP 13SPL 17 1/4* HARDEN RC48-52 189.00$        

05-0327 CPLG HALF 5016 1 7/16 3/8KWAY 5/16SETSCR 79.00$          

05-0328 CHAIN CPLG 5016 24.00$          

23



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

05-0330 CPLG HALF 4016 1RD 93.00$          

05-0330-1 CPLG HALF 4016 1RD W/HOLE 303.00$        

05-0332 CPLG HALF 5016 7/8RD 1/4 KEYWAY SET SCRE 127.00$        

05-0340 KIT CROSS SPICER 5-178X F/05-0871 1350 S 29.00$          

05-0341 KIT U-BOLT SPICER 3-94-18X 27.00$          

05-0353 CPLG SPLD CORE DRV** 1,436.00$    

05-0503 GEAR F/GRBX HUBCITY 364.00$        

05-0533 NUT HEX LOCK SLOTTED 1 1/4-12 PLD 18.99$          

05-0534A SPACER 3.50IN P84 CSTR 38.00$          

05-0534B SPACER 2.70IN P84 CSTR 39.00$          

05-0535 SEAL OIL NATL2040 13XP84 17.90$          

05-0536 BEARING LM67048 P84 31.00$          

05-0537 BEARING RACE LM67010 P84 18.19$          

05-0539 BOLT AXLE 1.25-12X12.13 BOTH ENDS 105.00$        

05-0543 SHAFT TELE P84 1 1/4RD 7/8HEX 531.00$        

05-0560 GEAR R/L 778046 75.00$          

05-0565 BEARING R/L 780034 53.00$          

05-0655 U-JOINT H7 7/8 HX-3/4 x 7/8 RECT. STD. 95.00$          

05-0656 U-JOINT H7 RECT 7/8RD 3/16KWY 58.00$          

05-0670 PLATE ADP 3HOLE MF   *** LT HAND THRD 494.00$        

05-0676 CHAIN CPLG 8020 65.00$          

05-0686 BEARING NYLON SHIELDS 05-0543 05-0857 6.18$            

05-0702 CPLG 8020 HALF 1 1/2RD 4 HOLES 492.00$        

05-0711 NUT STAKE D119 24.00$          

05-0718 SHAFT INPUT E2762    *** 168.00$        

05-0719 KEY WOODRUFF 15 808 SFTJ 44 8.81$            

05-0727 SEAL OUTPUT GRBX 12.25$          

05-0734 SHAFT 7/8x18 LT THD MF 188.00$        

05-0749 GEAR BEVEL B220 950.00$        

05-0759 SHAFT OUTPUT E4015 426.00$        

05-0763 FTG ZERK 1/4-28 STRAIGHT YLW DI CR 0.78$            

05-0764 RELIEF PLUG .13-27 NPT 1 PSI 7.41$            

05-0766 SEAL K247 17.85$          

05-0768 CAP K261 96.00$          

05-0780 GASKET COVER 22.00$          

05-0797 BUSHING 13/32 RBR GROMET 16.58$          

05-0802 BLOCK BEARING 1RD 3/4RD EXCL 1,038.00$    

05-0804 WELD CPLG HALF 4016 1RD 6SPL 727.00$        

05-0822 KIT CROSS CV WLTRSCHEID F/05-0859 2200 S 34.00$          

05-0835 BEARING CONE FRT INPUT F/05-1112 GRBX 49.00$          

05-0836 SHAFT INPUT GRBX F/05-0806 DURST 188.00$        

05-0838 SEAL INPUT GRBX 32.00$          

05-0840 CPLG CHAIN 6018 37.00$          

05-0847 SEAL OIL DL600 27.00$          

24



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

05-0850 CPLG HALF 6018 1 1/4 BORE 377.00$        

05-0851 KEY WOODRUFF 3/16X3/4 K9 N 1.59$            

05-0862 SHAFT TELE HALF 1 3/8 131.00$        

05-0863 SHAFT TELE HALF 1RD 232.00$        

05-0903 CPLG SPL 1 1/4-14T 92.00$          

05-0909 U-JOINT H7 RECT 15SPL 124.00$        

05-0915 SHIELD HALF 7/8HEX F/05- 0859 72.00$          

05-0922 SEAL OIL GRBX DANA IC 25.00$          

05-0924 SHIELD ASSY OUTER F/SPL END 1 3/8 OF #05 66.00$          

05-0925 SHIELD ASSY INNER F/ROUND END OF #05-085 84.00$          

05-0926 U-JOINT H7 RECT 1RD ST JD86 91.00$          

05-0927 U-JOINT H7/L6 RECT 15SPL QD 178.00$        

05-0930 U-JOINT H7/L6 RECT 10SPL QD 181.00$        

05-0934 SHAFT TELE HALF F TORO72 15 SPLINE 240.00$        

05-0943 SHAFT GRBX CURTIS 1:1 137.00$        

05-0951 BEARING CUP GRBX CURT 1:1 15.93$          

05-0952 BEARING CONE GRBX CURT 25.00$          

05-0953 SHAFT GRBX CURT 1:1 119.00$        

05-0974 GEAR SET 3:1 F/HUBCITY 577.00$        

05-0976 GEARBOX HUBCITY 3.78 *** :1 HARD SHAFT 1 7,188.00$    

05-0983 SHAFT TELE CV 1RD    *** 7/8HEX OUTPUT 4 658.00$        

05-0983-1 SHAFT TELE CV 1RD*** 7/8HX OUTPUT 38 1/4 652.00$        

05-0985 SHAFT TELE HALF F/0983 HEX END 319.00$        

05-0986 SHIELD HALF F0983 1RD END 124.00$        

05-0987 SHIELD HALF F0983 HEX END 123.00$        

05-0993 SEAL NATIONAL 50395S 17.59$          

05-10001 GASKET F/ POWER RAKE GEA RBOX 23.00$          

05-1001 RING SNAP INTERNAL 2.91x 093 4.28$            

05-1002 GEAR SET PINION DANA70 1,302.00$    

05-1004 SHAFT OUTPUT 9.5IN NO*** ADAPTOR  DANA70 858.00$        

05-1012 SHIELD DUST PINION END DANA70 6.51$            

05-1014 SPACER BRG PINION DANA70 15.05$          

05-1015 KIT SHIM CARRIER ASSY DANA70 #30797-1 2.38$            

05-1016 NUT SHAFT AXLE DANA70 12.09$          

05-1017 WASHER NUT AXLE DANA70 6.78$            

05-1018 SLINGER PINION OIL INN DANA70 7.42$            

05-1019 BAFFLE PINION OIL DANA70 5.88$            

05-1020 SLINGER PINION OIL OUT DANA70 3.74$            

05-1025 SEAL SLINGER OIL DANA 07-1555 31.00$          

05-1075 U-JOINT*** H7 RECT 3/4RD LS 3/16KWY 122.00$        

05-1076 U-JOINT H7 RECT 3/4RD STD 3/16KWY 94.00$          

05-1077 U-JOINT H7 HX HX LS 92.00$          

05-1078 U-JOINT H7 1-15SPL QD RCT LS 6.75OA 282.00$        

05-1105 CPLG HALF 4016 1IN 15SPL 391.00$        

25



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

05-1111 GEARBOX HUBCITY 1:1  *** T-STYLE 3 SHAFT 615.00$        

05-1112 GEARBOX HUBCITY 3:1  *** LT ROT REPL 05- 1,052.00$    

05-1113 GEARBOX HUBCITY 1:1  *.* LH REPL 05-0931 615.00$        

05-1114 GEARBOX HUBCITY 1:1  *** RH REPL 05-0929 615.00$        

05-1136 SHAFT CROSS HUB CITY 126.00$        

05-1137 SHAFT PINION HUBCITY 80.00$          

05-1138 KIT REPAIR HUB CITY  *** 02-23-01260-150 224.00$        

05-1145 GEARBOX HUBCITY 3:1 T-STYLE 3 SHAFT LH/R 1,197.00$    

05-1151 SHAFT 13SPL 16/32PITCH 30 PRES ANGLE 7/8 310.00$        

05-1158 SHAFT CROSS HUB CITY F/05-1112 GRBX 139.00$        

05-1159 SHAFT PINION HUBCITY F/05-1112 GRBX 299.00$        

05-1162 BEARING CUP REAR HUBCITY F/05-1112 GRBX 16.85$          

05-1163 BEARING CUP FRT HUBCITY F/05-1112 GRBX 47.00$          

05-1164 BEARING CONE RT REAR HUBCITY F/05-1112 G 34.00$          

05-1165 BEARING CONE REAR INPUT HUBCITY F/05-111 85.00$          

05-1175 RING SNAP HUB CITY N5000-175 F/05-1112 G 9.52$            

05-1176 RING SNAP HUB CITY N5000-200 F/05-1112 G 1.00$            

05-1177 SEAL FRT HUB CITY F/05-1112 GRBX 21.00$          

05-1178 SEAL REAR HUB CITY F/05-1112 GRBX 23.00$          

05-1202 ADAPT CSHAFT 1 1/4-14SPL FD 6640 382.00$        

05-1203 SPACER CSHAFT FD 6640 136.00$        

05-1205 SHAFT DRV PUMP 1/4-14SPL 29IN 352.00$        

05-1206 CPLG SPL 1 1/4-14 7/8RD 1/4KEY DRV PUMP 306.00$        

05-1208 SHAFT CV 1RD 7/8HX 6-7** FT REPL 05-0856 875.00$        

05-1209 SHAFT CV 1RD 7/8HX 7-8FT REPL 05-0858 SH 1,188.00$    

05-1214 ASSY CONV DRV LINE 1350- 1410 DANA 70 W/ 1,350.00$    

05-1215 FLANGE COMPANION 13 SPL F/05-1214 CFS35- 419.00$        

05-1217 YOKE SPL GRBX INPUT F/05-1214 244.00$        

05-1218 KIT CROSS SPICER F/05-1214/1217 1410 SER 111.00$        

05-1228 GEARBOX EUCLID 8.4:1 1,574.00$    

05-1229 SHAFT PUMP 13SPL 7/8x22 1/4KYSEAT HARDEN 359.00$        

05-1233 CPLG 8020 HALF 2RD 4HOLE 562.00$        

05-1236 U-JOINT H7 RECT 5/8RD 3/16KWY SET SCREW 119.00$        

05-1244 U-JOINT H7 RECT 1RD*** ST 1/4 KW JD86 NO 109.00$        

05-1246 U-JOINT H7/LT RECT 10SPL QD NONS 253.00$        

05-1251 KIT CROSS 6N F/G&G ONLY 39.00$          

05-1258 HUB TRU-LOK 1 1/2B 317.00$        

05-1266 GEARBOX HUB CITY 3:1 HLW OUTPUT 5/16SHR 669.00$        

05-1267 SHAFT DRV 1RD 1-10SPL QR KUBOTA F 948.00$        

05-1269 SHIELD HALF INNER F/05-1247 97.00$          

05-1277 SHAFT CV 1RD 7/8HX 5FT** 19.5 COMPRSS 26 853.00$        

05-1278 BUSHING QD SF 1 3/4  *** 101.00$        

05-1291 SHAFT DRV SIMPCTY LEGACY 828.00$        

05-1315 COVER CPLG CHAIN 6018 258.00$        

26



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

05-1326 SHAFT YOKE C382201YS 310.00$        

05-1330 GEARBOX H.C. 3:1HLW OUTP 5/16 SHRPIN NO 679.00$        

05-1349 CPLG HLF 50 10T 7/8 BORE 3/16 KYWY 1/4-2 199.00$        

05-1350 CPLG CHAIN F/05-1349 F/H5010 CPLG 29.00$          

05-1351 LINK MSTR DBL #50 25.00$          

05-1358 WELD DRV ADAPTOR FRT NH TN55D 366.00$        

05-1362 CPLG FLEX LOVEJOY F/12-5011/5021 1,119.00$    

05-1367 SHAFT DRV 1 3/8 6SPL 1RD 32.75/43.25 WAL 292.00$        

05-1368 FLANGE COMPANION 15SPL F/1410 SHAFT PMPD 701.00$        

05-1374 SHAFT HALF 1 3/8 6SPL F/05-1367 269.00$        

05-1375 KIT CROSS & BEARING F/13-1367 65.00$          

05-1376 OUTER SHIELD F/05-1367 54.00$          

05-1377 INNER SHIELD F/05-1367 54.00$          

05-1378 SHAFT HALF 1RD F/05-1367 125.00$        

05-1403 SHAFT DRIVE 19.50/27.00 1-15 SPLINE 510.00$        

05-1418 SHAFT DRV SIMPLICITY STYLE QC 607.00$        

05-1423 TRANSAXLE TECUMSEH 723.00$        

05-1426 SHAFT CV 1 RD 7/8 HEX 7-8 FT 852.00$        

05-1430 SHAFT DRV CV 1RD 1-15 SPL 308.00$        

05-1431 PUMPDRIVE DBL D-D 1:1 SAE1 HSG 14IN DURS 6,075.00$    

05-1437 SHAFT DRV BHEAD WSP 36 49.00$          

05-1439 GEARBOX PEERLESS RT ANG 7/8 SHAFT 411.00$        

05-1465 SHAFT PUMP 13SPL 7/8X27 1/4 KEYWAY HARDE 529.00$        

05-1479 SEAL INPUT F/05-1111 GEARBOX 22.00$          

05-1480 SEAL OUTPUT F/05-1111 GEARBOX 11.76$          

05-1483 COUPLER 3/4 DRIVE 30.00$          

05-1484 COUPLER DRIVE INSERT 31.00$          

05-1487 GEARBOX DRIVE WSP24 275.00$        

05-1490 SHAFT PUMP NH TN SERIES 142.00$        

05-1492 PUMP DRIVE ADAPTOR A NH TN SERIES 1,464.00$    

05-1502 SEAL F/LAF5646-0000 GEARBOX 18.65$          

05-1503 SEAL F/LAF5646-0000 GEARBOX 23.00$          

05-1506 GEARBOX PLNTRY 4.8:1 HECO 25CF11-64-1 5,233.00$    

05-1513 GEARBOX HUB CITY 3:1 HOLLOW OUTPUT 701.00$        

05-1534 KIT SEAL F/P205400 GEARBOX 98.00$          

05-1554 KIT SEAL F/05-1456, -1500, -1506, -1558 144.00$        

06-0001 PULLEY V 7 7/8 HX*** 37.00$          

06-0003 PULLEY V 5 1/2x7/8HEX 37.00$          

06-0004 BELT PULLEY V 2420 25.00$          

06-0006 BELT PULLEY V 2440 44IN LG 24.00$          

06-0008 SPROCKET 4126x7/8HEX 101.00$        

06-0009 PULLEY IDLR 3 3/4x7/8x 3/8 13.84$          

06-0020 SPROCKET 4012x7/8HEX*.* 25.00$          

06-0024 SPROCKET 50B11X7/8HX 5/16SET SCREW ON FL 33.00$          

27



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

06-0026 SPROCKET 4112x3/4RD BORE 29.00$          

06-0027 CHAIN #40 CONNECT SGL LK 1.70$            

06-0030 PULLEY IDLR DBL TYPE C36 11.03$          

06-0032 SPROCKET 4135X7/8HEX 50.00$          

06-0042 SPROCKET 4110X3/4RD BORE 17.58$          

06-0053 BELT PULLEY V A-60 30.00$          

06-0083 SPROCKET 6015X7/8HX 135.00$        

06-0086 CHAIN #60X88 W/MASTER 72.00$          

06-0087 HUB 1 3/8 6SPL 27.00$          

06-0096 BELT PULLEY V A-51 22.00$          

06-0098 PULLEY IDLR 3 1/4X1 1/8 X1/2 35.00$          

06-0100 CHAIN #50 CONNECT SGL LK 3.21$            

06-0113 CHAIN #40 104 LINKS 34.00$          

06-0142 PULLEY IDLR 3 1/4X1 1/8 9.62$            

06-0143 CHAIN #60 CONN LK 3.28$            

06-0144 GEAR NCG 16 33x7/8 HEX HARDENED TEETH 34.00$          

06-0145 GEAR NCG 16 119x7/8 HEX 88.00$          

06-0171 PULLEY IDLR 2x7/8x3/8 11.70$          

06-0180 SPROCKET 60B11 7/8XHX 5/16 SET SCREW ON 41.00$          

06-0181 SPROCKET 50A60X1 1/4RD FINISHED 138.00$        

06-0186 CHAIN #50 104 LINKS 52.00$          

06-0202 CHAIN #50 1/2 LINK 5.22$            

06-0205 SPROCKET H50H15 86.00$          

06-0208 SPROCKET 60A48X1 1/4RD W/HOLES 114.00$        

06-0209 SPROCKET 60H15 126.00$        

06-0214 CHAIN #50 84 LINKS 43.00$          

06-0215 SPROCKET 50A38x1RD BORE 59.00$          

06-0216 SPROCKET 5015X7/8RD BORE 64.00$          

06-0217 SPROCKET 5015X3/4 64.00$          

06-0238 SPROCKET 50B12 7/8XHEX** THRU HOLE 28.00$          

06-0239 SPROCKET 40A48X1RD NOT PAINTED 56.00$          

06-0241 SPROCKET 40B10X7/8HX NO SET SCREW 96.00$          

06-0246 CHAIN #80 1/2 LINK 13.62$          

06-0257 SPROCKET 40B12X7/8 *** W/KW 34.00$          

06-0275 CHAIN #50 88 LINKS W/MST 40.00$          

06-0293 BELT PULLEY V 6844 GATES 31.00$          

06-0294 PULLEY V 2 1/2 3/4 DBL 78.00$          

06-0295 PULLEY V 5 1/2X3 7/8HEX A SECT 69.00$          

06-0296 PULLEY V 5 1/2X7 7/8HEX A SECT 204.00$        

06-0297 PULLEY V 2 1/2X3 1/2 3/4 RD B SECT 59.00$          

06-0310 PULLEY V 7 7 HEX DBL SS 71.00$          

06-0312 SPROCKET 6022X7/8HX 270.00$        

06-0314 SPROCKET 8012 1 1/4 TL BSHG 173.00$        

06-0315 SPROCKET 8012 IDLER 125.00$        

28



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

06-0332 CHAIN #60 82 LINKS 69.00$          

06-0333 CHAIN #80 88 LINKS 142.00$        

06-0382 PULLEY V 4x3/4 DBL A SECT 102.00$        

06-0409 BELT PULLEY B78 31.00$          

06-0411 SPROCKET 60A31 STOCKBORE 41.00$          

06-0425 CHAIN ASSY #40x106 ENDLESS W/CONN LK 49.00$          

06-0427 CHAIN ASSY #40x112 ENDLESS W/CONN LK 35.00$          

06-0433 SPROCKET 50B11x1BOREx 1/4 KEY 62.00$          

06-0434 SPROCKET 50B36 TAPER BORE SPEC 120.00$        

06-0435 HUB TAPER 1BORE 1/4 KEY 55.00$          

06-0436 CHAIN #50 78 PITCHES W/MSTR UNASSEMBLD 48.00$          

06-0437 SPROCKET QD RIM ONLY *** 80SF36 346.00$        

06-0447 BELT PULLEY A44 30.00$          

06-0460 PULLEY V 3 1/2 X 3/4 RD SOLID STEEL 50.00$          

06-0466 CHAIN #50 73 PITCHES & MASTER UNASSEMBLE 26.00$          

06-0474 SPROCKET 50B14 1IN BORE 1/4 KEYWAY W/SET 38.00$          

06-0475 SPROCKET IDLER 50B17 1/2 IN BORE 45.00$          

06-0477 SPROCKET IDLER CHAIN #40-14 TOOTH W/3/8H 37.00$          

06-0478 PULLEY ENG WSP 154.00$        

06-0479 PULLEY BRSH DRV WSP 169.00$        

06-0480 SPROCKET 40B35 BRSH DRV WSP 67.00$          

06-0481 PULLEY V 6 1/2x3/4RD A- SECT 3/16KEY W/B 72.00$          

06-0482 CHAIN #40 74 PITCHES W/OFFSET LINK+MSTR 22.00$          

06-0483 CHAIN #40 101LKS W/MSTR ASSEMBLED 27.00$          

06-0484 BELT PULLEY V 6850 37.00$          

06-0486 PULLEY IDLER 3 1/4x7/8x 3/8 27.00$          

06-0487 PULLEY IDLER 4 1/2x3/4x 3/8 #F-6412 29.00$          

06-0488 BELT FAN F/KUBOTA V1505 16282-97010 44.00$          

06-0489 BELT PULLEY V 6839 31.00$          

06-0494 PULLEY V 6 1/2x3/4 RD A SECT 3/16 KEY 43.00$          

06-0495 SPROCKET 40B13x7/8 W/KW 22.00$          

06-0496 BELT FAN 3289974 CUMM QSL9 173.00$        

06-0498 BELT 1 WSP24 20.06$          

06-0499 BELT 2 WSP24 16.72$          

06-0500 PULLEY DRIVE WSP24 32.00$          

07-0001 SCREW SET GR2 1/2-13x2 PLD 4.88$            

07-0002 SCREW SET GR2 5/16-18x 5/16 BLK OXIDE 0.47$            

07-0006 SCREW RD HD PHIL GR2 10-24x1 PLD 0.36$            

07-0018 SCREW HHC GR8 3/8-16x1 PLD 0.44$            

07-0023 SCREW HHC GR2 3/8x3/4 PLD 0.23$            

07-0032 SCREW HHC GR8 3/8-16x5 PLD 2.07$            

07-0034 SCREW HHC GR8 7/16-20x1 PLD 0.63$            

07-0041 SCREW HHC GR8 3/8-16x1 1/2 NON PL 1.03$            

07-0045 SCREW HHC GR8 1/2-13x1 1/2 PLD 1.02$            

29



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-0054 SCREW SOC HD FL 3/83x/4 PLD 1.39$            

07-0066 SCREW HHC GR8 5/8-11x2 PLD 2.56$            

07-0067 SCREW SOC HD GR8 5/16x3/4 PLD 1.03$            

07-0069 SCREW HHC GR5 5/8- 11x3 FULL THRD PLD 2.06$            

07-0070 SCREW HHC GR8 5/8x4 1/2 PLD 4.04$            

07-0079 SCREW HHC TAP GR5 3/4-10x2 1/2 PLD 6.35$            

07-0080 SCREW HHC TAP GR5 3/4-10 x3 PLD 10.30$          

07-0108 BOLT CRG GR2 .375X.75 PLD 0.36$            

07-0117 BOLT CRG GR5 1/2X2 PLD 1.66$            

07-0118 BOLT CRG GR5 5/8-11X 1 1/2 PLD 3.65$            

07-0119 BOLT CRG GR5 5/8-11X 1 3/4 PLD 4.16$            

07-0120 BOLT CRG GR5 5/8-11X 2 PLD 4.44$            

07-0122 SCREW SOC HD FL GR2 5/16 x1 1/4 PLD 1.88$            

07-0140 WASHER LOCK GR2 #10 PLD 0.05$            

07-0144 NUT LUG GR2 1/2-20x5/8 PLD 3.10$            

07-0145 NUT HEX GR8 1/4-28 PLD 0.15$            

07-0146 NUT HEX NYLOCK GR2 3/4-10 HVY PLD 5.70$            

07-0148 NUT HEX LOCK ST 3/4-10 GR8 PLD 1.83$            

07-0156 WASHER FL GR8 1/2 PLD 0.48$            

07-0159 WASHER FL GR2 1 PLD 1.34$            

07-0169 WASHER LOCK SPLIT MED 7/16 PLD 0.22$            

07-0186 NUT HEX GR8 1-14 PLD 2.50$            

07-0189 NUT HEX GR8 3/4-10 NONPL 1.04$            

07-0192 PIN CLEVIS 1/4X1 1/2 C1010/1018 PLD 0.96$            

07-0193 PIN CLEVIS 3/8X1-1/8 C1010/1018 PLD 1.46$            

07-0196 PIN CLEVIS 1/2X2 C1010/1018 PLD 1.75$            

07-0197 PIN CLEVIS 1/2X3 C1010/1018 PLD 1.89$            

07-0201 PIN CLEVIS 5/8X2 C1010/1018 PLD 2.06$            

07-0204 PIN ROLL GR2 1/4x2 BLK OXIDE 0.44$            

07-0205 PIN CTTR GR2 1/8X1 PL 0.52$            

07-0206 PIN CTTR GR2 3/16X2 PLD 0.36$            

07-0208 PIN CTTR GR2 3/16X3 PLD 1.03$            

07-0209 CLIP HAIRPIN 16GAx1 3/8 0.57$            

07-0210 CLIP HAIRPIN 14GAx1 3/4 0.70$            

07-0216 SPRING TENS 1.87x10.31 163 LB/INCH 21.00$          

07-0217 CHAIN 1/4 9 LINKS PL GRADE 30 5.41$            

07-0223 FTG ZERK STRT 1/8NPT PLD 1.56$            

07-0237 SPRING TENS 1 13/32x6 8.83$            

07-0238 CHAIN 3/16 10 LINKS GRADE 30 5.21$            

07-0239 PIN SPRING LOCK GR2 3/16 x1 1/4 BLK OXID 0.25$            

07-0240 NUT LOCK STAMPED 5/16-18 TIMMERMAN 1.14$            

07-0244 PIN LINCH 1/4-1.56 7D-7496 3.14$            

07-0245 CAP BREATHER HYD TANK S061 MADE IN ME 30.00$          

07-0246 CHAIN 1/4 13 LINKS GRADE 30 9.87$            

30



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-0249 CHAIN 1/4 22 LINKS HF*+* GRADE 30 14.65$          

07-0253 CASTER 5DIA C36 34.00$          

07-0254 BUSHING 1/2x13/32x9/32 REPL 07-0648 BSHG 1.14$            

07-0260 PIN CLEVIS 3/8x2-3/4 C1010/1018 PLD 1.52$            

07-0271 CHAIN #60 BULK 0.92$            

07-0274 CHAIN #50 BULK 1.03$            

07-0285 PIN CAT 1 HITCH GR2 7.67$            

07-0290 CHAIN 1/4 39 LINKS GR30 21.00$          

07-0314 CHAIN 3/16 15 LINKS 5.70$            

07-0315 LEVER CTRL C36 W/HOLE PLD 28.00$          

07-0319 PIN QUICK SNAP JD ASSY QA 23.00$          

07-0324 SPRING TENS 1/2x3 5.51$            

07-0337 SPRING TENS 3/4X4 1/2 IDLER PL 38.00$          

07-0343 SWITCH TOGGLE 2 POS 20.06$          

07-0349 WHEEL 15X5 545 BC WIRE** BASKET PAINT ON 98.00$          

07-0351 BOX CTRL HOFFMAN A6044SC 152.00$        

07-0351-6 BOX CTRL ASSY H STD F/SS 1,523.00$    

07-0351A SWITCH TOGGLE 6 PRONG 35.00$          

07-0352S CABLE CONT H P 30FT 467.00$        

07-0353 HOLDER LICENSE PLATE 5.41$            

07-0372 LATCH HD RBR 2.5 IN FL 31.00$          

07-0387 CHAIN 3/16 26 LINKS GRADE 30 8.55$            

07-0394 PULLEY SWIVEL C36 GUIDE 4.65$            

07-0411 NOZZLE TEE W/CLAMP 33.00$          

07-0412 NOZZLE ELBOW W/CLAMP 33.00$          

07-0413 NOZZLE CAP NYLON 2.50$            

07-0414 NOZZLE TIP BRASS TK 1.5 21.00$          

07-0417 FTG BARB BR 3/8 TEE JET 9.83$            

07-0421 KEY WOODRUFF 609 1.67$            

07-0532 STRAINER HYPRO WTR 3350 68.00$          

07-0538 CLAMP SCREW MM-4 1/4-5/8 3.87$            

07-0539 PIN CLEVIS GR2 1 W/HCLIP BOTH END 7.02$            

07-0547 CLAMP SPRING 1" HOSE 1.26$            

07-0549 CLAMP SPRING 5/8 HOSE 0.56$            

07-0551 CLAMP SPRING 1/4 HOSE 2.28$            

07-0557 BUSHING 17/32x13/32 PLASTIC 9.36$            

07-0563 FTG ZERK 90DEG 1/8NPT 3.09$            

07-0566 ASSY TIRE/WHL 700-15LT-D 6BOLT 529.00$        

07-0568 FILTER HOPPER TP60 318.00$        

07-0570 TANK FUEL 10GAL W/CAP/ STRAPS 432.00$        

07-0573 KIT CROSS 6R U-JOINT F/WEASLER ONLY 60.00$          

07-0582 CASTER TP60 NEW*** 252.00$        

07-0641 SCREW SET SQ HD GR2 5/16x3/4 CUP PLD 1.78$            

07-0656 BLANK 24x17.38x10GA 53.00$          

31



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-0670 HINGE 3x96x.180 W/1/2 STEEL PIN 25.00$          

07-0677 KEY 3/16x1 1/4 3.82$            

07-0678 TIE PLASTIC 7 1/2 BLK 2" MAX BUNDLE DIA. 1.03$            

07-0680 PIN KLIK 7/16X1 3/8 2.60$            

07-0686 WASHER MACH 1 3/4-1 1/8 1.68$            

07-0688 PIN CAT 2 HITCH 7/8 THD 25.00$          

07-0692 WASHER FL GR8 1 1/4 PLD 3.09$            

07-0699 PIN CTTR GR2 1/8X1 1/4 PLD 0.15$            

07-0713 NUT HEX JAM GR8 1 1/4-12 PLD 22.00$          

07-0786 PIN CTTR GR2 3/16X 1 1/2 PL 0.25$            

07-0812 TERM CON Q/K 1/4 F 16-14 (3M) 72F-250-32 0.80$            

07-0836 TERMINAL BLOCK 12 POST 16.32$          

07-0839 WIRE BULK CORD TRAILER 7 COND 8.21$            

07-0867 TERM BUTT 16-14 INS VNYL 1.03$            

07-0868 SWITCH SPDT 3193-0003 TP-60 27.00$          

07-0870 SOLENOID MONARCH 4POST F/03-0371 128.00$        

07-0900 SWITCH NEUTRAL START 44.00$          

07-0911 TERM RING 3/8 12-10 1.03$            

07-0917 WIRE BULK CORD 16GA 2CON D SJO 2.11$            

07-0948 SWITCH MODEL 9109 OFF-MO N 28.00$          

07-0967 CIRCUIT BRKR 40A A RESET MTG BRKT STUD T 20.34$          

07-0982 LIGHT INDICATOR RUN 11.22$          

07-0994 CIRCUIT BRKR 30AMP PUSH BTN PANEL MNT 45.00$          

07-0996 CONNECTOR F-24 POLE INSERT 99.00$          

07-0997 CONNECTOR M-24 POLE INSERT 89.00$          

07-10005 PICK CEMENT HVY DUTY COL D PLANER 14.42$          

07-10013 WIRE HARNESS 3-LINE W/BO X COLD PLNR 314.00$        

07-10014 WIRE HARNESS 9' 3-LINE COLD PLANER 182.00$        

07-10017 SCREW HHC GR5 .38-16 X 6 0.5 2.06$            

07-10019 WIRE HARNESS 5-LINE W/BO X COLD PLNR 547.00$        

07-10020 WIRE HARNESS 9' 5-LINE C OLD PLANER 109.00$        

07-10021 WIRE HARNESS CONTROL CAT 8 PIN 214.00$        

07-10022 NUT SLOTTED 1.0-14 UNC 14.03$          

07-10026 WIRE HARNESS AUX OUTLET ADAPTER 48.00$          

07-10044 BEARING F/LAF5620 PWR RK WHL ASSY 13.98$          

07-10045 RETAINER F/LAF5620 PWR R K WHL ASSY 4.76$            

07-10057 WIRE HARNESS ADAPTER KOM ATSU SSL 343.00$        

07-10076 BENT HITCH PIN W/HAIR PI N COTTER 12.71$          

07-10124 PTO DRIVE SHAFT W/CV JOI NT F/PWR RK 793.00$        

07-10126 WASHER FL GR5 1.63 SAE 1.27$            

07-10140 TUBE SPEAR SLEEVE 27.00$          

07-10142 HOOK CASTING JD 200-500 QA 14.03$          

07-10146 NUT HEX CL 8.8 M12-1.75 1.03$            

07-10149 LATCH PIN CASTING JD 600 /700 QA 16.63$          

32



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-10154 HARNESS ADAPTER F/VOLVO STD SNOWBLOWER 181.00$        

07-10156 WIRE HARNESS CAT B SERIE S STD SNW BLWR 488.00$        

07-10165 SCREW HHC GR5 .38-16 X 1 1.75 11.43$          

07-10170 WIRE HARNESS ADP CAT B&C SER SSL HI FLOW 372.00$        

07-10180 SCREW HHC GR5 .38-24 X 1 0.25 1.03$            

07-10187 TUBE RD 1.244 X 1.010 X .75 HARDENED 10.53$          

07-10190 BELT 128 X 13.5 W .525 G ROUSER 2.52 PTC 858.00$        

07-10193 PAN HD MCH SCRW .25-20UN C X .50 PHLP 1.03$            

07-10195 WIRE HARNESS SNW BLWR 14PIN STD FLOW 458.00$        

07-1023 HOOK HITCH UNIMOG SWV-17 CLAW 77.00$          

07-1035 EYE PINTLE 3 BOLT-ON PAINTED 75.00$          

07-1041 BOLT U 3/4x3 1/2x5.13 YLW DI CR 67.00$          

07-1044 PIN CTTR GR2 5/32X 1 1/2 PLD 3B-5301 1.03$            

07-1045 PIN CLEVIS 1/2x1-1/2 C1010/1018 PLD 2.06$            

07-1050 TOPLINK CATII 486 FARMEX 142.00$        

07-1066 SPRING CSTR BRAKE 3000 -3100 32.00$          

07-1075 RIVET POP GR2 3/16x.626- .750 GRIP BTN H 1.06$            

07-1081 BUSHING BRONZE SWG TUBE 145.00$        

07-1082 RUBBER NEOPRENE 1/8x18x 60 DURO 20.33$          

07-1090 PIN CLEVIS 1/2x5 4.75GL C1010/1018 PLD 6.49$            

07-1125 SCREW HHC TAP GR5 1/2-13 x2 PLD 1.21$            

07-1127 WASHER BRONZE 6x3x3/32 195.00$        

07-1137 CONTROL HYDRA BACK TRANS 79.00$          

07-1149-1 CABLE BRM CTRL 6FT 176.00$        

07-1150 WELD QUICK ATTACH SAE 270.00$        

07-1153 BOLT U 5/16-18UNFx1 3/8x 2 1/8 1.03$            

07-1185 NUT HEX GR2 10-32 PLD 0.62$            

07-1187 SCREW SET GR2 1/4-28x1/4 CUP PT PLD 0.57$            

07-1192 CLAMP T-BOLT 1 1/4 18.19$          

07-1250 NUT HEX GR8 1 1/4-12 LCK PLD 31.00$          

07-1255 SCREW HHC GR8 3/8-24x1 1/4 PLD 0.80$            

07-1279 SCREW SET GR5 3/8-16x3/4 BLK OXIDE 1.16$            

07-1294 NUT HEX GR8 5/8-11 PLD  STANDARD 2.70$            

07-1309 SCREW HHC GR8 1/2-13x1 1/4 PLD 1.03$            

07-1359 CABLE CONT C36 1 LVR 36 26.00$          

07-1360 HUB ASSY P84 63.00$          

07-1363 BEARING CONE L68111 17.56$          

07-1367 SEAL AXLE P84 22.00$          

07-1368 CAP GREASE AXLE P84 2.28$            

07-1376 FILTER ELE PALL HC9601FU T8H 665.00$        

07-1377 FILTER ELE PALL HC9651FU T8H 586.00$        

07-1379 FILTER ELE WATER F/07-0532 33.00$          

07-1408-1 SPRING TORSION HOOD E COATED 31.00$          

07-1423 SCREW HHC GR8 7/16-14x4 1/2 PLD 3.09$            

33



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-1427 STRAIN RELIEF 1/2 .375 - .500 WATER-TIGH 27.00$          

07-1430 WASHER FL #10 0.13$            

07-1453 TANK WATER 300GAL WHT SEMI-TRANS PLY 841.00$        

07-1461 LIGHT BAR RED 41.00$          

07-1485 SWITCH PUSH N-O MOMENTRY 27.00$          

07-1488 POTENTIOMETER 5K OHM 47.00$          

07-1489 KNOB ACTUATOR POTENTIOMETER 26.00$          

07-1503 RING LOCK PAIR CSTR 163.00$        

07-1505 SCREW SET GR2 1/4-20x3/4 BLK OXIDE 1.02$            

07-1511 CLAMP SCREW H16 5/8-1 1/2 3.09$            

07-1535 CAP FUEL TANK 2 1/8-12 BRASS #10M 105.00$        

07-1540 SCREW HHC GR8 7/16-14x1 1/4 PLD 1.03$            

07-1555 GEARBOX DANA701C DIFF RIGID MODIFIED 9,566.00$    

07-1557 CHAIN 1/4 27 LINKS GRADE 30 13.31$          

07-1558 CHAIN 1/4 18 LINKS GRADE 30 9.12$            

07-1590 SPRING COMP CONE #11 LHT 3.85$            

07-1591 SPRING COMP CONE #92 HVY 8.50$            

07-1593 SCREW SOC HD GR8 1/2-20x2 1/2 PLD 8.09$            

07-1594 BOLT SHOULDER 1/2x 2 1/4 3/8-16 BLK OXID 10.93$          

07-1596 U-JOINT H7 RECT 10SPL SS ASSY 117.00$        

07-1597 RIVET POP STEEL 3/16x1/2 GRIP 1.03$            

07-1598 STRAIN RELIEF 1   .875 - .985 WATER-TIGH 30.00$          

07-1602 SPRING 1 3/4x6 1/2 SINGLE 14.13$          

07-1604 CHAIN 3/8 41 LINKS HIGH TEST GR43 29.00$          

07-1607 PIN LOCK 5/16SQ BAIL LEG LOCK JD SWG YLW 6.55$            

07-1608 HUB***ASSY*** COMPLETE 50N41/ 2 TD84 170.00$        

07-1615 HOOD ELEC CONN SIDE ENTRY 207.00$        

07-1620 SCREW HHC GR8 3/4-10x5 1/2 PLD 6.18$            

07-1628 ASSY TIRE/WHL 4.10/3.50- 4 TURFSVR 7/8 R 43.00$          

07-1629 BOX ELEC JUNC BLK BERG 22020 75.00$          

07-1645 CIRCUIT BRKR 3AMP 38.00$          

07-1656 BUSHING BRONZE 1 1/2x 1 1/4x7/8 5.53$            

07-1657 BALL END 3/4 3/4-16 63.00$          

07-1660 ACTUATOR 450# MRM D12-20 A5-04 4" STROKE 679.00$        

07-1663 NUT HEX JAM GR8 3/4-16 PLD 3.03$            

07-1675 RIVET POP ALUM 1/8x.188- .250 GRIP BTN H 1.03$            

07-1698 SCREW HHC GR8 5/16-18x2 PLD 0.55$            

07-1699 WIRE BULK CORD 16GA 37CONDVNTC 21.00$          

07-1700 SWITCH PUMP SHUTOFF AUTO 156.00$        

07-1704 JACK 5000#SD SWVL W/FOOT PIPE MNT 15-5 T 281.00$        

07-1709 PIN CHAIN KEEPER 1/4 x 4 1/2 PLD 9.45$            

07-1713 SCREW SOC HD GR8 1/2-13x3 BLK OXIDE 1.34$            

07-1714 SCREW HHC GR8 5/16-18x1 PLD 0.26$            

07-1715 NUT WELD SQ 1/2-13 W/ PIL T13885 1.03$            

34



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-1716 BOLT CRG GR5 3/8-16x1 PLD 0.60$            

07-1717 BOLT CRG GR5 3/8-16x1 1/4 PLD 1.03$            

07-1718 WASHER LOCK SPLIT MED 3/8 PLD 1.03$            

07-1721 CLAMP RBR/VNYL COAT HOSE 1 1/4 HOSE 4.56$            

07-1730 BOLT CRG GR5 3/8-16x1 1/2 PLD 0.90$            

07-1732 SHACKLE CHAIN 1/4 W/SCREW PIN 24.00$          

07-1749 PIN SPRING LOCK GR2 1/4x 2 1/4 BLKOX 1.96$            

07-1756 SOLENOID 12V N OPEN CONT DTY SELF GROUND 114.00$        

07-1757 BOX BATTERY PLASTIC BLK GRP24 13.38x10.1 45.00$          

07-1759 CHAIN 3/16 36 LINKS GRADE 30 18.06$          

07-1762 WASHER LOCK SPLIT MED 1/2 PLD 0.54$            

07-1763 WASHER FL GR8 1/2 PLD HEAVY 1.24$            

07-1764 NUT HEX GR8 1/2-13 PLD 0.47$            

07-1766 SWITCH LIQUID LEVEL 108.00$        

07-1767 TIE PLASTIC 15 1/2 BLK 1.26$            

07-1772 SENSOR UCC 1 5/8MOR 2,275.00$    

07-1779 PIN CTTR GR2 3/32X3/4 PLD 0.05$            

07-1782 WASHER FL GR2 3/4 SAE HARDENED 1-1/2 OD 1.03$            

07-1783 PIN SPRING LOCK GR2 3/16 x1 1/2 BLKOX 1.07$            

07-1784 SCREW HHC GR8 5/16-18x2 1/2 PLD 0.92$            

07-1786 SPRING COMP .48ODX2SS 23.00$          

07-1787 RIVET STEEL 3/8x2 OAL RD HD 2.28$            

07-1805 SWITCH TOGGLE DPDT CTRL BX 33.00$          

07-1810 NUT HEX LOCK ST  5/16-18 GR8 PLD 1.89$            

07-1817 TIE PLASTIC 15 WHITE REUSE 3.00$            

07-1824 BOOT SWITCH COVER 12.80$          

07-1827 SCREW SOC HD GR8 3/8-16x2 1/2 PLD 2.68$            

07-1834 LOOM FLEX GUARD .500 0.94$            

07-1841 WASHER FL GR2 1 1/8 SAE PLD 1.58$            

07-1846 SCREW HHC GR8 1 1/4-12x10 PLD 40.00$          

07-1869 TANK FUEL 12GAL W/O CAP 543.00$        

07-1870 SCREW HHC GR8 3/4-10x2 1/2 PLD 4.12$            

07-1872 WASHER LOCK SPLIT MED 5/8 PLD 4.21$            

07-1882 SCREW SET 3/8-16x5/8 CUP PT PLD 1.29$            

07-1892 CASTER ASSY 8IN 1500LB** CAPCTY MAX SPEE 494.00$        

07-1893 PIN CLEVIS 3/4X2-1/2 C1010/1018 PLD 4.12$            

07-1906 NUT HEX GR2 8-32 PLD 1.03$            

07-1918 SWITCH ON-OFF (ON) DPDT 73.00$          

07-1924 CAP FUEL TANK 1 1/2 2LUG TYPE 24.00$          

07-1928 SWITCH C36 STOP PUSH/ PULL 33.00$          

07-1941 SCREW SET GR8 3/8-16x1 CUP PT BLK OXIDE 1.91$            

07-1948 KEY WOODRUFF 1/4X1 #808 1.46$            

07-1959 WASHER FL GR8 3/4 LRG NONPL 5.61$            

07-1961 MUFFLER WISC 65HP HORZ 298.00$        

35



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-1973 SCREW HHC GR8 5/16-18x1 1/4 PLD 0.40$            

07-1977 ASSY CSTR 4.80-8 4PLY*** 960LB CAPCTY  S 767.00$        

07-1985 BLOCK GTRBRM 12 ECOLO W/ALL HOLES 58.00$          

07-2005 SWITCH JOYSTICK 4WAY SPEMCO J84-211-113 273.00$        

07-2027 KIT PLUMBING BRAKES SURGE 105.00$        

07-2032 CLEVIS DBL LINK 9/32 GR80 64.00$          

07-2062 BOX JUNC SURFACE MTG 134.00$        

07-2080 BALL END 1 1/4 CYL ENDS 39.00$          

07-2088 SCREW SOC HD FL GRB 1/2-13x3/4 BLK OXIDE 3.40$            

07-2100 TERM BUTT 16-14 NONINS HEAT SHRINK 1.63$            

07-2104 TOPLINK RATCHET 1IN PINS 20 CLOSED 8 STR 258.00$        

07-2105 PIN LOCK 3/8 SQ BAIL MH TH SWG LOCK YLW 8.96$            

07-2111 BATTERY 24-650 650CCA 125 RESERVE CAP/MI 360.00$        

07-2116 SCREW HHC GR8 3/8-16x1 1/4 PLD 0.65$            

07-2121 EDGE CUT WELD ON 1/2x4x 60.38 114.00$        

07-2122 EDGE CUT 1/2x6x60 230.00$        

07-2133 WIRE BULK CORD 16GA 6COND TRAILER CORD 3.87$            

07-2135 WIRE BULK CORD 16GA-16 22.00$          

07-2153 CONNECTOR TRAILER 4 PRONG W/GUARD 28.00$          

07-2170 SCREW HHC GR8 1-8x4 PLD 12.36$          

07-2226 RELAY BOSCH 12V 0332-209-150 51.00$          

07-2256 KIT SEAL F/ TF SERIES PARKER MOTOR 172.00$        

07-2298 SCREW HHC CL8.8 M16- 2.00x30MM PLD 2.06$            

07-2300 WASHER FL CL8.8 M16 PLD 1.03$            

07-2323 SCREW HHC GR8 5/8-11x3 1/4 PLD 4.12$            

07-2326 SENDER TACH VDO GAUGE CAT 3306 3208 VDO# 745.00$        

07-2360 SCREW HHC GR8 1/2-13x4 PLD 6.30$            

07-2361 AMP CARD REX         *** 5900-001017 1,442.00$    

07-2430 RING SNAP SWG FRM 3000 WALDES TRVARC 516 6.90$            

07-2477 PLUG SNAPIN 3/4 CONDUIT 2.11$            

07-2484 TOPLINK CAT 0 10 3/4Cx 16 3/8E 92.00$          

07-2488 SCREW HHC GR8 3/8x4 1/2 PLD 7.96$            

07-2495 SCREW HHC CL8.8 M10- 1.50 x5MM PLD 1.03$            

07-2561 WASHER FL GR2 1/2 NONPL 1.03$            

07-2575 SPRING GAS 60# 8 STRK 86.00$          

07-2596 LEVER CTRL HYD VALVE 83.00$          

07-2603 CABLE PUSH/PULL BULKHD** ONE END HB53X-5 106.00$        

07-2615 TAPE ELEC 3/4x66FT 22.00$          

07-2628 SWITCH MURPHY 30-SEC DELAY 12 VOLT 224.00$        

07-2646 SCREW HHC GR8 1/2-13x3-3/4 PLD 2.06$            

07-2647 SCREW HHC GR8 5/8-11x3 3/4 PLD 3.09$            

07-2653 TANK AIR RESERVOIR 19810 MIDLAND 336.00$        

07-2656 PAD NONSLIP 4x24 BLK SAFETY-WALK 24.00$          

07-2665 BOLT LUG 5/8-18x2 5/8 .688 KNURL DIA 18.92$          

36



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-2666 NUT LUG 5/8-18 1 1/16HX 21/32HGT 11.66$          

07-2681 FTG ZERK DRIVE-IN 1/4 115-100 1.03$            

07-2709 DIODE NTE-5814 7.16$            

07-2809 FUSE 30AMP BLADE TYPE 2.71$            

07-2810 FUSE 20AMP BLADE TYPE 1.95$            

07-2826 AXLE LEAF SPRG OVER CMBR 2200# 416.00$        

07-2836 BALL END 1 F/03-2055 34.00$          

07-2840 CHAIN 1/4 56 LINKS GR43 33.00$          

07-2843 PIN KLIK 3/16x1 1/4 MEDALIST 63-01  (OR 3.28$            

07-2847 ASSY CSTR TRI-WHEEL SPEC #JR81PH085-3S 877.00$        

07-2855 SCREW HHC GR8 5/8-11x2 1/2 PLD 2.72$            

07-2870 CASTER RIG CHC800 SEALED #81YAO8501-S NS 287.00$        

07-2871 CASTER AXLE 3/4X11 1/2 HARD #ZJ12-11-1/2 310.00$        

07-2872 AXLE NUT CHC800 3/4 LOCK NUT 16PLT #NL-1 13.61$          

07-2873 SPANNER BUSHING CHC800 F/CTR WHEEL # 2F- 28.00$          

07-2874 WHEEL OFFSET HUB 8 3/4 T BRG #JR284HS-4 289.00$        

07-2875 WHEEL CENTERED HUB 8 1 R BRG JR284DB FUL 185.00$        

07-2876 TIRE CSTR CHC800 #280/250-4 52.00$          

07-2877 TUBE CSTR CHC800 F/ #340-300-5 TIRE 37.00$          

07-2886 CLEANER AIR PRE 2 COMP** CENT 150CFM 85.00$          

07-2894 SWITCH ROCKER SPST ON-OFF 26.00$          

07-2895 SWITCH ROCKER SPDT (ON)-OFF-(ON) 49.00$          

07-2896 SWITCH ROCKER SPDT*** (ON)-OFF-ON BLK SP 15.07$          

07-2914 BOLT SHEAR GRBX M18 PLD 9.47$            

07-2920 WIRE BULK CORD 12GA 3CON SJO 4.95$            

07-2924 CONNECTOR PIN AMP 1.63$            

07-2926 STRAIN RELIEF AMP 206512-1 24.00$          

07-2928 CONNECTOR SOCKET AMP 66360-2 1.87$            

07-2950 BOLT CRG CL8.8 M8-1.25 x20MM PLD 1.64$            

07-2952 SCREW HFH CL10.9 M6-1x20 PLD 2.76$            

07-2954 NUT HEX GR5 M8x1.25 PLD 0.82$            

07-2956 NUT INSERT M6x1 GRIP *** LGT .027-.165 1.78$            

07-2959 EDGE CUT DBE 3/4X8 BOLT ON 6 BOLT PNT 276.00$        

07-2969 RELAY LIGHTED X 170.00$        

07-2974 SWITCH DPDT (ON)-OFF- (ON) EXT LEVER 51.00$          

07-3011 LANYARD 1/16 CABLE 1 1/4 TABx6 TYPE C 16.37$          

07-3013 BUSHING CSTR JDM18 25.00$          

07-3015 SPACER CSTR JDM18 3.03$            

07-3016 WHEEL CSTR 6.25x5/8 YLW 63.00$          

07-3022 SCREW HHC GR8 1/4-20x2 PLD 1.07$            

07-3056 ACTUATOR 24STRK 1000*** DANAHER D1210B5- 1,542.00$    

07-3064 SCREW HHC GR8 3/4-10x2 PLD 3.63$            

07-3065 WASHER LOCK SPLIT MED 3/4 PLD 2.53$            

07-3066 NUT HEX GR8 3/4-10 PLD 3.42$            

37



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-3077 COIL 12V DELTA MANF BLK S VALVE F/03-236 102.00$        

07-3078 CARTRIDGE VALVE      *** UP F/03-2364 MA 165.00$        

07-3080 CARTRIDGE SWG RT/LT F/03-2364 MANF BLK S 240.00$        

07-3081 CARTRIDGE BRSH MTR F/03-2364 MANF BLK SO 428.00$        

07-3082 CARTRIDGE FLW DIV W/RISER WASHER 409.00$        

07-3100 JACK 2000#SD SWVL W/FOOT PIPE MNT 10-20I 149.00$        

07-3111 CONNECTOR 4 POLE SOCKET 45.00$          

07-3112 FTG ZERK 1/4-28 SELF TAP 1.09$            

07-3120 WASHER FL GR8 5/8 PLD 5.86$            

07-3148 VALVE CARTRIDGE RELIEF F/03-2364 MANF BL 169.00$        

07-3149 NUT GR5 3/4x16 CASILATED 24.00$          

07-3150 ASSY TANK WATER 25GAL*** YLW SPEC 274.00$        

07-3153 CIRCUIT BRKR 20AMP AUTO RESET NO MNT STU 22.00$          

07-3159 PIN CLEVIS GR2 3/4x3 3/4 PLD 8.24$            

07-3180 RING LOCK SINGLE     *** F/4.33WHL SEE 1 196.00$        

07-3181 RING BACKUP 4.33WHL *** PAINTED 238.00$        

07-3184 EDGE CUT DBE 3/4X8X61 BOLT ON 10 BOLT PN 272.00$        

07-3207 NUT HEX JAM GR8 1 1/8-12 PLD 19.57$          

07-3256 ASSY CSTR 4.80-8 6 PLY** 1220LB TAPER BR 1,018.00$    

07-3268 RING SNAP 5160-150 6.56$            

07-3270 NUT HEX NYLK GR8 5/16-18 PLD 0.24$            

07-3272 NUT HEX JAM GR8 3/8-16 PLD 1.51$            

07-3273 WASHER LOCK SPLIT MED 5/16 PLD 0.54$            

07-3275 WASHER FL GR8 5/16 PLD 0.54$            

07-3278 NUT HEX GR8 5/16-18 PLD 2.06$            

07-3279 WASHER FL GR8 3/8 PLD 1.03$            

07-3280 BOLT CRG GR5 5/16-18x3/4 PLD 1.36$            

07-3283 WIRE HARNESS 180INCH W/PLUG F/07-2055 105.00$        

07-3311 LINK QUICK 5/16 10.05$          

07-3314 TUBE RAD 18-7x8      *** F/07-3313/07-62 66.00$          

07-3326 CONNECTOR PLUG METAL A.M.P. CABLE MOUNT 309.00$        

07-3327 CLAMP CABLE .625-.938 A.M.P. 114.00$        

07-3328 CONNECTOR RECEPT AMP METAL SHELL 250.00$        

07-3331 SCREW HHC GR8 5/16-24x1 PLD 1.03$            

07-3337 FILTER ELE ENG OIL CUM 4B3.9 32.00$          

07-3340 AXLE 1x7 1/2 W/LOCKNUT F/07-1977 130.00$        

07-3342 WHEEL 8 PNEU F/07-1977 W/TIRE 331.00$        

07-3343 SWIVEL RIG NO HDWARE/WHL F/07-1977 464.00$        

07-3347 SENDER PRESSURE HYD OIL* 5/16 SAE THRD T 558.00$        

07-3354 COIL 24V DELTA 77.00$          

07-3374 PIN LATCH .75x1.5 PLD 56.00$          

07-3375 LANYARD 1/16 CABLE 1 1/4 TAB 8 TYPE C 17.80$          

07-3384 GAUGE TACH BRM 0-6000RPM 233.00$        

07-3386 SENSOR MAGNETIC SEALED F/07-3384/5 TACH 211.00$        

38



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-3417 CAP TANK WATER F/07-3150 45.00$          

07-3420 CAP 10 THRD BAFL/VENT F/07-0367/1196/359 35.00$          

07-3432 SCREW HHC GR8 1/4-20x3/4PLD 1.03$            

07-3433 SCREW HHC GR8 5/8-11x1 1/2 PLD 2.06$            

07-3434 SCREW HHC GR8 1/2-13x3 PLD 2.06$            

07-3435 SCREW HHC GR8 3/4-10x 1 1/2 PLD 2.06$            

07-3436 SCREW HHC GR8 5/16-18x3/4 PLD 0.40$            

07-3438 BOLT CRG GR5 5/16-18x1 PLD 1.36$            

07-3441 SCREW HHC GR8 1/2-13x 3 1/2 PLD 2.68$            

07-3443 CABLE CONT SWG C36TW 33.00$          

07-3473 PIN CLEVIS GR2 3/4x3 PLD 16.54$          

07-3493 SPRING GAS ADJ 270LB 195.00$        

07-3508 BOLT CRG GR5 5/16-18x1 1/4 PLD 1.09$            

07-3514 PIN CLEVIS 1/4x3/4 PLD 2.90$            

07-3516 ASSY CSTR PLY KINGPINLSS HB PAINTED 722.00$        

07-3520 WASHER THRD SEALING 5/8 32.00$          

07-3522 SCREW HFH CL10.9 M6-1x20 PLD WHIZ LOCK 3.22$            

07-3526 EYE PINTLE 2 1/2 4 BOLT 201.00$        

07-3535 ADAPT CORE MOTOR DUAL MTR DRV 804.00$        

07-3536 ADAPT CORE CTR DUAL MTR DRV 532.00$        

07-3544 SCREW HHC TAP GR5 3/4-10 x3 PLD 5.58$            

07-3589 PIN QREL .375x1.1 ZINC PLATED 34.00$          

07-3592 TANK WATER 200GAL 575.00$        

07-3603 PIN CTTR GR2 1/4x2 PLD 3.84$            

07-3608 BOLT SHOULDER 3/8x3/8 5/16-18 9.20$            

07-3617 NUT INSERT HEX M6x1 3.20$            

07-3623 SCREW HHC GR5 1-8x6 FULL THRD PLD 42.00$          

07-3637 SCREW HHC GR8 1/4-20x1 PLD 0.13$            

07-3639 SCREW HHC GR8 1/4-20x1 1/2 PLD 1.17$            

07-3646 SCREW HHC GR8 1/4-20x4 PLD 1.03$            

07-3647 SCREW HHC GR8 5/16-18x1 1/2 PLD 1.17$            

07-3648 SCREW HHC GR8 5/16-18x1 3/4 PLD 1.03$            

07-3650 SCREW HHC GR8 5/16-18x2 3/4 PLD 1.03$            

07-3651 SCREW HHC GR8 5/16-18x3 PLD 0.67$            

07-3652 SCREW HHC GR8 5/16-18x3 1/2 PLD 1.26$            

07-3653 SCREW HHC GR8 5/16-18x4 PLD 1.03$            

07-3654 NUT HEX GR8 3/8-16 PLD 1.03$            

07-3655 SCREW HHC GR8 3/8-16x1 1/2 PLD 0.88$            

07-3656 SCREW HHC GR8 3/8-16x1 3/4 PLD 1.03$            

07-3657 SCREW HHC GR8 3/8-16x2 PLD 1.03$            

07-3658 SCREW HHC GR8 3/8-16x2 1/4 PLD 1.03$            

07-3659 SCREW HHC GR8 3/8-16x2 3/4 PLD 1.03$            

07-3660 SCREW HHC GR8 3/8-16x3 PLD 1.03$            

07-3661 SCREW HHC GR8 3/8-16x3 1/2 PLD 1.03$            

39



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-3662 SCREW HHC GR8 3/8-16x4 PLD 1.03$            

07-3663 NUT HEX GR8 7/16-14 PLD 1.03$            

07-3664 NUT HEX NYLK GR8 7/16-14 PLD 1.03$            

07-3669 SCREW HHC GR8 7/16-14x 2 1/2 PLD 2.06$            

07-3670 SCREW HHC GR8 1/2-13x1 PLD 1.29$            

07-3671 SCREW HHC GR8 1/2-13x 1 3/4 PLD 2.06$            

07-3672 SCREW HHC GR8 1/2-13x 2 1/4 PLD 2.06$            

07-3674 SCREW HHC GR8 1/2-13x 2 3/4PLD 2.06$            

07-3675 SCREW HHC GR8 1/2-13x 4 1/2 PLD 3.09$            

07-3676 SCREW HHC GR8 1/2-13x5 PLD 4.55$            

07-3677 SCREW HHC GR8 1/2-13x 5 1/2 PLD 2.77$            

07-3678 SCREW HHC GR8 5/8-11x1 1/4 PLD 2.06$            

07-3679 SCREW HHC GR8 5/8-11x1 3/4 PLD 3.09$            

07-3680 SCREW HHC GR8 5/8-11x2 1/4 PLD 2.58$            

07-3681 SCREW HHC GR8 5/8-11x2 3/4 PLD 3.09$            

07-3682 SCREW HHC GR8 5/8-11x4 PLD 3.04$            

07-3684 WASHER FL GR8 3/4 PLD 2.06$            

07-3685 SCREW HHC GR8 3/4-10x 1 3/4 PLD 4.12$            

07-3691 BOLT CRG GR5 1/4-20x 1 YLW DI CR 0.47$            

07-3692 BOLT CRG GR5 1/4-20x 1 1/4 YLW DI CR 0.45$            

07-3699 BOLT CRG GR5 3/8-16x3/4 PLD 1.03$            

07-3702 BOLT CRG GR5 3/8-16x2 PLD 1.03$            

07-3703 BOLT CRG GR5 3/8-16x2 1/4 PLD 1.03$            

07-3708 BOLT CRG GR5 1/2-13x 1 1/2 YLW DI CR 2.18$            

07-3709 BOLT CRG GR5 1/2-13x 1 3/4 YLW DI CR 1.03$            

07-3717 KIT CPLG REBUILD     *** F/05-0353 CPLG 704.00$        

07-3718 GAUGE SIGHT 5IN W/LEVEL SWITCH NORMAL CL 357.00$        

07-3728 WASHER FL CL8.8 M6 PLD 1.03$            

07-3730 WASHER LOCK SPLIT MED M6 PLD 1.03$            

07-3731 SCREW HHC CL10.9 M6- 1.00 X 30MM PLD 1.03$            

07-3732 SCREW HHC CL10.9 M6- 1.00 X 35MM PLD 1.03$            

07-3734 SCREW HHC CL10.9 M6- 1.00 X 45MM PLD 1.31$            

07-3736 WASHER FL CL8.8 M8 PLD 0.48$            

07-3737 NUT HEX CLASS 10 M8-1.25 PLD 0.55$            

07-3738 WASHER LOCK SPLIT MED M8 PLD 0.24$            

07-3739 SCREW HHC CL10.9 M8- 1.25 X 25MM PLD 0.80$            

07-3740 SCREW HHC CL10.9 M8- 1.25 X 30MM PLD 0.64$            

07-3742 SCREW HHC CL10.9 M8- 1.25 X 40MM PLD 0.73$            

07-3744 SCREW HHC CL10.9 M8- 1.25 X 50MM PLD 1.26$            

07-3745 WASHER FL CL8.8 M10 PLD 0.36$            

07-3747 WASHER LOCK SPLIT MED M10 PLD 1.47$            

07-3748 SCREW HHC CL10.9 M10- 1.50 X 25MM PLD8T 1.06$            

07-3749 SCREW HHC CL10.9 M10- 1.50 X 30MM PLD 1.47$            

07-3750 SCREW HHC CL10.9 M10- 1.50 X 35MM PLD 1.59$            

40



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-3751 SCREW HHC CL10.9 M10- 1.50 X 40MM PLD 4.07$            

07-3752 SCREW HHC CL10.9 M10- 1.50 X 45MM PLD 3.21$            

07-3754 WASHER FL CL8.8 M12 PLD 0.36$            

07-3755 NUT HEX CLASS 10 M12-1.75 PLD 1.00$            

07-3756 WASHER LOCK SPLIT MED M12 PLD 1.03$            

07-3758 SCREW HHC CL10.9 M12- 1.75 X 30MM PLD 1.53$            

07-3759 SCREW HHC CL10.9 M12- 1.75 X 35MM PLD 1.51$            

07-3760 SCREW HHC CL10.9 M12- 1.75 X 40MM PLD 1.43$            

07-3761 SCREW HHC CL10.9 M12- 1.75 X 45MM PLD 1.27$            

07-3762 SCREW HHC CL10.9 M12- 1.75 X 50MM PLD 1.03$            

07-3775 NUT HEX CLASS 8.8 M10-1.5 PLD 1.03$            

07-3777 SCREW HHC CL10.9 M8- 1.25 X 20MM PLD 1.91$            

07-3838 CIRCUIT BRKR 6A TYPE II NO BRKT STUD TER 24.00$          

07-3839 BRKT CIRCUIT BRKR F/07-3838 25.00$          

07-3842 RING SNAP 5160-125 2.53$            

07-3856 SCREW SOC HD FL GR8** 1/2-13x2 BLKuse 07 2.06$            

07-3858 SCREW SOC HD FL GR8 1/4-20x1 BLK OX 2.00$            

07-3869 FTG BARB TEE NLYON 3/8 4.36$            

07-3902 EDGE CUT DBE 5/8X6X63** BOLT ON 6 BOLT P 258.00$        

07-3903 EDGE CUT DBE 5/8X6X71.5 BOLT ON 7 BOLT P 260.00$        

07-3908 BUSHING SPLIT 35MM W/10x4 KEY 243.00$        

07-3909 SWITCH PUSH BUTTON 2 POS ILLUM 12V 444.00$        

07-3920 RIVET POP SS 3/16x.251- .375 GRIP BTN H 1.03$            

07-3922 NUT INSERT M6x1 GRIP LGT .165-.251 PLD 1.68$            

07-3938 RING SNAP .750x.078 6.65$            

07-3939 RING SNAP 1.0x.078 7.19$            

07-3941 ASSY SWIVEL CSTR W/ITL 8x400/3.75 SOLID 1,497.00$    

07-3984 REAR BRAKE CABLE 60165800 611.00$        

07-3990 SCREW ALLEN CAP HD GR8 3/4-10x9 17.78$          

07-3995 BATT MAINT FREE 1000CCA FRAME C-31 W/3/8 357.00$        

07-4016 SCREW SOC HD GR5 1/2-20x 1 BLK OXIDE 2.06$            

07-4021 FILTER ELE OUT F/KUB DSL 126.00$        

07-4022 FILTER ELE INN F/KUB DSL 108.00$        

07-4023 FILTER OIL F/KUB DSL 50.00$          

07-4024 FILTER FUEL F/KUB DSL 25.00$          

07-4031 NUT HEX NYLK GR8 5/8-11 PLD 1.03$            

07-4032 WASHER FL GR8 1/4 PLD 0.37$            

07-4033 NUT HEX NYLK GR8 1/4-20 PLD 2.70$            

07-4034 WASHER LOCK SPLIT GR8 1 PLD 3.09$            

07-4035 NUT HEX GR8 1-8 PLD 2.91$            

07-4036 NUT HEX NYLK GR8 3/8-16 PLD 2.42$            

07-4037 NUT HEX NYLK GR8 1/2-13 PLD 3.66$            

07-4038 WASHER LOCK SPLIT MED 1/4 PLD 0.24$            

07-4039 NUT HEX GR8 1/4-20 PLD 0.29$            

41



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-4040 WASHER FL GR8 1 PLD 3.50$            

07-4041 WASHER FL GR8 1 1/8 PLD 4.15$            

07-4045 PIN ROLL GR8 5/16x2 BLK OXIDE 1.46$            

07-4046 PIN CLEVIS 3/4x2 PLD 19.73$          

07-4052 SCREW HHC GR8 3/8-16x3/4 PLD 0.54$            

07-4053 SCREW HHC GR8 3/8-16x2 1/2 PLD 1.36$            

07-4056 HUB CORE SB 51.00$          

07-4089 SCREW TAP GR5 5/16-18x 2.25 PLD 2.31$            

07-4090 WASHER 1 1/2x1x.075 PLD 4.39$            

07-4101 SWITCH TEMP HYD OIL F/07-4100  DBTFC-120 291.00$        

07-4130 LAMP 90 BR38 SPOT 120V CLEAR 28.00$          

07-4131 SENDER OIL PRESS CAT3306 F/07-1922 GAUGE 110.00$        

07-4133 CONNECTOR BODY TOWER HALF 2 TERMINAL WAY 3.43$            

07-4135 TERMINAL SOCKET WEATHER PACK WAYTEK 0.89$            

07-4142 WASHER LOCK SPLIT MED M16 1.03$            

07-4148 NUT HEX JAM 3/8-24   *** 1.94$            

07-4165 WASHER FL CL8.8 M18 PLD 1.03$            

07-4183 PIN HITCH 5/8x4 W/CLIP MEDALIST 31-07 11.38$          

07-4198 SHAFT AXLE OUTP 14.390** W/MODIFIED ADAP 1,098.00$    

07-4202 HANDLE PLASTIC F/ELEC CONTL BOX 110.00$        

07-4207 CABLE BATT BULK #6 RED 3.43$            

07-4208 CABLE BATT BULK #6 BLACK 3.43$            

07-4210 ASSY HUB & BRG 5 BOLT TAPER BRG F/07-394 240.00$        

07-4211 WHEEL ITL 8x400/3.75 SOLID PNEU F/07-394 513.00$        

07-4213 SCREW HHC GR8 3/4-10x 4 PLD 4.12$            

07-4227 WASHER LOCK SPLIT MED M14 1.03$            

07-4228 WASHER FL CL8.8 M14 PLD 1.22$            

07-4232 SCREW HHC CL10.9 M20- 2.50 X 55MM PLD 6.18$            

07-4235 RING LOCK SGL ADVANCE*** F/4.33x8 WHL 94.00$          

07-4236 RING BACKUP ADVANCE *** F/4.33x8 WHL   S 94.00$          

07-4239 COIL 12V F/03-3265 120.00$        

07-4240 COIL 24V F/03-3265 127.00$        

07-4241 GAUGE TACH ENG F/CUMMINS M11/C 258.00$        

07-4242 GAUGE TEMP WATER F/CUMMINS M11/C 251.00$        

07-4243 GAUGE OIL PRESSURE ENG F/CUMMINS M11/C 249.00$        

07-4246 SENDER OIL PSI F/CUMMINS M11/C 316.00$        

07-4250 SENDER TACH F/CUMMINS M11/C 113.00$        

07-4262 BOLT LAG 5/16x1 1/2 1.03$            

07-4318 CONTACTOR GFCI 120V FURNAS 196.00$        

07-4320 GROUND FAULT CIRCUIT INTERRUPTER 212.00$        

07-4350 SHACKLE CHAIN 3/8 RD *** PIN ORANGE 23.00$          

07-4354 FUSE 10AMP BLADE TYPE 2.71$            

07-4361 LATCH SWELL SGL HANDLE** 22.00$          

07-4367 WHEEL CSTR 6.25x5/8 BLACK 64.00$          

42



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-4395 BOLT CRG GR5 3/8-16x1 1/2 NONPL 1.03$            

07-4417 CHAIN GUIDE M26 UHMW 55.00$          

07-4453 LATCH LIFT JD26 144.00$        

07-4454 BOLT PLOW GR8 1/2x1 1/2+ **** 5.30$            

07-4455 BOLT PLOW GR8 3/4x2 1/2* W/NUT 8.75$            

07-4472 SHIELD DRVSHFT W/HOLE M26 5FT JD BLACK 64.00$          

07-4484 SCREW HWH 8-18 X 1/2 SELF DRILLING 1.03$            

07-4492 SCREW HHC CL10.9 M20- 2.50 X 40MM PLD 4.12$            

07-4493 SPACER CSTR F/8 INCH WHEEL PLD 45.00$          

07-4494 CASTER FORK F/8 INCH WHEEL W/ROD 298.00$        

07-4495 WHEEL 9 INCH AIR YELLOW F/07-4494 112.00$        

07-4514 NUT HEX CLASS 10 M10-1.5 PLD 2.18$            

07-4522 CLIP HAIRPIN .162x3.43 PLD 2.18$            

07-4523 CAP TUBE VINYL 1x.51 BLK 1.68$            

07-4530 NUT HEX NYLOCK CL8.8 M6x 1 PLD 1.03$            

07-4531 SCREW FL HD M16x2 CLASS 10.9 3.74$            

07-4532 NUT HEX LOCK M16-2 CL10.9 ZDC #8T-4778 6.52$            

07-4556 SCREW HHC CL10.9 M14- 1.50 X 45MM PLD 3.09$            

07-4557 NUT HEX CLASS 8.8 M14-1.5 PLD 1.03$            

07-4568 NUT MTR SHAFT F/03-3027* /03-3029 *** 28.00$          

07-4588 CASTER WHEEL F/07-3516 CASTER ASSY 487.00$        

07-4597 CLIP CAT 8T-1890 5.35$            

07-4599 CLIP CAT 8T-1889 6.48$            

07-4601 GROMMET CAT 7G-3832 25.00$          

07-4602 NUT WELD BRIDGE M6x1.0 CTR HOLE 1.03$            

07-4603 NUT HEX LOCK ST M6-1 CL10.9 PLD #6V-7743 1.25$            

07-4604 NUT HEX LOCK ST M8-1.25 CL10.9 6V-9189 0.74$            

07-4605 SCREW HHC CL10.9 M6- 1.00 X 20MM8T-4138 0.26$            

07-4606 WASHER FL CL8.8 M6 PLD #8T-4205 1.03$            

07-4607 WASHER FL CL8.8 M8 PLD #8T-4224 1.03$            

07-4610 NUT HEX LOCK ST M12-1.75 CL10.9 PLD #6V- 0.83$            

07-4619 WASHER FL CL8.8 M10 PLD #8T-4121 1.03$            

07-4622 NUT HEX LOCK ST M10-1.5 CL10.9 PLD #6V-7 7.21$            

07-4639 BEARING SPHER PLAIN 2IN W/RH THRD FEMALE 613.00$        

07-4640 BEARING SPHER PLAIN 2IN W/LH THRD FEMALE 614.00$        

07-4650 WASHER FL M24 CL8.8 PLD NARROW 1.03$            

07-4657 KEY .31Wx.29x.93 SERV PT F/03-3509 7.43$            

07-4673 U-BOLT STD 1/4-20x1 1.0 SS 17.19$          

07-4682 TANK WATER POLY 85GAL 23IN JRB 358.00$        

07-4684 GAUGE PRESS 6000PSI SS GLYCERIN JIC 37D 120.00$        

07-4691 ASSY TIRE/WHL ST225/75 R15 D 6x5.5 2540L 339.00$        

07-4726 CLIP CAT 7G-5984 7.26$            

07-4727 CLIP CAT 7G-5985 8.46$            

07-4728 GROMMET CAT 7G-5986 13.23$          

43



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-4729 GAUGE TEMP HYD 100-250 DASH MOUNT 35.00$          

07-4731 SENSOR INDUC W/1/4 TURN ELEC CONN 492.00$        

07-4748 PIN LOCK 3/8x2 GRIP SQ PLD 2.5OAL 14.24$          

07-4752 WEDGE DEUTSCH W2P 1.03$            

07-4753 PIN TERMINAL M DEUTSCH 0460-215-16141 14 1.84$            

07-4754 CONNECTOR BODY DEUTSCH DT04-2P-E003 4.50$            

07-4773-4 CABLE BRAKE 42.5 W/2.5 TRAVEL 185.00$        

07-4774 YOKE END KIT 7/16x3/8x 1/4-28 22.00$          

07-4788 CLEVIS SER 60 5/16x5/16 34.00$          

07-4813 LAMP HOLDER 150L W/SEAL 37.00$          

07-4815 HOOK SLIP W/3/8 CLEVIS & LATCH F/SAFETY 19.35$          

07-4819 BALL JOINT SER 40 5/16- 24 38.00$          

07-4831 SCREW BHC 10-24UNC 2Bx 3/4 BLK OXIDE 0.10$            

07-4838 GAUGE TEMP WATER 250 F 103.00$        

07-4839 SENDER TEMP WATER 1/2-14NPT F/07-4838 120.00$        

07-4850 SENDER PRESSURE 1/8-27NPT F/07-4840 139.00$        

07-4853 GAUGE FUEL ELEC 2 1/16DIA   10-180 OHM 61.00$          

07-4859 NUT HEX JAM GR8 5/16-24 PLD 1.03$            

07-4861 NOZZLE TEE W/OUT CLAMP 9.08$            

07-4862 NOZZLE ELBOW W/OUT CLAMP 8.73$            

07-4869 SWITCH ROTARY BACKUP LIGHT DTY SPG 67.00$          

07-4877 FUSE 5AMP BLADE TYPE 2.98$            

07-4878 FUSE 7.5AMP BLADE TYPE 2.98$            

07-4879 CASTER FRM F/07-3516 PAINTED BLACK 334.00$        

07-4904 WASHER LOCK STAR 5/16 PLD 1.03$            

07-4907 GASKET SILICONE LAMPHLDR PAR 38 WG WEATH 9.36$            

07-4909 NUT WELD BRIDGE M8x1.25 CTR HOLE 1.03$            

07-4927 WASHER FENDER CL8.8 M6 #9X-2026 1.03$            

07-4930 SCREW HHC GR8 1-8x2 1/2 PLD 9.27$            

07-4932 TIE ROD END RH F/07-4663/4664 AXLE 100.00$        

07-4938 GAUGE SIGHT 5IN W/LEVEL SWITCH NORMAL OP 402.00$        

07-4942 WASHER FENDER 5/16 x 1 1/2 PLD 0.62$            

07-4961 PIN CTTR 1/8x2LG F/07-4663/4664 AXLE 1.03$            

07-4980 TERMINAL SOCKET SIZE16 DEUTSCH 0462-201- 1.08$            

07-4981 TERMINAL PIN SIZE 16 DEUTSCH 0460-202-16 2.28$            

07-4986 PIN ROLL 3/8x2 BLK OXIDE 0.47$            

07-4987 SHIELD DRVSHFT W/HOLE M26 4FT JD BLACK 44.00$          

07-4991 EDGE CUT WELD ON 1/2x4x 72 UNPAINT 279.34$        

07-4992 EDGE CUT WELD ON 1/2x4x 3.50 24.41$          

07-5000 GAUGE TACH W/O HRMTR 3000RPM F/IND SENSO 300.00$        

07-5001 GAUGE TACH W/O HOURMETER 4000RPM F/IND S 155.00$        

07-5008 SCREW HHC GR5 1/4-20x 2 1/2 PLD 1.03$            

07-5030 WASHER FENDER 3/8x1/1/2 PLD 1.03$            

07-5031 BRG CONE OBS USE 07-6666 F/07-4588 29.00$          

44



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-5032 BRG CUP OBSO USE 07-6665 F/07-4588 14.06$          

07-5033 WASHER FLINGER F/07-4588 2.74$            

07-5034 SPACER 3/4 F/07-4588 2.45$            

07-5035 CLOSURE F/07-4588 6.09$            

07-5040 ACTUATOR THROTTLE 12V W/REMOTE CABLE 921.00$        

07-5043 FTG BARB 3/16 1/4NPT PE 4.62$            

07-5048 SCREW SOC HD FL GR8 3/8-16x1 1/4 BLK OX 2.30$            

07-5054 LINK QUICK 3/16 5.18$            

07-5068 JACK 7000LB SIDEWIND BRUSH 1200/2900 227.00$        

07-5075 SCREW HHC GR8 1/2-13x2 PLD 2.18$            

07-5105 TANK WATER 20GAL WHT UNH WATER KIT W/CAP 238.00$        

07-5117 FTG QC M 3/4 1/2" THREAD 26.00$          

07-5118 FTG BARB POLY 3/8 1/2MPT 5.55$            

07-5119 FTG BARB POLY 3/8 1/2MPT 90 6.15$            

07-5123 FTG BARB SWIVEL 3/8 8.36$            

07-5125 FTG PLUG 1 1/2 F/07-5105 19.86$          

07-5127 HOSE CLEAR VINYL 3/8 ID MAX PSI 225 2.06$            

07-5128 FTG BARB POLY 3/8 3/8MPT 4.07$            

07-5138 SENDER SPEED INDUCTIVE 18MM 1,490.00$    

07-5140 FTG OUTLET F/07-3150 12.09$          

07-5154 TERMINAL FEMALE TOWER 16-14 1.76$            

07-5155 SEAL CABLE 14GA GPT DARK RED 0.99$            

07-5211 BSHG/BRG JD M91080 13.24$          

07-5212 NUT NYLOCK FLANGE HD 1/2-13 PLD 1.18$            

07-5213 SCREW HHC GR8 1/2-13x 6 1/2 PLD 7.53$            

07-5214 WHL/TIRE 9x3.5-4 AM115510 89.00$          

07-5245 TANK WATER 25 GAL YLW 193.00$        

07-5265 BOLT SHOULDER 3/4x3/4 10.30$          

07-5270 ASSY TIRE/WHL 530-12 C 5x4.5 1045;B 149.00$        

07-5276 ADPT CORE DUAL MTR DRIVE 2001 1,000.00$    

07-5277 SCREW HHC GR8 1-8x8 PLD 17.51$          

07-5278 BOLT SHOULDER 3/4x1 5/8-11 PLD 8.24$            

07-5287 SCREW HHC CL10.9 M8- 1.25 X 65MM PLD 0.94$            

07-5294 LINK QUICK 5/16 WIDE JAW 30.00$          

07-5295 SHACKLE ANCHOR 1/2 3000LB 29.00$          

07-5297 SCREW HHC CL10.9 M14- 1.50 X 50MM PLD 3.09$            

07-5341 EDGE CUT DBE 5/8X6X86.25 BOLT ON 8 BOLT 240.00$        

07-5342 EDGE CUT DBE 5/8X6X76.25 BOLT ON 7 BOLT 216.72$        

07-5342P EDGE CUT DBE 5/8X6X76.25 BOLT ON 7 BOLT 223.00$        

07-5355 PIN CTTR 5/16x2 PLD 1.41$            

07-5370 NUT HEX LOCK ST 3/8-16 GR8 PLD 1.41$            

07-5374 FENDER LXD05 PLASTIC 25IN W/HOLES LHC FI 58.00$          

07-5375 BOLT SHEAR GR 2 JD M146453 1/4-20x2 HHC 1.03$            

07-5376 ACTUATOR LINEAR ELECTRAK CROSSHOLES STD 530.00$        

45



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-5393 CABLE CONTROL THRTL 6FT W/T HDLE 56.00$          

07-5451 WASHER FL GR9 7/8 SAE PLD 5.04$            

07-5658 NUT HEX LOCK ST 5/8-18 GR8 PLD 2.06$            

07-5721 WINDOWS STATIONARY EMER EXIT 27x25 853.00$        

07-5760 SCREW SELF TAP HWH SLT SMS 10-24x1/2 TYP 1.03$            

07-5801 CABLE SER 4 36IN OAL 2IN TRAVEL 212.00$        

07-5804-1 CABLE SER 60 PULL 46IN 120.00$        

07-5809 FTG ZERK 45DEG 1/4-28 2.61$            

07-5816 SCREW SOCKET HEAD CL12.9 M12-1.75x35MM B 5.32$            

07-5821 TRANTORQUE 1 1/2ID 2 3/8 OD 342.00$        

07-5822 ADAPT OVERHUNG LOAD 215 W/PILOT DEPTH .2 735.00$        

07-5824 NUT HEX LOCK ST 1/4-20 GR8 PLD 0.36$            

07-5825 SCREW SOC HD CL8.8 M5x.8 12MM BLK OXIDE 0.36$            

07-5827 EDGE CUT DBE 5/8X6X 64.25 BOLT ON 6 BOLT 178.00$        

07-5830 PIN CLEVIS 3/8x4 1/2 PLD 7.17$            

07-5847 BOLT EYE 1/4-20x2.0 3.54$            

07-5861 NUT INSERT M6x1 HEX CLOSED END PLD 2.06$            

07-5871 EXTENSION SPRING 8 3/4IN LGx1.375 OD .20 99.00$          

07-5872 CAST IRON KNOB 2 9/16IN HEAD W/ 1/2IN-13 36.00$          

07-5878 NUT HEX M10-1.5 NON PLATED 1.03$            

07-5884 CONN PLUG 14 WAY HD36-18-14SN-059 95.00$          

07-5885 COVER DUST CAP 18 SHELL PLUG DEUTSCH 30.00$          

07-5903 MOUNT VIBRATION SINGLE END MALE 3/8-16 S 18.76$          

07-5912 ACTUATOR ELEC ANGLE 1,328.00$    

07-5923 COUPLING ELEMENT POLYURETHANE 93A 100.00$        

07-5927 NUT HEX GR8 JAM THIN 5/8-11 PLD 4.12$            

07-5928 BOLT SHOULDER 3/4X3 1/4 27.00$          

07-5929 TRANTORQUE 2.00ID X 2.875 ID 389.00$        

07-5933 BOLT CRG CL8.8 M8-1.25 X25MM PLD 2.65$            

07-5936 EDGE CUT DBE 3/4x8x96 BOLT ON 9 BOLT PNT 360.00$        

07-5938 NUT HEX NYLK GR8 1-8 PLD 3.09$            

07-5944 EDGE CUT DBE 3/4x10x48 BOLT ON 12 BOLT P 232.00$        

07-5945 BOLT PLOW GR8 5/8-11X3.0 4.49$            

07-5965 PIN LOCK 3/8 X 4 GRIP C1045 HEAT TREAT 30.00$          

07-5973 EDGE CUT DBE 3/4x10x54 BOLT ON 13 BOLT P 254.36$        

07-5974 SCREW HHC GR8 3/4-10x4 1/2 PLD 5.30$            

07-6026 SCREW HHC CL10.9 M14- 2.00 X 50MM PLD 2.06$            

07-6056 NUT FLANGE M10-1.5 2.17$            

07-6076 CLIP FLANGE 5/16-1/2 HAMMER-ON 3.52$            

07-6081 NUT CASTELLATED 1-20 PLD 27.00$          

07-6096 ASSY TIRE/WHL F/07-3581 138.00$        

07-6129 SWITCH TEMP 195-207DEG 94.00$          

07-6130 HARNESS WIRE F\07-6129 71.00$          

07-6156 WASHER FL GR8 1 SAE PLD 1.33$            

46



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-6178 SCREW SOC HD M12X1.75 35MM CAT#6V-8200 1.54$            

07-6183 PUMP FLOWTEC WATER 5 GPM W/STRAINER 410.00$        

07-6196 RING SNAP 5.06$            

07-6244 TIRE 180x70/R8 16 PLY*** IC-70 CONT 610.00$        

07-6268 SEAL CABLE 20-18Ga PACKARD 39000 METRI-P 1.03$            

07-6269 CONNECTOR BODY TOWER 4 TERMINAL WEATHERP 3.86$            

07-6293 SCREW HHC CL10.9 M6- 1.00 X 55MM PLD 1.03$            

07-6294 BUMPER RUBBER 2IN STUD 5/16-18 14.31$          

07-6295 STUD ACME 5/8-8x7.00 PLD 23.00$          

07-6297 SCREW HHC CL10.9 M6- 1.00 X 25MM PLD 1.03$            

07-6367 POTENTIOMETER 10K OHM W\RESISTORS 192.00$        

07-6412 SEAL CABLE 16-14 1.67$            

07-6415 PIN QUICK RELEASE L- HANDLE 1x6 GRP-LTH 275.00$        

07-6440 NUT WELD BRIDGE 5/16-18 CTR HOLE 1.03$            

07-6451 SPRING TENSION  325#/IN BLACK PAINT 43.00$          

07-6488 PIN CLEVIS 3/8x5 1/2 5 17/64 GL PLD 6.58$            

07-6500 HUB KEYLESS DOUBLE TAPER B-LOC B112-2 373.00$        

07-6520 CASTER RIG W/AXLE &NUT ALBION 72 SERIES 258.00$        

07-6521 PLATE SHIM 1/4" ALBION 72 SERIES RIG 14.24$          

07-6530 SCREW HFH CL10.9 M10- 1.5x60MM PLD 1.03$            

07-6531 SCREW HFH CL10.9 M8- 1.25x25MM PLD 2.06$            

07-6532 NUT HEX FLANGE CL10 M8-1.25 PLD 1.03$            

07-6533 NUT HEX FLANGE CL10 M10-1.5 PLD 1.03$            

07-6552 BOLT CRG M8-1.25X50MM CL4.6 PLD 2.06$            

07-6565 FAN/FAN SHRD F/03-1326/ 03-2558 14.58$          

07-6585 CAP F/03-3174 SHUT-OFF VALVE 38.00$          

07-6590 SPRING COMP .105W 3/4OD x3/8IDx2 1/2 70L 12.24$          

07-6616 BOLT CRG M8-1.25X30MM CL4.6 PLD 1.03$            

07-6620 MUFFLER F\KUB 1505 90 DEGREE 367.00$        

07-6634 WASHER FLAT GR8 7/8 YZDC  FASTENAL # 338 1.03$            

07-6636 FILTER AIR INNER KUBOTA 16271-11080 108.00$        

07-6653 CHAMBER SPRING BRAKE 24 SQ IN PIGGYBACK 187.00$        

07-6679 FILTER DUST COLLECTOR 330.00$        

07-6682 NUT INSERT M10-1.5 3.8-7.9 3.34$            

07-6683 SCREW HHC CL10.9 M12- 1.75 X 65MM PLD 2.29$            

07-6691 PIN CLEVIS 1x2 PLD 13.17$          

07-6700 SCREW HHC GR8 1-8x7 1/2 PLD 19.57$          

07-6705 GASKET F/03-3816 FILTER 29.00$          

07-6708 PIN QUICK RELEASE RING GRIP STL ZINC 5/8 16.45$          

07-6722L WHEEL/TIRE WSP LT 134.00$        

07-6722R WHEEL/TIRE WSP RT 134.00$        

07-6727 GAUGE VACUUM F/03-3816 89.00$          

07-6730 SOLENOID 12V F/RR AA4VG ROUND STYLE 319.00$        

07-6731 SWITCH OIL RESTR. IND F \03-4781 FILTER 193.00$        

47



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-6732 HANDLE ADJ PLASTIC 29.00$          

07-6748 FTG ZERK 90DEG 1/4-28 SELF TAP 2.42$            

07-6765 SCREW TO PRINT HHC GR5 3/8-16x8 4"THRD Y 22.00$          

07-6766 NUT HEX CL10.9 M12-1.75 PLD 2.23$            

07-6769 SCREW HHC CL10.9 M10- 1.50 X 16MM PLD 1.44$            

07-6785 KEY F/HYD MOTOR 03-5031/03-5027 8.85$            

07-6786 NUT F/HYD MOTOR 03-5031/03-5027 49.00$          

07-6791 WASHER FL .105x.531X 1.750 TYPE B  PLD 5.60$            

07-6800 SCREW HHC GR5 1/4-20x 2 1/4 PLD 1.03$            

07-6817 RECEPTACLE Y CONNECT 36.00$          

07-6822 PLUG GREY W/SHRINK BOOT ADAPT 11.93$          

07-6824 PLUG BLK W/SHRINK BOOT ADAPT 14.26$          

07-6829 WEDGE LOCK GREEN 0.55$            

07-6831 TERM PIN SIZE 16 GOLD 3.03$            

07-6832 SOCKET SIZE 16 GOLD 3.31$            

07-6836 TERMINAL SOCKET SIZE20 DEUTSCH 0462-201- 2.71$            

07-6837 WEDGE TERMINATING BLUE 1.42$            

07-6839 WIRE BULK CORD 18AWG TWSTD PR W\SHLD +1 8.84$            

07-6840 THROTTLE WSP W/DETENT & 26 1/2" CABLE 28.00$          

07-6852 DISPLAY COLOR PLUS ONE DP-610 5,275.00$    

07-6853 JOYSTICK DUAL AXIS CAN  SPEC HANDLE 1,854.00$    

07-6862 VALVE SHUT OFF 1/2 NYL 44.00$          

07-6863 FTG NIPPLE 1/2 NYL 22.00$          

07-6864 FTG NIPPLE 1/2x3/8 NYL 7.69$            

07-6866 BEARING 1 1/2 SQ 4-BOLT 99.00$          

07-6869 MANUAL HOLDER 24.00$          

07-6870 TORQUE HUB 0.75 ID x 1.25 OD 84.00$          

07-6898 CABLE 59" F/07-6894 223.00$        

07-6900 BRAKE BAND F/6 IN DRUM 46.00$          

07-6903 PIN QUICK RELEASE 1 DIA X 3 GL W/SHR & R 77.00$          

07-6907 CABLE BRAKE W/CHAIN WSP 41.00$          

07-6910 TURNBUCKLE BODY ONLY 1/4-20x4IN TAKE UP 16.48$          

07-6911 HANDLE COVER BLACK TEXTURED 3/8IDx8IN 3.54$            

07-6912 HANDLE GRIP RED 7/8ID 3.86$            

07-6914 KNOB SHIFTER 3/8-16 THREADED HOLE 9.16$            

07-6915 SPRING COMP .080WIREx .845ODx3.0FL 12.79$          

07-6916 KEY WOODRUFF #807 1/4x 7/8 1.37$            

07-6917 KEY WOODRUFF METRIC 4MMx16MM 1.63$            

07-6918 RING SNAP SHR-87 0.81$            

07-6919 RIVET POP GR2 1/8x.188- .250 GRIP BTN HE 1.03$            

07-6925 SCREW HHC GR8 1/4-28x3/4 PLD 0.51$            

07-6926 SCREW HHC GR8 3/8x5 1/2 PLD 3.06$            

07-6933 SCREW FL HD SOC GR5 3/8-16x1 1/2 ZINC 1.03$            

07-6946 SCREW HHC GR5 3/8-16x 6 NONPL 2.06$            

48



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-6959 BOLT CRG CL8.8 M8-1.25x 25MM NON-PLATED 1.03$            

07-6962 HOOD CATCH RUBBER W/BRKT 2 1/2IN 11.17$          

07-6974 EDGE CUT SBE 1/2X4X 60.5 BOLT ON 6 BOLT 105.73$        

07-6975 EDGE CUT SBE 1/2X4X 72.56 BOLT ON 7 BOLT 124.47$        

07-6976 EDGE CUT SBE 1/2X4X 84.5 BOLT ON 8 BOLT 141.86$        

07-6986 PLUG GREY 4 WAY DEUTSCH DT06-4S 6.02$            

07-6992 WASHER RECEP RD 24SER DEUTSCH 112264 3.90$            

07-6993 NUT RECEPT RD 24 SER DEUTSCH 112263-90 8.40$            

07-6995 PIN QUICK 3/8 1.00X1.50 BARREL WELD-IN T 37.00$          

07-6998 BLADE FAN 20 IN CUMMIN 464.00$        

07-7003 PLUG GREY 6 CONN DEUTSCH DTM06-6S 9.27$            

07-7004 WEDGE LOCKING F/DTM06 -6S   DEUTSCH W6S 1.03$            

07-7006 RIVET POP SS 1/8X1/8- 3/16 GRP 1.03$            

07-7015 NUT HEX GR2 1/4-20-LH PLD 1.03$            

07-7016 RING SNAP SH-62 #8707 1.03$            

07-7017 SCREW HHC CL10.9 M8- 1.25 X 60MM PLD 1.41$            

07-7024 WASHER BELLEVILLE 1.063"ID 1.496"OD 5.31$            

07-7028 SCREW HHC CL10.9 M10- 1.50 X 130MM PLD 3.09$            

07-7029 WIRE HARNESS 9FT F/ELEC VIBRATOR 98.00$          

07-7030 ASSY TIRE/WHL LT215/85R-16D GDYR T/A 624.00$        

07-7043 PLUG END F/LAF9444 23.00$          

07-7046 PLUG SEAL F/LAF9444 1.17$            

07-7047 SECONDARY LOCK F/LAF9444 1.76$            

07-7048 CLIP HAIR PIN .059 WIRE F/1/4-5/16 SHAFT 2.35$            

07-7049 ACTUATOR THROTTLE W/CABLE 1,016.00$    

07-7064 TAPE REFL SCOTCHLITE HI-INT ROLL 5.60$            

07-7067 SCREW FL HD SOC 3/8-16 x1 1/2 BLK OXIDE 1.03$            

07-7074 HOUSING PACKARD M-P 150 8-WAY 931 9.98$            

07-7076 SWITCH IGNITION FOUR POS KEYED PK-556 WA 52.00$          

07-7079 BOLT CRG CL8.8 M6-1X35MM PLAIN 2.06$            

07-7089 HOSE CRADLE F/.63 OD 3.79$            

07-7093 PIN TOPLINK .62x3.0 GL PLD 4.48$            

07-7099 COUPLER DRAW BAR 3/4" BOLT-ON PAINTED 66.00$          

07-7104 LIGHT RED LED TAIL/STOP/ TURN 4" RD SEAL 67.00$          

07-7105 LIGHT AMBER LED 4" RD SEALED 139.00$        

07-7112 SHACKLE ANCHOR 7/16 3300 LBS 32.00$          

07-7115 NUT INSERT M8-1.25 22-10 GA 1.59$            

07-7118 SCREW HHC CL10.9 M8- 1.25 x 90MM PLD 3.09$            

07-7119 SCREW HHC CL10.9 M8- 1.25 X 130MM PLD 4.12$            

07-7120 WASHER PLASTIC .812 X 2.0 X .10 NYLON 6/ 9.88$            

07-7122 KIT MTG F/07-7121 SWVL RIG W/O SPACERS 171.00$        

07-7127 SCREW HHC CL10.9 M12- 1.75 X 55MM DIN933 1.03$            

07-7131 SCREW HHC CL10.9 M10- 1.50 X 160MM PLATE 12.97$          

07-7134 COIL 24V DELTA P-TYPE 1/2" ID 48.00$          

49



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-7144 BOOT HD30 18 SHELL LADD 2.76$            

07-7150 VALVE CARTRIDGE PRESS COMP REG 40GPM 350 199.00$        

07-7151 VALVE CARTRIDGE RELIEF DIR ACT 6GPM 3500 119.00$        

07-7152 VALVE CARTRIDGE 4W3P TC SOL 3GPM 3K DELT 288.00$        

07-7153 COIL 12V P-TYPE 1/2"ID 1.6A DL LEAD 44.00$          

07-7155 WIRE HARNESS 5FT ADAPTOR 164.00$        

07-7157 CHAIN 1/4 X 66 LINKS GR43 45.00$          

07-7178 NUT HEX GR8 1 1/2-12 ZNC FASTENAL 36282 9.24$            

07-7179 SPRING WAVE 2.0 ID 2.37 OD S.S. 3.57$            

07-7183 HUB KEYLESS DBL TAPER 562.00$        

07-7189 FILTER AIR KUBOTA WG972 47.00$          

07-7190 FILTER OIL KUBOTA WG972 31.00$          

07-7191 FILTER FUEL KUBOTA WG972/V1505 19.93$          

07-7199 SWITCH E-STOP LIGHTED 1 NO 1 NC W/WIRES 219.00$        

07-7206 GAUGE FUEL W/MTG BRKT VDO 60.00$          

07-7207 SENDER FUEL F/07-7206 VDO 94.00$          

07-7222 ACTUATOR 2 INCH STROKE WARNER 518.00$        

07-7238 FILTER ELE AIR F/03-9591 HONDA GX670 57.00$          

07-7239 FILTER OIT F/03-9591 HONDA GX670 30.00$          

07-7243 NUT EXTENDED-U M8-1.25 x14.5MM U-DEPTH 2.06$            

07-7248 TANK FUEL 60GAL F/LX 1,093.00$    

07-7256 FILTER ELE COOLANT WF2076 CUMM QSL9 77.00$          

07-7259 CABLE CTRL 1/4x45 *** 1/4-28 ENDS 4 IN T 145.00$        

07-7260 BOLT U 5/16-24 23.00$          

07-7261 YOKE ADJ 1/4-28 UNF 1/4 IN PIN 21.00$          

07-7274 SPRING WAVE 2.5 ID 2.87 19.36$          

07-7278 PIN STABILIZ .88x.38GRIP 4.99$            

07-7284 STARTER F/03-9595 KUBOTA GAS WG972 789.00$        

07-7286 KEY 7MMx8MMx22.7MM F/03-5087 18.26$          

07-7287 ACTUATOR 24STRK  *** 1000 WARNER 1,013.00$    

07-7302 AXLE W/NUT F/07-3941 80.00$          

07-7320 ASSY PULL ROPE W/HOUSING F/03-9587 52.00$          

07-7323 BRACKET RAD SUPPORT KUBOT V1505 LARGE RA 99.00$          

07-7338 WIRE HARNESS ADAPTER 8IN JD 3PIN 155.00$        

07-7339 LIGHT INDCTR LED GREEN w/ MTG w/ 6"LEADS 47.00$          

07-7348 ACTUATOR MODEL 10 BOLT ON W/CHANNEL 10,0 632.00$        

07-7355 FAN HPU (THO BC1004HEN) 27.00$          

07-7366 ASSY BRAKE SHOE 6IN 65.00$          

07-7367 HUB BRAKE 4BOLT 109.00$        

07-7370 BALL JOINT END 5/16-24 28.00$          

07-7371 BALL JOINT END 5/16-24 FF5SBY 28.00$          

07-7372 HANDLE GRIP FOAM 5/8 10.29$          

07-7377 HOOD LATCH 42.00$          

07-7385 SCREW SOC HD CL8.8 M6-1x35MM PLD 1.87$            

50



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-7387 SCREW HHC CL10.9 M8- 1.25x16MM PLD 1.03$            

07-7388 KIT REPLACEMENT BRSH WSP24 176.00$        

07-7389 CASTER SPACERS WSP24 1 UNIT IS 22 PCS 3.57$            

07-7390 ASSEMBLY HANDLE ADJ 10.97$          

07-7391 ASSY CASTER WHEEL & FORK WSP24 24.00$          

07-7393 ASSY BRSH IDLER WSP24 12.52$          

07-7394 ASSY DRIVE IDLER WSP24 15.13$          

07-7396 ASSY BRUSH GEARBOX WSP24 134.00$        

07-7397 TIRE & WHEEL WSP24 33.00$          

07-7398 CABLE FORWARD WSP24 10.03$          

07-7399 HANDLE CLUTCH WSP24 6.29$            

07-7400 THROTTLE CONTROL WSP24 6.29$            

07-7402 CABLE REVERSE WSP24 6.29$            

07-7405 HOPPER WSP24 123.00$        

07-7406 BLADE SNOW WSP24 123.00$        

07-7418 BOLT SHOULDER 5/8x2.0 1/2-13 BLK OXIDE 9.19$            

07-7446 FUEL SOLENOID F/03-9592 KUBOTA V1505 315.00$        

07-7451 PIN CLEVIS 1/2x1 NP 2.06$            

07-7473 WIRE HARNESS LXD08 HARNESS DISPLAY 94.00$          

07-7514 LIGHT AMBER ALTERNATING FLASHING 225.00$        

07-7515 SHEEL HOUSING F/07-7514 LIGHT 69.00$          

07-7516 E CLIP 5103-100 1.03$            

07-7525 SHIFTING FORK F/05-1423 54.00$          

07-7526 PLUG PLASTIC 1 1/2x2 1/2 RECT 3.01$            

07-7527 PLUG PLASTIC 2IN SQ 10.30$          

07-7529 KEY WOODRUFF 5/16X1 B 1008 2.41$            

07-7553 RECEPTACLE W/ 3 DIODES DEUTSCH DT04-4P-R 59.00$          

07-7562 CONN REC 3 PIN FLANGE DEUTSCH DT04-3P-L0 17.08$          

07-7573 SWITCH ROCKER EATON SPST 81.00$          

07-7608 RECEPTACLE 47 SOCKET HD34-24-47SE DEUTSC 73.00$          

07-7610 TERMINAL PIN 20 DEUTSCH 1.51$            

07-7616 SWITCH BODY DPDT 47.00$          

07-7617 SWITCH BODY DPDT MOMENTARY 56.00$          

07-7621 STROBE 12/24 RED SMALL 182.00$        

07-7642 SCREW RD HD PHIL GR2 10-24x1 1/4 PLD 1.03$            

07-7643 SCREW HHC GR8 1/4-20x4 1/2 PLD 1.03$            

07-7669 TEE CONDUIT .5 20.24$          

07-7682 CONN RECEPTACLE 9 PIN SQ FLANGE DEUTSH 32.00$          

07-7688 CONN PLUG 9 PIN DEUTSCH HD16-9-96S 32.00$          

07-7707 LIGHT HEAD ASSY LT OSHKOSH 238.00$        

07-7708 LIGHT HEAD ASSY RT OSHKOSH 242.00$        

07-7723 DISPLAY COLOR PLUS ONE DP600 W/ VIDEO 5,277.00$    

07-7733 WIRE HARNESS POWER LEAD 126" 57.00$          

07-7734 WIRE HARNESS W/BOX 1SP-DT SWITCH 158.00$        

51



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-7737 WIRE HARNESS 108" F/ SOLENOID ANGLING BL 68.00$          

07-7739 ASSY CASTER 2.75X10.0X 12.25 OAH GST 250.00$        

07-7752 WIRE HARNESS F/JD EH 14-PIN 790.00$        

07-7753 SOLENOID 12V CONT DUTY N.O. INS 4 POST 73.00$          

07-7767 TANK FUEL W/LOCKING ISO FUEL CAP FMCSA R 697.00$        

07-7768 CABLE COMM PLUS1 DIAG KVASER CG-150 857.00$        

07-7769 COIL 12V P-TYPE 1/2" ID 1.6A DEUTSCH 2PI 41.00$          

07-7770 COIL 24V P-TYPE 1/2" ID .8A DEUTSCH 2 PI 45.00$          

07-7791 PLUG MTG HOLE F/CARLING TECH L SERIES SW 5.42$            

07-7806 WIRE HARNESS POWER LEAD 84.00$          

07-7830 WIRE ASSY x 9' F/HYD SNOW BLOWER 98.00$          

07-7837 RUBBER D70A 6.90x5.50 W/HOLES 47.00$          

07-7842 SWITCH ROCKER UP/DOWN 17.62$          

07-7843 SWITCH ROCKER ON/OFF 17.62$          

07-7854 SENSOR COOLANT TEMP F/03-6395 135.00$        

07-7862 TIRE 180/70 R8 CONTIRV20 710.00$        

07-7871 SWITCH OIL PRESSURE SHUT DOWN F/KUB ENG 92.00$          

07-7895 RECEPTACLE L530 78.00$          

07-7898 TERMINAL BLOCK END PLATE 1.46$            

07-7900 TERMINAL BLOCK 22-10 AWG 29X27X6 (mm) 2.71$            

07-7903 TERMINAL BLOCK END STOP 20X28X8 (mm) 1.30$            

07-7906 TERMINAL BLOCK JUMPER 10.08$          

07-7911 SENSOR, LINEAR, 5" STROKE 1,023.00$    

07-7915 STARTER SOLENOID F/ CAT ENGINE 508.00$        

07-7937 COIL 12V ER 1/2" 1.4A DUETSCH 2 PIN CONN 36.00$          

07-7944 CONNECTOR, CARLING L-SERIES .1875 2.66$            

07-7946 MODULE DISPLAY IQAN-MDL2 CONTROLLER 5,510.00$    

07-7948 MODULE I/O IQAN-XT2 CONTROLLER 1,648.00$    

07-7970 HOSE CRADLE F/ 1.00 OD 2.17$            

07-7972 QC TERM FFEMALE UNINSULATED F/07-7944 0.60$            

07-7978 SHAFT MOTOR F/03-4419 200.00$        

07-7986 DIFFERENTIAL AXLE REAR H DANA 70 REBUILT 8,548.00$    

07-7988 RELAY 3PDT 11PIN 120VAC 10 AMPS 65.00$          

07-8002 JOYSTICK IQAN-LC5-C01-MPB2W2T1 1,152.00$    

07-8003 MODULE IO IQAN-XA2 PARKER 5010033 1,535.00$    

07-8004 RESISTOR 1500-OHM 1-WATT 0.33$            

07-8062 TRANTORQUE 1 3/4 ID 2 5/8OD FENNER 62024 369.00$        

07-8065 AMP CARD SINGLE PWM COIL CONTROL 12V 3A 928.00$        

07-8079 RESISTOR RECEPTACLE 120-OHM DT04-3P-P006 18.05$          

07-8089 WIRE HARNESS 11FT F/ELEC VIB & VAC MTR 100.00$        

07-8090 WIRE HARNESS W/BOX F/ELEC VAC ATTACH 204.00$        

07-8100 TAG ADDRESS ID 5 F/IQAN MODULE 21.00$          

07-8101 TAG ADDRESS ID 6 F/IQAN MODULE 21.00$          

07-8110 RESISTOR 1.3K-OHM 0.5-WATT 0.22$            

52



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

07-8115 TAG ADDRESS ID 3 F/IQAN MODULE 21.00$          

07-8179 KIT MUFFLER/HEAT SHIELD KUBOTA WG972 370.00$        

07-8180 GASKET MUFFLER KUBOTA WG972 10.68$          

07-8191 FORK ASSY F/07-3941 905.00$        

07-8198 STROBE F/HENKE PLOW RED 12-24V 228.00$        

07-8206 CARD AMPLIFIER 12V 3A FFP-210222A 670.00$        

07-8207 IQAN ACTIVE STUDIO SOFTWARE SERVICE 1,511.00$    

07-8215 NUT MTR PARKER 1.0-20 LOCKING F/03-6335/ 21.00$          

07-9001 WASHER LOCK 5/16 ZINC 1.03$            

07-9002 NUT WING GR2 5/16-18 ZDC 1.03$            

07-9003 BRACE HANDLE 4.55$            

07-9033 HANDLE COUNTER DUSTER WHITE 1.77$            

07-9035 KEEPER BOLT 5/16 BLACK OXIDE 1.03$            

07-9041 BOLT CRG GR2 5/16-18x1.5 ZINC 1.03$            

08-0001 BEARING ASSY HEX .875 PBS 48.00$          

08-0003 FLANGE BRG PBS ONLY 8.01$            

08-0005 FLANGE BRG 2HOLE PLD 2.09$            

08-0006 BEARING 1.00 RD W/COLLAR ONLY 35.00$          

08-0008 BEARING FLG 3HOLE PLD 2.43$            

08-0011 BEARING 1.25 RD W/COLLAR 49.00$          

08-0012 BEARING ASSY RD 1.25 TU 77.00$          

08-0013 FLANGE BRG PLT 62-MSTU 28.00$          

08-0015 BEARING ASSY RD 1.25 RCJ 39.00$          

08-0017 BEARING ASSY RD 1.00 PBS 55.00$          

08-0019 BEARING COLLAR LOCK 1.25 15.61$          

08-0029 BEARING ASSY HEX .875 2 HOLE 65.00$          

08-0029B FLANGE BRG 2HOLE CAST 28.00$          

08-0030 BEARING ASSY 1.25 TAKE-UP 88.00$          

08-0034 BEARING HEX .875 W/HOLE 39.00$          

08-0035 BEARING ASSY RD 1.25 PBS 124.00$        

08-0037 BEARING HEX .875 W/O HUB 39.00$          

08-0039 WELD FLG BRG W/BLOCK RHFA RHF 65.00$          

08-0052 BEARING CUP 25520 29.00$          

08-0053 BEARING CONE CSTR*+** SWIVEL 58.00$          

08-0054 BEARING ASSY RD 1.5 MC GILL 48.00$          

08-0056 BEARING 1.75 PILOBLK 279.00$        

08-0062 BEARING 1.25 X 2.5 1654 N 54.00$          

08-0067 BEARING 1.25 4BOLT GRAY STD 36.00$          

08-0074 BEARING CONE 1.25 RD HM8 8542 T 55.00$          

08-0075 BEARING CUP HM88510 F/08-0074 32.00$          

08-0076 BEARING CONE 1.75 HM807 040TIM 122.00$        

08-0077 BEARING CUP HM807010 F/ 08-007 55.00$          

08-0078 BEARING CONE 2.25 387A TIM 64.00$          

08-0079 BEARING CUP 382S F/08-0078 48.00$          

53



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

08-0101 FLANGE 2HOLE F/1 1/4 BRG 6.54$            

08-0108 BEARING FLG 2.0 4HOLE*** 197.00$        

08-0131 BEARING CSTR JDM18 3.88$            

08-0137 BEARING FLG THST 2 4HOLE 637.00$        

08-0138 BEARING ANG CONTACT 80MM x40MM REPLACES 418.00$        

08-0141 BEARING THRST 4BOLT W/PILOT 898.00$        

08-0144 BEARING STRT ROLLER F/07-1977 97.00$          

08-0145 BEARING FLG W/PILOT RR 2300S 1,609.00$    

08-0147 BEARING PILOTED FLG 1.50 448.00$        

08-0148 BEARING 1.0RD W/COLLAR & SET SCRWS WIDE 18.70$          

08-0157 BEARING GARLOCK SELF LUBE 1IN x 1IN 18.79$          

08-0158 BEARING PLAIN SPHERICAL 2.00 EXTENDED IN 456.00$        

08-0163 BEARING FLG 1.5 ID X 1.75 OD 14.78$          

08-0171 BEARING THRUST 1.5 ID 2.5 OD 7.16$            

08-0184 BEARING TRST 1.25IDX1.69 ODX.125 OIL FIL 5.97$            

08-0185 BEARING FLG 1.0IDX1.25OD X.75 OIL FILLED 5.50$            

08-0194 BEARING 1RD OILITE *** 47MM OD W/ZERK 29.00$          

08-0196 BUSHING FLANGE NYLON 3/8IDx1/2OD 5/8OD F 2.71$            

08-0199 BEARING RD .88 W/COLLAR 21.00$          

08-0203 BALL JOINT CHEVY 1 TON AC/DELCO 45D2135 168.00$        

08-0204 BEARING OUTER 1.06 L44649 35.00$          

08-0205 BEARING INNER 1.38 L68149 18.73$          

08-0207 BEARING F/P756151 15.77$          

08-0208 WASHER FELT F/P756151** 5.42$            

08-0209 END CAP F/P756151 7.26$            

08-0210 BEARING FLG .75IDX1.0OD BRONZE 1.25 FLG 5.29$            

08-0216 BEARING FRT HOUSING F/03-5612  WCE018006 25.00$          

08-2199 PAINT GRAY PLC SPRAY CAN F/08-2425 40.00$          

08-2230 PAINT YLW SWPSTR SPRAY CAN F/08-2209 170.00$        

08-2236 GREASE ELECTRIC #4 DOW CORNING 5.3OZ TUB 51.00$          

08-2476 PAINT SPRAY CAN PLC GRAY 27.00$          

09-0002 SHIELD CHAIN OUT*** PLSTC W/SLOT & CUTOU 311.00$        

09-0002A SHIELD CHAIN OUT*** PLSTC W/SLOT 246.00$        

09-0019 HOSE SUCTION 1 BULK 19.73$          

09-0020 HOSE SUCTION 1 1/4 BULK 25.00$          

09-0022 SHIELD DRV END IND*** 64.00$          

09-0028 HOSE HEATER 5/8 3.21$            

09-0039 SHIELD DIRT CSTR H/P84 48.00$          

09-0043 FLAP P96 DIRT DEFL 207.00$        

09-0043-1 FLAP P84 DIRT DEFL 155.00$        

09-0043-2 FLAP P72 DIRT DEFL 132.00$        

09-0045 FLAP HD UPPER SEAL 1/4x 3x60 17.18$          

09-0046 FLAP HD LOW 1/4x6x60 TP60 62.00$          

09-0054 TUBE BULK PLY 3/8 1/4 SIGHT GAGE 4.28$            

54



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

09-0056 HOSE HEATER 3/8 2.90$            

09-0058 STRAP NYLON TANK WATER 2x61 19.89$          

09-0066 HOSE LP 001BULK 1FIBER B RAID 15.71$          

09-0086 BELLOWS RBR 3 1/4OD 2 3/8-1 1/2IDx11 EXT 198.00$        

09-0103 FLAP SIDE HB BUCKET 34.00$          

09-0104 FLAP FRT HB60 75.00$          

09-0105 FLAP REAR HB60 86.00$          

09-0106 FLAP INSIDE HB60 87.00$          

09-0107 STRAP NYLON TANK H P/H84 2x52 GRAY 208.00$        

09-0114 FLAP REINF 3x62 HB60 56.00$          

09-0120 FLAP BELTING BACK HB84 122.00$        

09-0121 FLAP RBR INSIDE HB84 122.00$        

09-0128 FLAP RBR SIDE HB84 59.00$          

09-0129 FLAP RBR FRT H84 125.00$        

09-0143 NEOPRENE 50DURO 3x.0625 1.43$            

09-0155 FLAP 10 DIRT DEFL 256.00$        

09-0156 FLANGE BRG NYL 24L24-F 9.18$            

09-0184 TUBE SHRINK BLK H DUTY 1 IN DIA 17.51$          

09-0232 WASHER PLASTIC BLK .25x4 x.13 1.47$            

09-0282 RUBBER NEOPRENE BLEND FOAM 1/2x1 ADHESIV 3.42$            

09-0283 RUBBER NEOPRENE BLEND FOAM 1/4x1 ADHESIV 1.51$            

09-0290 STOP RUBBER SWING 3K 22.00$          

10-0036 BOX 26x26x13 200# SINGLE WALL 17.25$          

10-0185 CRATE 45.5x45.5x44.75 REPLACES 10-0111 425.00$        

100387 WASHER,2.00X.563X.25 18.32$          

10117 7' 1500/5700 SNOW BLADE EDGE KIT 518.00$        

10118 8' 1500/5700 SNOW BLADE EDGE KIT 502.00$        

10119 9' 1500/5700 SNOW BLADE EDGE KIT 492.00$        

10120 10' 1500/5700 SNOW BLADE EDGE KIT 620.00$        

10121 11' 1500/5700 SNOW BLADE EDGE KIT 641.00$        

10122 12' 1500/5700 SNOW BLADE EDGE KIT 599.00$        

102649 EDGE CUT DB .5 X 6 X 90 SQ HOLES .692 224.00$        

102654 CYL 2.50x1.25x8.00 TRIP BLADES 421.00$        

102658 ROD 1 X 33.25 W/FEATURES 131.00$        

103066 MARKER ORANGE 28 28.00$          

105840 FENDER WASHER .34IDX 1.5 ODX10GA PLATED 1.71$            

11-0023 PIN 7/8X27 5/8 67.00$          

11-0044 KIT CSTR C36 SGL OLD*** 106.00$        

11-0084 SHAFT HEX 6 1/2 7.45$            

11-0163 SHAFT HEX 6 26.00$          

11-0199 SHAFT HEX 8 21.00$          

11-0201 SHAFT HEX 7 21.00$          

11-0224 ARM IDLER 8 1/2 TRAC DR 121.00$        

11-0225 ARM IDLER BHEAD C36 44.00$          

55



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

11-0343 SHAFT HEX 9 28.00$          

11-0412 SHAFT HEX 10 29.00$          

11-0459 PIN 7/8X 3-11/16 2 HOLES 33.00$          

11-0574 SHAFT HEX 5 25.00$          

11-0591 SHAFT HEX 5 1/2 18.62$          

11-0601 SHAFT HEX 16 30.00$          

11-0613 SHAFT HEX 23 39.00$          

11-0617 SHAFT HEX 25 40.00$          

11-0765 WELD TANK HYD AH/CH NEW STYLE 685.00$        

11-0773 SHIELD SIDE HD HF 76.00$          

11-0789 WELD**FRM SWG AH REAR 841.00$        

11-0799 WELD BRKT LEVELING ADJ 94.00$          

11-0800 WELD ARM SWG AH W/PIN 415.00$        

11-0803 WELD ARM SWG AH NO PIN 335.00$        

11-1149 RING END CH W/HOLES  *** 43.00$          

11-1277 WELD PLATE SWG CL60 MRHL 321.00$        

11-1430 ASSY***** HD 5 AH/CH SALEABLE GRAY   08- 616.00$        

11-1434 PLATE SPACER SM CORE 13.96$          

11-1501 ASSY PIN 5 1/2 DRIVE-IN ZERK 93.00$          

111502 SHEET,IRG,10X8.25X11.00 8.17$            

11-1502 WELD FRM PIVOT P84 606.00$        

11-1503 WELD ARM SWG P84 NO PIN 420.00$        

11-1513 ASSY ***HUB W/AXLE 683.00$        

11-1514 WELD ARM SWG P84 W/PIN 474.00$        

11-1524 ASSY FENDER LT TOW GRAY 201.00$        

11-1525 ASSY FENDER RT TOW GRAY 226.00$        

111577 RUBBER CUSHION,.50X2.50X12.75 69.00$          

11-1585 SHAFT REC 9 30.00$          

11-1587 SHAFT REC 8 37.00$          

11-1589 SHAFT REC 7 32.00$          

11-1590 SHAFT REC 6 1/2 34.00$          

11-1595 SHAFT REC 18 37.00$          

11-1596 SHAFT REC 16 46.00$          

11-1601 PLATE CORE END AH/CH 25.00$          

11-1605 WELD FRM BRSH 6 AH/CH 1,888.00$    

11-1606 BRKT HD W/BEND AH/CH/LH 32.00$          

11-1608 ASSY****** HD 6 AH/CH ***GRAY SWEEPSTER 678.00$        

11-1610 WELD CORE 6 OLD STYLE 592.00$        

11-1620 ASSY***** HD 10 AH/CH 879.00$        

11-1621 WELD FRM BRSH 10 CH 1,637.00$    

11-1625 SHIELD BRISTLE RHF/RHFA 36.00$          

11-1626 BRKT HD 11 1/2 RHFA 24.00$          

11-1637 BLOCK SPACER BRG AH/LH 60.00$          

11-1639 WELD STOP LIFT EXCEL 128.00$        

56



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

11-1664 ASSY HD 8 SALEABLE GRAY 776.00$        

11-1665 WELD FRM BRSH 8 AH/CH 1,384.00$    

11-1667 WELD TUBE STOP EXCEL 113.00$        

11-1677 WELD****FRM SWG AH 1,303.00$    

11-1681 WELD PLATE SWG LH/MH HYD ANGLE 391.00$        

11-1682 WELD FRM SWG LH HYD STD* 1,079.00$    

111731 BAR,RND,.75X11.07 Z&Y 25.00$          

11-1804 PLATE RETAINER SECT SET C48 SALEABLE  GR 40.00$          

11-1806 ASSY******** HD 7 AH/CH PAINTED 794.00$        

11-1810 WIRE HARNESS B60 C48 105.00$        

11-1811 RETAINER SECT SET TR48 50.00$          

11-1837 WELD MTG MTR TRW CHAR2000 170.00$        

11-1844 WELD PIN ANG STOP 7/8x3 41.00$          

11-1860 TUBE PLASTIC 1X7 7/8 16.57$          

11-1868 ASSY FRM BRSH 7 AH/CH GRAY 1,808.00$    

11-1876 PLATE BELT RETAINER 67.00$          

11-1888 PLATE SUP CHAIN RHFA 41.00$          

11-1889 WELD CHAIN W/PLATES RHF 83.00$          

11-1892 BRKT HANDLE STOP C36 26.00$          

11-1945 TUBE RD 5/8x16GAx1 3/4 23.00$          

11-1953 PLATE MTG BRG TR/HH/HB 68.00$          

11-1955-1 WELD ROD HGHT ADJ 3/8x8 PLD 42.00$          

11-2117 WELD PLATE SWG 1/4 364.00$        

11-2118 SHAFT REC 19 43.00$          

11-2147 WELD TANK OIL HYD TOWS 649.00$        

11-2174 ARM IDLER TW C48 B60 STD 65.00$          

112438 PLATE,WMT,STRIKER    PAINT RED #2906 387.00$        

11-2541 PIN CLEVIS 1x3 1 HOLE 2.65GL PLD 32.00$          

11-2620 WELD MTG CSTR L TP60 NEW 189.00$        

11-2621 WELD MTG CSTR R TP60 NEW 196.00$        

11-2627 RUNNER COVER RT TP60 69.00$          

11-2628 RUNNER COVER LT TP60 69.00$          

11-2676 WELD MTG PUMP AH FD2000 294.00$        

11-2749 ANGLE SUP RUNNER TP60 RH 52.00$          

11-2750 ANGLE SUP RUNNER TP60 LH 52.00$          

11-2751 SUPPORT RUNNER INN TP60 46.00$          

11-2787 WELD MTG PUMP FD3500 4000 206.00$        

11-2803 WELD FRT AH/CH STD 197.00$        

11-2824 CHANNEL 5x23 36.00$          

11-2874 WELD FRM BRSH 9 CH 1,945.00$    

11-2880 WELD FRM MTG AH/CH FD 4/5000 1,008.00$    

11-3001 WELD FRM DRV B60 OW W/DURS 679.00$        

11-3016 WELD HITCH MTG F/BOLT-ON PINTLE 243.00$        

11-3266 SHAFT HEX 4 3/8 W/HOLE 50.00$          

57



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

113338 ROD WMT,TILT INDICATOR,PAINT RED #2906 31.00$          

113339 BRACKET WMT,TILT INDICATOR 32.00$          

11-3380 PLATE BRSH MTG 39.00$          

11-3725-11 SHAFT HEX 7/8x12 3/4 W/HOLE @ 2 1/4 37.00$          

11-3725-13 SHAFT HEX 7/8x7 W/HOLE @ 2 33.00$          

11-3725-18 SHAFT HEX 7/8x10 1/2 W/HOLE @ 2 1/8 51.00$          

11-3725-19 SHAFT HEX 7/8x9 W/HOLE @ 2 3/4 50.00$          

11-3725-22 SHAFT HEX 7/8x5 1/2 W/HOLE @ 1/4 47.00$          

11-3725-3 SHAFT HEX 7/8x5 1/2 W/HOLE @ 1 1/2 43.00$          

11-3725-30 SHAFT HEX 7/8x8 W/HOLE @ 1 3/4 34.00$          

11-3725-37 SHAFT HEX 7/8x5 W/HOLE @ 1 30.00$          

11-3725-48 SHAFT HEX 7/8x6 1/2 W/HOLE @ 3/4 31.00$          

11-3725-7 SHAFT HEX 7/8x7 W/HOLE @ 2 1/8 23.00$          

11-3773 PLATE MTG SHIELD 39.00$          

11-3813 PLATE ADJ BHEAD AH P84 62.00$          

11-3993 PIN 1 1/4x6 F/ZERK PLD 131.00$        

11-3999 SHAFT HEX C36 STD AXLE 46.00$          

11-4371 KIT MANL ANGLE 24 113.00$        

11-5300 KIT CTRL ROD ADJ HYD V REPLACES 11-0766 460.00$        

11-5350S ASSY TANK W/RELIEF MRH FRT SALEABLE 1,652.00$    

11-5388 ASSY PWR PACK 3PT 3000PSI/21.4GPM@540RPM 3,670.00$    

11-5445 KIT CONV SGL MOTOR HBB CAT 887.00$        

11-5819 KIT MANL ANGLE 24 SALEABLE 148.00$        

11-5852 BOX CTRL CP COMPLETE W/CABLE W/O SS 1,114.00$    

11-5900 KIT DEFL 6FT HL 502.00$        

11-5901 KIT DEFL 7FT HL 540.00$        

11604 CUTTER BAR POLYURETHANE 7.5' KIT 1,074.00$    

11605 CUTTER BAR POLYURETHANE 8.5' KIT 1,184.00$    

11606 SNOW DEFLECTOR 7.5' KIT 215.00$        

11608 CUTTER BAR RUBBER 7.5' K IT 369.00$        

11609 CUTTER BAR RUBBER 8.5' K IT 441.00$        

11-6098 PLATE 1/2X4X13 1/2 37.00$          

11610 STEEL EDGE REPLACEMENT 7 .5' KIT 251.00$        

11611 STEEL EDGE REPLACEMENT 8 .5' KIT 285.00$        

11614 STEEL EDGE REPLACEMENT 6 ' KIT 266.00$        

11615 STEEL EDGE REPLACEMENT 1 0' KIT 307.00$        

11616 SNOW DEFLECTOR 6' KIT 200.00$        

11617 SNOW DEFLECTOR 10' KIT 240.00$        

11618 CUTTER BAR RUBBER 6' KIT 351.00$        

11620 CUTTER BAR RUBBER 10' KI T 370.00$        

11-6493 WELD SHIELD GRBX B60 MRM BERVAC 106.00$        

11-6526 KEY 1/4x1 5.85$            

11-6684 TUBE RD 7/8X3/4X72 40.00$          

11-6905 BUSHING 1 3/4x1 5/16x1 6.86$            

58



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

11-7143-1 ASSY FRM BRSH CP/TX 84 GREY 453.00$        

11-7168 SHAFT REC 22 47.00$          

11-7186 HANGER BRG 10 4 SLOT 29.00$          

11-7220 PIN 1 1/4x8 1/8 W/HOLES PLD 56.00$          

11-7258 SHIELD COOLER OIL EXP METAL F/03-0676 53.00$          

11-7284 PLATE EXT 8 F/120 HD 165.00$        

11-7284-1 PLATE EXT 7 F/120 HD 111.00$        

11-7285 ARM MTG DEFL CP96 86.00$          

11-7289S CABLE 3/16x32 SALEABLE 29.00$          

11-7333 PIN 1 1/4x4 W/HOLE 15.53$          

11-7417 WELD BOLT TEE 1 1/2 TP60 44.00$          

11-7467 WELD PLATE SWG 1.8 TRACTORS 423.00$        

11-7472 WELD FRM SWG 1.8 TRAC 428.00$        

11-7479 BUSHING 1x5/8x7/16 PLD 34.00$          

11-7543 WELD FRM BRSH 5 MRH 646.00$        

11-7544 WELD FRM BRSH 6MRH 789.00$        

11-7577 BRKT PUMP 1.8 EXCL  HSTL 151.00$        

11-7593 WELD PLATE GTRBRM TP60 84.00$          

11-7621 WELD FRM SWG CTM HUSTLER 644.00$        

11-7688 WELD MTG TANK 3PT AH 502.00$        

11-7689 WELD TANK 3PT AH 729.00$        

11-7748 PIN 1 1/4X5 W/HOLE 11.67$          

11-7894 BUSHING 1 3/4X1 5/16X2 10.28$          

11-7938 SHAFT REC 16 3/4 47.00$          

11-9076 ASSY TOPLINK HFA HOLDER C500 164.00$        

11-9080 WELD SWG PLATE RHFA CV** 376.00$        

11-9098 WELD SHIELD GBX RHFA/HFA 212.00$        

11-9219 WELD****** HD 9 AH/CH 754.00$        

11-9220 PLATE RETAINER SECT SET D/S32/RHFA 96220 38.00$          

11-9251 WELD WHL RATCHET RT TD84 729.00$        

11-9252 WELD WHL RATCHET LT TD84 729.00$        

11-9253 AXLE TRAC DRV TD84 383.00$        

11-9254 PAWL RACHET TD84 138.00$        

11-9255 LATCH LT TD 30.00$          

11-9256 LATCH RT TD84 30.00$          

11-9257 CAM PAWL RT TD84 313.00$        

11-9258 CAM PAWL LT TD84 313.00$        

11-9288 SPACER TD84 24.00$          

11-9312 WELD TUBE HGHT ADJ PLD 68.00$          

11-9491 DEFL DIRT RHFA 265.00$        

11-9604 PLATE MTG SHIELD BHEAD 38.00$          

11-9605 SHIELD DRV CORE FRT 46.00$          

11-9608 ARM DEFL LOCK 91.00$          

11-9611 SHIELD BRSH SIDE RT 102.00$        

59



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

11-9638 SHIELD DRV CORE REAR 100.00$        

11-9638-1 SHIELD DRV CORE REAR SWEEPSTER BHEAD 41.00$          

11-9684 ROD 1x62 50.00$          

11-9735 SPACER 1 1/4x25/32x 1.188 199.00$        

11-9736 SPACER 1 1/4x25/32x1.00 188.00$        

11-9972-1 WELD FRM BRSH 4 2WAY 85&UP 418.00$        

11-9972-2 WELD FRM BRSH 5 2WAY 85&UP 430.00$        

11-9972-3 WELD FRM BRSH 6 2WAY 85&UP 459.00$        

12-0292 PIN HITCH 1.122x4 3000 PLD 54.00$          

12-0396 WELD FRM CSTR SGL    *** 12/3000 563.00$        

12-0397 WELD BRAKE DRUM 6 1/2 1200 3000 144.00$        

12-0403 ROD BRAKE PAD 2900 1983 114.00$        

12-0404 ASSY BRAKE PAD 2900 1983 204.00$        

12-0430 PIN CYL SWG 133.00$        

12-0451 GROUP CASTER ASSY*** 2,801.00$    

12-0464 WELD YOKE 1350 F/GOVT*** BID 3016 ONLY 695.00$        

12-0470 NUT SPINDLE         *** 114.00$        

12-0488 PIN LIFT CYL PLD 44.00$          

12-0522 ADAPT CORE 70IC 651.00$        

12-0524 CPLG HALF 8020 SPL 1,635.00$    

12-0525 SPINDLE CSTR WHL 12/2900 349.00$        

12-0526 NUT CSTR AXLE 3000   *** 75.00$          

12-0530S WELD CSTR BRAKE GUIDE 3000 SALEABLE 411.00$        

12-0539 WELD CORE 3016/3116 8LH 2,235.00$    

12-0540 WELD CORE 3016/3116 8RH 2,288.00$    

12-0559-4 STRIPPER BRSH 2916/3016 118.00$        

12-0559-5 STRIPPER BRSH 2918/3018 110.00$        

12-0559-6 STRIPPER BRSH 3020 118.00$        

12-0634 SPACER CORE END 31.00$          

12-0937 BOLT LIFT CYL ADJ 137.00$        

12-0978 WELD FRM SWG DBL CYL*** 3000  GRAY 3,619.00$    

12-0979 WELD CORE 2916 LT 1,962.00$    

12-0980 WELD CORE 2916 RT 2,020.00$    

12-1006 WELD GRBX 2900       *** 6,661.00$    

12-1009 PLATE SWG CYL PIN LOCK 29.00$          

12-10252 PLATE END CORE BOLT ON 3100 XT 718.00$        

12-10315 PLATE FRICTION CSTR PLD 120.00$        

12-10316 PLATE COVER CSTR PLD 11.93$          

12-10318S ASSY FORK CSTR BRGS W/TENSION SALEABLE 1,629.00$    

12-10351 KIT FILTERS AIR/OIL/FUEL /COOLANT CUMM Q 807.00$        

12-10352 WELD FRM CSTR 1200/3000 HD W/SPRING 656.00$        

12-10353 KINGPIN CSTR HD W/SPRING TENSION 326.00$        

12-10397 PLATE MTG RUBBER STOP 3000 44.00$          

12-10410-18 ASSY CORE 18FT 3100 XT 6,990.00$    

60



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

12-10410-18S ASSY CORE 18FT 3100 XT 8,105.00$    

12-10410-20S ASSY CORE 20FT 3100 XT SALEABLE 7,303.00$    

12-10553 PLATE GUSSET A-FRAME RT 1200-3100 75.00$          

12-10554 PLATE GUSSET A-FRAME LT 1200/3100 75.00$          

12-10575 PLATE GUSSET A-FRAME OUTER 48.00$          

12-10787 WELD EXTENTION FILLER TUBE HYD TANK 103.00$        

12-10823 CABLE STD 9FT P 580.00$        

12-10836 CABLE STD 14FT PP 997.00$        

12-10958 KIT DEUTSCH REPAIR PARTS/TOOLS 947.00$        

12-11086 ASSY JACK HYD PF 2,796.00$    

12-11482 SHEET AIR DEFL 16FT LT 1100 SERIES 161.00$        

12-11483 SHEET AIR DEFL 16FT RT 1100 SERIES 161.00$        

12-11528 PLATE REAR CONTROL BOX PLUS 1 PATHFINDER 44.00$          

12-11529 PLATE BOTTOM CONTROL BOX PLUS 1 PATHFIND 24.00$          

12-11532 WELD CONTROL BOX PLUS 1 PATHFINDER 225.00$        

12-11656S WELD FRM DUAL CSTR W/ SPRING HT SALEABLE 735.00$        

12-11657S ASSY FORK DUAL CSTR BRGS W/TENS HT SALE 1,272.00$    

12-1166 CPLG HALF 6018 1 1/2-17 SPL NO SET SCREW 413.00$        

12-11665 ASSY DUAL TIRE/WHL/HUB/ AXLE 2,819.00$    

12-11665S ASSY DUAL TIRE/WHL/HUB/ AXLE SALEABLE 2,914.00$    

12-1167 SHAFT GRBX 2900 370.00$        

12-11690 WELD HOOD PROP HT 2010 178.00$        

12-11749 DIN RAIL 15mm X 6.0" 23.00$          

12-11836 ASSY CASTERS BHD 2 18FT HT 7,230.00$    

12-11876 KIT REPLACEMENT F/REX MOTOR W/IMPEL PARK 4,409.00$    

12-11877 KIT REPLACEMENT F/BON MOTOR W/IMPEL PARK 5,503.00$    

12-11877S KIT REPLACEMENT F/BON MTR WIMPEL  LT SAL 5,571.00$    

12-11891 ASSY CORE STAND 1,658.00$    

12-11894S KIT REPLACEMENT F/BON MTR W/IMPEL RT SAL 5,571.00$    

12-11991S ASSY DEFL AIR BH 16FT SALEABLE 3,115.00$    

12-12056 TUBE RD 1 3/4 X 1/4 X 4.00 5.78$            

12-12071 ASSY DEFL AIR BH 20 FT 2,832.00$    

12-12394 IQAN CREATIVE STUDIO PRKR 20073643 4,415.00$    

12-1241 WELD STAND JACK 5TH WHL 3200 422.00$        

12-1262 WELD HITCH 5th WHEEL 3200 2,600.00$    

12-1274 WELD CLAMP 5WHL 3200 180.00$        

12-12781 ASSY PUMP HAND BRAND PF 828.00$        

12-12790 ASSY KIT COOLER UPDATE PARTS CHINA 2012 8,678.00$    

12-12812 WELD WIRE HOUSING BOX 3100 2012 80.00$          

12-12833 PLATE CHEEK EXTENDED MOUNT JACK 2012 166.00$        

12-12865 ASSY IMPLR LT BLOWER 2012 6,031.00$    

12-12866 ASSY IMPLR RT BLOWER 2012 6,001.00$    

12-12867 ASSY BLOWER DUAL MOTOR 2012 24,185.00$  

12-13097 WELD COVER BOX SWITCH COLUMBUS 312.00$        

61



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

12-13118 PLATE IQAN ENGINE BOX COLUMBUS WP 37.00$          

12-13119 PLATE PLOW CONTROL IQAN COLUMBUS WP 44.00$          

12-1353 ASSY CORE RT 3000 8 4,115.00$    

12-1356 ASSY CORE LT 3000 8 4,074.00$    

12-1369 WELD QUICK HITCH 6 HOLE 1,449.00$    

12-1558 BEARING FLG 3.995x2.005 709.00$        

12-1559 WASHER 4x2.005x10GA 23.00$          

12-1560 PIN PIVOT 2x10.375 GRD & POLISHED PLD 804.00$        

12-2006S ASSY HGNT ADJ 3000 SALEABLE 1,414.00$    

12-2008S ASSY CSTR BRAKE 1200-3000 SALEABLE 464.00$        

12-2090 ASSY ELEC JNCT BX 2900-3200 EATON 1,463.00$    

12-2101-1 WELD CHUTE BLWR RT/LT 11x14x31 32IN 1,649.00$    

12-2101-5S ASSY CHUTE BLWR RT/LT 11x14x31 65IN SALE 2,889.00$    

12-2230S ASSY FORK CSTR BEARINGS/ SEALS SALEABLE 767.00$        

12-2534 RING END BOLT ON 3000 NEW DRUM 70.00$          

12-2546 PIN SWG 3000 1x6 3/4x3/8 THRD PLD 76.00$          

12-2564 PIN SWG 3000 1x5 1/2x3/8 THRD PLD 51.00$          

12-2592 HINGE HD BOLT-ON RT MID 3000 291.00$        

12-2593 HINGE HD BOLT-ON LT MID 3000 291.00$        

12-2696S ASSY DRV CORE 3000 TUBE CORE SALEABLE 2,612.00$    

12-2798 WELD CHAIN CPLR PILOT*** 482.00$        

12-2892 PLATE STOP 1/4x2x6 32.00$          

12-2893 PLATE STOP 3/8x2x6 52.00$          

12-2894 PLATE STOP 1/2X2X6 62.00$          

12-3021 WELD HITCH PNTL 3200 DET METRO 486.00$        

12-3095 SPACER 2 3/8x2 1/4 24.00$          

12-3140 WELD WHL HUB 2900 B-SER 1,121.00$    

12-3144 SPINDLE CSTR WHL B SER 499.00$        

12-3313 KIT SHIM DANA 70 127.00$        

12-3367 PLATE MTG GRBX 2900 HUBCITY 66.00$          

12-3608 WELD HOOD PROP 3000 152.00$        

12-3744 WELD JACK BHEAD 3000 658.00$        

12-3775 HUB WHL 4x11 1/2 354.00$        

12-3855 FLANGE BRG F/12-3854KPIN 187.00$        

12-3907 WELD PLATE QC OSH-HB 134.00$        

12-3947-3 WELD CORE 19.40  96 RT 3000 2,070.00$    

12-3947-4 WELD CORE 19 3/8 108 RT 3000 2,205.00$    

12-3947-5 WELD CORE 19 3/8 120 RT 3000 2,302.00$    

12-3948-2 WELD CORE 19 3/8 84 LT 3000 1,987.00$    

12-3948-3 WELD CORE 19 3/8 96 LT 3000 2,104.00$    

12-3948-4 WELD CORE 19 3/8 108 LT 3000 2,193.00$    

12-3948-5 WELD CORE 19 3/8 120 LT 3000 2,244.00$    

12-3957 ADAPT CORE DANA70 770.00$        

12-3962 GEARBOX DANA701C DIFF 1410 INPUT w/LUBE 6,671.00$    

62



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

12-4010 ASSY CORE 7 LT 3000 3,672.00$    

12-4011 ASSY CORE 8 LT 3000 4,588.00$    

12-4012 ASSY CORE 9 LT 3000 4,720.00$    

12-4013 ASSY CORE 10 LT 3000 4,747.00$    

12-4015 ASSY CORE 12 LT 3000 5,227.00$    

12-4017 ASSY CORE 7 LT 3000 3,657.00$    

12-4018 ASSY CORE 8 RT 3000 4,588.00$    

12-4019 ASSY CORE 9 RT 3000 4,720.00$    

12-4020 ASSY CORE 10 RT 3000 4,748.00$    

12-4022 ASSY CORE 12 RT 3000 5,227.00$    

12-4090 PLATE SHLD LIFT SWITCH OSHKOSH HB 137.00$        

12-4127-3 HINGE HD BOLT-ON RT 3016 208.00$        

12-4128-3 HINGE HD BOLT-ON LT 3016 208.00$        

12-4150 WELD LINK HITCH 10.25 220.00$        

12-4151 PLATE LINK HITCH 6.25 26.00$          

12-4152 WELD LINK HITCH 6.25 207.00$        

12-4159 PLATE END FRM LT 3016 GOVT 414.00$        

12-4163 ASSY CORE 8 RT GOVT 3,378.00$    

12-4164 ASSY CORE 8 LT GOVT 3,655.00$    

12-4196 LATCH DOOR ENG 4 HOLES W/21 ROD 113.00$        

12-4253 WELD HD BRSH 3018 1994 4,844.00$    

12-4323 PIN MTG HD JACK PLD 25.00$          

12-4332 WELD HITCH TM3100 IHC 1982/83 17/1854 4x 975.00$        

12-4414 PLATE END BLWR BTM BF15 GOVT1994 49.00$          

12-4415 ASSY END BLWR BF15 GOVT1994 996.00$        

12-4429 BUSHING .81x1 1/4x2 37.00$          

12-4452 WELD DUCT BLWR BF15 GOVT1994 2,507.00$    

12-4452S1 ASSY DUCT BLWR BF-15 94 08-2241 YELLOW 2,070.00$    

12-4493 ASSY IMPLR BF-15 94 BALANCED W/35MM HUB 2,009.00$    

12-4495 BAR SLIDE PLASTIC 1/2x 3/4x23 120.00$        

12-4500 FTG ADP HP 7/8MOR .625-18 149.00$        

12-4613 PLATE FRM END BRSH LT F/08-0137 BRG 300.00$        

12-4624 WELD MTG SUP CTR HD 350.00$        

12-4628 SHAFT SPL MTR CTR DUAL MTR 3100 656.00$        

12-4742 PIN LIFT CYL 3 3100 149.00$        

12-4772 TUBE SQ 1/4x2x25 W/HOLES 61.00$          

12-4984 ASSY IMPLR RT BLWR 24 DUAL IMPLR 1996 1,317.00$    

12-5014 SHAFT IMPLR BLWR 24 DUAL IMPLR 1996 232.00$        

12-5023 ASSY HSG BLWR BF15 1996 SALEABLE GRAY 2,398.00$    

12-5284 ASSY FUEL/WTR SEP RACOR 490 W/HTR/PROBE 942.00$        

12-5336S ASSY CORE 20 FT DUAL MTR SALEABLE 12,144.00$  

12-5421 PIN TOWING POLE INSTALL 1x14 32.00$          

12-5472 ASSY TIRE/WHL/HUB/AXLE** 18x7x8 ADVANCE 2,230.00$    

12-5474 ASSY TIRE/WHL 18x7x8 *** ADVANCE WHL 1,213.00$    

63



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

12-5476 WELD HITCH TOW 2900/3200 F/DB 1250-15/DB 486.00$        

12-5839S ASSY HYD MTR RR 125 SALEABLE 6,294.00$    

12-5840S ASSY DEV GRBX DANA 35SPL SALEABLE 7,485.00$    

12-5903 PLATE MTG BRG SWG 3000 BRG CTR 253.00$        

12-5947 WELD PLATE BRG 1x5x 13.25 775.00$        

12-5990 WELD FRM SWG 3000 W/WIDE CHANNEL 4,092.00$    

12-5998 WELD LINK TUBE F/WIDE CHANNEL HITCH 209.00$        

12-6050 PIN TOPLINK CTR 2x10 1/2 9.25 GRIP LGTH 133.00$        

12-6052 SPACER 2.75 DIAx1.38 47.00$          

12-6064S ASSY HYD MTR RR 125 GOVT 99 SALEABLE 9,952.00$    

12-6068S ASSY TOPLINK 19 1/2 BRG CTR SWG SALEABLE 1,859.00$    

12-6100 SPACER 2 3/4x2.06x.99 W/CHAMFER 41.00$          

12-6101 SPACER 2 3/4x2.06x.625 W/CHAMFER 40.00$          

12-6134 PLATE DELRIN 2x7x3/8 W/COUNTERSINK 57.00$          

12-6160 PLATE STOP BRG 77.00$          

12-6293 WELD CHEEK HITCH LT GOVT 99 274.00$        

12-6297 WELD CHEEK HITCH RT GOVT 99 267.00$        

12-6302 WELD HITCH GOVT 99 817.00$        

12-6409 ANGLE HITCH EXT GOVT 99 76.00$          

12-6416 WELD PIN QA PLD 148.00$        

12-6853 TUBE RD 1.25x.88x1.25 CHUTE LM1200 38.00$          

12-6866 ASSY CYL HYD W/1/2-20 BALL JOINT/ROD END 478.00$        

12-6939S ASSY PUMP HAND SALEABLE 1,039.00$    

12-7131 SHAFT IMPELLER BLOWER 1.50 x 17.25 475.00$        

12-7170S ASSY DEFL AIR NO-FRZ 3018 SALEABLE 3,674.00$    

12-7177 SHEET PLASTIC COVER AIR DEFL NO-FRZ 3018 450.00$        

12-7249 SHEET PLASTIC COVER AIR DEFL NO-FRZ 3016 572.00$        

12-7321 WELD HOOD JACK SIDEWIND 291.00$        

12-7321S WELD HOOD JACK SIDEWIND 358.00$        

12-7322 WELD JACK DUAL MTR BHEAD 517.00$        

12-7402 ROD MTR GUIDE 1x7.5 W/** TAP HOLE ONE EN 118.00$        

12-7440 ASSY LINK 10.25 12/3000 296.00$        

12-7551 WELD INSIDE CHUTE BLWR RT 1,027.00$    

12-7552 WELD INSIDE CHUTE BLWR LT 860.00$        

12-7557 WELD BLWR ATTACH W/PIN RT 1,192.00$    

12-7558 WELD BLWR ATTACH W/PIN LT 1,154.00$    

12-7560 WELD HOUSING BOLT-ON LT/RT 656.00$        

12-7573 WELD CHUTE BOLT-ON RT 388.00$        

12-7574 SPACER 2 ODx1.56IDx.88 20.63$          

12-7707 WELD PIN QA 2001 PLD 107.00$        

12-7832 WELD IMPLR LT BLWR 24 DUAL 2001 BALANCED 992.00$        

12-8189 SPACER CYL 1.75ODx1.03ID x1.25 27.00$          

12-8190 KIT REPLACEMENT CYL  *** 03-2609 TO 03-4 1,068.00$    

12-8199 WELD WHEEL 4.33x8 ADVANCE 2002 392.00$        

64



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

12-8220 WELD FRM CSTR 1200/3000 HD 539.00$        

12-8287S ASSY HOOD 2916 SALEABLE 4,018.00$    

12-8288S ASSY AIR DUCT NO FRZ 2916 SALEABLE 1,716.00$    

12-8312 SHEET PLASTIC AIR DEFL 2916 2002 562.00$        

12-8348S ASSY PLATE BEARING CENTR 2900 2002 5,700.00$    

12-8350 ROD 2.00DIA X 18.12 W/CHAMFER 102.00$        

12-8372 PLATE RETAINER DRIVE 2900 2002 28.00$          

12-8373 PLATE RETAINER CORE 2900 2002 43.00$          

12-8411S ASSY CORE 2914 SALEABLE 2002   GRAY 1,596.00$    

12-8419 COUPLING ELEM CENTER 2900 2002 PLD 947.00$        

12-8428S ASSY HYD TUBE CYL SWG SALEABLE 1,426.00$    

12-8831S WELD MTG JACK OUTER WP SALEABLE 90.00$          

12-8910 BUSHING 1 3/4x1.03x2.00 37.00$          

12-8995 SCREW ADJ ANGLE CASTOR WP HEAT TREATED 481.00$        

12-9025 CAP PLASTIC CORE 2900 388.00$        

12-9361 TANK FUEL 100 GAL W/4 IN FILL F/12-9302 1,736.00$    

12-9809 WELD PIN QUICK ATTACH HITCH PLD 77.00$          

12-9875 BEARING SPACER FORK CASTER 132.00$        

12-9876 BUSHING 1 1/4x1 3/8 124.00$        

13-0011-2 WELD FRM BRSH 5 MRM 1WAY 85&UP 459.00$        

13-0108 PIN 1 1/4x4 1/2 W/HOLE 52.00$          

13-0351 ANGLE MTG DIRT DEFL RHFA 57.00$          

13-0374 WELD PLATE GTRBRM 99.00$          

13-0405 SHAFT REC 22 3/4 48.00$          

13-0440 BRKT CHAIN TOP LINK 3-POINT 33.00$          

13-0476 PLATE MTG FRM JD755 20.56$          

13-0499 WELD FRM SWG CTH FWD STAND 498.00$        

13-0518 KEY 3/16x1 8.72$            

13-0540 WELD STAND ANG CUT REAR KUB 94.00$          

13-0541 WELD STAND STRT FRT KUB 111.00$        

13-0561 BRKT MTG LIFT CYL 137.00$        

13-0576 CAP 24.00$          

13-0752-1 PLATE RETAINER DEFL 93 123.00$        

13-0752-2 PLATE RETAINER DEFL 81 61.00$          

13-0798 WELD LEG REAR RHFA 92.00$          

13-0799 WELD LEG FRT RHFA 84.00$          

13-0801-1 WELD FRM BRSH 6 RHFA 1,019.00$    

13-0801-4 WELD FRM BRSH 5 RHFA 1,169.00$    

13-0812 WELD CHAIN GUARD FRT RHFA 158.00$        

13-0830 WELD CORE RHFA 7FT 87UP 761.00$        

13-0832 WELD CORE RHFA 6FT 87UP 730.00$        

13-0833 WELD CORE RHFA 8FT 87UP 942.00$        

13-0837 WELD CORE RHFA 5FT 87UP 568.00$        

13-0838 BRKT HD 32 MECH BHEADS 56.00$          

65



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

13-10001 WLD STAND QUICKATTACH BFRM CAT ANGLE BRM 99.00$          

13-10004 PIN PIVOT LIFT ARM QUICKATTACH PLD 11.57$          

13-10005 PIN PIVOT SUP SWG QUICKATTACH PLD 29.00$          

13-10060 FINGER APRON HB48/60/72B 16.85$          

13-10075 RUBBER NEOPRENE TANK PAD JRB 78.00$          

13-10076 PLATE MTG SPKLR BAR ADJ 28.00$          

13-10078 CHANNEL 4x23 W/HOLES 50.00$          

13-10080 WELD FRM MTG AHH/CHH F/RUN/SWG MANIFOLD 1,032.00$    

13-10240 WELD FRM MTG JD4500 1,266.00$    

13-10241 WELD SWG MRH F/S30 BHEAD 897.00$        

13-10289 WELD BLANK F/NHTV140 W/7614 LOADER 2,053.00$    

13-10309 WELD HOPPER 60 MELROE 7-800/UNH LX SERIE 737.00$        

13-10315 PLATE BUCKET ADJ SB 34.00$          

13-10328 WELD MTG RT AH/CH NH TN55/65 241.00$        

13-10329 WELD MTG LT AH/CH NH TN55/65 252.00$        

13-10376 WELD ROD THRD ADJ LIFT TORO/NH PLD 94.00$          

13-10384 WELD TUBE ADJ LIFT HITCH M26 TORO/NH 136.00$        

13-10476 WELD FRM SWG CH 1999 651.00$        

13-10477 WELD PLATE SWG CH 1999 578.00$        

13-10504 WELD LINK INNER MANUAL ANGLE CH SWING 19 123.00$        

13-10544 LOCK PIN QA KUB PLD 338.00$        

13-10629 WELD TANK FUEL SPG 1,275.00$    

13-10761 PLATE GUIDE LATCH DOOR SHROUD SPG 36.00$          

13-11001 WELD FRM MTG CTH KUB F3060 HVYDTY W/DRP 739.00$        

13-11004 WELD PLATE SWG CTM/CTH BOLT-ON SWG PIN 238.00$        

13-11013 PLATE MTG ELCT QC SOCKET BOLT ON 49.00$          

13-11027 WELD IDLER M26 LH JD PLD 80.00$          

13-1115-15 WELD ARM PUMP SPEED 423.00$        

13-1115-18 WELD DEFL HOOD 1,553.00$    

13-1115-21 WELD ROD LIFT 17 214.00$        

13-1115-22 WELD TANK HYD CH800 848.00$        

13-11225 SHAFT DRV FRT 7/8 x 23 35/64 NH TN55D 154.00$        

13-11226 WELD SADDLE LT WATER KIT UNH 440.00$        

13-11241 WELD SADDLE RT WATER KIT UNH 375.00$        

13-11248 BUSHING 1.00 ODx.406 ID x1.00 48.00$          

13-11328 WELD CASTER FORK M26 HD 150.00$        

13-11344 BUSHING SWG BOX BRSH FRM ANG BRM 32.00$          

13-11347 WELD ARM LIFT BTM BRSH FRM ANG BRM 554.00$        

13-11348 WELD ARM LIFT TOP BRSH FRM ANG BRM 480.00$        

13-11385 WELD LINK INNER MANL ANG ANG BRM 98.00$          

13-11386 WELD LINK OUTER MANL ANG ANG BRM 101.00$        

13-1139 WELD PLATE SWG CH 1987 645.00$        

13-11407 WELD TANK OIL HYD TOWS CP 666.00$        

13-1149 WELD FRM SWG CH 1987 743.00$        

66



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

13-11561 PLATE COVER NYLON BUSHING HBC 21.00$          

13-1159 BUSHING SWG 3 1/2-12UN 183.00$        

13-11599 WELD PLATE GTRBRM 149.00$        

13-11601 WELD MOTOR MTG GTRBRM GRAY 142.00$        

13-11602 WELD MTG BUCKET 84 1,178.00$    

13-11680 WELD FRAME BRUSH 5 2WAY 2001 350.00$        

13-11721 FLAP FRONT HBC84 208.00$        

13-11722 PLATE SUPPORT FLAP FRONT HBC84 37.00$          

13-11734 WELD PIN 1x8 W/HOLE PLD 31.00$          

13-11776 SHEET HOOD BRSH FRM *** ANG BRM 6 L 433.00$        

13-11790 BOX CNTRL F/ELEC RUN VALVE 166.00$        

13-11816 WELD MTG BUCKET 74IN 1,819.00$    

13-11841 SHEET HOOD BRSH FRM *** ANG BRM 7 L 417.00$        

13-11843 ASSY SHEET HOOD SIDE *** LT S32M7L/S32P7 188.00$        

13-11844 ASSY SHEET HOOD SIDE *** RT S32M7L/S32P7 182.00$        

13-11845 WELD MTG MOTOR S32L *** 115.00$        

13-11846 PLATE PILOT MTG MOTOR S32/HBC 10.99$          

13-11849 WELD CORE 10 7FT BDA ** HEX DRV SGL MTR 755.00$        

13-11856 PLATE CORE HAT *** 24.00$          

13-11860 WELD CORE 10 8FT BDA ** HEX DRV SGL MTR 762.00$        

13-11861 WELD CORE 10 6FT BDA ** HEX DRV SGL MTR 570.00$        

13-11879 PLATE BRKT MTG BRSH SIDE SWEEPER HBC 22.00$          

13-11887 WELD MOTOR MTG HBC 135.00$        

13-11890 HUB HEX 2 1/2x1 1/4 *** TAPERED BORE PLD 54.00$          

13-11903 WASHER .34x1.8x10GA PLD 6.30$            

13-11908 WELD MTG CASTER LT S24 NEW 160.00$        

13-11997 PIN .875x6.50 W/5.72 GL 48.00$          

13-11998 WELD MOTOR GUARD HINGED HBC 132.00$        

13-12025 WELD YOKE ACTUATOR W/HOLES 109.00$        

13-12179 WELD SWEEPER HBC62 NH 2,619.00$    

13-12184 FLAP FRT HBC74 106.00$        

13-12185 FLAP FRT HBC62 115.00$        

13-12187 WELD FRM MTG AH/CH KUB L4310 FRT TANK 1,343.00$    

13-12203 WELD CORE 8 6FT BDC *** HEX DRV SGL MTR 667.00$        

13-12205 WELD CORE 8 5FT BDC *** HEX DRV SGL MTR 632.00$        

13-12209 PLATE BEARING MTG HBC 27.00$          

13-12242S SEAL RUBBER CLEAN GRIP 62 54.00$          

13-12254 WELD CORE 8 6FT SB HEX DRV SGL MTR 708.00$        

13-12258 WELD CORE 8 5FT SB HEX DRV SGL MTR 772.00$        

13-12259 PLATE MTG HYDRAULIC SB 77.00$          

13-12267 TIE ROD CUT OFF 1/4IN 139.00$        

13-12291 WASHER 2.375 ODx1.625 ID x10GA PLD 17.14$          

13-12294 WELD SWG MRH F/03&05 BHEADS 920.00$        

13-12295 PLATE EXT DEFL 6FT 154.00$        

67



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

13-12296 BRACKET DEFL LT SERVICE 46.00$          

13-12297 BRACKET DEFL RT SERVICE 46.00$          

13-12298 PLATE RETAINER DEFL 6FT S32L 87.00$          

13-12343 WELD CASTER FORK JDM18 F/JD51/60 84.00$          

13-12431 PLATE SUPPORT FLAP FRONT 8FT BS32 51.00$          

13-12432 FLAP FRONT 8FT BS32 138.00$        

13-12433 WELD SWEEPER BS32 8FT 4,880.00$    

13-12435 WELD CORE 10 8FT BS32 HEX DRV SGL MTR 764.00$        

13-12439 SHEET HD BS32 8FT 294.00$        

13-12443 PLATE BEAK BS32 128.00$        

13-12489 WELD MTR BKT BS32 272.00$        

13-12491 BUSHING TAPPED M10-1.5 12.75$          

13-12509 PLATE RETAINER DEFL 8FT S32L 90.00$          

13-12510 PLATE EXTENSION DEFL 8FT 247.00$        

13-12521 EDGE CUT DBE 3/4X8X84.75 BOLT ON 7 BOLT 435.00$        

13-12564 WELD STAND BS 218.00$        

13-12570 SHEET HD BS32 9FT 433.00$        

13-1258 PIN CLEVIS 1x4 1/2 1 HOLE 4.15GL PLD 34.00$          

13-12580 FLAP FRONT BS32 9FT 137.00$        

13-12582 FLAP TOP 8FT BS32/BS26 81.00$          

13-12587 WELD CORE 10 8FT BS26 HEX DRV SGL MTR 639.00$        

13-12617 PLATE MTG BHEAD PIVOT QC 62.00$          

13-12641 PLATE MTG CORE 52 BRM JOHN DEERE 2002 22.00$          

13-12665 WASHER .25x2.25ODx1.52ID 5.15$            

13-12738 PLATE HEX HUB 5.25 OD 29.00$          

13-12750 WELD HEX DRIVE 87.00$          

13-12751 PLATE CORE HAT 36.00$          

13-12760 SHAFT DRV 52 BRM PLD 129.00$        

13-12806 PLATE RETAINER DEFL 7FT S32L 72.00$          

13-12807 PLATE EXTENSION DEFL 7FT 150.00$        

13-12855 PLATE IDLER ARM 52 BRM JD 26.00$          

13-12857 WELD BRSH FRM 7FT QC 866.00$        

13-12898 PLATE PIVOT BRSH FRM MTG 6.30$            

13-12899 WELD CORE 10 7FT QC BOLT-ON 838.00$        

13-12941 PLATE SHAFT BRSH FRM MTG 38.00$          

13-12946 WELD MOTOR BUCKET QC 134.00$        

13-12974 WELD SHAFT HEX DRIVE 148.00$        

13-13047 SHEET HOOD SIDE LT QC 122.00$        

13-13048 SHEET HOOD SIDE RT QC 122.00$        

13-13049 SHEET HOOD 7FT QC 340.00$        

13-13149 WELD FRM MTG CTH FRT TANK JD1445 1,129.00$    

13-13159 WELD MTG QA M26 SIMPLICITY 2003 553.00$        

13-13161 PLATE LOWER SWG FRM M26 SIMPLICITY 2003 32.00$          

13-13164 WELD SWG FRM M26 SIMPLICITY 2003 602.00$        

68



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

13-13166 PLATE CORE HAT 29.00$          

13-1321 KEY 1/4x1/4x2 6.38$            

13-13226 WELD STAND BHEAD QC 89.00$          

13-13262 PLATE REAR WATER TANK MTG BS 14.58$          

13-13272 FLAP NEOPRENE DIRT DEFL 7FT S32L 159.00$        

13-13278 WELD BRSH FRM 5FT QC 866.00$        

13-13279 WELD BRSH FRM 6FT QC 874.00$        

13-13280 WELD BRSH FRM 8FT QC 932.00$        

13-13281 SHEET HOOD 5FT QC 318.00$        

13-13282 SHEET HOOD 6FT QC 373.00$        

13-13283 SHEET HOOD 8FT QC 316.00$        

13-13284 ASSY WELD CORE 10 5FT QC BOLT-ON 480.00$        

13-13285 WELD CORE 10 6FT QC BOLT-ON 500.00$        

13-13286 WELD CORE 10 8FT QC BOLT-ON 857.00$        

13-13301 FLAP NEOPRENE DIRT DEFL 8FT S32L 186.00$        

13-13302 FLAP NEOPRENE DIRT DEFL 6FT S32L 143.00$        

13-1331 NUT SPANNER W/SETSCREW HOLES 76.00$          

13-13415 BRKT DEFL LT QC 81.00$          

13-13416 BRKT DEFL RT QC 81.00$          

13-13445 WELD MTG MOTOR S261 249.00$        

13-13451 HUB HEX TAPERED BORE ** S26/S30 2004 PLD 129.00$        

13-13452 ASSY CORE 5FT S26/S30 2004 789.00$        

13-13453 PLATE CORE HAT S26/S30 2004 45.00$          

13-13457 SHEET SIDE HOOD LT S26 /S30 2004 71.00$          

13-13458 SHEET SIDE HOOD RT S26 /S30 2004 71.00$          

13-13503 ASSY CORE 6FT S26/S30 2004 862.00$        

13-13525 PLATE MTG BHEAD S26 /S30 2004 80.00$          

13-13594 WELD BRSH FRM 9FT QC 970.00$        

13-13595 SHEET HOOD 9FT QC 584.00$        

13-13596 WELD CORE 10 9FT QC BOLT-ON 810.00$        

13-13599 PLATE DIRT DEFL 9FT QC 200.00$        

13-13605 WELD FRM MTG AH/CH JD6020 SERIES 776.00$        

13-13606 PLATE SPACER MTG JD 6020 SERIES 36.00$          

13-13633 SHEET DIRT DEFL 6FT S26/S30 2004 171.00$        

13-13634 PLATE MTG LT DIRT DEFL S26/S30 2004 44.00$          

13-13635 PLATE MTG RT DIRT DEFL S26/S30 2004 44.00$          

13-13637 SPACER 1 1/2ODx1.010IDx 1.100 PLD 38.00$          

13-13638 WELD BRSH FRM 5FT S26 2004 906.00$        

13-13640 WELD BRSH FRM 4FT S26 2004 954.00$        

13-13642 SHEET HOOD S26/S30 5FT 2004 172.00$        

13-13649 WELD BRSH FRM 6FT S30 2004 769.00$        

13-13655 TUBE RD STND S30 2004 PLD 64.00$          

13-13685 WELD***AXLE 5200# W/MTG PLATES HYD/PRKIN 1,413.00$    

13-13898 WELD STAND 211/213 SERIES 83.00$          

69



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

13-13975 WELD TANK HR NON AUTO 788.00$        

13-14024 WELD ARM HR 339.00$        

13-14033 WELD PIVOT LOWER HR 2005 299.00$        

13-14043 PIN 1.25x15.53 W/HOLES PLD 44.00$          

13-14048 BUSHING 2.00ODx1.260ID x7.125 W/HOLE 108.00$        

13-14058 HUB HEX 2 1/2x1 1/4 TAPERED BOREx3.56 PL 123.00$        

13-14059-7 WELD BRSH FRM 7FT 36 HR 1,104.00$    

13-14077 ASSY SHEET HOOD SIDE LT HR 213 196.00$        

13-14078 ASSY SHEET HOOD SIDE RT HR 213 79.00$          

13-14079 SHEET HOOD 6FT HR 213 124.00$        

13-14080 SHEET HOOD 7FT HR 270.00$        

13-14081 SHEET HOOD 8FT HR 348.00$        

13-14081M SHEET HOOD 8FT HR MFG 297.00$        

13-14083P STUD MTG MOTOR HR PLD 2.68$            

13-14085 PLATE MTG MOTOR HR 2005 35.00$          

13-14086 PLATE HANDLE MOTOR HR 2005 47.00$          

13-14133 PLATE MTG BEARING HR 2005 48.00$          

13-14135 HUB HEX 2 1/2 SGL MOTOR 36 HR 2005 PLD 151.00$        

13-14162 PLATE HOLD DOWN FILTER 23.00$          

13-14182 PIN 5/8x7.12 W/HOLE 39.00$          

13-14187 WELD MTG VOLUMIZER PS 26 PLD 87.00$          

13-14212 WELD MTG CASTER LT S26 2004 177.00$        

13-14219 WELD AXLE 5200# NO BRKS H-84-96 W\SS 566.00$        

13-14222 WELD MTG CASTER RT S30 2004 198.00$        

13-14250 TOP LINK 5.81 69.00$          

13-14252 TUBE ADJUST HR PLD 171.00$        

13-14254 ROD ADJUST HR 2005 PLD 36.00$          

13-14267 WELD CORE 36IN WSP 305.00$        

13-1430 KEY 1/4x1 1/4 4.52$            

13-14453 WELD FRM BHEAD 3FT WSP 223.00$        

13-14458 WELD COVER DRV BHEAD WSP 203.00$        

13-1448 WELD FRM SWG CTM RMRM 553.00$        

13-14485 SHEET HANDLE FRT MULTI SPEED WALKBEHIND 29.00$          

13-14489 COVER TOP WSP 48.00$          

13-14491 COVER BTM REAR WSP 41.00$          

13-14512 TUBE CORE WSP PLD 44.00$          

13-14532 ROD CR 3/8x19 W/CHAMFER & HOLE 24.00$          

13-14535-5 WELD CORE 8 5FT VRS/VS HEX DRV SGL MTR S 731.00$        

13-14535-6 WELD CORE 8 6FT VRS/VS HEX DRV SGL MTR S 695.00$        

13-14535-7 WELD CORE 8 7FT VRS/VH HEX DRV SGL MTR 656.00$        

13-14545 SHEET SIDE LT HOOD 180 DEG 36 HR 80.00$          

13-14546 SHEET SIDE RT HOOD 180 DEG 36 HR 80.00$          

13-14550-10 WELD BRSH FRM 10FT 213 2,283.00$    

13-14550-12 ASSY WELD BRSH FRM 12FT 213 2,552.00$    

70



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

13-14562 PIN MTG MOTOR BFRM 213 PLD 29.00$          

13-14565 TUBE RD 2 1/4x16GAx 13.70 26.00$          

13-14566 SHEET HOOD MULTI SPEED WALKBEHIND 64.00$          

13-14573 PLATE RETAINER SECT MULTI SPEED 25.00$          

13-14575 SHEET HOOD 180DEG 10FT 213 113.00$        

13-14577 FLAP 10FT HOOD 180DEG 213 303.00$        

13-14578 FLAP 12FT HOOD 180DEG 213 258.00$        

13-14688 WELD MTG SIDE LT AH/CH JD 5025 SERIES 164.00$        

13-14689 WELD MTG SIDE RT AH/CH JD 5025 SERIES 164.00$        

13-1471 FLAP DEFL VA HWY 156.00$        

13-14719 BRACKET ENGAGE HANDLE WSP 29.00$          

13-1472 PLATE STRAP TOP RHFA 36.00$          

13-1473 PLATE STRAP BTM RHFA 29.00$          

13-1477 PLATE CHAIN HOLDER RT 20.73$          

13-14771 WELD SHIFT LEVER WSP PLD 32.00$          

13-14777 PLATE LEVER SHIFT TRANS WSP PLD 43.00$          

13-14778 WELD MTG FRT HR NH TN SERIES 486.00$        

13-1478 PLATE CHAIN HOLDER LT 46.00$          

13-14787 PIN 1 1/4x3.25 W/HOLES PLD 46.00$          

13-14793 FLAP MID DIRT DEFL QC REAR MOUNT 71.00$          

13-14797 WELD MTG SIDE AH/CH TL-A CASE JX1000U 212.00$        

13-14805 WELD SQ SHAFT 1 1/2 CORE 10 LA PLD 111.00$        

13-14808 WELD HUB SQ 1 1/2 W/DBLRS 90.00$          

13-14812 WELD PLATE MID BRSH FRM 213 163.00$        

13-14814 PLATE MTG MID BRSH FRM 213 29.00$          

13-14815 PLATE MTG BHEAD PIVOT 213 98.00$          

13-14816 SHEET HOOD FILLER 213 132.00$        

13-14817 ASSY SHEET HOOD 5FT 213 350.00$        

13-14857 WELD SIGHT INDICATOR QC/BDA/HR/LA 111.00$        

13-14865 WELD LEVER ENGAGEMENT LT WSP PLD 32.00$          

13-14867 WELD LEVER ENGAGEMENT RT WSP PLD 32.00$          

13-14869 PLATE REFLECTOR TRIPLE LXD06 79.00$          

13-14909 PLATE COVER FRT BODY WSP 22.00$          

13-14923 WELD FRM AH/CH TC48/55 DA 449.00$        

13-14956 WELD FRM MTG LH/LCH UNIV QA 1,087.00$    

13-15035 WELD RING SWG WSP 21.00$          

13-15040 WELD FENDER MTG TB06 144.00$        

13-1505 WELD MTG MTR HB 224.00$        

13-1506 WELD MTR GUIDE 231.00$        

13-15072 ROD BELT GUIDE ENG WSP PLD 25.00$          

13-15073 TUBE RD 5/8x11GAx1.25 PLD 10.38$          

13-15080 ROD LINKAGE TRANS DRV WSP PLD 15.88$          

13-15081 ROD LINKAGE BRSH DRV WSP PLD 21.00$          

13-15085 PLATE MTG VALVE 03-4142 72.00$          

71



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

13-15094 BRACKET MTG BULKHEAD TEES QC SERIES DUAL 25.00$          

13-15099 COVER GEAR BOX CPLR WSP 36 27.00$          

13-15130 TURNBUCKLE BODY ONLY 1/4-20x4IN TAKE UP 26.00$          

13-15131 TUBE RD 1 3/8x5/32x1.03 PLD 24.00$          

13-15133 COUPLING SHAFT 7/8 W/ HOLES PLD 23.00$          

13-15140 ROD LINKAGE LOWER WSP PLD 15.56$          

13-15149 TUBE RD 1 1/2x1.06x4.25 25.00$          

13-1518 WELD FLG TAKE UP 169.00$        

13-15205 HUB HEX DRIVE S26/30 29.00$          

13-15206 HUB **HEX DRIVE BD/QC 38.00$          

13-15208 HUB HEX DRIVE 213 27.00$          

13-15218-6S WELD BODY VRS 26 6FT 1,977.00$    

13-15218-6V WELD BODY VS 6FT 1,337.00$    

13-15223 TUBE RD 1 ODx.562 IDx .36 PLD 3.98$            

13-15229 PLATE GUARD MTR VS/VRS 26 56.00$          

13-15246 PLATE HANDLE ADJ MTR PS 26 28.00$          

13-15247 TUBE RD 5/8X12GAX.375 PLD 11.90$          

13-15248 WELD MTG MTR CORE LT PS 26 146.00$        

13-15249 WELD MTG MTR CORE RT PS 26 94.00$          

13-15251-5-0022 WELD BUCKET VRS 26 5FT QA UNIV 1,726.00$    

13-15251-6-0022 WELD BUCKET VRS 26 6FT QA UNIV 1,913.00$    

13-15251-7-0022 WELD BUCKET VRS 26 7FT QA UNIV 1,781.00$    

13-15256-5 WELD VOLUMIZER PS 26 5FT 341.00$        

13-15256-6 WELD VOLUMIZER PS 26 274.00$        

13-15256-7 WELD VOLUMIZER PS 26 7FT 326.00$        

13-15260 WELD HANDLE VOLUM*** PS 26 178.00$        

13-15262 PLATE LINK ADJ MOTOR PS 26 12.52$          

13-15263 PLATE MTG CORE SB 26 33.00$          

13-15264 PLATE MTG MOTOR VRS/CS 33.00$          

13-15265 FLAP SIDE VRS 26 STD 38.00$          

13-15266 FLAP SIDE VS 26 VACUUM 30.00$          

13-15267 PLATE 1/8X1 1/4X23.5 3 SLOT 26.00$          

13-15268 PLATE 1/8X1 1/4X26.9 4 SLOT 43.00$          

13-15269 PLATE SIDE MTG FLAP FRT SB 26 VACUUM 33.00$          

13-15270 FLAP 1/8x9x60.0 6 HOLE 89.00$          

13-15271 FLAP 1/8X9X72.0 7 HOLE 100.00$        

13-15272 FLAP 1/8x9x84.0 8HOLE 111.00$        

13-15273 FLAP 1/8x9x61.5 12HOLE 116.00$        

13-15274 FLAP1/8x9x73.5 14 HOLE 127.00$        

13-15275 FLAP 1/8x9x85.5 16HOLE 137.00$        

13-15276 PLATE 1/8x1 1/4x60.0 6 SLOT 44.00$          

13-15277 PLATE 1/8X1 1/4X72 7 SLOT 47.00$          

13-15278 PLATE 1/8x1 1/4x84.0 8 SLOT 56.00$          

13-15279 FLAP 3/16x10x61.5 6HOLE 69.00$          

72



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

13-1528 PLATE RING CORE LOADER BUCKET 14.07$          

13-15280 FLAP 3/16X10X73.5 7 HOLE 78.00$          

13-15281 FLAP 3/16x10x85.5 8HOLE 88.00$          

13-15283 PLATE MTG FLAP FRT VS 26 6FT VACUUM 90.00$          

13-15292 WELD ADJ CORE WSP PLD 26.00$          

13-15293 WELD IDLER ARM WSP PLD 32.00$          

13-15294 WELD IDLER ARM BRUSH WSP PLD 29.00$          

13-15295 WELD IDLER ARM CHAIN WSP PLD 53.00$          

13-15296 WELD TUBE CONTROL LT WSP PLD 27.00$          

13-15321 SHEET HOOD END LT WSP 46.00$          

13-15322 SHEET HOOD END RT WSP 49.00$          

13-15325 SHEET 180DEG HOOD FILLER 213 37.00$          

13-15326 WELD SUP HOOD 180DEG 213 227.00$        

13-1537 WELD PIN 1x8 1/2 W/HOLE 53.00$          

13-1539 PLATE MTG FLAP 68.00$          

13-15398 SPACER 1 1/2 ODx1.031 IDx1.100 PLD 11.34$          

13-1540 CHANNEL MTG FLAP R 81.00$          

13-1541 CHANNEL MTG FLAP L 81.00$          

13-15504 PIN .75X1.06 W/HOLE 10.16$          

13-15516 TUBE RD 5/8x11GAx1.0 PLD 13.63$          

13-15537 PLATE ADJUST GUTTERBRM VRS 49.00$          

13-15577 PLATE LATCH COVER VAC ATTACH 31.00$          

13-15580 ROD BELT GUIDE BRSH DRV WSP PLD 28.00$          

13-15600 WELD PIN FRAME SWING 75.00$          

13-15635 PLATE ADJ CS26 27.00$          

13-15636 PLATE SPACER ADJ CS26 27.00$          

13-15638 PLATE GUARD SIDE CS26 73.00$          

13-15640 WELD PIN 1 1/2 CS26 55.00$          

13-15642 PLATE RETAINER PIN 1 1/2 10.20$          

13-15646 PLATE RETAINER FLAP SIDE CS26 34.00$          

13-15647 FLAP SIDE CS26 30.00$          

13-15648-2 PLATE RETAINER FLAP 2FT CS 27.00$          

13-15648-3 PLATE RETAINER FLAP 3FT CS26 28.00$          

13-15657-5 WELD CORE 8IN 5FT 2007 BOLT-ON 437.00$        

13-15657-6 WELD CORE 8IN 6FT 2007 BOLT-ON 714.00$        

13-15657-7 WELD CORE 8IN 7FT CS26 2007 BOLT-ON 493.00$        

13-15662 PLATE SECT RETAINER 8 2006 49.00$          

13-15686-0564 WELD FRM MTG LH/LCH MF1070 1,165.00$    

13-15686-0564M WELD FRM MTG LH/LCH MF1070 MFG 1,159.00$    

13-15686-0869 WELD FRM MTG LH/LCH QA JD310 SG 1,264.00$    

13-15687 PLATE MTG LIGHT/REFL LT LXD 57.00$          

13-15688 PLATE MTG LIGHT/REFL RT LXD 60.00$          

13-15716 WELD MTG CASTER LT WSP 77.00$          

13-15717 WELD MTG CASTER RT WSP 77.00$          

73



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

13-15721 WELD ADJ CORE LT CASTERS WSP 103.00$        

13-15722 WELD ADJ CORE RT CASTERS WSP 113.00$        

13-15733 TUBE RD 1x5/16x1.7 9.79$            

13-15742-6 FLAP REAR 6FT CS 51.00$          

13-15742-7 FLAP REAR 7FT CS26 62.00$          

13-15742-8 FLAP REAR 8FT CS26 68.00$          

13-15742-9 FLAP REAR 9FT CS26 72.00$          

13-15743-7 FLAP HOPPER 7FT CS26 141.00$        

13-15743-8 FLAP HOPPER 8FT CS26 155.00$        

13-15743-9 FLAP HOPPER 9FT CS26 162.00$        

13-15744-7 FLAP SEAL 7FT CS26 131.00$        

13-15744-8 FLAP SEAL 8FT CS26 131.00$        

13-15744-9 FLAP SEAL 9FT CS26 165.00$        

13-15795 FLAP 3/16X9X61.5 6 HOLE 69.00$          

13-15796 FLAP 3/16X9X73.5 7 HOLE 84.00$          

13-15797 FLAP 3/16X9X85.5 8 HOLE 89.00$          

13-15827 CHAIN 3/8 11LKS GR43 25.00$          

13-15866-5 ASSY WELD CORE 10 5FT WLA 2007 SERVICE 568.00$        

13-15866-6 ASSY WELD CORE 10 6FT WLA 2007 SERVICE 584.00$        

13-15866-7 ASSY WELD CORE 10 7FT WLA 2007 SERVICE 570.00$        

13-15866-8 ASSY WELD CORE 10 8FT WLA 2007 SERVICE 722.00$        

13-15879-9 WELD BODY CS32 9FT 2,227.00$    

13-15903 FLAP SIDE CS32 31.00$          

13-15904 PLATE RETAINER FLAP SIDE CS32 37.00$          

13-15905 PLATE GUARD SIDE CS32 101.00$        

13-15997 WELD HUB CSTR SGL 6 BOLT ON 5.5 B.C. TB0 468.00$        

13-15999 TUBE SPACER CSTR SGL F/6 BOLT 39.00$          

13-16016 WELD ADAPTER VACUUM 520.00$        

13-1602 ANGLE MTG CSTR LDR 331.00$        

13-16024 PLATE ADJ ARM CS GTRBRM 20.28$          

13-16025 WELD PIVOT ARM GTRBRM CS 69.00$          

13-16040-0134 WELD QA CS SERIES CAT IT-18 1,767.00$    

13-16040-0217 WELD QA CS CAT 950 W/FUSION CPLR 3,825.00$    

13-16040-0869 WELD QA CS SERIES JRB E-SERIES 1,018.00$    

13-16040-0913 WELD QA CS SERIES JRB 416 SERIES 1,632.00$    

13-16040-0934 WELD QA CS SERIES ZETTELMEYER 802 I 1,506.00$    

13-16040-0935 WELD QA CS SERIES ACS 2000 SIZE 30 5,144.00$    

13-16045 SHEET HOOD EXT SIDE LT QC 2007 87.00$          

13-16046 SHEET HOOD EXT SIDE RT QC 2007 87.00$          

13-16047-7 SHEET HOOD EXT 7FT QC 2007 172.00$        

13-16047-8 SHEET HOOD EXT 8FT QC 2007 147.00$        

13-16047-9 SHEET HOOD EXT 9FT QC 2007 156.00$        

13-16138 PLATE MTG MTR HYD SB HOPPER 2006 27.00$          

13-16148 WEAR BAR BUCKET SB HOPPER 2006 28.00$          

74



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

13-16158 HUB CORE SB HOPPER 2006 33.00$          

13-16168 PLATE CORE 8 SHAFT WELD-IN 2006 27.00$          

13-16175-5 WELD CORE 8 5FT S26/30 2007 HEX DRV SGL 527.00$        

13-16175-6 WELD CORE 8 6FT S26/30 2007 HEX DRV SGL 849.00$        

13-16176-4 WELD BFRAME 4FT S26 2006 817.00$        

13-16178-5 SHEET HOOD 5FT S26/30 2006 190.00$        

13-16185 ROD LINKAGE LOWER WSP 2007 23.00$          

13-16186 ROD LINKAGE UPPER WSP 2007 11.10$          

13-16189 ROD THRD 1-8 X 7.0" PLD 17.18$          

13-16199-5 FLAP DEFL 5FT 180 HD QC 2007 157.00$        

13-16199-7 FLAP DEFL 7FT 180 HD QC 2007 185.00$        

13-16199-8 FLAP DEFL 8FT 180 HD QC 2007 208.00$        

13-16200 PLATE STIFFENER FLAP QC 180 HD 39.00$          

13-16201-7 SHEET DIRT DEFL 7FT S26/S30 2007 107.00$        

13-16215 PLATE MTG MTR HYD INNER SB HOPPER 27.00$          

13-16225 PLATE RECEIVER HEX 2.50IN 28.00$          

13-16231-6 WELD BFRM 6FT RHFA 799.00$        

13-16240 ROD THRD 1-8x9 PLD 29.00$          

13-16261 WELD BODY WSP 2007 729.00$        

13-16264 PLATE MTG BEACON LED 07-7194 60.00$          

13-16269 WELD IDLER ARM DRV WSP 2007 PLD 38.00$          

13-16293 PLATE MTG SIDE CH MF 5400 SERIES 113.00$        

13-16294 PLATE SPACER MTG CH 1/2 3 HOLE 60.00$          

13-16308 TUBE RD PVC SCH 80 1ID x5.88 4.77$            

13-16309 TUBE RD PVC SCH 80 1.0ID x11.88 6.93$            

13-16311 WELD BRACKET SHIFT CABLE LOWER WSP 2007 21.00$          

13-16321 WELD TUBE CONTROL RT W/O BRAKE WSP PLD 29.00$          

13-16322 WELD STRAP TANK 60GAL LX 126.00$        

13-16353M SHEET HOOD SIDE BRG RHFA 78.00$          

13-16403 PIN W/SHLDR MTG MOTOR BFRAME 213 PLD 49.00$          

13-16406 WELD SUPPORT ACTUATOR LX 136.00$        

13-16507 WELD ADAPTOR LXD06 ACTUATOR 100.00$        

13-16513 WELD PLATE GUTTER BRM CS 79.00$          

13-1654 GUSSET 1/4X6X10 W/CUT 22.00$          

13-16576 PLATE MTG BRAKE HOSE TB06 9.39$            

13-1659 WELD HD CHC1200 842.00$        

13-1660 BUSHING 1.75x1.03x.75 22.00$          

13-16615 PLATE MTG MANF CS 40.00$          

13-16638-4 WELD BFRM S26 4FT 2007 630.00$        

13-16638-5 WELD BFRM S26 5FT 2007 633.00$        

13-16638-6 WELD BFRM S26 6FT 2007 651.00$        

13-16683 Sheet Cover VS Opening 78.00$          

13-16698 WELD SPROCKET QD 80A12 TBTD HARDEN 447.00$        

13-16710 PLATE EAR SIDE VOLVO L150E 520.00$        

75



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

13-16711 PLATE STOP BLOCK VOLVO L150E 25.00$          

13-16767 WELD FRM MTG AH/CH KUBOTA L4740 640.00$        

13-16768 WELD FRM MTG REAR KUBOTA L4740 176.00$        

13-16769 WELD TUBE SUPPORT CTR KUBOTA L4740 121.00$        

13-16812 PLATE MTG LIGHT REFLECTO OUTSIDE LXD08 95.00$          

13-16813 PLATE REFLECTOR OUTSIDE LXD08 100.00$        

13-16819 WELD PIVOT OUTSIDE LXD08 167.00$        

13-16822 PLATE REFLECTOR INSIDE LXD08 86.00$          

13-16863 WELD MTG SIDE RT JD 6230 308.00$        

13-16864 WELD MTG SIDE LT JD6230 300.00$        

13-16865 WELD MTG FRONT JD6230 136.00$        

13-16916 PIN 1.75X2.63 HIGH RAISE PLATED 125.00$        

13-16923 WELD HEX SHAFT IDLER BOLT-IN PLD 164.00$        

13-16935 WELD HITCH F/SURGE BRAKE CALTRAN 2008 474.00$        

13-16936 SHEET HOOD EXT 7FT CALTRAN 2008 120.00$        

13-16936M SHEET HOOD EXT 7FT CALTRAN 2008 117.00$        

13-16974 HUB HEX MODIFIED JD1600 WAM FIX 97.00$          

13-16976 PLATE ADJ STOP M24 24.00$          

13-16994-5 ASSY WELD FRM BRSH 5FT 20 SERIRS QC 2008 982.00$        

13-16994-6 ASSY WELD FRM BRSH 6FT 20 SERIRS QC 2008 972.00$        

13-16994-7 ASSY WELD FRM BRSH 7FT 20 SERIRS QC 2008 1,019.00$    

13-16994-8 ASSY WELD FRM BRSH 8FT 20 SERIRS QC 2008 865.00$        

13-16994-9 ASSY WELD FRM BRSH 9FT 20 SERIRS QC 2008 1,055.00$    

13-16995-5 ASSY SHEET HOOD 5FT 20 SERIES QC 2008 318.00$        

13-16995-6 ASSY SHEET HOOD 6FT 20 SERIES QC 2008 332.00$        

13-16995-7 ASSY SHEET HOOD 7FT 20 SERIES QC 2008 389.00$        

13-16995-8 ASSY SHEET HOOD 8FT 20 SERIES QC 2008 343.00$        

13-16995-9 ASSY SHEET HOOD 9FT 20 SERIES QC 2008 464.00$        

13-16996 ASSY SHEET HOOD SIDE LT 20 SERIES QC 200 111.00$        

13-16997 ASSY SHEET HOOD SIDE RT 20 SERIES QC 200 102.00$        

13-16998-6 ASSY SHEET HOOD EXT 6FT 20 SERIES QC 200 299.00$        

13-16998-7 ASSY SHEET HOOD EXT 7FT 20 SERIES QC 200 279.00$        

13-16998-8 ASSY SHEET HOOD EXT 8FT 20 SERIES QC 200 282.00$        

13-16998-9 ASSY SHEET HOOD EXT 9FT 20 SERIES QC 200 264.00$        

13-16999 ASSY SHEET HOOD EXT SIDE LT 20 SERIES QC 125.00$        

13-17000 ASSY SHEET HOOD EXT SIDE RT 20 SERIES QC 125.00$        

13-17002 WELD MTG STAND 20 SERIES QC 42.00$          

13-17008-7 ASSY SHEET HOOD 7FT TB SERIES QC 2008 348.00$        

13-17014 PLATE MTG BULKHEAD FTGS 20 SERIES QC 200 53.00$          

13-17015 PLATE MTG BRG TOOLLESS S26/S30 23.00$          

13-17016 PLATE MTG MTR TOOLLESS S26/S30 12.98$          

13-17030-5 FLAP DEFLECTOR 180 5FT 20 SERIES QC 2008 107.00$        

13-17030-6 FLAP DEFLECTOR 180 6FT 20 SERIES QC 2008 123.00$        

13-17030-7 FLAP DEFLECTOR 180 7FT 20 SERIES QC 2008 144.00$        

76



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

13-17030-8 FLAP DEFLECTOR 180 8FT 20 SERIES QC 2008 160.00$        

13-17030-9 FLAP DEFLECTOR 180 9FT 20 SERIES QC 2008 163.00$        

13-17035-5 WELD BODY 60 205 SERIES 1,179.00$    

13-17035-6 WELD BODY 72 205 SERIES 1,219.00$    

13-17035-7 WELD BODY 84 205 SERIES 1,263.00$    

13-17037-5 WELD BUCKET 60 SBB SAE 2008 - NO QA 1,320.00$    

13-17037-5-0022 WELD BUCKET 60 SBB 205 SERIES SAE 1,228.00$    

13-17037-6 WELD BUCKET 72 SBB 205 SERIES NO QA 1,539.00$    

13-17037-6-0022 WELD BUCKET 72 SBB 205 SERIES SAE 1,351.00$    

13-17037-7-0022 WELD BUCKET 84 SBB 205 SERIES SAE 1,530.00$    

13-17039 PLATE MTG MTR TOOLLESS 205 SERIES 29.00$          

13-17041 PLATE MTG BULKHEAD FTGS 221 SERIES 23.00$          

13-17042-5 FLAP FRT 60 205 SERIES 101.00$        

13-17042-6 FLAP FRT 72 205 SERIES 123.00$        

13-17042-7 FLAP FRT 84 205 SERIES 139.00$        

13-17046 PLATE GUARD MTR 205 SERIES 23.00$          

13-17047-5 PLATE GUARD FRT 5FT 205 SERIES 52.00$          

13-17047-5M PLATE GUARD FRT 5FT 205 SERIES 43.00$          

13-17047-6 PLATE GUARD FRT 6FT 205 SERIES 54.00$          

13-17047-6M PLATE GUARD FRT 6FT 205 SERIES 43.00$          

13-17047-7 PLATE GUARD FRT 7FT 205 SERIES 59.00$          

13-17056-0820 WELD QA CS SERIES VOLVO L150E/L180E 2,033.00$    

13-17056-0820M WELD QA CS SERIES VOLVO L150E/L180E 2,027.00$    

13-17056-0820PH WELD QA CS SERIES VOLVO L150E/L180E 1,675.00$    

13-17059 FLAP SIDE 205 SERIES 42.00$          

13-17072 TUBE RD PVC SCH 80 1 ID x13.50 6.57$            

13-17073 TUBE RD PVC SCH 80 1 ID x25.75 12.94$          

13-17083-4 SHEET HOOD M24 4FT 126.00$        

13-17083-5 SHEET HOOD M24 5 FT 232.00$        

13-17083-6 SHEET HOOD M24 6FT 181.00$        

13-17084-9 SHEET HOOD REPL S/D32 9FT 222.00$        

13-17112 WELD END HAT CORE AH/HF 158.00$        

13-17118 WELD STAND 221 SERIES 111.00$        

13-17119 SHIELD DRV REAR M24 76.00$          

13-17132 PLATE MTG SIDE HR JD 5075M 93.00$          

13-17139 WELD FRAME MTG AH/CH JD 5101E 902.00$        

13-17143 WELD MTG QA WLA STD EURO QA 1,212.00$    

13-17144 PIN CORE 52 BROOM 7.31 PLD 41.00$          

13-17153 WELD BRKT MTG HYD CYL HR 202.00$        

13-17161-0022 WELD B-PLT/THROAT SNB 115 SER UNIV 1,604.00$    

13-17197 WELD ROLLER SMOOTH MX7 978.00$        

13-17201 PLATE SPACER AUGER MOTOR 13.73$          

13-17205 GUSSET .38X10.0X12.25 W/FLAT 34.00$          

13-17224 WELD PLATE SWG CTH 3/8 TOP PIN W/STOPS 324.00$        

77



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

13-17249 WELD CATCH BRACKET WSP24 65.00$          

13-17276 WELD 48 AUGER STD SNW BLWR 1,299.00$    

13-17286 WELD AUGER 84 F SERIES SNW BLWR 1,649.00$    

13-17294 WELD CHUTE STD SNOW BLWR 270.00$        

13-17306 WELD MTG FRT HR JD5075M 540.00$        

13-17321 PLATE SPACER SIDE HR JD 5075M 27.00$          

13-17324-72-0914 WELD MAIN HOUSING 72 HF SNW BLWR JDD 2,429.00$    

13-17324-78-0208M WELD MAIN HOUSING 78 HF SNW BLWR JCB 2,081.00$    

13-17324-78-0208PH WELD MAIN HOUSING 78 HF SNW BLWR JCB 1,482.00$    

13-17324-78-0914 WELD MAIN HOUSING 78 HF SNW BLWR JDD 2,463.00$    

13-17324-84-0914 WELD MAIN HOUSING 84 HF SNW BLWR 2,475.00$    

13-17327-0914 PLATE FAN COVER HF SNW BLWR F/JDD 72.00$          

13-17412-108 CUTTING EDGE .50x6 F/ 108 VBLD 157.00$        

13-17412-120 CUTTING EDGE .50x6 F/ 120 VBLD 180.00$        

13-17435 WELD MTG SIDE LT AH/CH NH TT75A 179.00$        

13-17436 WELD MTG SIDE RT AH/CH NH TT75A 179.00$        

13-17488 PLATE 3/8x3.5x6.36 W/CUT 47.00$          

13-17505 WELD MTG SIDE LT AH/CH NH T5050 2WD 185.00$        

13-17506 WELD MTG SIDE RT AH/CH NH T5050 2WD 185.00$        

13-17508 WELD MTG FRT KUB M108S 116.00$        

13-17512 WELD MTG SIDE LT AH/CH KUB M108S 172.00$        

13-17513 WELD MTG SIDE RT AH/CH KUB M108S 172.00$        

13-17514 BRACKET CAST STEP 65.00$          

13-17607 PLATE .188 PINCH GUARD F/VBLD 43.00$          

13-17652 ASSY LID FILTER BOX VAC ATTACH SERVICE 423.00$        

13-17653 WELD PLATE MTG BHEAD PIVOT QC TRACKLESS 184.00$        

13-17773 RUBBER 1.5 X 10 X 137.5 W/ HOLES 842.00$        

13-17774 RUBBER 1.5 X 10 X 161.50 W/ HOLES 978.00$        

13-17871-6 ASSY WELD HOPPER HD 72 SBB 205 SERIES 2,156.00$    

13-1862 ASSY HD 180D 7FT GRAY*** SWEEPSTER 08-22 849.00$        

13-1867 ASSY HOOD 180 8*** GRAY 880.00$        

13-1867Y ASSY HOOD 180 8** YELLOW SWEEPSTER 08-22 888.00$        

13-1867Y1 ASSY HOOD 180 8 YLW  *** 08-2273 888.00$        

13-2002 PIN TOPLINK 3-POINT 27.00$          

13-2124 WIRE HARNESS C36 ENG STOP PUSH-PULL 87.00$          

13-2139 WELD MTG TANK 200 GAL CHC800 1,358.00$    

13-2152 WELD STAND 176.00$        

13-2155 LINER TANK 200GAL 179.00$        

13-2164 TUBE RD 7/8x16GAx60 36.00$          

13-2210 PLATE MTG SWG UPPER 85.00$          

13-2211 PLATE 1/2X6X23 W/NOTCHES 55.00$          

13-2215 GUSSET 3/8x2x3 3/4x9 14.31$          

13-2218 WELD PLATE SWG LA 1,719.00$    

13-2219 TUBE MTG CSTR LA 186.00$        

78



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

13-2221 GUSSET 3/8x2 3/4x6 9.94$            

13-2222 GUSSET 3/8x2 3/4x10 17.90$          

13-2224 GUSSET 3/8x3x3 13.92$          

13-2225 PLATE SWG LA 373.00$        

13-2228 GUSSET 1/4X2 1/4X3 9.45$            

13-2229 BUSHING 1 1/4x5/8x2 9.23$            

13-2230 BUSHING 1 3/4x25/32x 1 1/16 55.00$          

13-2265 PLATE MTG MOTOR GTRBRM 46.00$          

13-2414-1 KEY 5/16X1 1/2 9.84$            

13-2452 WELD LINK INNER      *** 167.00$        

13-2453 WELD LINK OUTER      *** 115.00$        

13-2474 WELD BUCKET STOP    *** 60.00$          

13-2481 PLATE RT LA TOPLINK 32.00$          

13-2484 PIN 1x4 W/HOLES 62.00$          

13-2484M PIN 1x4 W/HOLES 50.00$          

13-2569 PLATE FLAP MTG 81.00$          

13-2572 WELD ROD ADJ 73.00$          

13-2576 PLATE SIDE FLAP HBA 64.00$          

13-2578 WELD MTG BUCKET 300.00$        

13-2584 WELD PIN 1 1/4X9 3/4 W/ HOLE 72.00$          

13-2658 PLATE MTG SWG LOW 2 HOLE LA 49.00$          

13-2696 SPROCKET CORE TD 239.00$        

13-2802 TUBE RD 7/8X16GAX104 53.00$          

13-2942 WELD FRM MTG MRHL MELROE 5/800 1,093.00$    

13-2944 WELD STAND BOLT-ON RT 117.00$        

13-2945 WELD STAND BOLT-ON LT 117.00$        

13-3018 CHANNEL SUP LEFT 37.00$          

13-3019 GUSSET 1/4X9X9 28.00$          

13-3023 TUBE RECT 1/4x2x4x9 1/2 33.00$          

13-3024 CHANNEL SUP RT 37.00$          

13-3050 WELD FRM MTG CTM FD224 597.00$        

13-3119 WELD CORE HB72 741.00$        

13-3128 PLATE MTG PIN UPPER BENT 20.76$          

13-3131 CHANNEL 3X5 23.00$          

13-3134 WELD FRM SWG LA 1,854.00$    

13-3135 PLATE MTG PIN LOWER BENT 21.00$          

13-3136 FLAP INSIDE HB72 115.00$        

13-3137 FLAP REAR HB72 127.00$        

13-3138 FLAP REINF HB72 69.00$          

13-3139 FLAP FRT HB72 160.00$        

13-3140 PLATE MTG FLAP HB72 80.00$          

13-3190 WELD BRKT LIFT LT LA 415.00$        

13-3191 TUBE BRKT LIFT LA 324.00$        

13-3215 SHIELD GRBX RHFA 3 SHAFT GRBX 210.00$        

79



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

13-3348 WELD CORE 60 MRH 1990... 664.00$        

13-3349 WELD CORE 72 MRH 1990 749.00$        

13-3352 WELD MTG MTR MRH/MRM 172.00$        

13-3364 WELD SHIELD MTR BRSH MRH 194.00$        

13-3388 WELD CORE 4 MRH 1990&UP 596.00$        

13-3412 PIN 5/8X3 1/2 W/HOLE 17.24$          

13-3413 WELD PIN MTG 5/8x3 1/2 PLD 62.00$          

13-3427 PLATE 10GAx3x4 BENT W/HOLE 25.00$          

13-3487 WELD HD C36 ARIENS 91 366.00$        

13-3513 PLATE MTG STOP BRKT HUSTLER 320 48.00$          

13-3526 PIN SWG RHFA 44.00$          

13-3558 WELD HD 4 MRM NEW STYLE 668.00$        

13-3560 WELD HD 5 MRM*** NEW STYLE GRAY SWEEP 08 667.00$        

13-3563 ASSY HD 6 MRM NEW STYLE SALEABLE   GRAY 679.00$        

13-3758 WELD PIN 1 1/8x6 3/4 F/ZERK 128.00$        

13-3759 BUSHING LA VERT HYD LIFT 30.00$          

13-3991 FLAP FRT BKT HB48 85.00$          

13-4022 ASSY CTRL BX W/CABLE 685.00$        

13-4040 HAT CORE M18*** 33.00$          

13-4048 KEY 1/4x3 2.06$            

13-4055 SHAFT CORE 1x53 PLD 160.00$        

13-4109 SHIELD CHAIN INNER 44.00$          

13-4161 WELD FRM MTG BERVAC QA 736.00$        

13-4163 CHAIN 1/4 6 LINKS GRADE 30 3.21$            

13-4193 TUBE LINK OUT MANL ANGLE 54.00$          

13-4194 TUBE LINK INN MANL ANGLE 56.00$          

13-4199 WELD LINK INN 15 1/4-21 1/4 92.00$          

13-4200 WELD LINK OUT 15 1/4-21 1/4 94.00$          

13-4206 WELD PLATE SWG TOP PIN 293.00$        

13-4245 ROD CTRL BENT PLD 66.00$          

13-4246 WELD ROD CTRL PLD 86.00$          

13-4278 WELD HOOK LOADER ARMS F/BUCKET SWPR 174.00$        

13-4288 WELD FRM MTG AH/CH JD 5300 1,110.00$    

13-4291 WELD CASTER FORK 63.00$          

13-4384 WELD FRM MTG LH/LCH AMER CPLR 976.00$        

13-4386 WELD BRKT LIFT LT LA CUST INSTL 467.00$        

13-4387 TUBE BRKT LIFT LA CUST INSTL 256.00$        

13-4387M TUBE BRKT LIFT LA 183.00$        

13-4397 WELD FRM MTG AH/CH FD 6640 772.00$        

13-4465 WELD FRM SWG CTM 3:1 CV NEW STYLE 581.00$        

13-4584 PLATE MTG TANK WATER LA 25GAL 87.00$          

13-4589 PLATE HD END 32 LT 30.00$          

13-4614 WELD FRM SWG RHFA CV W/PINS F/3SHFT GRBX 822.00$        

13-4657 BUSHING 1x5/8x.562 27.00$          

80



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

13-4792 PULLEY 7x2.25 M18 323.00$        

13-4823 WELD SWG PLATE CV HFA-CV RHFA 297.00$        

13-50075 PLATE ADJUST GUTTERBRM 22.00$          

13-50082 ASSY HD 60 SB HOPPER 1,482.00$    

13-50083 ASSY HD 72 SB HOPPER 1,817.00$    

13-50093 ROD PIVOT PIN GTRBRM PLD 115.00$        

13-50096 WELDMENT PIVOT ARM GUTTERBROOM 106.00$        

13-50121 PLATE .75 X 6 X 143.88 H OLES .688 617.00$        

13-50155 EDGE CUT DB .75 X 8 X 73 .00 FFC 365.37$        

13-50392 ROD 2 X 47.25 W/.406 CRO SS HOLE PLD 155.00$        

13-50412 WELD GUARD PTO GEAR BOX 87.00$          

13-50434-0022 WELD ATTACH PLATE 30 & 3 6 F/UNIV 1,707.00$    

13-50445 TUBE RD 2.75 X .34 X 6.0 0 46.00$          

13-50636 PLATE 3/8X3X72.00 W/HOLES SNOW PUSH 83.00$          

13-50637 PLATE 3/8X3X56.50 W/HOLES SNOW PUSH 67.00$          

13-50638 WELDMENT SKID SHOE SNOW PUSH 960.00$        

13-50643 EDGE 1 1/2X10X185.50 16FT SNOW PUSH 864.00$        

13-50727 PLATE .75 X 6 X 107.88 W /HOLES 326.00$        

13-50757 PLATE .75 X 6 X 119.88 W /HOLES 581.00$        

13-50860 WELD MOTOR MOUNT *** PWR RAKE 234.00$        

13-50865 PLATE MOTOR PWR RAKE *** 28.00$          

13-50865M PLATE MOTOR POWER RAKE 40.00$          

13-50866 WELD WHEEL ARM POWER RAK E 539.00$        

13-50939 WELD CORE 8 7FT CP SPEC 604.00$        

13-51051 WELD GEAR CASE MOUNT 390.00$        

13-51081 PLATE HD BRG MOUNT 33.00$          

13-51119 WELD DEFLECTOR STD HSB 125.00$        

13-51136 WELD CHUTE STD HSB 413.00$        

13-51157 WELD CORE 8 5FT CP SPEC 520.00$        

13-51158 WELD CORE 8 6FT CP SPEC 534.00$        

13-51161 PLATE BRG COVER 53.00$          

13-51165-c022 WELD HOPPER 72 CP SPEC SAE 1,901.00$    

13-51166 EDGE 1.5x10x233.50 F/20' SNOW PUSH 1,166.00$    

13-51208 EDGE CUT DB .75 X 8 X 96 .00 FFC 498.00$        

13-51258 WELD POSITION TUBE FEMALE SB 68.00$          

13-51259 WELD POSITION TUBE MALE SB 79.00$          

13-51757 EDGE CUT DB .75 X 8 X 85 .50 FFC 390.29$        

13-51785 WELD MAIN HOUSING 72 STD SNW BLWR 1,673.00$    

13-51787 PLATE SKID SHOE CHANNEL STD SB 40.00$          

13-51789 WELD 72 AUGER STD SNOW B LOWER 1,070.00$    

13-51790 WELD 60 AUGER STD SNOW B LOWER 1,039.00$    

13-51823 PLATE .75 X 6 X 83.88 W/ HOLES 407.00$        

13-51824 PLATE .75 X 6 X 95.88 W/ HOLES 464.00$        

13-51864 WELD MOLDBOARD 8.5 TRIP EDGE SNB 1,864.00$    

81



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

13-51873 ROD 1 X 6.00 W/FEATURES 23.00$          

13-51875 WELD SWIVEL PIN 60.00$          

13-51937 RUBBER EDGE 1 X 10 X 95. 75 (6| CENTERS) 713.13$        

13-51939 RUBBER EDGE 1 X 10 X 42. 81 (6| CENTERS) 396.00$        

13-51941 PLATE STRAP RUBBER EDGE 5 49.00$          

13-52467 RUBBER EDGE 1X8X91.2 5 414.00$        

13-52468 RUBBER EDGE 1 X 8 X 115. 25 517.00$        

13-52493 PLATE SHOE PULL BACK 51.00$          

13-52538 RUBBER EDGE 1 X 8 X 79.2 5 362.00$        

13-52539 RUBBER EDGE 1 X 8 X 67.2 5 286.00$        

13-52545 PLATE EDGE STRAP 4.5 37.00$          

13-52642 WELD SLIDE GATE 136.00$        

13-52646 GATE SEAL (RHINO HYDE .5 IN) 21.00$          

13-52647 PLATE SEAL STRAP 17.80$          

13-52648 WELD CHUTE 278.00$        

13-52677 RUBBER EDGE 1 X 6 X 106. 26 417.83$        

13-52686 RUBBER EDGE 1 X 6 X 118. 26 427.00$        

13-52750 WELD CYL PIN CEMENT CARR IER 26.00$          

13-52879 RUBBER 1.5 X 10 X 139 W/ HOLES 707.00$        

13-52880 RUBBER 1.5 X 10 X 163 W/ HOLES 697.00$        

13-52893 WELD AUGER 78 HF SNOW BL OWER 1,550.00$    

13-52905 WELD 78 AUGER STD SNOW B LOWER 1,152.00$    

13-52909 EDGE CUT SB .38 X 3 X 78 SQ HOLES .563 98.15$          

13-53201 WELD RADIUS PLATE 5700 SERIES 1,001.00$    

13-53209 ROD 1.5 X 7.94 SP HOLES .531 KING PIN 47.00$          

13-53214 WELD RADIUS PLATE 11400 SER SNB 436.00$        

13-53223 WELD PIVOT PIN 114 SER SNB 50.00$          

13-53225 TUBE RD 2 X 1.266 X *** .25 COLLAR 6.35$            

13-53262 PLATE .38 OUTER PIVOT EA R EDGE 19.46$          

13-53275 PLATE 7GA X 3.88 X 6.26 BENT TESB 27.00$          

13-53287 WELD ANGLE PIN TESB PLD 168.00$        

13-53311 WELD FAN SNOW BLOWER 451.00$        

13-53347 WELD FAN HF SNOW BLOWER 635.00$        

13-53467 EDGE CUT SB .38 X 3 X 72 .588 HOLES 11.2 72.62$          

13-5723 WELD ADJ BHEAD M26 PLD 49.00$          

13-5737 WELD FRM BRSH M26 445.00$        

13-5740 PLATE RETAINER BSHG SWG BHEAD M26 16.94$          

13-5750 WELD STAND BHEAD RT M26 85.00$          

13-5752 WELD COVER BFRM SIDE M26 205.00$        

13-60053 WELD ROLLER 1,087.00$    

13-60056 BARRIER W3 99.00$          

13-60076 HUB DRIVER PLD 56.00$          

13-60082 WELD GATE STRAIGHT 95.00$          

13-60085 WELD GATE BENT LT 84.00$          

82



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

13-60087 WELD GATE BENT RT 84.00$          

13-60089 WELD CROSS BAR 451.00$        

13-60092 WELD FORK 93.00$          

13-60099 WHEEL BOLT SLEEVE 8.52$            

13-60101 GATE PIN PLD 18.37$          

13-60107 ROD DRIVE CPLG TAPPED 43.00$          

13-60168 WELD RESERVOIR HPU 667.00$        

13-60184 ROD .25x35.3 W/HOLE PLD 20.60$          

13-60204 WELD PIVOT W3 146.00$        

13-60214 PLATE ARM BRAKE HPU PLD 9.11$            

13-7039 WELD FRM BRSH 7 D/S32 W/STAND TUBE 1,419.00$    

13-7123 ASSY CSTR TRI WHEEL NITROGEN FILL 1,067.00$    

13-7181 WELD FRM BRSH 6 D/S32 W/STAND TUBES 1,360.00$    

13-7237 WELD DRV QCORE LT 231.00$        

13-7238 WELD DRV QCORE RT 257.00$        

13-7258 PIN RETAINER/DRV QCORE 65.00$          

13-7382 WELD FRM MTG LH QA SAE 1,581.00$    

13-7398 WELD FRM BRSH C36TW 370.00$        

13-7401 ARM IDLER BFRM C36TW 21.00$          

13-7404 WELD HD C36TW 184.00$        

13-7406 WELD CSTR LEG C36TW SALEABLE   GRAY 53.00$          

13-7418 ARM ENGAGE DRV C36TW 18.24$          

13-7419 SHIELD CHAIN C36TW 97.00$          

13-7420 SHIELD CHAIN TOP   *** C36TW 89.00$          

13-7423 TUBE PLASTIC 1x8.13 20.41$          

13-7426 SHAFT HEX 8 W/HOLE 50.00$          

13-7427 SHAFT HEX 5 W/HOLE 48.00$          

13-7428 SHAFT HEX 23 W/HOLES 59.00$          

13-7429 SHAFT HEX 13 W/HOLE 53.00$          

13-7430 PLATE STRAP TOP RHFA 8 104.00$        

13-7431 PLATE STRAP BTM RHFA 8 85.00$          

13-7432 FLAP DEFL RHFA 8 220.00$        

13-7441 BUSHING 5/8x12GAx3/4 PLD 24.00$          

13-7452 PLATE RETAINER HALF QCORE 69.00$          

13-7477 WELD HD 7 QCORE 839.00$        

13-7492 WELD FRM BRSH 9 AH/CH W/STAND TUBES 1,900.00$    

13-7559 CLIP RETAINER QCORE RT 31.00$          

13-7560 CLIP RETAINER QCORE LT 31.00$          

13-7606 FLAP DEFL RMRM 5 196.00$        

13-7638 SHIELD CHAIN ARIENS 45.00$          

13-7639 SHIELD CHAIN TOP ARIENS 26.00$          

13-7641 SHIELD INPUT ARIENS 26.00$          

13-7644 WELD FRM BRSH ARIENS 236.00$        

13-7646 SHAFT HEX INPUT ARIENS 35.00$          

83



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

13-7664 PLATE RETAINER QCORE REV 57.00$          

13-7666 WELD CORE 6 D32 QCORE REV 1,425.00$    

13-7667 WELD CORE 7 D32 QCORE REV 1,650.00$    

13-7684 ARM MTG HOPPER RT C36TW 68.00$          

13-7685 ARM MTG HOPPER LT C36TW 68.00$          

13-7692 WELD LATCH HOPPER RT C36TW 44.00$          

13-7693 WELD LATCH HOPPER LT C36TW 44.00$          

13-7710 PLATE MTG WATER TANK RHFA 25GAL 175.00$        

13-7720 SHAFT HEX 30 W/HOLES 63.00$          

13-7725 WELD ROD HINGE 72 SB 98.00$          

13-7726 PLATE SUP FLAP LT FRT ** SB SALEABLE 63.00$          

13-7728 PLATE SHLD WATER SB72 98.00$          

13-7734 ASSY HD 72 SB GRAY*** 2,067.00$    

13-7740 WELD CORE 72 SB      *** 381.00$        

13-7741 PLATE MTG MTR HYD SB 49.00$          

13-7743 PLATE SUP FLAP LT REAR SB SALEABLE 63.00$          

13-7744 PLATE SUP FLAP RT FRT SB SALEABLE 63.00$          

13-7745 PLATE SUP FLAP RT REAR SB SALEABLE 63.00$          

13-7747 PLATE SUP FLAP FRT 72 SB SALEABLE 93.00$          

13-7748 WELD MTG MTR HYD BTM SB GRAY 79.00$          

13-7749 PLATE BRACE MOTOR HYD SB 28.00$          

13-7750 PLATE MTG CRADLE MOTOR HYD SB 9.88$            

13-7751 FLAP FRT 72 SB 162.00$        

13-7752 FLAP RT SB 59.00$          

13-7753 FLAP LT SB 66.00$          

13-7754 PLATE RETAINER CORE SB 58.00$          

13-7757 WELD CORE 48 SB 397.00$        

13-7763 PLATE SUP FLAP FRT 48 SB SALEABLE 612.00$        

13-7764 FLAP FRT 48 SB 102.00$        

13-7767 PLATE SHLD WATER 60 SB 123.00$        

13-7768 WELD CORE 60 SB 359.00$        

13-7773 WELD ROD HINGE 60 SB 110.00$        

13-7775 FLAP FRT 60 SB 144.00$        

13-7865 WELD CORE 84 MRH 840.00$        

13-7914 PIN STOP SWG C36TW PLD 25.00$          

13-7926 WELD PIN 1.5x5.88 F/ZERK 116.00$        

13-7927 WELD PIN 1.5x6.62 F/ZERK 120.00$        

13-7997 WELD MTG MTR HYD TOP SB 90.00$          

13-8004 WELD MTG CSTR RT S24 160.00$        

13-8013 PIN SWG PLATE 39.00$          

13-8019 WELD PLATE SWG CTM/CTH F/CASTERS 377.00$        

13-8021 WELD ADJ CORE HBB 156.00$        

13-8024 WELD MTG BRG FLG HB/B SGL MOTOR 145.00$        

13-8030 WELD MTG MTR HBB CAT BLACK 153.00$        

84



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

13-8047 FLAP REAR HB60B 85.00$          

13-8049 FLAP INNER HB60B 51.00$          

13-8050 FLAP FRT HB60B 114.00$        

13-8051 PLATE SUP FLAP LT HBB 52.00$          

13-8052 PLATE SUP FLAP RT HBB 52.00$          

13-8053 FLAP SIDE HBB 41.00$          

13-8058 FLAP INNER HB72B 128.00$        

13-8059 FLAP FRT HB72B 178.00$        

13-8060 FLAP REAR HB72B 104.00$        

13-8061 PLATE FRT HB72B/BD 156.00$        

13-8067 PLATE SUP FLAP FRT HB72B 39.00$          

13-8084 WELD CORE 72 HBB 478.00$        

13-8085 WELD CORE 60 HBB 458.00$        

13-8088 WELD CORE 60 HB/BD 583.00$        

13-8089 WELD CORE 72 HB/BD 572.00$        

13-8102 PLATE END CORE HBBD 64.00$          

13-8256 PLATE CHAIN GUARD FRT 46.00$          

13-8257 PLATE CHAIN GUARD REAR 43.00$          

13-8266 FLAP 9FT DIRT DEFL 231.00$        

13-8309 WELD TANK MRH FRT MTG FD1220 4WD 1,049.00$    

13-8313 WELD FRM MTG RLCH CATII 962.00$        

13-8322 PIN SWG CTM/CTH BOLT ON 126.00$        

13-8324 WELD FRM MTG&SWG RHFA CAT II SAE 32.38 F 978.00$        

13-8363 WELD TANK KUBOTA F3060 SIDE MTG 923.00$        

13-8384 KNOB PATTERN ADJ 5/8-8 ACME 36.00$          

13-8390 BUSHING BHEAD SWG M26 PLD 33.00$          

13-8391 WELD CORE M26 5FT 405.00$        

13-8396 PLATE RETAINER CORE 31.00$          

13-8399 WELD FRM SWG KUB M26 910.00$        

13-8415 SHAFT DRIVE LINE M26 PLD 176.00$        

13-8420 WELD IDLER M26 PLD 48.00$          

13-8450 PIN CLEVIS .75x.969 W/HOLE PLD 28.00$          

13-8451S ASSY CHAIN GUARD M26 78.00$          

13-8519 PIN PIVOT LIFT PLD 42.00$          

13-8522 PLATE HD END RT 128.00$        

13-8523 PLATE HD END LT 128.00$        

13-8525 SHEET HD 7 HL 218.00$        

13-8527 WELD FRM SWG HL 994.00$        

13-8528 WELD PLATE PIVOT HL 508.00$        

13-8530 WELD FRM REAR LIFT 871.00$        

13-8533 WELD ROD ADJ LINK HL PLD 50.00$          

13-8545 WELD FRM BRSH HL 7FT 1,901.00$    

13-8556 GUARD DRIVESHFT M26 12.56$          

13-8566 PIN SWG FRM MRM/CTM/MRH/ CTH 40.00$          

85



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

13-8583 SPACER HUB FD 149.00$        

13-8589 WELD BAFFLE LT RC60G20 171.00$        

13-8603 HANDLE VALVE GRESEN  *** AH/CH W/HOLE 98.00$          

13-8671 FLAP 6FT HL 1/8x18.00x72.00 111.00$        

13-8695 WELD FRM SWG CTH F/ 3/8 SWG PLATE TOP PI 553.00$        

13-8696 WELD PLATE SWG CTH 3/8 TOP PIN 417.00$        

13-8783 TUBE MTG JACK LXD05 50.00$          

13-8797 SHAFT REC 4 1/2 14.07$          

13-8936 PLATE SHIPPING STAND M24 51.00$          

13-9431 BAFFLE HORIZONTAL LT RCK54TG 20.56$          

13-9432 WELD BAFFLE RT RCK54TG 78.00$          

13-9433 WELD BAFFLE LT RCK54TG 144.00$        

13-9456 PLATE KEEPER M26 41.00$          

13-9457 PLATE SPACER CHAIN GUIDE M26 24.00$          

13-9539 BUSHING .625x.378x.610 PLD 11.76$          

13-9541 PIN CLEVIS .75x1.11 PLD 40.00$          

13-9567 BALL RED 2 1/4RD W/HOLE 30.00$          

13-9591 WELD COVER SIDE BRSH FRM M26 JD 208.00$        

13-9605 EDGE CUT CAT 60 IN BUCKET 182.93$        

13-9652 WELD CORE M26 4FT 407.00$        

13-9655 SHAFT DRIVELINE M26 4 FT PLD 239.00$        

13-9698 KEY 1/4x1/4x15/16 11.78$          

13-9749 KEY 3/8x5/16x1 1/4 F/06-0314 30.00$          

13-9817 WELD STAND HOLDER M26 JD 65.00$          

13-9818 TUBE RD STAND M26 JD PLD 46.00$          

13-9874 WELD MTG 4 M26 CUB CADET 468.00$        

14-0266 GTRBRM WAYNE DELUXE W 239.16$        

14-0277 GTRBRM WAYNE SNAPON W 225.00$        

15-0371 GTRBRM ELGIN DELUXE W/NUTS 180.09$        

15-0375P GTRBRM ELGIN DELUXE W/NUTS 5 SEG 26IN WI 313.27$        

15-1006298 SHOE DIRT REAR 59.00$          

16-0248 GTRBRM MOBIL DELUXE PLY 137.89$        

16-0249 GTRBRM MOBIL DELUXE W/NUTS 236.98$        

1725359 CYLINDER HYD 7" STROKE DOZER BLD 209.00$        

20372M 72 CS 26 M SGL 24.7CI 10,577.00$  

20372P 72 CS 26 P SGL 28CI 10,577.00$  

20373M 72 CS 26 M DUAL 28CI 11,913.00$  

20375M 72 VCS 26 M DUAL 28CI 18,428.00$  

20384M 84 CS 26 M SGL 28CI 10,577.00$  

20384P 84 CS 26 P SGL 28CI 10,577.00$  

20385M 84 CS 26 M DUAL 28CI 11,913.00$  

20396M 96 CS 26 M SGL 28CI 12,346.00$  

20397M 96 CS 26 M DUAL 28CI 13,403.00$  

20399PH2 96 VCS 26 P DL 28CI 24V 18,860.00$  

86



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

20409M 108 CS 32 M DUAL 28CI 20,348.00$  

20409P 108 CS 32 P DUAL 28CI 20,348.00$  

20497M 96 CS 32 M DL 28CI 18,228.00$  

20497P 96 CS 32 P DUAL 28CI 18,228.00$  

28-0100 KIT CONV KUBOTA 1505 TO EATON 70360 F/H 2,913.00$    

28-0111 ASSY KIT VALVES HIGH PRESSURE JD1600 WAM 837.00$        

28-0188 ASSY PRE CLEANER F/KUB V1505/WG972 W/SHR 390.00$        

28-0192 ASSY SHROUD KUBOTA V1505 TB06 1,507.00$    

28-0209 ASSY SHROUD KUBOTA WG972 TB06 1,200.00$    

28-10030 KIT HARDWARE CUTTING*** EDGE HOPPER BRM 6.68$            

28-10069-0134 ASSY MTG LH/LCH CAT IT 416 1,813.00$    

28-10069-0869 ASSY MTG LH/LCH JD310 SG W/JRB CPLR 578.00$        

28-10069-0899 ASSY MTG LH/LCH KOMATSU WA65 546.00$        

28-10069-0905 ASSY MTG LH/LCH VOLVO L20B 543.00$        

28-10069-0906 ASSY MTG LH/LCH ZETTELMEYER 60 1,736.00$    

28-10069-0913 ASSY MTG LH/LCH JD 444 W/JRB CPLR 2,007.00$    

28-10069-0921 ASSY MTG LH/LCH  JD 3400 TELEHANDLER QA 602.00$        

28-10069-0934 ASSY MTG LH/LCH VOLVO 670.00$        

28-10069-0937 ASSY MTG LH/LCH JCB520- 50 653.00$        

28-10069-0945 ASSY MTG LH/LCH NH 545D QUICKE 505.00$        

28-10069-0949 ASSY MTG LH/LCH TEREX/ SCHAEFF SKL 834 505.00$        

28-10069-0973 ASSY MTG LH/LCH KOMATSU WA70/80 W/JRB#90 609.00$        

28-10069-0985 ASSY MTG LH/LCH JCB 530HB 2,287.00$    

28-10069-0995 ASSY MTG LH/LCH NH 32LA AG LDR PIN-ON 867.00$        

28-10069-0999 ASSY MTG LH/LCH GEHL DYNA CARRIER QA 572.00$        

28-10084-5 ASSY CORE 8IN 5FT 535.00$        

28-10084-6 ASSY CORE 8IN 6FT 516.00$        

28-10095-4 ASSY CORE 10 4FT 2008 486.00$        

28-10095-5 ASSY CORE 10 5FT 2006 539.00$        

28-10095-6 ASSY CORE 10 6FT 2006 570.00$        

28-10095-7 ASSY CORE 10 7FT 2006 619.00$        

28-10095-8 ASSY CORE 10 8FT 2006 658.00$        

28-10095-9 ASSY CORE 10 9FT 2006 657.00$        

28-10148-12 KIT HOSE .75x144 .75FF 12FF-90 3000 PSI 349.00$        

28-10148-6 KIT HOSE.75x72 .75FF 12FF-90 3000 PSI 272.00$        

28-10148-9 KIT HOSE .75x108 .75FF 12FF-90 3000 PSI 290.00$        

28-10209 KIT HYD LIFT 1100 FIELD INSTALL 563.00$        

28-10218 ASSY CABLE 14-PIN 160.00$        

28-10280-5 KIT RETROFIT 5FT 12V VAC VRS 6,560.00$    

28-10280-6 KIT RETROFIT 6FT 12V VAC VRS 6,812.00$    

28-10280-7 KIT RETROFIT 7FT 12V VAC VRS 7,065.00$    

28-10285-6 ASSY VOLUMIZER  6FT VRS-VS 823.00$        

28-10309-4 ASSY BRSH FRM 4FT 220 SERIES QC 2008 1,596.00$    

28-10309-6 ASSY BRSH FRM 6FT 220 SERIES QC 2008 1,400.00$    

87



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

28-10309-8 ASSY BRSH FRM 8FT 220 SERIES QC 2008 1,629.00$    

28-10309-9 ASSY BRSH FRM 9FT 220 SERIES QC 2008 1,657.00$    

28-10311-5 ASSY HD 180 5FT 220 SERIES 2008 FACTORY 321.00$        

28-10311-6 ASSY HD 180 6FT 220 SERIES 2008 FACTORY 387.00$        

28-10311-7 ASSY HD 180 7FT 220 SERIES 2008 FACTORY 456.00$        

28-10311-8 ASSY HD 180 8FT 220 SERIES 2008 FACTORY 523.00$        

28-10311-9 ASSY HD 180 9FT 220 SERIES 2008 FACTORY 529.00$        

28-10312-5 ASSY HD 180 DRAPE 5FT 220 SERIES 2008 FA 600.00$        

28-10312-6 ASSY HD 180 DRAPE 6FT 220 SERIES 2008 FA 600.00$        

28-10312-7 ASSY HD 180 DRAPE 7FT 220 SERIES 2008 FA 662.00$        

28-10312-8 ASSY HD 180 DRAPE 8FT 220 SERIES 2008 FA 726.00$        

28-10312-9 ASSY HD 180 DRAPE 9FT 220 SERIES 2008 FA 785.00$        

28-10313-4 ASSY HYD HOSE 4FT SGL 220 SERIES QC 2008 254.00$        

28-10314-6 ASSY HYD HOSE 6FT DUAL 220 SERIES QC 200 434.00$        

28-10314-7 ASSY HYD HOSE 7FT DUAL 220 SERIES QC 200 384.00$        

28-10314-8 ASSY HYD HOSE 8FT DUAL 220 SERIES QC 200 432.00$        

28-10315 KIT STAND FRT/REAR 220 SERIES QC 2008 131.00$        

28-10332 ASSY MOTOR 24.7CI 205 SERIES TOOLLESS 779.00$        

28-10333 ASSY BRG 205 SERIES TOOLLESS STD 105.00$        

28-10342 KIT SPRING/CHAIN ADJUST NEW QC SERIES 56.00$          

28-10342S KIT SPRING/CHAIN ADJUST NEW QC SERIES SA 85.00$          

28-10361-5 ASSY HD 180 5FT 220 SERIES 2008 FIELD IN 321.00$        

28-10361-6 ASSY HD 180 6FT 220 SERIES 2008 FIELD IN 387.00$        

28-10361-7 ASSY HD 180 7FT 220 SERIES 2008 FIELD IN 456.00$        

28-10361-8 ASSY HD 180 8FT 220 SERIES 2008 FIELD IN 523.00$        

28-10361-9 ASSY HD 180 9FT 220 SERIES 2008 FIELD IN 529.00$        

28-10362-5 ASSY HD 180 DRAPE 5FT 220 SERIES 2008 FI 600.00$        

28-10362-6 ASSY HD 180 DRAPE 6FT 220 SERIES 2008 FI 600.00$        

28-10362-7 ASSY HD 180 DRAPE 7FT 220 SERIES 2008 FI 662.00$        

28-10362-8 ASSY HD 180 DRAPE 8FT 220 SERIES 2008 FI 726.00$        

28-10362-9 ASSY HD 180 DRAPE 9FT 220 SERIES 2008 FI 785.00$        

28-10370-5 KIT CUT EDGE 60 SB 205 146.00$        

28-10370-6 KIT CUT EDGE 72 SB 205 161.00$        

28-10370-7 KIT CUT EDGE 84 SB 205 187.00$        

28-10377-6 KIT LABELS HARLEY RAKE M6 COMPLETE 42.00$          

28-10377-7 KIT LABELS HARLEY RAKE M7 COMPLETE 48.00$          

28-10388-5 KIT HOOD REPL 5FT M24 331.00$        

28-10391 KIT LABELS HARLEY T6 65.00$          

28-10441 KIT CONVERSION COLD PLANER 5 LINE TO 3 L 2,151.00$    

28-10442 ASSY TANK MTG WATER 150 GAL 213/221 SERI 1,615.00$    

28-10443 KIT LASER RAKE CONTROL MX7 557.00$        

28-10446 KIT HYD CUSHION F/LAF5700 575.00$        

28-10447 KIT HYD CUSHION F/SNB 3500 326.00$        

28-10458 KIT HYD MOTOR SPACER 984.00$        

88



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

28-10492 KIT CONV COLD PLANER 3 TO 5 LINE CAT B/C 2,542.00$    

28-10536-8 KIT RETROFIT 8FT VAC CS 7,791.00$    

28-10561 KIT AUX OUTLET ADPT PWR HARNESS 129.00$        

28-10578-6 KIT CUT EDGE DBE 72 SB 205 FACT/FIELD IN 214.30$        

28-10645-108 KIT STEEL EDGE F/108 VBLD 385.00$        

28-10645-120 KIT STEEL EDGE F/120 VBLD 423.00$        

28-10645-60 KIT STEEL EDGE F/60 VBLD 265.00$        

28-10645-72 KIT STEEL EDGE F/72 VBLD 297.00$        

28-10645-84 KIT STEEL EDGE F/84 VBLD 328.00$        

28-10645-96 KIT STEEL EDGE F/96 VBLD 358.00$        

28-10646-108 KIT POLY EDGE VBLD 108" 757.00$        

28-10646-120 KIT POLY EDGE VBLD 120" 802.00$        

28-10646-60 KIT POLY EDGE KIT VBLD 60" 538.00$        

28-10646-72 KIT POLY EDGE VBLD 72" 586.00$        

28-10646-84 KIT POLY EDGE VBLD 84" 648.00$        

28-10646-96 KIT POLY EDGE VBLD 96" 700.00$        

28-10717-108 ASSY DEFLECTOR KIT VBLD -108 314.00$        

28-10717-120 ASSY DEFLECTOR KIT VBLD -120 327.00$        

28-10717-60 ASSY DEFLECTOR KIT VBLD -60 258.00$        

28-10717-72 ASSY DEFLECTOR KIT VBLD -72 273.00$        

28-10717-84 ASSY DEFLECTOR KIT VBLD -84 287.00$        

28-10717-96 ASSY DEFLECTOR KIT VBLD -96 301.00$        

28-10722-5 KIT CUT EDGE DBE F/HD HOPPER 60 SBB 146.00$        

28-10722-6 KIT CUT EDGE DBE F/HD HOPPER 72 SBB 161.00$        

28-10722-7 KIT CUT EDGE DBE F/HD HOPPER 84 SBB 187.00$        

28-10729 KIT 100 ASPHALT PICKS F/ COLD PLANER 1,358.00$    

28-10732 KIT MOTOR UPDATE SB 205 SERIES TO PARKER 1,023.00$    

28-10752 KIT MOTOR GUARD QC F/PARKER MOTOR SGL 55.00$          

28-10754 ASSY CTRL BOX W/POWER LEAD SGL SWITCH 231.00$        

28-3115 KIT CONV VICKERS TA-19 TO EATON 70360 F/ 2,404.00$    

28-3512 ASSY LAMP HOLDER 150L SILICONE INSTALLED 73.00$          

28-3533 KIT TAPE REFL YLW F/LXD06 1,282.00$    

28-3534 KIT HITCH REAR BALL 2" SALEABLE F/LXD06 426.00$        

28-3537 KIT HITCH 2 BALL W/O CHAINS 501.00$        

28-3544 ASSY ENCLOSURE 12x14x6 W/HOLES LXD06 2,909.00$    

28-3557 ASSY ENCLOSURE   *** 14x12x6.5 LXD08 3,347.00$    

28-3558 ASSY LAMP HOLDER 150L LXD08 71.00$          

28-3560 JACK ASSY 100# SD SWVL W/WHL WELD MNT 15 141.00$        

28-3574 ASSY ADAPTOR LXD06 ACTUATOR 211.00$        

28-3577 ASSY ENCLOSURE LXD08*** 5KW 2,997.00$    

28-8040 ASSY SWITCH PUSH/PULL STOP WSP 37.00$          

28-8050 ASSY TIRE W3 179.00$        

28-9103 ASSY LINK MANL ANG 418.00$        

28-9104 ASSY ROD LIFT BHEAD QA ANG BRM 156.00$        

89



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

28-9229 KIT REAR WHEEL LIGCHINE 654.00$        

28-9547 ASSY SIDE BRSH RT HBC 85.00$          

28-9548 ASSY SIDE BRSH LT HBC 85.00$          

28-9560 ASSY CTRL BX SWG W/CABLE 445.00$        

28-9561 SB72 CORE REPL *** KIT 1,035.00$    

28-9562 SB60 CORE REPL *** KIT 1,068.00$    

28-9591 ASSY SIDE BRUSH LEFT BIG BUCKET 81.00$          

28-9592 ASSY SIDE BRUSH RIGHT BIG BUCKET 81.00$          

28-9721 KIT DEFL 8 FT QC 779.00$        

28-9722 KIT HD 180 5FT QC *** 383.00$        

28-9723 KIT HD 180 6FT QC *** 392.00$        

28-9724 KIT HD 180 7FT QC *** 424.00$        

28-9773 ASSY MTG/SWG LA BLANK BOLT-ON STR BRG CS 5,107.00$    

28-9784 KIT HD 180 6FT QC *** FACTORY INSTALLED 392.00$        

28-9785 KIT HD 180 7FT QC *** FACTORY INSTALLED 424.00$        

28-9786 KIT HD 180 8FT QC *** FACTORY INSTALLED 523.00$        

28-9790 KIT HD 180 DRAPE 8FT QC* FACTORY INSTALL 861.00$        

28-9800 KIT STANDS 211/213 SERIES 181.00$        

28-9849-1 ASSY MOTOR HYD 17.1CI HR 2005 774.00$        

28-9849-2 ASSY MOTOR HYD 24.7CI HR 843.00$        

28-9862 ASSY IDLER HR MFG 310.00$        

28-9864 ASSY FAN BALANCED VACUUM ATTACH 623.00$        

28-9865 KIT BEARING & SEAL F/07-3516 WHEEL 134.00$        

28-9934S ASSY LABELS HR SALEABLE 89.00$          

28-9958 ASSY LABELS SB HPR 37.00$          

3338 FTG 6FB-8MB 6.78$            

40150 DECAL,WARNING,READ MANUAL 3.82$            

40307 DECAL,DANGER,GUARD MISSING 4.07$            

40759 DECAL CASE CONSTRUCTION LOGO 8" 23.00$          

41043 DECAL WARNING HAZARDOUS DUST 4.55$            

41116 DECAL DANGER ENTANGLEMEN T/FLYING DEBRIS 9.29$            

45617 SEAL KIT F/03-5724 65.00$          

45838 SEAL KIT F/03-5711 34.00$          

46072 SEAL KIT F/03-5717/5719 34.00$          

46146 COIL 12VDC DEUTSCH CONNECTOR 102.00$        

50-0001 LABEL SNOW ELIM 11x19 REFLECTIVE 31.00$          

50-0008-1 LABEL DANGER NO RIDERS 9.90$            

50-0013-1 LABEL DANGER FALLING SWEEPER LOADER ARMS 4.72$            

50-0014-2 LABEL WARNING RUNNING SWPR & ENG 3.62x5. 2.49$            

50-0015 LABEL ADJ BRSH STRIPPER 13.12$          

50-0023-1 LABEL ADJ APRONS F/VARIOUS MATERIAL 2.76$            

50-0024 LABEL MAX RAISE RHFA 4.55$            

50-0115 LABEL DANGER ROT DRV LINE 3.62$            

50-0131 LABEL BRSH REPL 46 FLAT W/PHONE# 19.93$          

90



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

50-0147 LABEL FREQ LUBE WSLR CV SHAFTS 2.33$            

50-0184 LABEL LOGO SWPSTR WHITE SML 1.75x10.00 3.52$            

50-0185 LABEL LOGO SWPSTR WHITE MED 3.50x20.00 8.31$            

50-0186 LABEL LOGO SWPSTR BLK SML 1.75x10.00 2.76$            

50-0191 LABEL LOGO SWPSTR BLK MED 3.50x20.00 3.85$            

50-0192 LABEL LOGO SWPSTR BLK LRG 4.25x24.00 15.98$          

50-0203 LABEL SWEEP DIRECTION HB 1.73$            

50-0206 LABEL NOTICE CUT DRV SHAFT 2.75$            

50-0236 LABEL GRBX HUBCITY CHECK OIL WARRANTY VO 3.79$            

50-0252 LABEL LOGO SWPSTR WHITE LRG DIE CUT 23.00$          

50-0253 LABEL LOGO SWPSTR BLK LRG DIE CUT 23.00$          

50-0272 LABEL OIL IS0 VG 46 11.63$          

50-0311 LABEL SWG CTRL BX LT/RT 5.15$            

50-0348 KIT LABEL REPL RHFA 58.00$          

50-0349 KIT LABEL REPL S32/D32 80.00$          

50-0350 KIT LABEL REPL SB 52.00$          

50-0591 LABEL NO STEP 8.19$            

50-0634 LABEL SERIAL# SWEEPSTER COMPLETE 1.57$            

50-0643 LABEL TIE DOWN POINT W/O WARNING 2.01$            

50-0644 LABEL WARNING PINCH PT HAZARD 4.81x2.50 4.07$            

50-0717 LABEL LOGO CASE 20x7.75 33.00$          

50-0721 LABEL WARN CRUSH HAZARD 2.50x5.00 2.95$            

50-0722 LABEL WARN MISUSE *** HAZARD 2.5x4.75 2.41$            

50-0723 LABEL WARN MISUSE*** HAZARD HORZ 4.75x2. 2.41$            

50-0724 LABEL WARN HIGH PRESS* FLUID HAZ VERT 3x 4.50$            

50-0725 LABEL WARN HIGH PRESS FLUID HAZ HOR 5.38 2.48$            

50-0726 LABEL WARN FLYING OBJ & ENTANGLEMENT 4.0 3.07$            

50-0727 LABEL WARN FLYING OBJ 6.25x3.00 5.91$            

50-0732 LABEL DANGER CUTTING HAZARD FAN 5.5x2.5 5.49$            

50-0733 LABEL WARN NO RIDERS 3.50x3.38 REPL 50-0 3.69$            

50-0737 LABEL WARN PINCH POINT HAZARD 4.5x2.0 2.78$            

50-0757 LABEL HANDLE WSP LEXAN 26.00$          

50-0758 LABEL SHIFTER PATTERN WSP LEXAN 8.35$            

50-0769 LABEL LIFT POINT ISO SYMBOL 6.02$            

50-0805 LABEL PATENTS PENDING 0.70$            

50-0806 LABEL PATENT NUMBERS HARLEY TRACTOR RAKE 3.04$            

50-0831 LABEL ISO READ MANUAL HORZ 4.01$            

50-0856 LABEL FFC SERIAL NUMBER TAG DEXTER 2.23$            

50-0860 KIT LABEL LEEBOY CHALLENGER SERVICE 61.00$          

50-0867 LABEL BELT SPEED POSITIO WSP36 6.56$            

50-0925 DECAL HOUR SWITCH 160-120-80 10.41$          

50-0926 DECAL BROOM SWITCHES ISO SYMBOLS 10.46$          

50-0927 DECAL IGN SWITCH ISO SYMBOLS 9.92$            

50-0928 DECAL ENG DIAGNOSTIC ISO SYMBOLS 9.49$            

91



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

50-0929 DECAL ENG WARNING ISO SYMBOLS 9.49$            

50-0931 DECAL BROOM CALIBRATION ISO SYMBOLS 9.70$            

50-0932 DECAL HYD OIL LEVEL BROOM ISO SYMBOLS 9.70$            

50-0934 DECAL AUTO SWG PLOW ISO SYMBOLS 9.70$            

50-0935 DECAL AUTO FLOAT PLOW ISO SYMBOLS 9.60$            

50-0936 DECAL PLOW ISO SYMBOLS 9.60$            

50-0938 DECAL BROOM FAILURE ISO SYMBOLS 9.60$            

50-0939 DECAL CONTROL ARROW ISO SYMBOLS 9.49$            

50-0960 DECAL ANSI NOTICE MODULE DAMAGE 20.38$          

50-0967 DECAL LOGO KING COUNTY AIRPORT 195.00$        

50-10017 LABEL WARNING MISUSE HAZ ARD HORZ FFC 3.81$            

51-2942 MANUAL PARTS KUB V1505B1 122.00$        

51-2943 MANUAL INST KUB V1505B1 103.00$        

51-2944 MANUAL SHOP KUB V1505B1 223.00$        

51-3158 MANUAL HBB SERIES TEXT 8.13$            

53742 KEY,SQ,.38X3.00 3.17$            

87553 RETAINER,RUBBER 18.38$          

87588 GUIDE BLOCK 117.00$        

87652 HOSE LOOP WMT 37.00$          

88550 MOUNTING FRAME,SIDESHIFT 502.00$        

88626 WIRE ASSY 49.00$          

88811 MID GUIDE BLOCK,88 SERIES 153.00$        

88893 REPL POINT F/ BRADCO TOO TH 13.00$          

88894 FLEX PIN BRADCO BKT TOOT H 5.00$            

AM134765 SET SECT 21 6 3/8 PLY CONV HVY FILL YLW 273.90$        

DHF2001-0000 S-SHANK 4.00 TOP RADIUS 137.00$        

DHF2003-0000 S-TINE CLAMP F/RG-3333 12.95$          

DHF2018-0000 TENSION SPRING 23.00$          

ILA0007-0000 HINGE LID SSP12LF 34.00$          

ILA0009-0000 PLATE HANDLE SSP 23.00$          

ILA0098-0000 PLATE CHASSIS LID SSP24 109.00$        

ILA0100-0000 PLATE CHASSIS LID SSP36 137.00$        

ILA0102-0000 HINGE LID SSP18 55.00$          

ILA0104-0000 HINGE LID SSP24 50.00$          

ILA0106-0000 HINGE LID SSP36 59.00$          

ILA0717-0000 SHORT NECK PIN 1.75-3.69 F/PLANER 28.00$          

ILA0718-0000 LONG NECK PIN 1.75-4.52 F/PLANER 29.00$          

ILA0745-0000 CHAIN #CA550HD F/AUTORAK E 241.00$        

ILA0901-0000 PLATE MOUNTING EAR POWER RAKE 40.00$          

ILA1457 CUTTING EDGE F/SW-84 195.00$        

ILA2239-0000 STEP 14.20$          

ILA2794-0000 HUB SUB-WELDMENT F/POWER RAKE 129.00$        

ILA2961 PLATE CORE SB HOPPER 13.43$          

ILA3184-0000 TUBE RD 2.25 X 1.516 X 2 .88 Z-HOLE 44.00$          

92



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

ILA3794-0000 TUBE RD SPLINE 1.00 X 6B 34.00$          

ILA3893-0000 EDGE CUT SB .5 X 4 X 76. 75 105.00$        

ILA4194-0000 WELD RAKE BAR 66 AUTORAK E 224.00$        

ILA4196-0000 WELD RAKE BAR 76 AUTORAK 385.00$        

ILA4196-0000PH WELD RAKE BAR 76 AUTORAK E 372.00$        

ILA4722-0000 SPRING TINE F/PREPARATOR 68.00$          

ILA7418 PLATE SUPPORT CUT EDGE 72 SB HOPPER 45.00$          

ILA9670-0000 TUBE RD 2 X 1.266 X 1.00 9.60$            

ILA9906-0000 ROTOR TUBE END TOOTH F/PREPARATOR 8.66$            

ILA9907-0000 PLATE TOOTH PREPARATOR 1.33$            

ILA9926-0000 EDGE CUT SB .5 X 4 X 68. 38 UNPAINTED 124.00$        

LAF0955-0000 DOZER EDGE F/78 SS 4/1 7 0DG 148.03$        

LAF1018-0000 SPRING PIN        *** 6.17$            

LAF1032-0000 POINT ONLY FOR 1.5 SHANK CAST 20.00$          

LAF1088-0000 EDGE CUT DB .75 X 8 X 72 .00 FFC (BRADCO 411.25$        

LAF1089-0000 BOLT ON EDGE KIT .75 X 8 X 72 FFC (BRADC 451.00$        

LAF1109-0000 TOOTH 1 1/4x4x48 F/4804 387.00$        

LAF1404-0000 WELD 84 MOLD BOARD 1400 SERIES SB 650.00$        

LAF1407-0000 PLATE .38 WEAR EDGE 72 1 400 SERIES SB 167.63$        

LAF1408-0000 PLATE .38 WEAR EDGE 84 1 400 SERIES SB 191.38$        

LAF1412-0000 TUBE RD 2.25 X .34 X 1.7 5 PLD 26.00$          

LAF1418-0000 WELD PIVOT PIN SNB-3000 41.00$          

LAF1418-0000M WELD PIVOT PIN SNB-3000 53.00$          

LAF1483-0000 TUBE RD 3 X 2.106 X 1.88 HOLE .656 ZDC 42.00$          

LAF1485-0000 SKID SHOE CASTING SNOW P RODUCTS 44.00$          

LAF1487-0000 PIN - 1.25-6.75 27.00$          

LAF1488-0000 KING PIN 2.00-11.38 SP F /SNB-3500 118.00$        

LAF1504-0000 4-FOOT EDGE F/SNB-3500 187.00$        

LAF1505 WEAR EDGE 5FT F/3500 SNOWBLADE 177.20$        

LAF1509-0007 WELD 115 MAIN FRAME F/NH LW -80 2,765.00$    

LAF1509-0134 WELD 115 MAIN FRAME F/CAT IT 18 QA 1,936.00$    

LAF1509-0733M WELD 115 MAIN FRAME F/ QCP7000 2,419.00$    

LAF1509-0906 WELD 115 MAIN FRAME F/ZT TLMYR 602 1,715.00$    

LAF1510-0000 WELD RADIUS PLATE 115 SE RIES 1,045.00$    

LAF1512-0000M WELD MOLDBOARD F/ 84" 115 SNB 1,638.00$    

LAF1514-0000 WELD MOLDBOARD F/ 108" 115 SNB 1,686.00$    

LAF1515-0000 WELD MOLDBOARD 120 115 S ERIES SNB 1,836.00$    

LAF1516-0000M WELD MOLDBOARD 132 115 S ERIES SNB 2,034.00$    

LAF1551-0000 KIT 84" RUBBER EDGE F/ SNOW BLADES 540.00$        

LAF1552-0000 KIT 96" RUBBER EDGE F/ SNOW BLADES 617.00$        

LAF1553-0000 KIT 108" RUBBER EDGE F/ SNOW BLADES 690.00$        

LAF1554-0000 KIT 120" RUBBER EDGE F/ SNOW BLADES 792.00$        

LAF1600-0005 WELD PLATE QCP NH LW-50 891.00$        

LAF1600-0007 QCP PLATE WELDMENT F/CASE 321D NO PAINT 1,059.00$    

93



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

LAF1600-0022 QCP PLATE WLD F/ UNIVERS AL 278.00$        

LAF1600-0028 WELD PLATE QCP F/JCB 411 QA 693.00$        

LAF1600-0075 WELD QCP PLATE F/ NH LW- 70 1,122.00$    

LAF1600-0134 QCP PLATE WELDMENT F/CAT IT18 1,064.00$    

LAF1600-0733 QCP PLATE WELDMENT F/QCP-7000 1,131.00$    

LAF1600-0913 QCP Plate Weld F/JRB 416 Series 780.00$        

LAF1600-0984 WELD QCP PLATE F/CAT 902 QA 507.00$        

LAF1600-A022 WELD QA SAE HOPPER SB FFC  ***NO PAINT** 261.00$        

LAF1660-0507 WELD OEM PLATE F/KUB R400 716.00$        

LAF1660-0620 WELD QA LA MANITAU 1,409.00$    

LAF1661-0217 WELD MTG LA/LCH  QA CAT FUSION W/13-4389 3,823.00$    

LAF1661-0228 WELD MTG LA/LCH  QA KAWASAK I 45ZV-2 W/ 1,520.00$    

LAF1661-0393 QA JCB210S QFIT SN 657000 UP W/HOLE 852.00$        

LAF1661-0848 WELD MTG LA/LCH QA KOMATSU WA-100 1,191.00$    

LAF1661-0865 WELD MTG LA/LCH QA JRB 420 SERIES W/13-4 1,657.00$    

LAF2803 EDGE CUT DBE 5/8x6x72 BOLT ON 7 BOLT 193.26$        

LAF2817-0000 WELD POSITION TUBE FEMAL E DRILLED 116.00$        

LAF2818-0000 POSITION TUBE WLD MALE, SOLID 73.00$          

LAF2823-0000 FITTING F/TANK W/NUT & O -RING 23.00$          

LAF2826 WET KIT BRKT F/GTRBRSH 32.00$          

LAF2840-0000 STRAINER .50 NPT 50 MESH 37.00$          

LAF2897-0000 EXTENSION SPRING F/ ANGL E BROOM 33.00$          

LAF3183-0000 PIN - 1.5-7.875 SP 33.00$          

LAF3400-0000 TILLER SHANK *** (BRADCO PART) 23.00$          

LAF3431-0000 EDGE CUT DB .75 X 8 X 31 .25 FFC 140.62$        

LAF3436-0000 EDGE CUT DB .75 X 8 X 36 .00 FFC 203.29$        

LAF3492 CUTTING EDGE W/BOLTS 396.00$        

LAF3498-0000 DBL BVL BOLT ON EDGE KIT -98 681.00$        

LAF3501-0022M PREPRTR BKT 66 F/UNIV 2,682.00$    

LAF3505-0000 WELD DRUM 66" PREPARATOR 1,541.00$    

LAF3506-0000 WELD DRUM 76" PREPARATOR 2,437.00$    

LAF3509-0000 L.H. ROTOR DRIVE SHAFT 171.00$        

LAF3510-0000 R.H. ROTOR DRIVE SHAFT 152.00$        

LAF3511-0000 ROTOR SHAFT SPACER 30.00$          

LAF3512-0000 BEARING TAPER LOCK ADAPT ER 51.00$          

LAF3513-0000 ROTOR BEARING 84.00$          

LAF3514-0000 TUBE RD 2 X 1.515 X 1.06 MOTOR SHAFT 17.79$          

LAF3516-0000 #80H ROLLER CHAIN-59 LIN KS NEW STYL 112.00$        

LAF3517-0000 #80H CONNECTING LINK 3.81$            

LAF3518-0000 #80 H OFFSET (HALF) LINK 7.62$            

LAF3519-0000 80# TENSIONER F/PREPARAT OR 263.00$        

LAF3520-0000 BRUSH DRIVE CHAIN #50H - 65 PITCHES 55.00$          

LAF3521-0000 #50H CONNECTING LINK 2.54$            

LAF3522-0000 #50H OFFSET(HALF)LINK 3.81$            

94



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

LAF3523-0000 50# TENSIONER F/PREPARAT OR 187.00$        

LAF3524-0000 PLATE 7GA MOTOR MOUNT CH ANNEL CAP 24.00$          

LAF3526-0000M WELD CHAIN SHIELD PREPAR ATOR 81.00$          

LAF3530-0000 MOTOR MOUNT WLD F/PREPAR ATOR 63.00$          

LAF3532-0000 1.5 QD LOCK SPROKT BSHNG 42.00$          

LAF3533 TAPER LOCK ADP ASSY 32.00$          

LAF3534 BEARING 1.00" TAPERED BORE 2-BOLT FLG 76.00$          

LAF3536-0000 BRUSH DRV SPROCKT - UPPE R 62.00$          

LAF3537-0000 GASKET-BRUSH DRIVE SHIELD 25.00$          

LAF3540-0000 SPROCKET RETAINER 15.76$          

LAF3544-0000 BRUSH DRIVE SPROCKET-LOW ER 61.00$          

LAF3546-0000 DRUM DRV SPROCKT-UPPER,1 2T 102.00$        

LAF3547-0000 TRACK SCRATCHER F/PREPAR ATOR 140.00$        

LAF3549-0000 DRUM DRVN SPROCKT-LOWER, 20T 283.00$        

LAF3550-0000 WELD BRUSH BAFFLE PLATE RH 47.00$          

LAF3564-0000 WELD BRUSH DRIVE STUB SH AFT RH 179.00$        

LAF3565-0000 WELD BRUSH DRIVE STUB SH AFT LH 180.00$        

LAF3567-0000 1 SPROCKET BUSHING 37.00$          

LAF3580-0000 LUG WRENCH 26.00$          

LAF3584-0000 WELD BRUSH DRIVE SHROUD PREPARATOR 248.00$        

LAF3585-0000 WELD ROTOR MTG PLATE PRE PARATOR 185.00$        

LAF3587-0000 SPANNER WRENCH 23.00$          

LAF3588-0000 WELD BRUSH BAFFLE PLATE LH 62.00$          

LAF3591-0000 WELD DRUM 54 PREPARATOR 2,536.00$    

LAF3597-0000 SKID SHOE RETAINER 7.62$            

LAF3604-0000 PLATE SIDE WEAR SHOE SNOW PUSH 63.00$          

LAF3605-0000 WELD BOTTOM WEAR SHOE SNOW PUSH 414.00$        

LAF3605-0000M WELD BOTTOM WEAR SHOE SNOW PUSH 396.00$        

LAF3616-0000 1.5-10.0 RUBBER EDGE F/1 2 SNOW PUSH 253.00$        

LAF3623-0000 WELD MOLD BOARD 8' SNOW PUSH 2,529.00$    

LAF3624-0022 SNOW PUSH SS MTG FRAME F /UNIVERSAL 838.00$        

LAF3624-BLNK WELD BLANK MTG FRAME SNO W PUSH 646.00$        

LAF3629-0000 10' BOLT ON RUBBER EDGE KIT 771.00$        

LAF3630-0000 8' BOLT ON RUBBER EDGE K IT 638.00$        

LAF3632-0000 6' BOLT ON RUBBER EDGE K IT 531.00$        

LAF3633-0022 SNW-PSH HD MTG FRM F/UNI V 1,237.00$    

LAF3633-0134 SNOW PUSH HD MTG FRM F/CAT IT-18 QA 1,711.00$    

LAF3633-0134M SNOW PUSH HD MTG FRM F/C AT IT-18 QA 1,106.00$    

LAF3633-0440 SNW-PSH HD MTG FRM F/JD 310 C CTLT 1,707.00$    

LAF3633-0733 SNOW PUSH HD MTG FRAME F /QCP-7000 1,584.00$    

LAF3633-0906 SNW-PSH HD MTG FRM F/ZTTLMYR 602 1,062.00$    

LAF3633-0913 MTG FRM SNW PSH F/JRB 41 6 SER 1,498.00$    

LAF3649-0000 12' BOLT ON RUBBER EDGE KIT 915.00$        

LAF3660-0000 1.5-10.0 RUBBER EDGE F/1 4 SNOW PUSH 383.50$        

95



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

LAF3665-0000 1.5-10.0 RUBBER EDGE F/6 ' SNOW PUSH 275.00$        

LAF3666-0000 1.5-10.0 RUBBER EDGE F/7 ' SNOW PUSH 321.00$        

LAF3667-0000 1.5-10.0 RUBBER EDGE F/8 ' SNOW PUSH 378.00$        

LAF3668-0000 1.5-10.0 RUBBER EDGE F/1 0' SNOW PSH 465.00$        

LAF3670-0KIT BUCKET-LIP MOUNT KIT F/ SNOW PUSH 1,460.00$    

LAF3862-0000 SPLIT SLEEVE 1.25-1.0-.7 5 11.85$          

LAF3896-0000 RIPPER SHANK TOOTH ASSY (BRADCO) 52.00$          

LAF4005 SEAL KIT 3" 54.00$          

LAF4017-0000 2.5 IN CYL SEAL KIT 26.00$          

LAF4024-0000 SEAL KIT F/ 2 INCH CYLS 37.00$          

LAF4033-0000 HOSE SHEATHINGx72 35.00$          

LAF4048-0000 CYL ASSY 3.00x1.50x10.00 CT ENDS PRP PRT 368.00$        

LAF4065-0000 QD FEM FLT 12FB LRG CASE F 189.00$        

LAF4066-0000 QD ML FLT 12FB LRG 125.00$        

LAF4068-0000 ELBOW 90 10MJ-10MJ BH W /O NUT 18.81$          

LAF4072-0000 SWIVEL-10MJ-10FJ-LIVE 41.00$          

LAF4079-0000 O-RING 1.05OD-.937ID F/# 12 MJ 1.27$            

LAF4098-0000 #6 BLKHD JAM NUT .56-18 1.27$            

LAF4099 KIT HOSE SAVER 60.00$          

LAF4106-0000 CYL SHAFT 1.0 THD END AU TORAKE 163.00$        

LAF4109-0000 CYL SEAL KIT 2.0-8.5 AUT ORAKE 89.00$          

LAF4157-0000 ELBOW 90 6MJ-6MJ BH W/O NUT 3.66$            

LAF4181-0000 1.33 OD PIPE HOSE SPRING KIT 64.00$          

LAF4192-0000 FTG 8MB-10MJ 3.81$            

LAF4198-0000 CYL SEAL KIT 1.5 IN 71.00$          

LAF4203-0000 FTG 6MB-8FB 12.47$          

LAF4216-0000 CYL ASSY 2.00x1.00x8.50 3K F/ AUTORAKE** 340.00$        

LAF4246-0000 ELBOW 45 6MB-6MJ 9.92$            

LAF4255-0000 ELBOW 90 8FB-8MB 37.00$          

LAF4266-0000 CHK VLV 16GPM 3500PSI 8F B PRTS 100.00$        

LAF4271-0000 FTG 8FB-12MB 10.06$          

LAF4275-0000 TEE 6MJ-6MJ-6MJ BH R 13.98$          

LAF4278-0000 ELBOW 90 10MB-10MJ 22.00$          

LAF4279-0000 QD ML NDR PRSSR 10FB-CSE SS 94.00$          

LAF4292-0000 QD PIONEER BALL FEM 10FB 70.00$          

LAF4293-0000 QD PIONEER BALL MAL 10FB 33.00$          

LAF4300-0000 ORIFICE-6MJ-6FJ-.062 DIA 22.00$          

LAF4302-0000 HOSE .25x19 6FJ-6FJ 37.00$          

LAF4307-0000 HOSE .38x44 6FJ-6FJ 32.00$          

LAF4311-0000 HOSE .38x34 6FJ-6FJ 4K 42.00$          

LAF4321-0000 HOSE .50x104 10MB-10FJ 4K HS 98.00$          

LAF4343-0000 HOSE .38x78 6FJ-8MB 4K HS 60.00$          

LAF4344-0000 HOSE .38x59 6FJ-8MB HS 65.00$          

LAF4345-0000 HOSE .50x108 10MB-10MB HS 98.00$          

96



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

LAF4354-0000 HOSE .38x116 6FJ-10MB 4K HS 97.00$          

LAF4356-0000 HOSE .38x87 6FJ-10MB 4K HS 103.00$        

LAF4360-0000 HOSE .50x30 10FJ-10MB 4K 61.00$          

LAF4366-0000 HOSE .38x73 6FJ-10MB 4K HS 59.00$          

LAF4367-0000 HOSE .63x108 10MB-12FJ HS 111.00$        

LAF4384-0000 HOSE .63x16.13 10FFS-10FFS90 3.625K 48.00$          

LAF4386 HOSE .50x48 8FJ-12FFS 37.00$          

LAF4403 TEE 8MJ-8MJ-8MB 13.66$          

LAF4404-0000 FTG 10MB-10FJ 15.25$          

LAF4405-0000 FTG 6FB-10MB 12.71$          

LAF4414-0000 FTG 10MB-10MJ 5.08$            

LAF4417-0000 ELBOW 90 10FJ-10MJ 38.00$          

LAF4419-0000 ELBOW 90 12MB-12MJ 23.00$          

LAF4422-0000 TEE 10MJ-10MJ-10FJ 26.00$          

LAF4441 FTG 10FB-10FB 20.17$          

LAF4443-0000 FTG 10MB-10MFS 5.85$            

LAF4455-0000 QD CASE DRAIN FML F/BCAT -8FB 108.00$        

LAF4460-0000 HOSE .25x48.5 6FJ-6FJ 4K 42.00$          

LAF4461-0000 QD CASE DRAIN MALE F/NSN H-8FB 21.00$          

LAF4478-0000 CYL SHAFT 2.0-26.0-1.13 CT END 130.00$        

LAF4483-0000 CAP 6FJ 1.27$            

LAF4485-0000 HOSE .25x17.25 6FJ-6FJ 23.00$          

LAF4486-0000 HOSE .25x23.5 6FJ-6FJ 4K 27.00$          

LAF4493-0000 TEE 6MJ-6FJ-6MJ 15.25$          

LAF4504-0000 ELBOW 45 6MJ-6MJ BH 13.28$          

LAF4514-0000 HOSE .50x93 10FJ-10MB HS 111.00$        

LAF4516-0000 CYL ASSY 2.50x1.25x7.50 3K P RP PRT SW 336.00$        

LAF4531-0000 HYD SEQUENCING BLOCK 916.00$        

LAF4532-0000 HYD BLOCK ASSY F/AUTO W/ SIDE PORTS 270.00$        

LAF4535-0000 HOSE .63x34 10MB-10FJ 45.00$          

LAF4537-0000 O-RING #155-.094 X 4.00 X 4.19 5.08$            

LAF4544-0000 CYL SEAL KIT NOTE-2.5 IN 180.00$        

LAF4551-0000 HOSE .50x48 8FJ-10MB 28.00$          

LAF4552-0000 HOSE .50x84 10FJ-10MB 4K HS 88.00$          

LAF4553-0000 HOSE .63x30 10FJ-12FJ 45.00$          

LAF4554-0000 HOSE .63x96 10MB-10FJ HS 86.00$          

LAF4563-0000 CYL ASSY 1.69x1.50x11.50 4K CROSS HOLE 282.00$        

LAF4572-0000 SEAL KIT F/STD 2000/WHEE L MOTORS 97.00$          

LAF4575-0000 MOTOR 6.2 CID 1.25 TPR WHEEL 1,328.00$    

LAF4576-0000 MOTOR 4.9 CID 1.25 TPR WHEEL 1,316.00$    

LAF4579-0000 MOTOR 3.0 CID 1.0 6B 2BOLT 926.00$        

LAF4582 VALVE FLOW DIV 20GPM FIXED 170.00$        

LAF4584-0000 MOTOR 24.7 CID 1.25 STR 2BOLT 2,338.00$    

LAF4588-0000 MOTOR 14.9 CID 1.00 6B 4BOLT 1,559.00$    

97



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

LAF4597H-0000 MOTOR 11.9 CID 1.00 TPR SAE 4BOLT 942.00$        

LAF4607-0000 3.0 IN CYL SEAL KIT F/BA CKHOE & 3PT 101.00$        

LAF4609-0000 3.0 CYL PART - PISTON 81.00$          

LAF4617-0000 2.0 IN CYL SEAL KIT 123.00$        

LAF4645-0000 1.75 CYL ROD ASSY F/LAF4 639 375.00$        

LAF4656-0000 TEE 10MJ-10MJ-10MJ BH R 25.00$          

LAF4660 MANF AL 12V RUN/SWG WEATHERPACK 930.00$        

LAF4661-0000 CYL ASSY 2.00x1.25x8.00 3.5K CROSS TUBE 509.00$        

LAF4678-0000 MOTOR 9.60 CID 1.25 14T 4BOLT MAGNETO 1,254.00$    

LAF4680-0000 HOSE .63x96 10FJ-12MB 4K HS 100.00$        

LAF4693-0000 ELBOW 90 12FFS-12MB 33.00$          

LAF4697-0000 MOTOR 24 CC 1.63 TPR 4BOLT C-LYNN 1,828.00$    

LAF4700-0000 VALVE CYL LOCK 457.00$        

LAF4707 VALVE CHECK IN LINE 12MF 12MF 89.00$          

LAF4708-0000 TUBE ASSY MOTOR RECIRCUL ATION 88.00$          

LAF4709-0000 HOSE .50x66 10FJ-10FJ 4K 66.00$          

LAF4712-0000 HOSE .75x97 12FFS90-12MB 5K HS 263.00$        

LAF4713-0000 HOSE .75x94 12MB-12FFS45 3.1K HS 126.00$        

LAF4714-0000 HOSE .38x94 8MB-8FFS45 HS 103.00$        

LAF4715-0000 SEAL KIT FRONT CHAR-LYNN 4K MOTOR 53.00$          

LAF4716-0000 SEAL KIT REAR CHAR-LYNN 4K MOTOR 83.00$          

LAF4723-0000 CYL PART - NUT, .75-16 G R. C 2.06$            

LAF4726-0000 CYL SEAL KIT F/LAF4698 & LAF4704 78.00$          

LAF4735-0000 CYL SEAL KIT F/LAF4705 70.00$          

LAF4744-0000 HOSE .50x48 10MB-10FJ 4K 50.00$          

LAF4745-0000 QD .63 ISO ML 12FB F/NH NEW CASE 122.00$        

LAF4746-0000 QD .63 ISO FML 12FB F/NH NEW CASE 172.00$        

LAF4747-0000 QD 12 FF M 12FB ISO16028 146.00$        

LAF4766-0000 ELBOW 45 10FJ-10MJ 15.72$          

LAF4769-0000 PO CHECK VALVE F/CASE TL B 4/1'S 200.00$        

LAF4772-0000 MOTOR 24.7 CID 1.50 17T 4BOLT MAGNETO 1,178.00$    

LAF4773-0000 CYL ASSY 2.50 X 1.75 X 8.00 4K CUSH-BTT/ 611.00$        

LAF4776-0000 MOTOR 4.5 CID 1.00 STR 2BOLT 522.00$        

LAF4777-0000 MOTOR 10.3 CID 1.25 14T WHEEL 1,813.00$    

LAF4779 CYL ASSY 1.00x.50x4.00 1K CROSS HOLE 210.00$        

LAF4780-0000 MANF AL 12V WEATHERPACK W/4 SOLENOIDS 2,387.00$    

LAF4784-0000 HOSE .75x26 10MB-12FJ 4K 71.00$          

LAF4789-0000 CYL SEAL KIT 2.5 IN 186.00$        

LAF4790-0000 #8 SOLENOID 3 POS 4 WAY FLOAT CEN 313.00$        

LAF4791-0000 #8 COIL 12 VDC WEATHERPA C 79.00$          

LAF4796-0000 CYL ASSY 2.00x1.25x8.00 4K CROSS TUBE 319.00$        

LAF4798-0000 MOTOR 24.0 CID 1.25 14T 2BOLT-A 1,086.00$    

LAF5250-0000 BLT-ON EP KIT F/SS XTR H D CNST GRPL 200.00$        

LAF5400-0000 PLANER WATER KIT 1,012.00$    

98



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

LAF5402-0000 FTTNG MALE CAMLOCK .38-. 50 NPT 12.25$          

LAF5403-0000 FTTNG FEMALE CAMLOCK .38 -.50 NPT 20.48$          

LAF5404-0000 PLANER HF 2.5 SLOT CUTTE R KIT 1,413.00$    

LAF5405-0000 PLANER HF 4.5 SLOT CUTTE R KIT 1,573.00$    

LAF5410-0000 PLANER MOTOR KIT 1,680.00$    

LAF5450-0000 KIT WHEEL F/ HF PLANERS 291.00$        

LAF5602-0000 ROD 1.980 X 9.88 PIN HOL E .656 PLD 78.00$          

LAF5603-0000 EDGE RUBBER .5 X 3.75 X 90.00 HOLES 68.00$          

LAF5609-0000S EDGE RUBBER .5 X 3.75 X 48.00 HOLES 125.00$        

LAF5613-0000 WELD SIDE SHIELD RT POWE R RAKE 220.00$        

LAF5614-0000 TUBE RD 1.25 X .766 X 1. 0 9.07$            

LAF5615-0000 TUBE RD 1.25 X .766 X 2. 38 13.98$          

LAF5619-0000 WELD LINK ARM POWER RAKE 164.00$        

LAF5621-0000 WELD WHEEL CASTER (BEARI NG) POWER RAKE 253.00$        

LAF5621-0000M WELD WHEEL CASTER (BEARI NG) POWER RAKE 161.00$        

LAF5622-0000 WELD WHEEL AXLE POWER RA KE 41.00$          

LAF5625-0000 WHEEL BEARING SEAL (FELT WASHER) 3.81$            

LAF5626-0000 WELD DRUM 90 POWER RAKE 2,578.00$    

LAF5628-0000 WELD PIVOT FRAME F/ POWE R RAKE 689.00$        

LAF5629-0000M WHEEL CASTER WASHER (BOT TOM) 2.59$            

LAF5630 WELD 72 DRUM F/POWER RAKE 2,757.00$    

LAF5632-0000 WELD DEFLECTOR SUPPORT 7 2 PWR RAK 269.00$        

LAF5633-0000 EDGE RUBBER .5 X 3.75 X 72.00 HOLES 152.96$        

LAF5634-0000 DRUM DEFLECTOR STRAP 72 POWR RAKE 56.00$          

LAF5635-0000 WELD DEFLECTOR SUPPORT 9 0 PWR RAK 368.00$        

LAF5636-0000 WELD SIDE SHIELD LT POWE R RAKE 221.00$        

LAF5637-0000 WHEEL ARM WLD F/ POWER R AKE 114.00$        

LAF5638-0000 WHEEL POST F/POWER RAKE 83.00$          

LAF5643-0000 TUBE RD 1 X .656 X 2.88 15.54$          

LAF5644-0000 SPUR GEAR CASE 1.75 TO 1 RATIO 1,212.00$    

LAF5645-0000 BEARING ASSY F/ PTO POWE R RAKE 347.00$        

LAF5646-0000 90DG GEAR BOX 1.46 TO 1 RATIO 867.00$        

LAF5650-0000 HYD ANGL KIT PWR RAK F/U NIV 1,121.00$    

LAF5650-E903 HYD ANGL KIT PWR RAK F/N H & CASE 1,262.00$    

LAF5662-0000 HEX DRIVE LINE F/72 PTO POWER RAKE 564.00$        

LAF5663-0000 HEX DRIVE LINE F/90 PTO POWER RAKE 569.00$        

LAF5670-0000 WELD WHEEL ARM W/STORAGE 163.00$        

LAF5678-0000 WELD HUB MOUNT PTO POWER RAKE 321.00$        

LAF5681 WELD DRUM F/72 PTO PWR RAKE 2,172.00$    

LAF5699-0000 POWER RAKE (2) WHEEL KIT 1,175.00$    

LAF5699-SNGL POWER RAKE (1) WHEEL KIT 710.00$        

LAF6405-0000 TRIP SPRING .393+ x14.00 x (26.25)PAINTE 44.00$          

LAF6446-0000 WEAR EDGE-6' FSP 159.00$        

LAF6447-0000 WEAR EDGE-7' FSP 183.00$        

99



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

LAF6448-0000 WEAR EDGE F/8' FSP-20000 225.00$        

LAF6449-0000 WEAR EDGE F/9' FSP-20000 202.00$        

LAF6465-0000 PLATE 5' RUBBER EDGE 84.00$          

LAF6467-0000 PLATE 7' RUBBER EDGE 78.00$          

LAF6477-0000 RUBBER BELT .25 X 10.0 X 80.25 W/ HOLES 177.00$        

LAF6485-0000 5 FLOAT PLOW RUBBER EDGE KIT 497.00$        

LAF6486-0000 6 FLOAT PLOW RUBBER EDGE KIT 526.00$        

LAF6487-0000 7 FLOAT PLOW RUBBER EDGE KIT 623.00$        

LAF6489-0000 9 FLOAT PLOW RUBBER EDGE KIT 728.00$        

LAF6492-0000 7' SNOW BLADE OPTIONAL FLAP KIT 169.00$        

LAF6493-0000 8' SNOW BLADE OPTIONAL F LAP KIT 194.00$        

LAF6494-0000 9' SNOW BLADE OPTIONAL F LAP KIT 211.00$        

LAF6495-0000 10' SNOW BLADE OPTIONAL FLAP KIT 234.00$        

LAF6498-0000 12' SNOW BLADE OPTIONAL FLAP KIT 288.00$        

LAF6504-0000 WELD ACTUATOR MOUNT 72.00$          

LAF6505-0000 ROLLER SLEEVE F/STD SNOW BLOWER 13.98$          

LAF6509-0000 WELD MAIN HOUSING 48 HSB 1,601.00$    

LAF6510-0000 WELD AUGER 72 HF SNOW BL OWER 1,503.00$    

LAF6512-0000 WELD AUGER 84 HF SNOW BL OWER 1,485.00$    

LAF6514-0000 WELD AUGER 96 HF SNOW BL OWER 1,612.00$    

LAF6520-0000 RBBR GRMMT 2.88 0D-2.13 ID-.5 5.37$            

LAF6521-0000 WELD SKID SHOE 91.00$          

LAF6525-0000 ROTARY ACTUATOR UPDATE K IT F/SNWBLR 794.00$        

LAF6531-0000 ELECTRIC ACTUATOR SNB #9 307-103-057-FF 732.00$        

LAF6532-0000 1.25 DIA 2 BOLT FLANGE B EARING 103.00$        

LAF6533-0000 POLY ROTATION CLIP PAD 12.71$          

LAF6535-0002 WELD BACK PLATE ASV RC 30 QA 1,122.00$    

LAF6535-0002M WELD BACK PLATE ASV RC 3 0 QA 993.00$        

LAF6535-0022 WELD BACK PLATE UNIV 968.00$        

LAF6535-0961 WELD BACK PLATE HSB DING O 952.00$        

LAF6538-0000M WELD DEFL F/SNOWBLOWER 232.00$        

LAF6539-0000 AUGER MOTOR MOUNT F/HSB- 1000 9.07$            

LAF6541-0000 PLATE FAN PADDLE 28.00$          

LAF6542-0000 PLATE AUGER MOTOR COVER 48 SB 47.00$          

LAF6543-0000 ROTATION CLIP F/HSB-1000 18.63$          

LAF6543-0000M ROTATION CLIP F/ HSB-100 0 5.18$            

LAF6545-0000 PLATE CHUTE SPACER SNOW BLOWER 5.18$            

LAF6547-0000 EDGE CUT SB .38 X 3 X 48 SQ HOLES .563 62.91$          

LAF6550-0000 WELD AUGER 48 SNOW BLOWE R 912.00$        

LAF6551-0000 PLASTIC DEFLECTOR LINER SNOW BLOWER 39.00$          

LAF6552-0000 THREE BLADE FAN WLD 496.00$        

LAF6558-0000 WIRE HARNESS W/BOX F/DUA L ACTUATORS 541.00$        

LAF6560 EDGE CUT SB .38x3x60 SQ HOLES .563 56.82$          

LAF6560M EDGE CUT SB .38x3x60 SQ HOLES .563 72.78$          

100



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

LAF6561-0000 EDGE CUT SB .38 X 3 X 62 SQ HOLES .563 72.78$          

LAF6564-0000 WELD AUGER 62 HYD SNOW BLOWER 1,465.00$    

LAF6565-0000 PLASTIC CHUTE LINER HF S NOW BLOWER 90.00$          

LAF6566-0000 CHUTE ROTATION PAD HF SN OW BLOWER 76.00$          

LAF6567-0000 ROD AUGER SLEEVE HF SNOW BLOWER 44.00$          

LAF6568-0000 ROD 1.5 X .69 CHUTE RETA INER HF SNW BLW 17.79$          

LAF6569-0000 IDLER SHAFT F/SNGL MTR H F SNW BLWR 173.00$        

LAF6571-0000 EDGE CUT SB .38 X 3 X 72 SQ HOLES .563 85.93$          

LAF6571-0000M EDGE CUT SB .38 X 3 X 72 SQ HOLES .563 81.41$          

LAF6574-0000 WELD AUGER  F/72" HYD SNOW BLOWER 1,425.00$    

LAF6579-0000 END PLATE CAP F/BEARING F/HF S-BLWR 11.86$          

LAF6583-0000 EDGE CUT SB .38 X 3 X 84 SQ HOLES .563 97.69$          

LAF6583-0000M EDGE CUT SB .38 X 3 X 84 SQ HOLES .563 96.22$          

LAF6587-0000 CHUTE ROTATION SPROCKET WLD 89.00$          

LAF6590-0000 EDGE CUT SB .5x4x83.25 HOLES .563 242.87$        

LAF6590-0000M EDGE CUT SB .5 X 4 X 83. 25 HOLES .563 185.03$        

LAF6591-0000 EDGE CUT SB .5 X 4 X 95. 25 HOLES .563 204.77$        

LAF6592-0000 WELD FAN HF SNOW BLOWER 636.00$        

LAF6593-0000 WELD MOTOR MOUNT HF SNOW BLOWER 213.00$        

LAF6594-0022 WELD BACK PLATE UNIV 798.00$        

LAF6595-0000 EDGE CUT SB .5x4x71.25 HOLES .563 223.30$        

LAF6596-0000 GEAR COVER F/STD SNOW BL OWER 16.84$          

LAF6597-0000 CHUTE DRIVE SPROCKET WLD STD SBLR 73.00$          

LAF6598-0000 CHUTE BACK PLT LINER STD SNW BLWR 42.00$          

LAF6599-0000 WELD CHUTE HF SNOW BLOWE R 566.00$        

LAF6620-0000 118 TINE PLATE 101.00$        

LAF6632-0000 WHEEL FORK WLD 295.00$        

LAF6633-0000 STEM WLD 196.00$        

LAF6634-0000 WHEEL PIVOT ARM WELD 272.00$        

LAF6642-0000 GRADER RAKE TINE 24.00$          

LAF6643-0000 WHEEL ASSEMBLY GRADER RA KE 244.00$        

LAF6645-0000 AXLE BUSHING GRADER RAKE 38.00$          

LAF6653-0000 BEARING F/ GRADER RAKE W HEEL 33.00$          

LAF6654-0000 RACE F/ GRADER RAKE WHEE L BEARING 15.25$          

LAF6655-0000 SEAL F/ GRADER RAKE WHEE L BEARING 8.89$            

LAF6693-0000 HEAD WLD F/92 SS GRADER RAKE 1,216.00$    

LAF6706-0000 CERAMIC POT MAGNET 70# 25.00$          

LAF6710-0000 WELD AUGER F/72 HYD SNW BLWR 996.00$        

LAF6711-0000 CHUTE LINER F/HYD SNW BL WR 103.00$        

LAF6712-0000 CHUTE ROTATION PAD F/HYD SNW BLWR 66.00$          

LAF6714-0000 WELD AUGER F/84 HYD SNW BLWR 1,201.00$    

LAF6720-0000 WIRE ASSEMBLY X 11' F/DU AL ACTUATOR 79.00$          

LAF6721-0000 ROTARY ACTUATOR 12 VLT D C D12-30GB-XX-F 498.00$        

LAF6723-0000 WELD AUGER F/60" HYD SNOW BLOWER 972.00$        

101



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

LAF6725-0000 WIRE HARNESS F/ *** NH 14-PIN 239.00$        

LAF6727-0000 WIRE HARNESS F/PRE-9/1/0 1 CASE 199.00$        

LAF6728-0000 WIRE HARNESS FOR PRE/POS T CASE 83.00$          

LAF6734-0000 48 EXT HARNESS F/SNOW BL OWER 40.00$          

LAF6735-0000 WIRE HARNESS W/BX F/NON- WIRED NH SS 274.00$        

LAF6801-0000 SWING ARM F/AUTORAKE 149.00$        

LAF6802-0000 TUBE RD 1.25 X .766 X 1. 094 AUTORAKE 13.98$          

LAF6803-0000 RAKE DEPTH GUIDE F/AUTOR AKE 40.00$          

LAF6808-0000 BEARING FLG 1.44ID 4BOLT 76.00$          

LAF6809-0000 BEARING FLG 1.44ID 2BOLT 76.00$          

LAF6810-0000 RAKE ADJUSTER BACK PLATE F/AUTORAKE 9.07$            

LAF6811-0000 DRIVE SPROCKET 13 TTH #8 0 W/1.25 74.00$          

LAF6812-0000 DRIVE SPRCKET 13 TH #80 W/1.44 74.00$          

LAF6813-0000 IDLER SPROCKET 12 TTH #8 0 W/.75 85.00$          

LAF6814-0000 ROLLER CHAIN #80H - 40| 39.00$          

LAF6817-0000 SPRING 1.75 OD X 4 LONG COIL COMPR 57.00$          

LAF6818-0000 TUBE RD 1 X .531 X 1.094 CYL ROD SUPPORT 6.99$            

LAF6819-0000 TUBE RECT 4 X 3 X .38 X 3.00 FEATURES 37.00$          

LAF6820-0000 CYL ROD GUIDE TUBE F/AUT ORAKE 78.00$          

LAF6821-0000 CYL ROD WIPER 1 ID F/AUT ORAKE 3.81$            

LAF6822-0000 WASHER F/AUTORAKE 15.64$          

LAF6823-0000 TUBE RD 1.25 X .781 X 2. 50 23.00$          

LAF6824-0000 2080H CONNECTING LINK F/ AUTORAKE 5.08$            

LAF6827-0000 HEX BORE SPROCKET F/ AUT ORAKE 164.00$        

LAF6828-0000 CONN LINK F/ CA550HD CHA IN 12.71$          

LAF6829-0000 SHAFT 1.750 HEX F/ 66| A UTO RAKE 358.00$        

LAF6830-0000 SHAFT 1.750 HEX F/ 76| A UTO RAKE 510.00$        

LAF6831-0000 HD RAKE CHAIN WLD F/66 A UTORAKE 2,668.00$    

LAF6832-0000 HD RAKE CHAIN WLD F/76 A UTORAKE 3,037.00$    

LAF6867-0022 WELD BKT 66 AUTORAKE UNIV 2,203.00$    

LAF6869-0000 IDLER SHAFT WLD F/66 AUT ORAKE 512.00$        

LAF6878-0000 WELD SHROUD 66 AUTORAKE 1,519.00$    

LAF6879-0000 IDLER SHAFT WLD F/76 AUT ORAKE 628.00$        

LAF6879-0000M IDLER SHAFT WLD F/76 AUT ORAKE 389.00$        

LAF8241-0000 BEARING F/ ANGLE BROOM 65.00$          

LAF8259 PLATE RETAINER CORE SB HOPPER 43.00$          

LAF8259-0000 BRUSH SECTION RETAINER - SNGL 76.00$          

LAF8269-0000 SIDE FLAP RETAINER F/PIC K-UP BROOM 47.00$          

LAF8271-0000 SIDE FLAP F/PICK-UP BROO M 38.00$          

LAF8277-0000 INNER FLAP F/72 PICK-UP BROOM 91.00$          

LAF8278-0000 FRONT RUBBER FLAP F/72 PICK-UP BRM 167.00$        

LAF8279-0000 REAR FLAP F/72 PICK UP B ROOM 127.00$        

LAF8284 BRUSH SECTION RETAINER F/PICK UP BRM DL 50.00$          

LAF8300-0000 JACK STAND WLD F/ANGLE B ROOM 142.00$        

102



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

LAF8301 PLATE SUPPORT FLAP LONG SB FFC 86.00$          

LAF8302 PLATE FLAP RETAINER HOPPER BRM 27.00$          

LAF8303 NON-SKID TAPE 4-42 44.00$          

LAF8308 WELD CORE 84 PICK UP BRM W/DUAL MOTORS 1,112.00$    

LAF8309-0000 INNER FLAP F/84 PICK-UP BROOM 74.00$          

LAF8310 FLAP FRT HBB FFC 152.00$        

LAF8311-0000 REAR FLAP F/84 PICK UP B ROOM 159.00$        

LAF8312 MOTOR MOUNT WELDMENT F/PICK UP BROOM 350.00$        

LAF8316 WIRE HARNESS W/ CONT BOX F/SPKLR KIT 180.00$        

LAF8320 WIRE HARNESS PUMP WATER 31.00$          

LAF8324 FLAP SIDE SB FFC 99.00$          

LAF8325 FLAP FRONT 72 SB FFC 132.00$        

LAF8328 WELD MTG MOTOR SB HOPPER 98.00$          

LAF8329 PLATE MOTOR MOUNT SB FFC 45.00$          

LAF8330 PLATE SUPPORT FLAP SIDE SMALL SB FFC 29.00$          

LAF8331 PLATE SUPPORT FLAP SIDE LARGE SB FFC 27.00$          

LAF8332 ROD HINGE 72 SB FFC 103.00$        

LAF8333 PLATE MTG BEARING SB HOPPER 46.00$          

LAF8334 PLATE COVER BEARING SB FFC 60.00$          

LAF8335 TUBE RD 1 1/4x1/8x5.88 22.00$          

LAF8337 EDGE CUT DBE 5/8x6x84 BOLT ON 8 BOLT 225.74$        

LAF8338 FLAP FRONT 60 SB FFC 137.00$        

LAF8341 ROD HINGE 60 SB FFC 67.00$          

LAF8342 FLAP FRONT 84 SB FFC 163.00$        

LAF8343 WELD CORE 84 SB HPR *** 562.00$        

LAF8346 PLATE SUPPORT FLAP SHORT SB FFC 35.00$          

LAF8347 SPKLR KIT NOZZLE MNT F/HOPPER BRM 112.00$        

LAF8361 EDGE CUT DBE 5/8x6x60 BOLT ON 6 BOLT PNT 166.00$        

LAF8376 PLATE MTG WATER TANK 25 GAL BDC 40.00$          

LAF9005-0022 WELD BKPLT/THRT 5700 UNI V 1,204.00$    

LAF9007-0000 KING PIN 1.5-6.88 SP F/X T-SNB 35.00$          

LAF9008-0000 TUBE RD 2.25x1.515x1.38 W/HOLE PLD 30.00$          

LAF9201-0075 TOOTH BAR TOOTH **F/OEM CNH W/.75 42.79$          

LAF9201-8275 TOOTH BAR TOOTH F/OEM CNH 73.87$          

LAF9303-0000 DEPTH ARM WLD SSP16LF 787.00$        

LAF9304-0000 JACK BODY WLD SSP LF 431.00$        

LAF9307-0000 LATCH LID SSP 119.00$        

LAF9308-0000 ROD 2 X 2.31 W/ 1.141 BORE 13.98$          

LAF9309-0000 TUBE RD 1x.687x.85 SPACER 21.00$          

LAF9310-0000 BEARING DEADSHAFT SSP 906.00$        

LAF9311-0000 PIN DUAL SNAP RING 1.0-7 0.407 123.00$        

LAF9312-0000 NOZZLE MOUNT WLD SSP 55.00$          

LAF9316-0000 WELD DEADSHAFT 274.00$        

LAF9321-0000 WHEEL BRACKET WLD 182.00$        

103



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

LAF9322-0000 WHEEL WLD SSP 198.00$        

LAF9324-0000 PIN DUAL SNAP RING 1.0-5 0.907 95.00$          

LAF9325-0000 PIN DUAL SNAP RING 1.0-5 0.532 25.00$          

LAF9326-0000 TOOL PICK REMOVAL 155.00$        

LAF9327-0000 HARNESS COLD PLANER TO P OWER PACK 180.00$        

LAF9328-0000 HARNS W/BOX F/HF C.P. W/ POWER PAK 508.00$        

LAF9335-0000 PLATE VALVE MOUNT SSP LF 37.00$          

LAF9342-0000 DEPTH SKID WLD PLANETARY SIDE 366.00$        

LAF9343-0000 DEPTH SKID WLD DEADSHAFT SIDE 613.00$        

LAF9344-0000 PLANETARY SUPPORT WLD 154.00$        

LAF9347-0000 PIN DUAL SNAP RING 1.0-7 0.907 76.00$          

LAF9348-0000 BEARING GUARD F/COLD PLA NER 85.00$          

LAF9350-0000 DEPTH INDICATOR WLD 100.00$        

LAF9351-0000 DEPTH INDICATOR ROD WLD 131.00$        

LAF9353-0000M WELD PICK PATTERN SSP18H F 2,819.00$    

LAF9355-0000 WELD PICK PATTERN SSP24H F 4,434.00$    

LAF9357-0000 WELD PICK PATTERN SSP36HF 5,506.00$    

LAF9358-0000 PLATE TILT RETAINER 40.00$          

LAF9358-0000M PLATE TILT RETAINER 34.00$          

LAF9360-0000 HARNESS ADAPTER F/NHSSL 14PIN-8PIN 163.00$        

LAF9362-0000 PLATE .5 BEARING MNT SPA CER COLD PLANER 27.00$          

LAF9363P BEARING MNT PLATE F/LF C OLD PLANER 81.00$          

LAF9364-0000 PLANETARY GEAR BOX AUBUR N 19.62:1 3,299.00$    

LAF9365 BEARING MOUNT PLATE F/HF COLD PLANER 65.00$          

LAF9365P BEARING MNT PLATE F/HF C OLD PLANER 65.00$          

LAF9386-0000 TUBE RD 1.25 X 1.031 X 1.38 23.00$          

LAF9389-0000 HOLDER PICK C-10 20.33$          

LAF9390-0000 ASPHALT BITS F/CP 5413 19.00$          

LAF9394-0000 WIRE HARNESS W/BOX F/HF SNW BLWR 174.00$        

LAF9395-0000 WIRE ASSEMBLY X 9' F/HF SNW BLWR 108.00$        

LAF9396-0000 PLATE DEPTH SKID RETENTI ON 8.40$            

LAF9399-0000 COVER WATER KIT HOLE 16.97$          

LAF9404-0000 RUBBER WEAR EDGE-48.0 F/ 1500 BLADE 307.00$        

LAF9405-0000 RUBBER WEAR EDGE-60.0 F/ 1500 BLADE 294.00$        

LAF9406-0000 RUBBER WEAR EDGE-72.0 F/ 1500 BLADE 352.00$        

LAF9407-0000 PLATE .38 X 3 X 35.00 HO LES STRAP 48.00$          

LAF9408-0000 PLATE .38 X 3 X 47.00 HO LES STRAP 63.00$          

LAF9409-0000 PLATE .38x3x59.00 HOLES STRAP 69.00$          

LAF9410-0000 PLATE .38 X 3 X 71.00 HO LES STRAP 93.00$          

LAF9413-0000 WIRE HARNESS KIT POST-9/ 39448 488.00$        

LAF9429-0000 TUBE RD 1.13 X .885 X 5. 56 36.00$          

LAF9430-0000 PIN .875-8.38 SP 47.00$          

LAF9431-0000 PIN .75-4.75 SP 4.28$            

LAF9432-0000 TUBE RD 1.44 X 1.170 X 5 .56 76.00$          

104



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

LAF9433-0000 TOP LINK BUSHING CAT 2-3 3.81$            

LAF9436-0000 PLATE .38 SPACER WASHER SNOW PUSH 6.57$            

LAF9499-0000 CASTER WHEEL ASSY-SOLID HD 494.00$        

LAF9526-0000 TUBE RD 1.88 X 1.450 X . 438 SPACER 13.98$          

LAF9529-0000 CYL GUARD BOTTOM F/XTR H D UT SB 29.00$          

LAF9530-0000 CYL GUARD TOP F/XTR HD U T SB 41.00$          

LAF9531-0000 CYL GUARD LINER F/XTR HD UT SB (BRADCO) 52.00$          

LAF9532-0000 CYL GUARD F/XTR HD UT SB 22.00$          

LAF9533-0000 CYL COVER TOP LINER 42.00$          

LAF9542-0000 ROD 1.25 X 6.81 PIN (GRE ASABLE) W/ZERK 67.00$          

LAF9543-0000 ROD 1.25 X 24.06 PIN (GR EASABLE) W/ZERK 135.00$        

LAF9544-0000 SPLIT SLEEVE 1.5-1.25-1. 5 NO HL/GRV 19.34$          

LAF9552-0000 #60 HEAVY CONNECTOR LINK 2.19$            

LAF9602-0000 SPLIT SLEEVE 1.75-1.5-2. 0 NO HL/GRV 20.33$          

LAF9606-0000 ROD 1.5 X 27.13 PIN (GRE ASABLE) W/ZERK 156.00$        

LAF9621-0000 BOLT ON EDGE F/60 V-PLOW 74.00$          

LAF9622-0000 BOLT ON EDGE F/48 V-PLOW 39.00$          

LAF9715-0000 ROD 1.25 X 6.50 PIN 28.00$          

LAF9737 3/4x2 1/2 GR8 PLOW BOLT W/LOCK WASHER & 3.97$            

LAF9737-0000 HDWR KIT F/BOE W/.75-2.5 PLOW 8.88$            

LAF9758 LEFT SIDE CUTTER 45.00$          

LAF9759 RIGHT SIDE CUTTER 45.00$          

LAF9770-0000 ROD 1 X 3.75 SP PIN CNST R SS 4/1 CYL 34.00$          

LAF9779-0000 ROD 1.5 X 7.0 SP PIN 39.00$          

LAF9782-0000 ROD 1 X 3.38 SP PIN (GRE ASABLE) W/ZERK 28.00$          

LAF9787-0000 WELD PIN 45mm X 10.00 JD 310 112.00$        

LAF9805-0000 ROD 1 X 4.25 PIN (GREASA BLE) W/ZERK 27.00$          

LAF9813-0000 ROD 1.5 X 7.13 SP PIN 70.00$          

LAF9853 PLUG .375-BLACK PLASTIC F/.125 MAX 0.60$            

LAF9915-0000 MOTOR DRIVE F/LAF7902 14.9 CI 1,562.00$    

LAF9937-0000 LT SIDE CUTTER .75 X 6 24.00$          

LAF9938-0000 RT SIDE CUTTER .75 X 6 24.00$          

LAF9965-0000 SPROCKET RETAINER 16.02$          

LAF9978-0000 ROD 1 X 4.75 SP PIN (GRE ASABLE) W/ZERK 23.00$          

LAF9982-0000 WELD SKIDSHOE RT PREPARA TOR 191.00$        

LAF9983-0000 WELD SKIDSHOE LT PREPARA TOR 191.00$        

LAF9986-0000 ROD 40MM X 7.50 SP PIN ( GREASABLE) ZERK 41.00$          

LAF9995-0000 RUBBER WEAR EDGE - 60.0 311.00$        

LAF9996-0000 RUBBER WEAR EDGE - 84.0 285.00$        

M10009 WELD BARRIER ADJ BAR 148.00$        

M10011 WELD CASTER SUPPORT ARM 168.00$        

M10022 LOCK ARM ASSEMBLY 184.00$        

M10040 WELD PULLEY 4IN W/HUB 24.00$          

M10078 KIT BRKT ADP RAKE PS6 867.00$        

105



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

M10365 #00 FLUID GEAR GREASE 13.60$          

M10425 BARRIER:  10' x  5 481.00$        

M10462 PIVOT BUSHING 37.00$          

M10463 BOLT AXLE .75-16X9.5 GR5 PLD 7.91$            

M10464 COVER SEAL 20.53$          

M10465 CATAGORY II PIN ASSY 51.00$          

M10495 AXLE SLEEVE 3-1/4 PLD 14.90$          

M10496 AXLE SLEEVE 2-3/4 PLD 19.95$          

M1222 ROLLER END PLATE 23.00$          

M1316 ROD SQ .75X44.88 42.00$          

M14015 WELD CASTER ARM SUPPORT 208.00$        

M14025 BARRIER 132.00$        

M14026PG ASV STRAIGHT ATTACHMENT 569.00$        

M14038 3/8 X 2 OD WASHER PLD 4.55$            

M14045 PIVOT BUSHING 30.00$          

M14050 ASSY CASTER WHEEL 780.00$        

M14051 PIVOT BOLT:   P101218 25.00$          

M14052PG ASV ANGLING ATT MOUNT 977.00$        

M14053 WELD DINGO ANGLING ATTACHMENT MOUNT 847.00$        

M14075 WELD BULK HEAD FITTING MOUNT 73.00$          

M14106 ASSY CASTER ARM HANDLE 12.56$          

M14128 DITCH WITCH SWITCH CABLE 294.00$        

M14129 WELD CHAIN CASE M4 683.00$        

M14129PG WELD CHAIN CASE M4 634.00$        

M14130 WELD ROLLER DRIVE END 189.00$        

M15034 WELD CARBIDE TOOTH ROLLER M5 1,631.00$    

M15038 URETHANE BARRIER .50x5x61.75 104.00$        

M16011 CASTER SHAFT PLD 37.00$          

M16012 CASTER SUPPORT 176.00$        

M16037 WELD PIVOT MOUNT 626.00$        

M16045 WELD CARBIDE TOOTH ROLLER M6 1,721.00$    

M16045PG WELD CARBIDE TOOTH ROLLER M6 2,137.00$    

M16048 WELD MAIN FRAME 796.00$        

M16049 ASSY CASTER WHEEL 874.00$        

M16056 SLEEVE 4.07$            

M16074 ASSY MANUAL ADJUSTMENT BAR 216.00$        

M16107 WHEEL & TIRE ASSY 399.00$        

M16108 AXLE SPACER LONG PLD 14.90$          

M16109 AXLE SPACER SHORT PLD 14.90$          

M16113 WELD TENSION ARM 31.00$          

M16114 WHEEL SERVICE KIT 344.00$        

M16115 BOLT LOCK CLIP 70.00$          

M16116 SPRING SERVICE KIT 136.00$        

M16120 ASSY CASTER HUB 83.00$          

106



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

M16153 WELD CASTER SUPPORT ARM 239.00$        

M16153PG CASTER SUPPORT ARM 239.00$        

M16158 4 BOLT WHEEL HUB 57.00$          

M16159 ASSY SWITCH - DEUTSCH 189.00$        

M16162 DEUTSCH PIGTAIL ADAPTER 24.00$          

M17003 WELD MAIN FRAME 1,058.00$    

M17003PG WELD MAIN FRAME 804.00$        

M17004 WELD CARBIDE TOOTH ROLLER MX7 2,267.00$    

M17008M BARRIER 167.00$        

M17009 BARRIER STRAP 73.00$          

M17012 WELD PIVOT MOUNT 542.00$        

M18026 CASTER ARM WELDMENT 377.00$        

M18039 WELD LOCK PIN:  2-5/8 PLD 32.00$          

M18040 PIVOT BOLT:  1-14 x 6-1/ 2 32.00$          

M18044 PIVOT BUSHING 41.00$          

M18115 WELD CHAIN CASE MX8 857.00$        

M18117 CASTER SHAFT PLD 61.00$          

M18120 WELD TENSION ARM 53.00$          

M18122 TENSION IDLER 16.28$          

M18125 WELD CASTER FORK 319.00$        

M18125PG CASTER FORK WELDMENT 319.00$        

M18126 BOLT AXLE 1-14X11.5 35.00$          

M18127 WASHER: 3 1/2ODx 1.005ID x.188 PLD 7.93$            

M18134 WELD ATTACHMENT PLATE MOUNT 1,590.00$    

M18139PG 3 HOLE BULK HEAD MOUNT 99.00$          

M18188 U-BOLT STRAP 31.00$          

M20192 BEARING 1.375 FAF NON-LOCK NO SS PLD 71.00$          

M25065 WELD LOCK PIN 1.00 X  3.44 PLD 32.00$          

M27020 WELD CARBIDE TOOTH ROLLER TM7 2,407.00$    

M27022 ASSY STANDARD CASTER 790.00$        

M27025 WELD CHAIN CASE 954.00$        

M27027 ASSY BEARING HOUSING 867.00$        

M27030 WELD DRIVE END ASSY: 1-3/4 118.00$        

M27090 DRIVE SHAFT 1-3/4 202.00$        

M27093 BEARING CAP 1-3/4 PLD 35.00$          

M27094 CYLINDRICAL HOUSING 1-3/ 4 91.00$          

M27101 SPACER, TOP SHAFT 26.00$          

M27103 PIVOT BOLT  1 x 6-1/2 45.00$          

M27105 CHAIN 60H-2  x 88 PITCH W/1 C.L. 271.00$        

M27107 DRIVE SHIELD 36.00$          

M27108 WELD CAT 1-2 LOWER PIN PLD 77.00$          

M27136 ASSY CYLINDRICAL BRG 1-3/4 179.00$        

M27137 ASSY CYL DRIVE BRG 1-3/4 179.00$        

M28007 WELD CARBIDE TOOTH ROLLER TM8 2,163.00$    

107



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

M30091 POWER PIGTAIL 92.00$          

M40010 ASSY POWER CABLE 130.00$        

M44005 URE BARRIER: 1/2 X 4 X 4 1/7/02 97.00$          

M44010 ASSY CASTER WHEEL 689.00$        

M44011 WELD CASTER SUPPORT ARM 256.00$        

M44013 WELD GEARBOX SHIELD SMALL 143.00$        

M44030 ASSY IPTCI DRIVE BEARING 179.00$        

M44031 ASSY IPTCI IDLE BEARING 179.00$        

M44032 ASSY IPTCI TOP BEARING 224.00$        

M44033 IPTCI 1-3/8 BEARING COLLAR PLD 37.00$          

M44034 IPTCI 1-3/8 BEARING CAP PLD 35.00$          

M4409 COLLAR 31.00$          

M4410 WELD CHAIN CASE TM4/ TM5 580.00$        

M4416 CHAIN CASE COVER *** M4/TM4/TM5 96.00$          

M4418 COVER GASKET 20.46$          

M4429 BARRIER STRAP 40.00$          

M4430 BARRIER 126.00$        

M4449 COVER SPACER 44.00$          

M4450 CHAIN 50  75P + C.L. M-4 67.00$          

M4453 WELD CARBIDE TOOTH ROLLER M4 1,432.00$    

M4856 SEAL DRIVE 20.46$          

M5000-5 5/16 X 2 SQUARE KEYSTOCK 2.97$            

M5003 WELD UPPER HITCH PIN 3/4 PLD 30.00$          

M5009-2 WASHER:1/8 X  1 3/4 O.D. 1.61$            

M5009-4 WASHER:3/16 X 1 3/4O.D. PLD 10.45$          

M5009-5 WASHER 1/2 X 1-3/4 PLD 3.04$            

M5009-6 WASHER 1/4x2 O.D. PLD 25.00$          

M5225 PLATE WASHER 1.25x.406x .179 12.11$          

M5226 SPACER 40.00$          

M54004 WELD CARBIDE TOOTH ROLLER TM5 1,881.00$    

M54026 URE BARRIER: 1/2 X 4 X 5 9.50 143.00$        

M54028 WELD TOP DRIVE SHAFT 320.00$        

M54028PG WELD TOP DRIVE SHAFT 246.00$        

M5423 BARRIER  4-1/2 x 55-1/2 169.00$        

M5424 BARRIER STRAP 63.00$          

M5426 WELD RIGHT GATE 232.00$        

M5427 WELD LEFT GATE 232.00$        

M5427PG GATE ASSEMBLY LEFT 232.00$        

M5433 WELD GATE PIN: 5/8x2-3/4 PLD 18.84$          

M5434 GEARBOX SPACER SLEEVE 30.00$          

M5435 WELD JACK STAND 102.00$        

M5435PG JACK STAND 95.00$          

M5437 ROLLER END DRIVE:  1-3/8 211.00$        

M5443 WELD TENSION ARM 128.00$        

108



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

M5444 TENSION ROLLER 65.00$          

M5445 WELD COVER SPACER 40.00$          

M5450 CASTER SHAFT PLD 44.00$          

M5451 CASTER ARM 298.00$        

M5451M WELD CASTER ARM 252.00$        

M5454 WELD M4 - T5 CASTER HANDLE 64.00$          

M5454PG HANDLE 50.00$          

M5455 WELD CASTER AXLE 110.00$        

M5460 CHAIN SLEEVE 33.00$          

M5461 CHAIN 50-2 73P + C.L 149.00$        

M5462 WASHER:3/16 X 2 1/4O.D. 2.61$            

M5463 WASHER: 1.84 X 1.385 X .187 PLD 2.31$            

M5464 WASHER:.172 X 2 1/4O.D. PLD 1.52$            

M5469 ASSY HYD CYL  1-1/2 x 6 430.00$        

M5471 ASSY MANUAL ADJUSTMENT BAR 202.00$        

M5474 CARBIDE TOOTH ROLLER 1,822.00$    

M5488 WELD CASTER FORK W/LOCK 185.00$        

M5488PG WELD CASTER FORK 225.00$        

M5493 SHIELD ASSEMBLY 133.00$        

M5494 DRIVE SHAFT ASSEMBLY 190.00$        

M5499 2-13/16 CYLINDER BOLT 33.00$          

M5500 2 -5/16 CYLINDER BOLT 20.95$          

M5502 PTO SHIELD SLEEVE 51.00$          

M5503 1-3/8 O-RING SPACER PLD 12.36$          

M5515 BARRIER 121.00$        

M6011 TINE TOOL BAR 80.00$          

M6021 SPRING WASHER 44.00$          

M6056 RTU TIGHTENER NUT 133.00$        

M6211-A CASTER FORK 301.00$        

M6215 CASTER AXLE 76.00$          

M6223 WASHER:.187  X  3  O.D. 2.61$            

M6225 TENSIONER 175.00$        

M6226 TENSION WASHER: 143.00$        

M6229 ROLLER ADJUSTMENT SCREW 146.00$        

M6231 SLIDE BAR 50.00$          

M6232 SLIDE BAR 93.00$          

M6240 WELD SMALL OIL COVER 43.00$          

M6243 COVER TAB 18.74$          

M6244 ROUGH ROLLER 1,490.00$    

M6245 SMOOTH ROLLER 1,005.00$    

M6247 ROLLER END DRIVE:  1-1/2 609.00$        

M6256 BEARING HOUSING ASSEMBLY 459.00$        

M6258 WELD SHIELD MOUNT 50.00$          

M6260 SLIDE SHIM 62.00$          

109



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

M6261 TAP BASE BRG ASSY 1 3/8 595.00$        

M6262 CLUTCH SHIELD 48.00$          

M6266 ASSY PTO SUPPORT CHAIN 32.00$          

M6267 SPRING SLEEVE 11.92$          

M6270 CHAIN 60-2 73P1CL 152.00$        

M6271 WIRE ASSEMBLY: 4 1.05$            

M6272 SCARIFIER SWITCH ASSEMBL Y 155.00$        

M6281 CHAIN CASE 999.00$        

M6286 COVER ASSEMBLY 318.00$        

M6288 COVER BOSS 16.80$          

M6289 CASE GASKET 19.69$          

M6301 SLEEVE 26.00$          

M6309 CARBIDE TOOTH ROLLER 2,219.00$    

M6415 WELD CASTER HANDLE 18.56$          

M6417 WELD TENSIONER ARM T6 61.00$          

M6418 TENSION PIVOT 33.00$          

M6419 CHAIN CASE 739.00$        

M6426 BARRIER MOUNT 230.00$        

M6427 BARRIER 1/2 X 5 X 71.75 175.00$        

M6428 STRAP 63.00$          

M6428PG BARRIER STRAP 63.00$          

M6429 WELD WING RT T6 495.00$        

M6434 ROLLER END DRIVE:  1-1/2 629.00$        

M6436 60-2 IND. 75 PITCH + 1 C .L. 160.00$        

M6441 SEAL 19.69$          

M6442 WELD PIN: 3/4x2 7/8 PLD 17.80$          

M6448 WELD HANDLE PLD 16.53$          

M6454 GATE STRAP 23.00$          

M6455 WELD JACK TUBE 78.00$          

M6455PG JACK STAND 70.00$          

M6479 WELD PACKER DRUM PS6 1,357.00$    

M6482 CARBIDE TOOTH ROLLER 2,137.00$    

M6487 WELD MAST 1,270.00$    

M6491 WELD CHAIN TENSION ARM 46.00$          

M6497 WELD CHAIN CASE T6 598.00$        

M6500 WELD DRIVE END 176.00$        

M6503 WELD CARBIDE TOOTH ROLLER T6 1,986.00$    

M6509 CHAIN 60-2 77P+1CL T-6 160.00$        

M6521 WELD CASTER SUPPORT ARM 144.00$        

M6521M WELD CASTER SUPPORT ARM 192.00$        

M6521PG CASTER SUPPORT ARM 192.00$        

M6522 ASSY CASTER WHEEL 939.00$        

M6526 WELD MAIN FRAME 1,076.00$    

M6528 ASSY MANUAL ANGLE BAR T6 257.00$        

110



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

M6542 CHAIN TENSION ARM 9.33$            

M6543 WELD TOP CYLINDER MOUNT 155.00$        

M6546 WELD MANUAL BARRIER 278.00$        

M6555 WELD BARRIER ADJUSTMENT BAR 145.00$        

M6555PG WELD BARRIER ADJUSTMENT BAR 138.00$        

M6556 ASSY BARRIER PIN 30.00$          

M6565 WELD MAIN FRAME 1,407.00$    

M6568 CHAIN IDLER 31.00$          

M6569 CENTER IDLER KIT NOT USE D 34.00$          

M6572 ASSY 1-1/2 IPTCI DRIVE BEARING 175.00$        

M6573 ASSY 1-1/2 IPTCI IDLER BEARING 175.00$        

M6574 ASSY 1-3/4  IPTCI DRIVE BEARING 179.00$        

M6608 CHAIN CASE PRODUCTION 725.00$        

M6618 COVER 96.00$          

M6624 WELD END PLATE - RIGHT BLK 254.00$        

M6624PG WELD END PLATE RIGHT 254.00$        

M6625 WELD END PLATE - LEFT 254.00$        

M6625PG WELD END PLATE LEFT 254.00$        

M6626 PLATE - RIGHT 58.00$          

M6628 IDLER ROLLER 9.93$            

M6629 WELD TENSION ARM 103.00$        

M6630 PIVOT BUSHING 20.24$          

M6634 COLLAR (MOTOR) 87.00$          

M6635 SLEEVE (LINK ARM) 30.00$          

M6637 PIVOT BUSHING 35.00$          

M6640 WELD LINK ARM 177.00$        

M6641 CHAIN 60H 75P+C.L. 98.00$          

M6683 TOOTH ROLLER : 1 1/2 2,059.00$    

M6685 IDLER ROLLER END : 1 1/2 116.00$        

M6691 CASTER SUPPORT 346.00$        

M6693 CABLE ASSEMBLY 69.00$          

M6694 SWITCH ASSEMBLY 198.00$        

M6696 SLEEVE 33.00$          

M6701 CASTER SHAFT PLD 58.00$          

M6714 CABLE ASSEMBLY 238.00$        

M6725 ASSY SWITCH 202.00$        

M6726 ASSY CABLE 72.00$          

M6733 WELD BI DIRECTION TOOTH 8.78$            

M6738 GATE PIN (3 1/4) 1 1/8 C R 1018 9.51$            

M6739 GATE PIN (4 7/8) 1 1/8 C R 1018 12.40$          

M6755 ROLLER END DRIVE 197.00$        

M6756 9/16  WASHER WITH PIN 10.01$          

M6757 WASHER:.218 X 2.125 O.D. 1.5 I.D. MI 3.06$            

M6758 SLEEVE .406 LONG 44.00$          

111



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

M6759 PIVOT FRAME 932.00$        

M6774-10 CARBIDE TOOTH - PKG OF 1 0 125.00$        

M6774-3 CARBIDE TEETH PKG OF 3 33.00$          

M6774C CARBIDE TOOTH 16.38$          

M6775 E CARBIDE TOOTH ROLLER 2,137.00$    

M6776 CD CARBIDE TOOTH ROLLER 2,137.00$    

M6777 AB CARBIDE TOOTH ROLLER 2,129.00$    

M6780 PIVOT TUBE 26.00$          

M6783 CAT CABLE ASSEMBLY 267.00$        

M6789 JD CABLE ASSEMBLY 168.00$        

M6792 JOHN DEERE SWITCH ASSY 467.00$        

M6795 WELD LINK ARM 143.00$        

M6796 BARRIER MOUNT 228.00$        

M6803 WELD MAIN FRAME 1,076.00$    

M6803M WELD MAIN FRAME 1,281.00$    

M6816 LINK BOLT MODIFIED 13.80$          

M6817 WELD CASTER FORK 209.00$        

M6843 WELD CYLINDER ROD MOUNT 356.00$        

M8073 WELD PIN LOWER HITCH 7/8 PLD 23.00$          

M8223 TENSIONER 156.00$        

M8225 WELD JACK STAND 80.00$          

M8225PG JACK STAND 61.00$          

M8228 CASTER SHAFT PLD 83.00$          

M8232 CHAIN CASE 971.00$        

M8241 WELD LARGE COVER 35.00$          

M8241PG WELD LOWER COVER LARGE 35.00$          

M8244 WELD COVER PRO-8 421.00$        

M8244M WELD COVER PRO-8 318.00$        

M8248 ROLLER ADJUSTMENT SCREW 213.00$        

M8252 ROLLER END IDLER:  1-3/8 207.00$        

M8254 SMOOTH ROLLER ASSEMBLY 1,061.00$    

M8258 ROUGH ROLLER ASSY 1,743.00$    

M8263 WELD JACK PIN: 5/8 X 3 5/8 PLD 36.00$          

M8265 SWITCH ASSEMBLY 227.00$        

M8266 CONNECTOR ASSEMBLY 81.00$          

M8267 CHAIN 60-2, 87P & 1CL. MX8 164.00$        

M8269 WELD PIN CAT 1-2 7.938LG PLD 104.00$        

M8272 COVER TAB 21.00$          

M8274 GHAIN CASE GASKET 19.69$          

M8288 TENSION ROD 3/8 X 11 1/4 PRO 8 25.00$          

M8289 CARBIDE TOOTH ROLLER 2,750.00$    

M8406 WELD BEARING TUBE 79.00$          

M8409 REAR PIN1 1/2 CR 1045 177.00$        

M8411 WELD ROLLER END DRIVE: 1-3/4 196.00$        

112



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

M8432 SEAL 20.56$          

M8454 ASSY RT END PLATE W/PIN 465.00$        

M8455 ASSY LT END PLATE W/PIN 465.00$        

M8455PG ASSY LT END PLATE W/PIN 430.00$        

M8456 PIN ASSY:P126207 + M8269 113.00$        

M8467 WELD CARBIDE TOOTH ROLLER MX8 2,396.00$    

M8501 BARRIER MOUNT 380.00$        

M8520 WELD BARRIER MOUNT 508.00$        

M8607 WELD ROLLER SHAFT 1 3/4 198.00$        

M8608 WELD ROLLER END IDLE: 1 1/2 113.00$        

M8609 WELD CHAIN CASE M5/M6/ MX7 674.00$        

M8609PG WELD CHAIN CASE 488.00$        

M8614 SLEEVE 30.00$          

M8616 WELD BARRIER MOUNT 531.00$        

M8618 BARRIER 176.00$        

M8619 STRAP 72.00$          

M8624 CHAIN CASE COVER *** M5/M6/MX7/T6 125.00$        

M8624-JD JD FRONTIER CHAINCASE CO VER 125.00$        

M8624PG COVER 125.00$        

M8635 CASTER SUPPORT 451.00$        

M8636 CHAIN 50-2 X 93P + 1 C.L . 132.00$        

M8637 COLLAR 16.38$          

M8641 CARBIDE TOOTH ROLLER 2,396.00$    

M8809 CHAIN CASE WELDMENT 862.00$        

M8812 IDLER ROLLER 3 DIA UHMW 47.00$          

M8814 ASSY BEARING HSG 459.00$        

M8815 WELD BEARING HOUSING 157.00$        

M8816 CHAIN ROLLER 3 UHMW 43.00$          

M8817 WELD CENTER BOSS 150.00$        

M8823 CHAIN CASE COVER *** TM7/TM8/MX8 130.00$        

P009204 BEARING INSERT 1.38ID X2.83ODX1.26 48.00$          

P009400 BEARING TAK 1.38ID PILLOW BLOCK 302.00$        

P009500 BEARING INSERT 1.38 G1106KPPB  2/COL*** 163.00$        

P009501 BEARING INSERT 1.38ID NA207-22-LT W/O co 35.00$          

P009700 BEARING RTU 1.38ID 266.00$        

P010300 BEARING TAK 1.5ID PILLOW BLOCK 263.00$        

P010401 BEARING INST 1.5IDX3.15X 1.69 NA208-24-L 132.00$        

P012200 ***BEARING 1.75ID G1112KPPB4*** 180.00$        

P012201 BEARING INST 1.75IDX3.35 ODX1.69   W/O C 135.00$        

P015000 BEARING FLG 1.38ID VCJT 145.00$        

P015102 BEARING HCC-207-22-TRL 159.00$        

P015200 ***HOUSING: 1 3/8 TAP BASE*** 389.00$        

P015209 HOUSING:  72MM  SLEEVE 96.00$          

P015210 BRG HOUSING:  1-1/2 79.00$          

113



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

P015215 BRG HOUSING:  1-3/4 85.00$          

P015300 COLLAR:1 1/2LOCKING 48.00$          

P015301 COLLAR:1 3/8LOCKING 34.00$          

P015302 COLLAR:1 3/8 NON-LOCK 31.00$          

P015303 COLLAR:1 3/4LOCKING 44.00$          

P015304 COLLAR:1 3/8LOCKING 30.00$          

P015305 COLLAR:1 3/8NON-LOCK 18.28$          

P015306 COLLAR:1 1/2 NON-LOCK 32.00$          

P015307 CAP BEARING 1-1/2 PLD 17.51$          

P015308 COLLAR BRG 1 1/2 PLD NON-LOCK 17.51$          

P015309 COLLAR BRG 1 3/4 PLD NON-LOCK 20.06$          

P015310 BEARING CAP 1 3/8 PLD 39.00$          

P060100 BELT SPLICE-AM 20 RIVET 45.00$          

P065200 BELT CONVEYOR MOLDED 24W x 181.5L x 5/16 2,136.00$    

P098810 HEX BOLT:1/2 X 2 1/2GR.5 FULL THREAD 2.06$            

P100402 HEX BOLT:1/4 X  1/2 GR5Z 1.27$            

P100403 HEX BOLT:1/4 X  3/4 GR5Z 1.27$            

P100406 HEX BOLT:1/4 X 1 1/2GR5Z 1.27$            

P100503 BOLT HEX 5/16-18 X 3/4 GR5Z 1.03$            

P100505 HEX BOLT:5/16 X 1 1/4G.5 Z 1.27$            

P100603 HEX BOLT:3/8 X  3/4 GR.5 Z 1.27$            

P100604 HEX BOLT:3/8 X 1GR.5ZINC 1.27$            

P100605 HEX BOLT:3/8 X 1 1/4GR5Z 1.27$            

P100606 HEX BOLT:3/8  X 1 1/2GR5 Z 1.27$            

P100608 HEX BOLT:3/8 X 2GR.5ZINC 1.27$            

P100613 HEX BOLT:3/8-16 x 3-1/ 4 GR5 2.06$            

P100614 HEX BOLT:3/8 X 3 1/2GR5Z 0.59$            

P100803 HEX BOLT:1/2 X  3/4 GR.5 Z 1.27$            

P100804 HEX BOLT:1/2 X 1GR.5ZINC 1.27$            

P100805 HEX BOLT:1/2 X 1 1/4GR.5 Z 1.27$            

P100806 HEX BOLT:1/2 X 1 1/2GR.5 Z 1.43$            

P100807 HEX BOLT:1/2 X 1 3/4GR.5 Z 1.27$            

P100808 HEX BOLT:1/2 X 2 GR8 Z 2.60$            

P100810 HEX BOLT:1/2 X 2 1/2GR.5 Z 1.54$            

P100811 HEX BOLT:1/2 X 2 3/4GR.5 Z 2.27$            

P100812 HEX BOLT:1/2 X 3GR.5ZINC 2.48$            

P100816 HEX BOLT:1/2 X 4GR.5ZINC 1.67$            

P101010 HEX BOLT:5/8 x 2-1/2GR.5 Z 3.14$            

P101013 HEX BOLT:5/8 X 3 1/4 GR. 5 Z 1.89$            

P101018 HEX BOLT:5/8 X 4 1/2GR.5 Z 2.34$            

P101020 HEX BOLT:5/8 x 5 GR.5Z 4.55$            

P101218 HEX BOLT:3/4 X 4 1/2GR.5 Z 4.35$            

P101230 HEX BOLT:3/4-10 X  7 5/8 ' GR.5 15.67$          

P101622 HEX BOLT:1-14 X 5 1/2 GR 8Z 13.84$          

114



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

P102012 HEX BOLT:5/8  X  3 GR.8 4.12$            

P102403 HEX BOLT:1/4-28 x 3/4 FN THD 1.27$            

P102608 HEX BOLT:3/8-24 X 2 GR.5 Z 1.27$            

P102629 HEX BOLT:3/8-24 X 7 1/4G 5 SPECIAL 12.46$          

P102805 HEX BOLT:1/2-20 X 1 1/4G 5Z 1.27$            

P102808 HEX BOLT:1/2-20 X 2GR. 5 Z 1.27$            

P103138 HEX BOLT:3/4-10x9 5/8 PLD 30.00$          

P103208 HEX BOLT:3/4-10 X 2 GR.5 Z 32.00$          

P103512 HEX BOLT:5/8 X 3 GR.5.1 SERRATED FLANGE 9.31$            

P104506 CARRIAGE:5/16X 1 1/2GR5Z 1.27$            

P104714 CARRIAGE:7/16X 3 1/2GR5Z 3.48$            

P108512 SETSCREW:5/16 X 3/4 1.27$            

P108610 SETSCREW:3/8  X 5/8 1.27$            

P108616 SETSCREW:3/8  X 1 1.27$            

P108620 SETSCREW:3/8 X 1 1/4 1.27$            

P110901 CAPSCREW:1/4-20 X 3/4 BU TTONHEAD PLATED 1.27$            

P111002 3/4  X  11  UNPLATED 13.71$          

P115406 FILLISTER BOLT:1/4X 1 1/ 2 PHILLIPS BAND 0.88$            

P116204 COTTER PIN: 1/8 X 1 0.32$            

P116306 COTTER PIN: 3/16 X 1 1/2 1.03$            

P118620 CLEVIS PIN: 5/8 X 4 5/8C 1038 YEL ZINC 3.39$            

P118700 CLEVIS PIN: 3/8 X 1 1/4 1.27$            

P120150 CLEVIS PIN: 3/4 X  3 9.53$            

P120210 CLEVIS PIN: 3/4 X 4 3/4( 5 1/2) # 00074 3.90$            

P120600 CLEVIS PIN: 3/4 X 2 7/8 7.00$            

P121200 HITCH PIN: 3/4 X 4 1/4 # 15210 Z PLATED 10.37$          

P122201 ROLL PIN: 1/8  X  3/8 1.03$            

P126250 CATEGORY I-II BUSHING 3.01$            

P126270 POP RIVET: 3/16DIA. 1.03$            

P127110 L - BOLT:  1/2 X 6 1/2 B ENT AT 90 DEG 4.61$            

P127200 U-BOLT:3/8 X 1 1/2 X 5 1 /2 3.90$            

P128150 U-BOLT:1/2 X  4 X  5 1/4 10.57$          

P128213 U-BOLT:1/2 X 3 1/4 X  21 /4 3.46$            

P128318 U-BOLT: 1/2 X  4 1/4 X 3 .06 5.46$            

P128324 U-BOLT:1/2 X  2 1/16 X6 5.34$            

P128328 U-BOLT:1/2 X  2 X  7 1/4 39.00$          

P128393 U-BOLT: 3/8 X  3 X 4 1/4 4.43$            

P128410 U-BOLT: 5/8 X 2 X 7 1/4Z INC 7.75$            

P128415 U-BOLT: 5/8 X 2.563 X  7 -5/8 12.04$          

P128440 U-BOLT .625 X 4.00 X 4.5 PLD 6.75$            

P128450 U-BOLT 5/8 X 4 X 5 1/2 7.85$            

P128500 U-BOLT 5/16 X 4 1/2 X 3 .25 11.50$          

P128605 CLAMP BAND 29.00$          

P128605P CLAMP: BAND 24.00$          

115



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

P129500 U-BOLT: 3/4 X 5 1/2 X 4 X 5 1/2 PLD 21.00$          

P135001 SPRING HOOK  7mm x 1/4 # 0500499 2.06$            

P150600 HEX NUT: 3/8 PLATED 0.64$            

P150601 HEX NUT: 3/8 FINE THREAD 0.64$            

P152450 SQ HD NUT: 1/2  HEAVY 4.12$            

P152600 SQ HD NUT: 5/8HEAVY 6.18$            

P152700 SQ HD NUT: 3/4-10 HEAVY 20.32$          

P155300 NUT: 5/16 -18 HEX JAM 0.64$            

P155350 NUT: 5/16-18 TOP-LOCK 1.03$            

P155450 NUT: 3/8 TOP-LOCK 1.03$            

P155850 NUT: 1/2-13 TOP-LOCK 0.64$            

P155851 NUT: 1/2-13 GR 8  FLANGE ZINC 0.78$            

P155852 NUT: 1/2- 20 TOP-LOCK FI NE 0.70$            

P156401 NUT: 1 -14 TOP-LOCK FINE 8.23$            

P156402 NUT: 1-14 SLOTTED JAM ZI NC PLATED 2.73$            

P157120 NUT: 3/4-10 TOP-LOCK 4.05$            

P157200 NUT: 1/2-13 JAM 0.23$            

P157500 NUT: 5/8-11 TOP-LOCK 2.03$            

P157501 NUT: 5/8-11 ELASTIC STOP 1.03$            

P158000 NUT: 3/4-16 SLOTNUT PLAT ED FINE 2.47$            

P158003 NUT: 1/4 ELASTIC LOCK 0.64$            

P158005 NUT: 1/2-13 ELASTIC STOP 0.95$            

P158006 NUT: 1/2-13 SLOTNUT PLAT ED 0.95$            

P158007 NUT: 3/8-16 ELASTICLOCK 0.12$            

P205100 GEARBOX 2:1 TM7 1,702.00$    

P205400 GEARBOX 2:1 T6 859.00$        

P205403 BEARING CONE #514137 30.00$          

P205404 1 3/8 SEAL #513569 14.03$          

P205408 PINIONSHAFT(2:1) 350.00$        

P205410 BEARING CUP #414276 10.57$          

P241111 SOLENOID CART S-6 SV08-4 7C-0-N-00 112.00$        

P243001 CARTRIDGE SV08-47D-O-N S -6 F VALVE P243 157.00$        

P243004 VALVE CHECK VALVE -CV08- 20-V-25 37.00$          

P243007 O-RING KIT:#SK08-2V-T/B 10.80$          

P243500 VALVE: JEM031212-A   MxS eries 890.00$        

P243501 MX Series Cartridge Valv e:SV10-57D-O-N- 186.00$        

P243502 MX Series Coil: 6351012 49.00$          

P243503 Mx Series E-COIL: 430351 2 42.00$          

P243505 CAT COIL : 4304112 60.00$          

P243506 VALVE JEM031212-B  (CAT VERSION) 734.00$        

P243509 RELIEF VALVE FRO P243500 ( RVO8-22H-O-N- 58.00$          

P246000 HOSE .25x27 4FJ-6FJ 3K HS 38.00$          

P246134 HOSE .25x34 4FJ-6FJ 5K HS 31.00$          

P246135 HOSE .25x34 6FJ-6FJ 3K HS 31.00$          

116



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

P246366 HOSE .25x66 6MB-8MP 3K 43.00$          

P246472 HOSE .25x72 6MB-8MP 3K 46.00$          

P255685 HOSE .63x44 12FJ-12FJ90 3.5K HS 68.00$          

P255716 HOSE .63x56 12FJ-12FJ90 3.5K HS 123.00$        

P255736 HOSE .63x66 12FJ-12FJ 3K HS 75.00$          

P255737 HOSE .63x68 12FJ-12FJ90 3.5K HS 161.00$        

P256001 REPAIR KIT:1 1/2 HYD REP 52.00$          

P257000 CYL ASSY 2.00x.75x8.00 2.5K CLEVIS CLEVI 253.00$        

P257501 REPAIR KIT: MELROE CYLIN DER 78.00$          

P257601 SEAL KIT DA-200-125-RPK -POP 93.00$          

P261350 ELBOW 90 6MB-6MJ 11.97$          

P261400 ELBOW 90 4MB-4MJ 4.17$            

P265500 TEE 6MJ-6MJ-6MB 8.56$            

P270400 PLUG 6B RESTRICTOR 24.00$          

P272600 COUPLER: 8010-4P 21.00$          

P272660 COUPLER: 6608-10-10 31.00$          

P272661 COUPLER: 6610-10-10 19.19$          

P272670 QD 8 FF F 12FB ISO 16028 56.00$          

P272671 QD 8 FF M 12FB ISO 16028 30.00$          

P276200 FTG 10MB-10MJ 5.70$            

P276210 FTG 10MJ-10MJ BH 21.00$          

P276450 FTG 12MB-12MJ 10.30$          

P276458 FTG 10MJ-12MB 9.76$            

P276650 FTG 12MJ-12MJ BH 18.55$          

P278001 PLUG HEX HEAD 8P BREATHER PLD 32.00$          

P290301 VALVE: SOLENOID  SV08-31 -0-N-00 89.00$          

P290302 VALVE: 6303012  COIL*** 48.00$          

P290304 VALVE:# 6301012 COIL S-6 D 33.00$          

P290700 VALVE:   JEM970110 1,688.00$    

P295009 1NT1-7 TOGGLE SWITCH 42.00$          

P295024 920430 18 MALE CABLE 31.00$          

P295029 MAGNET CHANNEL CH-35 ZINC 8.20$            

P295032 #24 TEST CLIP 4.72$            

P295033 #26R RED INSULATOR 4.39$            

P295034 #26B BLACK INSULATOR 4.39$            

P295057 HD36-18-8SN-059 126.00$        

P295110 DT SERIES SOCKET PLUG (D T06-2S) 2.91$            

P295111 SECONDARY LOCKING WEDGE W2S 0.63$            

P350200 MOTOR 12.5 CID 1.25 14T 4BOLT STANDARD-B 1,578.00$    

P350202 HYD MOTOR:  MOTOR SEAL 6 1236 47.00$          

P350203 KIT SEAL MOTOR 4000 EATON 35.00$          

P350300 MOTOR 15.00 CID 1.25 14T 4BOLT STANDARD 1,539.00$    

P350302 SEAL KIT REAR 61234-000 F/ P350300 49.00$          

P350350 MOTOR 15.00 CID 1.50 17T 4BOLT STANDARD 1,706.00$    

117



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

P350351 COMPLETE SEAL KIT #61253 -000 84.00$          

P350500 MOTOR 8 CID 1.25 14T 2BOLT-A EATON 837.00$        

P350501 SEAL KIT FOR P350500 612 58 86.00$          

P400001 35R REPAIR KIT 03-10045S*** 53.00$          

P400002 14R REPAIR KIT   03-1013 4S*** 63.00$          

P400019 FRICTION DISC 11-10143 45.00$          

P400020 SPRING 51.00$          

P400021 SPRING 6.51$            

P400031 REPAIR   KIT 26-10070*** 29.00$          

P400036 1.375 RD. END YOKE  #140 1/11/83*** 93.00$          

P400041 LOCK YOKE #14121-1010 82.00$          

P400100 FRONT PTO 232-19395 T-6 533.00$        

P400100-1 FRONT HALF #93-19395 242.00$        

P400100-2 BACK HALF   #92-19395 211.00$        

P400101 SHIELD FOR FRONT HALF 49.00$          

P400102 SHIELD FOR   BACK  HALF 64.00$          

P400105 CLUTCH: INLINE 6 SPLINE 868.00$        

P400106 SPLINE DRIVE CH461S6S TE ROG CLUTCH 225.00$        

P400107 SPRING     # 3246 14.91$          

P400108 SLEEVE # PLT23 30.00$          

P400109 FRICTION DISC   # CF46I 51.00$          

P400150 FRONT PTO W/CLUTCH  #232 -23726  Tm4 948.00$        

P400151 CLUTCH ASSEMBLY W/O HUB**** (#38-50055) 448.00$        

P400200 FRONT PTO W/CLUTCH TM5 839.00$        

P400400-1 FRONT HALF 93-15133 355.00$        

P400400-2 BACK HALF  FRONT PTO 221.00$        

P400511 END YOKE 1 3/8 BORE 35 SER*** PTO806352 69.00$          

P400705 YOKE & SHAFT #99-15157 123.00$        

P400750-1 CLUTCH HALF SIDE PTO 669.00$        

P400750-2 BACK HALF SIDE PTO #92-1 5157 200.00$        

P400751 CLUTCH ASSY LESS HUB*** 443.00$        

P400752 #20-15143    DRIVE PLAT E*** 65.00$          

P400753 # 80311-1000 PRES. PLATE*** 76.00$          

P400754 CLAMP PLATE #38-40075*** 42.00$          

P400755 #11-11167 FRICTION DISC*** 46.00$          

P400758 #38-60320  YOKE & HUB MI N.10/ORDER 322.00$        

P400760 HEX BOLT:GR8 5/16 X 1 FULL THREAD BLK O 1.27$            

P400762 SPRING: (#9000)  #23-150 38*** 123.00$        

P400805 OUTER GUARD 97-15133 45.00$          

P400809 INNER GUARD 96-15133 40.00$          

P400850 SIDE PTO  T-6 860.00$        

P400850-1 CLUTCH HALF #93-20673 807.00$        

P400850-2 BACK  HALF #92-20673 224.00$        

P400852 YOKE AND TUBE T6*** 216.00$        

118



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

P400853 SHIELD OUTER 60.00$          

P400854 SHIELD INNER 53.00$          

P403250-1 CLUTCH HALF 92-18842 623.00$        

P403250-2 BACK HALF SIDE 93-18842 347.00$        

P403252 CLUTCH ASSY LESS HUB (18 000) 416.00$        

P403258 #38-60006 YOKE & HUB (18 000SERIES) 292.00$        

P403300 FRONT  PT0  #232-16741 1,059.00$    

P403300-1 FRONT HALF  93-16741 286.00$        

P403300-2 BACK HALF #92-16741 286.00$        

P403303 OUTER GUARD 97-16741 73.00$          

P403304 INNER GUARD 96-16741 72.00$          

P403500 PTO:  #242-23301 FRONT35 E 708.00$        

P403500-1 FRONT PTO TRACTOR HALF ( 93-23301) 350.00$        

P403500-2 FRONT PTO GEARBOX HALF ( 92-23301) 290.00$        

P403504 #97-23301 OUTER GUARD 127.00$        

P403505 #96-23301 INNER GUARD 131.00$        

P403550 PTO: #252-23302 SIDE 956.00$        

P403550-2 SIDE PTO GEARBOX HALF (9 3-23302) 360.00$        

P403553 #97-23302 OUTER GUARD 146.00$        

P403554 #96-23302 INNER GUARD 151.00$        

P403555 CLUTCH ASS. W/O HUB #38-50012*** 418.00$        

P403556 #20-15133  SEPERATOR PLA TE 59.00$          

P477000 CHAIN IDLER (6235K75) 41.00$          

P477005 #RBRRU1 CHAIN IDLER 81.00$          

P481010 BUSH:43950D X.251ID X 7/ 8 1.65$            

P500100 QUADRING SEAL 4357 366Y 11.58$          

P500138 O-RING: #028 BUNA N70  1 3/8 I.D. 6.82$            

P500175 O-RING: 031 BUNA N70 1-3 /4 ID 3.49$            

P500200 O-RING: .094 X 3.75 SIZE -154 BUNA-N 70 4.45$            

P500201 O-RING:.375  X   2.375 I .D. 10.90$          

P500202 O-RING/32 X 4 3/4 OD 158 BUNA N 70 5.84$            

P500203 O-RING: .375 X 2.625 I.D . 5747 BUNA N70 6.61$            

P500204 O-RING:.250 x 2.2 IDx 2. 7OD 5747 BLK 70 5.67$            

P500205 O-RING: .430 X 1.438 I.D .50DURO BUNA N 13.84$          

P500210 O-RING: 3/32 X 1 3/4I.D. X 1 15/16O.D. 1.52$            

P500300 1/4 SEALING WASHER 600-0 1/2/04 1.55$            

P500302 1/4 RUBBERFACED WASHER 0.69$            

P601000 SPRING.362O.T.SHORT COMP . 10.03$          

P601200 SPRING: 1 3/4O.D. X 9 25.00$          

P603500 SPRING 5 (1 1/4 ID:5 1/2 L) 27.00$          

P604100 TORSION SPRING 20.40$          

P604500 SPRING 3 COMPRESSION 25.00$          

P604600 EXTENSION SPRING: 3/4OD 7.75$            

P604605 EXTENSION SPRING 10.04$          

119



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

P604700 SPRING: 1 1/16X 5 1/4 8.96$            

P604800 SPRING  4 EXTENSION 10.04$          

P604850 SPRING: EXT 1.35  X  3.5 7.45$            

P604900 SPRING:  EXTENSION  1.06 X 5.73 49.00$          

P605000 SPRING BUMPER 30.00$          

P622600 #210 HAIRPIN CLIPS (HAIR -10) 0.79$            

P622620 RUE RING: 1 RUE-42 0.92$            

P630201 CONNECTING LINK:#60 H 7.36$            

P630202 CONNECTING LINK: #60-2 12.97$          

P630203 CONNECTING LINK:#50-2 9.96$            

P631201 OFFSET LINK: #60 HEAVY 11.81$          

P631202 OFFSET LINK:#60-2 26.00$          

P631203 OFFSET LINK: #50-2 9.03$            

P635005 SHAFT: 1 3/8 21 SPL DRIV W/SPL 161.00$        

P635025 SHAFT: 1 3/8-21SPL.ROLLE R 285.00$        

P651301 SPROCKET:50-B-13HT 1BORE 1/4KWY 47.00$          

P651700 SPROCKET 50B17HT 1 3/8-21 SPLINE 177.00$        

P652100 D50B13HT 1 3/8-21SPLINE 148.00$        

P652170 D50B17HT 1 3/8-21SPLINE 152.00$        

P652180 D50B18HT 1 3/8-21SPLINE 156.00$        

P652200 D50B22HT 1 1/4-14SPLINED RIVE SPROCKET 137.00$        

P652201 D50B22HT 1 3/4-27SPLINER OLLER SPROCKET 134.00$        

P652202 SPROCKET 50B22HT  1 1/4-14SPLIN E 193.00$        

P653200 50B32HT 1 1/8BORE 1/4KWY 129.00$        

P661110 60B11HT 1 1/8BORE 1/4 KW Y 32.00$          

P661115 6011E10 5/8BORE IDLER 38.00$          

P661200 60B12HT 1 3/8BORE 5/16KW Y 31.00$          

P661310 60B13HT 1 3/8BORE 1/4KWY 67.00$          

P661400 60B14HT 1 3/8BORE 5/16KW Y 204.00$        

P661410 60B14HT 1 1/2BORE 3/8KWY 87.00$          

P661411 D60B14HT 1 3/8-21SPLINE 411.00$        

P661412 D60B14HT 1 1/2-23SPLINE 315.00$        

P661415 DS60A14 1 3/8 BORE 120.00$        

P661515 60B15HT 1 3/8 BORE 5/16 KEYWAY 25.00$          

P661600 D60B16HT 1 3/8-21SPLINE 905.00$        

P661800 D60B18HT 1 3/8-21SPLINE 128.00$        

P661801 D60B18HT 1 3/4-27SPLINE SPROCKET 325.00$        

P661802 D60B18HT 1 1/2-23SPLINE SPROCKET 186.00$        

P661803 60B18HT 1 3/8-21SPLINE 358.00$        

P661804 60B18HT 1 1/4-14SPLINE 79.00$          

P661805 60B18HT  1 1/2-23SPLINE 122.00$        

P661806 D60B18HT 1 1/2-17SPLINE 128.00$        

p661810 DH60B18HT 1 3/4-20 SPLIN E 146.00$        

P662200 60B22HT 1 3/8BORE 5/16KW Y 116.00$        

120



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

P700100 TINES:TR38 DANISH DIGGER 43.00$          

P700200 BRACKET 8' DANISH TINE 2"x2" 13.97$          

P700300 SHOVEL:  G1B 7.36$            

P700400 SHOVEL BOLT:  3/8 x 1-1/ 4(6021-300) 1.27$            

P701000 TINES:HU-06662B 1 1/4 X3 /8 45.00$          

P701010 BRACKET: J-00045 1 1/2 S Q. 10.37$          

P702700 BRACKET: 1 1/2 X 1 1/2 5.70$            

P752100 ASSY TIRE/WHL/HUB 13 X 500-6 2PLY 107.00$        

P756151 WHEEL BEARING KIT*** 50.00$          

P756160 ASSY TIRE/WHL 16.5x6.5x8 #65063 139.00$        

P756161 HUB WITH RACE UNPAINTED ** DO NOT SELL 44.00$          

P756162 GREASE SEAL ( 22532) 45.00$          

P756163 GREASE SEAL (#CHR-12428) 9.22$            

P756165 WHEEL NUT 1/2-20 GL-001 6 1.52$            

P756300 ASSY TIRE/WHL 20.5x8x10 GLOSS BLACK 273.00$        

P756310 INNER WHEEL CONE LM50134 9 37.00$          

P756311 INNER WHEEL CUP LM501310 8.24$            

P760300 INNER CONE (BRG) #LM4854 8 10.57$          

P760500 INNER  CUP  (RACE) #4851 0 6.48$            

P761800 BEARING CONE   #25580 49.00$          

P761900 BEARING CUP #25520 29.00$          

P762100 INNER WHEEL CUP (RACE) 4 4610 17.41$          

P762200 INNER WHEEL CONE  L44643 6.47$            

P771000 WHEEL AND TIRE W3 47.00$          

P850104 WASHER: FLAT ZINC-1/4 4.50$            

P850116 WASHER: FLAT ZINC - 1 0.93$            

P850609 WASHER: FLAT PLAIN- 9/16 1.03$            

P850612 WASHER: FLAT PLAIN - 3/4 1.34$            

P850620 WASHER: FLAT ZINC PL - 1 1/4 2.13$            

P850624 WASHER: FLAT PLAIN-1 1/2 2.92$            

P850812 WASHER: 3/4  SAE PLATED 0.89$            

P851104 WASHER: LOCK 1/4 0.64$            

P851105 WASHER  LOCK  5/16 1.03$            

P851106 WASHER: LOCK  3/8 0.64$            

P851108 WASHER: LOCK  1/2 1.03$            

P851110 WASHER: LOCK  5/8 1.03$            

P851606 WASHER: HEAVY 3/8 3.14$            

P851616 WASHER: HEAVY 1 8.29$            

P852001 WASHER: ZINC  16MM 1.03$            

P852200 FELT DISC:3/32 X 2ID X 3 OD 2.80$            

P852300 FELT DISC: M-4  T-5 2.80$            

P852400 FELT DISC: 3/32 x 2-1/4I Dx 3-1/2 OD 3.30$            

P852608 WASHER: 1/2 GR. 8 PLD 0.94$            

P855116 N.R.MACH.BUSH: 10GA X 1 1.67$            

121



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

P855120 N.R.MACH.BUSH:10GA.X 1 1 /4 1.59$            

P855122 N.R.MACH.BUSH:10GA.X 1 3 /8 3.01$            

P855124 N.R.MACH.BUSH:10GA.X 1 1 /2 10.30$          

P855128 N.R.MACH.BUSH:10GA.X 1 3 /4 1.59$            

P855320 N.R.MACH.BUSH:14GA.X 1 1 /4 1.59$            

P855322 N.R.MACH.BUSH:14GA.X 1 3 /8 1.59$            

P855324 N.R.MACH.BUSH:14GA.X 1 1 /2 4.08$            

P855328 N.R.MACH.BUSH:14GA.X 1 3 /4 1.59$            

P855508 N.R.MACH.BUSH:18GA.X 1/2 1.59$            

P855522 N.R.MACH.BUSH:18GA.X 1 3 /8 1.59$            

P855524 N.R.MACH.BUSH:18GA.X 1 1 /2(P6)F1 16.82$          

P855528 N.R.MACH.BUSH:18GA.X 1 3 /4 1.59$            

P858000 K3000-K-135 Belleville W asher 38.00$          

P900100 YOKE: J4  #69115 13.31$          

P952100 916-R 1 1/2 SNAP RING 4.95$            

P952112 974R 1 3/4 SNAP RING 3.32$            

P952200 SNAP RING:  823-X 1 3/8 S 1.91$            

P952224 SNAP RING: 5/8 HEAVY #SH F-62 1.65$            

P952250 EXR100 1 EXTERNAL RING 1.59$            

P952251 SNAP RING: 1 3/16 #334 5.84$            

P952260 ROTOR RING CLIP: 1 I.D.# TX-100 0.64$            

P955850 RUBBER TUBE CAP: 1/2 X 3 070325-89-BLACK 3.00$            

P956400 GMBS SLIDE PLATE 291.00$        

P970003 DECAL: CHECK OIL LEVEL 5.59$            

P970004 DECAL: WARNING SAFETY 5.59$            

P970005 DECAL:  LOCKOUT 5.59$            

P970010 DECAL: LOCKOUT PIN 3.32$            

P970100 DECAL: 'A' WARNING 2.88$            

P970250 DECAL:DANGER 4 3/4X6 1/4 6.86$            

P970251 DECAL: DANGER 2 1/2 X 8 6.25$            

P970300 DECAL: 'C' WARNING 5.59$            

P970301 DECAL:2 1/8 X 2 1/2 DANG R 3.38$            

P972500 MANUAL OPER MX7 HARLEY 12.71$          

P975112 DECAL: TPR7200    56917 T-6 12.91$          

P975122 DECAL:  WOODS #55121 WAR NING 17.78$          

P975800 DECAL: HARLEY LOGO  BLAC K 4.65$            

P975801 DECAL: HARLEY LOGO  WHIT E 4.12$            

P975916 LABEL PWR BOX RAKE T6 CHAIN CASE 36.00$          

P975918 DECAL:POWERBOX RAKE TRAC T8 37.00$          

P975923 LABEL PWR BOX RAKE TM4 27.00$          

P975934 LABEL PWR BOX RAKE M4 CHAIN CASE 31.00$          

P975935 LABEL PWR BOX RAKE M6 CHAIN CASE 21.00$          

P975939 LABEL PWR BOX RAKE MX7 CHAIN CASE 37.00$          

P975940 DECAL: Mx7 FRONT FRAME 12.45$          

122



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

P975941 DECAL: Mx7 TOP FRAME 7.88$            

P975942 DECAL: Mx7 END PLATE 5.21$            

P975943 DECAL: MX SERIES CYL  (O VAL) 5.84$            

P975945 LABEL PWR BOX RAKE MX8 CHAIN CASE 37.00$          

P975946 DECAL: M8X FRONT FRAME 15.04$          

P976400 DECAL: 2 X 9 RED REFLECT OR 6.10$            

P976500 DECAL: LIFT (HOOK) 5.08$            

R99000010 SHRINK TUBE 1/4 HEAT #22 204 2.49$            

RDB0758-0000 DB EDGE .75-8.00 61.00$          

RDL3100-0000 WARNING - FLYING OBJECTS 4.39$            

RDL3101-0000 WARNING ROLLOVER 4.28$            

RDL3102-0000 WARNING SHIELD 2.49$            

RDL3108-0000 WARNING - HANDS & FEET Q A 3.81$            

RDL3118-0000 LABEL LOGO FFC MED 7| 2.54$            

RDL3123-0000 WARNING - PIVOTING ATTAC HMENT 4.12$            

RDL3125-0000 WARNING CRUSH HAZARD KEE P CLEAR 2.55$            

RDL3137 MADE IN USA NO FFC LOGO 1.14$            

RDL3139-0000 LABEL SAFETY INSTRUCTION S BRADCO 2.60$            

RDL3150-0000 PREPARATOR 4X30 17.79$          

RDL3159-0000 CAUTION - EYE PROTECTION 4.50$            

RDL3161-0000 WARNING-AUGER SNOWBLOWER 5.08$            

RDL3163-0000 DANGER-ROTATING FAN 6.35$            

RDL3178-0000 SAFETY - CAUTION - NOT A STEP 5.91$            

RDL3179-0000 LIFT POINT LABEL (HOOK) 2.66$            

RDL3180-0000 LABEL - IMPORTANT - CHAI N TENSION 5.91$            

RDL3244 LABEL LOGO NH 19.38x2.0 15.01$          

RDL3301-0000 LABEL DEPTH SCALE SSP LF PLANER 7.54$            

RDL3302-0000 TILT INDICATOR DECAL F/A LL PLANERS 8.02$            

RDL3303-0000 HGH FLOW DEPTH SCALE DEC AL F/PLANER 7.62$            

RDL3304-0000 4 IN FFC DECAL 4.28$            

RDL3314-0000 DECAL-DANGER ROTATING SH AFT 7.30$            

RDL3500-0000 FFC PREPARATOR DECAL KIT 91.00$          

RDL6800-0000 FFC AUTO RAKE DECAL KIT 79.00$          

RHW1043-0000 HHCS .25-20-2.50 GR 8 1.03$            

RHW1101-0000 HHCS .31-18-.50 GR 5 1.03$            

RHW1105-0000 HHCS .31-18-1.00 GR 5 0.24$            

RHW1108-0000 HHCS .31-18-1.5 GR 5 1.03$            

RHW1109-0000 HHCS .31-18-1.75 GR 5 1.03$            

RHW1110-0000 HHCS .31-18-2.00 GR 5 1.03$            

RHW1111-0000 HHCS .31-18-2.25 GR 5 1.03$            

RHW1112-0000 HHCS .31-18-2.50 GR 5 1.27$            

RHW1212-0000 HHCS .38-16-2.25 GR 5 1.27$            

RHW1213-0000 HHCS .38-16-2.50 GR 5 1.03$            

RHW1215-0000 HHCS .38-16-3.0 GR 5 1.03$            

123



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

RHW1218-0000 HHCS .38-16-3.75 GR 5 2.06$            

RHW1221-0000 HHCS .38-16-5.0 GR 5 2.06$            

RHW1305-0000 HHCS .44-14-1.5 GR 5 0.53$            

RHW1406-0000 HHCS .50-13-1.75 GR 5 NY LOCK PATCH 2.24$            

RHW1407-0000 HHCS .50-13-2.0 GR 5 1.27$            

RHW1413-0000 HHCS .50-13-3.50 GR 5 1.27$            

RHW1423-0000 HHCS .50-13-8.0 GR 5 7.62$            

RHW1430-0000 HHCS .50-13-12.0 GR 5 10.88$          

RHW1465-0000 HHCS .50-13-4.0 GR 5 FUL THRD 2.06$            

RHW1601-0000 HHCS .63-11-1.25 GR 5 2.06$            

RHW1603-0000 HHCS .63-11-1.75 GR5 W/T RD LCK PTCH 3.57$            

RHW1604-0000 HHCS .63-11-2.0 GR 5 1.27$            

RHW1605-0000 HHCS .63-11-2.25 GR 5 2.06$            

RHW1608-0000 HHCS .63-11-3.0 GR 5 4.12$            

RHW1610-0000 HHCS .63-11-3.50 GR 5 2.37$            

RHW1612-0000 HHCS .63-11-4.0 GR 5 3.57$            

RHW1620-0000 HHCS .63-11-8.0 GR 5 7.62$            

RHW1666-0000 HHCS .63-11-6.0 FULL THD GR5 5.15$            

RHW1703-0000 HHCS .75-10-1.50 GR 5 2.54$            

RHW1707-0000 HHCS .75-10-2.50 GR 5 4.12$            

RHW1715-0000 HHCS .75-10-5.0 GR 5 6.18$            

RHW1908-0000 HHCS 1.0-8-2.50 GR 5 8.24$            

RHW1912-0000 HHCS 1.0-8-4.50 GR 5 11.33$          

RHW1915-0000 HHCS 1.0-6.00 FLL THRD G R 5 ZNC PLT 42.00$          

RHW1971-0000 HHCS 1.125-7-4.00 GR 5 25.00$          

RHW2003-0000 CARR .25-20-1.0 GR 5 0.41$            

RHW2135 SCREW SOC HD FL GR5 5/16-18X3/4 BLK OX 0.18$            

RHW2202-0000 CARR .31-18-1.00 GR5 1.03$            

RHW2205-0000 CARR .38-16-1.0 GR5 1.03$            

RHW2207-0000 CARR .38-16-1.25 GR5 1.27$            

RHW2237-0000 SQ HD SS .38-16-1.0 CUPP ED 1.27$            

RHW2404-0000 CARR .50-13-1.25 GR5 1.27$            

RHW2405-0000 CARR .50-13-1.50 GR5 1.27$            

RHW2406-0000 CARR .50-13-1.75 GR 5 ZC 1.27$            

RHW2407-0000 CARR .50-13-2.0 GR5 1.27$            

RHW2439-0000 SQ HD SS CUPPED.63-11-1. 50 1.87$            

RHW2601-0000 CARR .63-11-2.0 GR 8 ZP 2.06$            

RHW2663-0000 PLOW .63-11-1.75 GR 8 2.06$            

RHW2664-0000 PLOW .63-11-2.0 GR 8 3.09$            

RHW2709-0000 CARR .75-10-3.0 4.12$            

RHW4025-0000 WSR HD SCR .38-16-1.0 GR 5 1.03$            

RHW4105-0000 ALN SHLDR SCR .50-.63 W/ .38-16X.63 7.62$            

RHW4106-0000 ALN SHLDR SCR .50-.75 W/ .38-16X.63 7.62$            

RHW5031-0000 FLAT WSR SAE .19 GR2 0.29$            

124



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

RHW5062-0000 FLAT WSR USS .25 GR5 0.41$            

RHW5162-0000 FLAT WSR USS .31 GR5 0.34$            

RHW5232-0000 FLAT WSR SAE .38 GR5 1.03$            

RHW5262-0000 FLAT WSR USS .38 GR5 0.24$            

RHW5432-0000 FLAT WSR SAE .50 GR5 0.24$            

RHW5462-0000 FLAT WSR USS .50 GR5 0.24$            

RHW5532-0000 FLAT WSR SAE .56 GR5 1.27$            

RHW5632-0000 FLAT WSR SAE .63 GR5 0.17$            

RHW5662-0000 FLAT WSR USS .63 GR5 0.41$            

RHW5932-0000 FLAT WSR SAE 1.0 GR8 YEL LOW 0.67$            

RHW5970-0000 MACH BSHG 10GA 1.5ID-2.2 5 OD 1.50$            

RHW5971-0000 MACH BSHG .075-2.0ID-3.0 OD 2.17$            

RHW6002-0000 SPLIT LOCK WSR .25 GR5 0.41$            

RHW6702-0000 LOCK WSR .75 GR5 1.03$            

RHW6902-0000 LOCK WSR 1.0 1.03$            

RHW6903-0000 LOCK WSR 1.125 1.27$            

RHW7001-0000 HEX NUT .25 GR5 0.46$            

RHW7003-0000 CTR DNT LOCK NUT .25 GR5 1.03$            

RHW7101-0000 HEX NUT .31 GR5 0.34$            

RHW7103-0000 CTR DNT LOCK NUT .31 GR5 1.03$            

RHW7110 .31-18 U-STYLE CLIP NUT @.56 IN 2.37$            

RHW7201-0000 HEX NUT .38 GR5 0.34$            

RHW7203-0000 LOCKNUT CTR DNT .38 GR5 0.34$            

RHW7205-0000 JAM NUT .38 GR5 2.40$            

RHW7302-0000 NYLOCK NUT .44 GR5 0.47$            

RHW7401-0000 HEX NUT .50 GR5 0.49$            

RHW7403-0000 .50 LOCK NUT CTR DNT GR5 0.44$            

RHW7408-0000 ACORN NUT .50 GR2 1.27$            

RHW7409-0000 WLD NUT .50 GR2 HEAT TRE ATED 2.06$            

RHW7502-0000 HEX NUT .56-18 GR 8 1.27$            

RHW7601-0000 HEX NUT .63 GR5 0.44$            

RHW7602-0000 NYLOCK NUT .63 GR5 1.27$            

RHW7603-0000 LOCKNUT CTR DNT .63 GR5 1.27$            

RHW7606-0000 SLOTTED NUT .63-18 GR.5 PLTD 1.27$            

RHW7607-0000 .63-11 TOP LOCK FLANGE N UT GR8 1.81$            

RHW7609-0000 WLD NUT .63 GR2 HEAT TRE ATED ~ GR5 3.09$            

RHW7701-0000 HEX NUT .75 GR5 1.03$            

RHW7703-0000 LOCKNUT CTR DNT .75 GR5 2.06$            

RHW7704-0000 JAM NUT .75 2.06$            

RHW7901-0000 HEX NUT 1.0 1.27$            

RHW7902-0000 NYLOCK RET NUT 1.0 GR5 5.08$            

RHW7905-0000 CASTLE NUT 1.0-20 UNEF - 0.5 47.00$          

RHW7906-0000 CASTLE NUT 1.25-18 CHAR- LYNN 4K 55.00$          

RHW7951-0000 HEX NUT 1.125 UNPLATED G R 5 3.09$            

125



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

RHW7999-0000 U-BOLT .50-4.25-4.03 ZIN C PLTD GR 5 12.71$          

RHW8011-0000 COTTER .13-1.25 GR2 0.37$            

RHW8012-0000 COTTER .13-2.0 GR2 0.17$            

RHW8017-0000 COTTER .19-2.0 GR2 0.41$            

RHW8018-0000 COTTER .13-1.50 GR2 1.03$            

RHW8026-0000 ROLL PIN .31 - 1.75 0.56$            

RHW8032-0000 ROLL PIN .19 - .75 1.03$            

RHW8034-0000 ROLL PIN .50 - 2.0 2.06$            

RHW8051-0000 CLVS PIN .31-2.25 2.06$            

RHW8061-0000 LYNCH PIN .31-1.56 (1.25 USEABLE) 2.54$            

RHW8062-0000 EYEBOLT .50-13TPI-20.25 9.51$            

RHW8063-0000 EYEBOLT .50-13TPI-6.75 2.06$            

RHW8064-0000 LYNCH PIN .44-1.63 LRG R ING 2.54$            

RHW8065 BOLT SPADE .62x3.25 5.72$            

RHW8068-0000 LYNCH PIN .25-1.56 (1.31 USABLE) 1.27$            

RHW8069-0000 CLVS PIN .75-4 10.30$          

RHW8071-0000 SQ KEY .38 X 1.50 61.00$          

RHW8072-0000 SQ KEY .25 X 1.50 F/PREP ARATOR 4.15$            

RHW8075-0000 H-PIN COTTER .120-2.38 1.03$            

RHW8079-0000 SNAPPER PIN .38-2.75 (2. 5 USBL) 5.26$            

RHW8090-0000 GREASE ZERK .25-28TPI SE LF TAP 1.27$            

RHW8098 FENDER WASHER .08-.31- 1.50 GR2 1.03$            

RHW8104-0000 SNAP LOCK PIN .63-4.0 11.70$          

RHW8109-0000 HEX NUT 1.25-7 UNPLATED GR 2 4.12$            

RHW8113-0000 HHCS .63-18-1.25 GR 5 2.06$            

RHW8114-0000 RUE RING COTTER .38 REG 1.27$            

RHW8115-0000 RUE RING COTTER .75 HEAV Y 1.27$            

RHW8117-0000 FENDER WSR .08-.25-1.50 GR2 1.03$            

RHW8130-0000 RUE RING COTTER .88 HEAV Y 1.27$            

RHW8133-0000 RUE RING COTTER .50 HEAV Y 1.27$            

RHW8136-0000 SPECIAL WASHER .50-2.0 O D-.093THICK 7.62$            

RHW8146-0000 HD RETAINING RING F/ 1.0 SHAFT 5.08$            

RHW8148-0000 CLVS PIN .63-4.75 PLTD 5.85$            

RHW8150-0000 CLVS PIN .50-2.75 PLTD 1.27$            

RHW8181-0000 WASHER FL GR5 1.125 PLD USS 1.27$            

RHW8209-0000 CAT II PIN 1.115 X 6.31 33.00$          

RHW8214-0000 ALN SKT CAP SCR .63-11-1 0.5 2.34$            

RHW8216-0000 CLVS PIN 1.0-4.0 (3.75 U SBL) 15.25$          

RHW8222-0000 CLVS PIN 1.0-3.0 (2.75 U SBL) 15.25$          

RHW8225-0000 CLVS PIN .38-1.75 1.27$            

RHW8226-0000 ALN HD SET SCR .31-24-.2 5 5.37$            

RHW8227-0000 CLVS PIN .75-3.5 4.84$            

RHW8236-0000 ALN SKT CAP SCR .50-13-1 .5 2.06$            

RHW8328-0000 SWITCH SPDT MOMENTARY CE NTER-OFF 26.00$          

126



Paladin Attachments - Dexter Parts Pricing List - Effective January 2, 2013
All Prices are Subject to Change

Item Item Description List Price

RHW8346-0000 SWITCH 6 POLE DT MOM. 28.00$          

RHW8391-0000 BOOT, FULL B15320 F/ SWI TCH 26.00$          

RHW8502-0000 SPRING .63 x 2.25 x .055 34.00$          

RHW8603-0000 MACH BSHG 10GA 1.0 ID-1. 5 OD PLTD 1.31$            

RHW8604-0000 .75-10 FLG TOP L-NUT GR. 8 3.09$            

RHW8611 VINYL CAP .25-.5 1.03$            

RHW8613 WELD PLATE F/.88 OD 5.95$            

RHW8614 COVER PLATE F/.88 OD 1.67$            

RHW8616 HOSE CRADLE F/.88 OD 3.81$            

RHW8618 HOSE SPRING STAY 23.00$          

RHW8619 HOSE CRADLE F/1.33 OD 6.78$            

RHW8642 .313 RIVET NUT .150-.312 GRIP RANGE PLD 1.29$            

RHW8645 .313 RIVET NUT .027-.150 GRIP RANGE 1.03$            

RHW9001-0000 TRS HD MCH SCRW .19(10)- 24X.75 PHLP 0.06$            

RHW9002-0000 NYLOCK NUT .19(10)-24 GR2 0.06$            

RHW9004-0000 .25-20X.75 SLOT IND HX W SH THRD ZNC 2.06$            

RHW9006-0000 TRS HD MCH SCRW .19(10)- 24X1.0 PHLP 1.03$            

RMR8008-0000 2 IN AMBER REFL TAPE BUL K 4.49$            

RSB0504-0000 SB EDGE .50-4.0 UNPAINTED 13.80$          

RSB0756-0000 SB EDGE .75-6.0 41.27$          

RSB1008-0000 SB EDGE 1.0-8.0 52.00$          

127



Retain For Your Records 
DO NOT RETURN WITH YOUR BID 

 
General 

Specifications 
County 

Of 
Monroe 

 
 

DEPARTMENT OF FINANCE 
Division of Purchasing and Central Services 

 
Dawn C. Staub 

Purchasing Manager 
 

Monroe County Office Building 
39 West Main Street, Room 200 

Rochester, New York 14614 
(585) 753-1100 



 
 

FOREWORD 
 

This booklet contains the General Specifications of the County of Monroe Division of Purchasing and Central Services and 
supersedes any previous issue. The terms and conditions set forth apply to all contracts awarded by the County of Monroe 
Division of Purchasing and Central Services. 
 

DEFINITIONS 
 
POLITICAL SUBDIVISIONS: All County departments, institutions, agencies, political subdivisions (town, city, village 
public school districts) and others authorized by law to make purchases through the County Purchasing Division. 
 
BID: An offer to furnish a described commodity at a stated price in accordance with the proposal and specification. 
 
BIDDER: Any person, firm or corporation submitting a proposal to the County. 
 
COMMODITIES: Materials, supplies, equipment and non-professional services. 
 
CONTRACTOR: Any bidder to whom a contract award is made by the Purchasing Manager or Legislature. 
 
CONTROLLER: Controller of the County of Monroe. 
 
COUNTY: County of Monroe. 
 
GROUP: A classification of commodities. 
 
LATE BID: A bid received in the office of the Purchasing Division, whether in person or by mail, after the time and date 
established in the bid specifications for the bid opening. 
 
PURCHASING MANAGER: Manager of the Purchasing Division for the County of Monroe. 
 
NOTICE OF CONTRACT AWARD: The notification to all participants that a contract has been made between the County 
and the successful bidder. 
 
PROPOSAL: The form which, when issued by the Purchasing Division, constitutes an invitation to bid on the commodity 
described therein and which, when completed by the bidder, constitutes his/her bid to the County to furnish such 
commodity. 
 
PURCHASE ORDER: The official form to be used by Monroe County when placing an order for material, equipment or 
supplies with a contractor or vendor. 
 
SPECIFICATION: Description of a commodity and the conditions for its purchase. 



 
 

PROPOSALS AND BIDS 
 
1. The date and time of bid opening will be given on the proposal. 
 
2. All bids are to be submitted on forms provided by the Purchasing Division. 
 
3. All bids must be submitted in a sealed envelope clearly marked with bid number, title, opening date and time. 

Bids must not be attached to or enclosed in packages containing bid samples. 
 
4. All information required by the proposal and specifications must be supplied by the bidder. 
 
5. Each bid offered shall be construed in accordance with the specifications and proposal. The bidder must explain 

all deviations, exceptions and qualifications in detail in the bid. 
 
6. Prices and information required by the proposal, except the signature of bidder, shall be typewritten or printed in 

ink for legibility. Bids written in pencil may be rejected. The Purchasing Manager may interpret or reject illegible 
or vague bids and the decision shall be final. All signatures must be in ink. Facsimile, printed or typewritten 
signatures are not acceptable and the bid may be rejected. 

 
7. No alteration, erasure or addition of the specifications or the proposal shall be made. 
 
8. In all specifications or proposals, the words "or equal" are understood to appear after each commodity giving 

manufacturer's name or catalog reference or on any patented commodity. If bidding on commodities other than 
those specified, bidder must in every instance give the trade designation of the commodity, manufacturer's name 
and detailed specification of commodity he/she proposes to furnish. Otherwise, bid will be construed as 
submitted on the identical commodity described in the specifications. 

 
9. Used, damaged or obsolete items are not acceptable unless specifically requested and if offered or delivered, 

shall be rejected and the contract may be cancelled. 
 
10. When bids are requested on a number of commodities as a group, a bidder desiring to bid "no charge" on a 

commodity in the grouping must so indicate. Otherwise, such bid will be considered as incomplete and may be 
rejected. Any bidder failing to bid on minimum number of items specified in the bid package may have his/her bid 
declared incomplete or unresponsive and the Purchasing Manager has the discretion to reject the bid. 

 
11. The bidder must insert the price per unit specified and the price extension for each item in the bid if required. In 

the event of a discrepancy between the unit price and the extension, the unit price will govern. Prices must be 
extended in decimals, not fractions. 

 
12. Prices must be net, including transportation and delivery charges fully prepaid by contractor to the destination(s) 

indicated in the proposal, subject only to the cash discount. If the award is to be on any other basis, 
transportation charges must be prepaid by the contractor and added to the invoice as a separate item. 

 
13. Bidders are cautioned to verify their bids before submission, as bids and amendments to bids or requests for 

withdrawal of bids received by the Purchasing Manager after the time specified for the bid opening may not be 
considered. 

 
14. All bids will be opened and tabulated publicly at the time and place set forth in the proposal. 
 
15. A late bid will be rejected and cannot be considered in awarding a contract. 
  

SAMPLES 
 
16. The Purchasing Manager reserves the right to request a representative sample of the commodity at any time. 

The sample shall be furnished within the timeframe specified in the bid package. 
 
17. If in the judgment of the Purchasing Manager, the sample is not in accordance with the requirements stated in 

the specifications and the proposal, the County may reject the bid; or if an award has been made, cancel the 
contract at the expense of the contractor. 

 
18. When samples are required, failure to submit them in accordance with instructions may be sufficient cause for 

rejecting a bid or canceling an award. 
 
 
 



 
 

 
19. When an accepted sample exceeds the minimum specifications, all commodities delivered will be of same quality 

and identity as the sample. 
 
20. Samples must be submitted free of charge and be accompanied by the bidder's name and address, a statement 

indicating how and where the sample is to be returned to the bidder and descriptive literature regarding the 
commodity. Samples will be returned at the bidder's expense and risk. 

 
21. All samples are subject to tests in the manner and place designated by the Purchasing Manager. Samples 

consumed or made useless by testing cannot be returned to the bidder and the County will not be responsible for 
any costs as a result of such testing. 

 
22. Where the sample has not been impaired by testing and the bidder has failed to indicate the place and mode of 

return of the sample, it becomes the property of the County at the conclusion of the contract period. 
 
23. Samples may be held by the County during the entire term of the contract for comparison with deliveries. 
 
24. A Proposal may indicate that the commodity to be purchased must be equal to a sample on display in a 

designated place. Failure on the part of the bidder to examine such sample shall NOT entitle him to any relief 
from the conditions imposed in the proposal, specification and related documents. If feasible, standard samples 
will be submitted to the bidder for his/her examination prior to the bid opening date. 

 
25. Cash discounts will no be considered as a basis for award in any contract. 
 

AWARDS 
 
26. The Purchasing Manager reserves the right before making an award, to investigate whether or not the items, 

qualifications or facilities offered by the bidder meet the requirements set forth in the proposal and specifications 
and is ample and sufficient to insure the proper performance of the contract, in the event of award. The bidder 
must be prepared, if requested by the Purchasing Manager, to present evidence of experience, ability and 
financial standing, as well as a statement as to plant, machinery and capacity of the manufacturer for the 
production and distribution of the commodity on which he/she is bidding. If in the opinion of the Purchasing 
Manager, it is found that the conditions of the proposal and specifications are not complied with or that items 
proposed to be furnished do not meet the requirements or specifications called for or that the qualifications, 
financial standing, facilities or capacities are not satisfactory, the Purchasing Manager may reject such a bid. The 
Purchasing Manager, in no way, is required or obligated to conduct such investigation prior to awarding the 
contract. It is further understood that if such investigations are made, it in no way relieves the contractor from 
fulfilling all requirements and conditions of the contract. 

 
27. Contracts shall be awarded to the lowest responsive and responsible bidder. Responsibility is determined by 

taking into consideration the reliability of the bidder, the qualities of the articles proposed to be supplied and their 
conformity with the specifications, the purposes for which required and the terms of delivery and any historical 
performance record of the bidder that may be maintained by the County. 

 
28. A bidder may be disqualified from receiving awards if such bidder or anyone in his/her employ, has previously 

failed to perform satisfactorily in connection with public bidding or contracts. 
 
29. The Purchasing Manager reserves the right to evaluate and/or reject all bids in whole or in part and to waive 

technicalities, irregularities and omissions, if in her judgment; the best interests of the County will be served. 
 
30. The Purchasing Manager reserves the right to make awards within forty-five (45) days after the date of the bid 

opening, during which period bids shall not be withdrawn. 
 
31. If two or more bidders submit identical bids as to price, the decision of the Purchasing Manager to award a 

contract to one or more of such identical bidders shall be final. 
  

CONTRACTS 
 

32. All contracts awarded by the Purchasing Manager shall be executory only to the extent that funds are available to 
each Agency or Department for the purchase of the commodity. 

 
33. All bids shall be received with the understanding that the acceptance thereof, in writing, by the Purchasing 

Manager or governing body, shall constitute a contract between the bidder and the County. The mailing of either 
a notice of contract award identified by number or of a purchase order to the address on the bid shall be 
sufficient notice of such acceptance. 



 
 

 
 
34. Unless otherwise specified, the quantities listed in the proposal are subject to change to conform to Agency or 

Department requirements. 
 
35. The County reserves the right to order up to 10% more or 10% less than the quantities called for in the contract. 

This paragraph shall not apply to estimated quantity contracts. Over runs and under runs shall not exceed 10%. 
 
36. Unless terminated or cancelled by the Purchasing Manager pursuant to the authority vested in her, contracts will 

remain in force for the period specified. 
 
37. All purchase orders must be in writing and must bear the appropriate contract number and the approval of the 

Purchasing Manager. 
 
38. No commodities are to be shipped or delivered until after receipt of an official purchase order from the County, 

unless otherwise authorized in writing by the Purchasing Manager. 
 
39. The contractor shall not assign, transfer, convey, sublet or otherwise dispose of the contract or his/her right, title 

or interest therein or his/her power to execute such contract to any other person, company or corporation without 
the prior consent, in writing, of the Purchasing Manager. (Approval by the Purchasing Manager is not required for 
the assignment of monies due for contract deliveries. Such assignments should be filed directly with the 
Purchasing Manager.) 

 
40. No alteration or variation of the terms of the contract shall be valid or binding upon the County unless requested 

in writing and approved in writing by the Purchasing Manager. 
 
41. Contractor shall employ no one in relation to the work contemplated by the contract who shall be permitted or 

required to work more than eight (8) hours in any one calendar day or more than five (5) days in any one week 
except in cases of extraordinary emergency caused by war, acts of public enemies, strikes, fire, flood or danger 
to life or property and the wages to be paid to employees for a legal day's work shall not be less than the 
prevailing New York State wage rates for a day's work in the same trade or occupation in the locality where the 
contract work is executed. 

 
42. Pursuant to the provision of Section 220-A of the New York State Labor Law, as amended, the Contractor (and 

his/her Sub-Contractors) will be obligated to pay all workers in the covered classes the applicable prevailing 
wage rates and supplements. The minimum hourly wage rate to be paid the various classes of labor performing 
work under this contract shall be in accordance with schedules which have been established or may hereafter be 
established or increased, by the New York State Department of Labor during the contract term. 

 
DELIVERY 

 
43. Delivery must be made as ordered and in accordance with the terms of the contract. Unless otherwise specified, 

delivery shall be made within thirty (30) days of receipt of purchase orders by the contractor. The decision of the 
Purchasing Manager as to reasonable compliance with delivery terms shall be final. Burden of proof of delay in 
receipt of purchase order shall rest with contractor. 

 
44. Any extension of time of delivery must be requested in writing by the contractor and approved in writing by the 

Purchasing Manager. 
 
45. The Departments will not schedule any deliveries for Saturdays, Sundays or legal holidays, except commodities 

required for daily consumption or where the delivery is an emergency, a replacement or is overdue, in which 
events the convenience of the County will govern. 

 
46. Commodities shall be securely and properly packed for shipment, storage and stocking in new shipping 

containers and according to accepted commercial practice, without extra charge for packing cases, baling or 
sacks. The container shall remain the property of the County unless otherwise specifically agreed to in the 
contract. 

 
47. Point of Destination: All deliveries shall be unloaded at the storeroom door of the ordering Agency or department 

unless otherwise stated in the proposal or specification. 
 
48. Commodities purchased at a price, f.o.b. shipping point plus transportation charge, are understood to be 

purchased on an f.o.b. point of destination basis. Title shall not pass until commodities have been received and 
accepted by the Agency or Department. 

 



 
 

 
 
 
49. When commodities are rejected with notice of such rejection having been provided to the bidder, they must be 

removed by the contractor from the premises of the Department or Agency within five (5) days from notification. 
Rejected items left longer than five (5) days will be regarded as abandoned and the County shall have the right to 
dispose of them as its own property. 

DEPOSITS 
 

50. Unless otherwise expressly indicated, specification deposits are returned only to those prospective contractors 
who actually submit proposals to the County of Monroe and have returned their specifications unmarked and in 
good condition within 30 days of the bid award. 

 
51. Unless otherwise expressly indicated, bid deposits are considered an earnest of good faith and are retained by 

the County only until a contract has been awarded; at which time they are returned to all bidders who submitted 
proposals. Failure, on the part of a contractor, to execute a contract, may result in forfeiture of his/her bid 
deposit.  

PAYMENTS 
 
52. Payments will be made by the Controller after presentation of a completed voucher to the ordering Department 

or Agency. 
 
53. In any case where a question of non-performance of a contract arises, payment may be withheld in whole or in 

part at the discretion of the Purchasing Manager. Should the amount withheld be finally paid, a cash discount 
originally offered may be taken by the County as if no delay in payment had occurred. 

 
54. Any claim against a contractor may be deducted by the County from any money due him in the same or other 

transactions. If no deduction is made in such fashion the contractor shall pay the County the amount of such 
claim on demand. Submission of a voucher and payment thereof by the County shall not preclude the 
Purchasing Manager from demanding a price adjustment in any case where the commodity delivered is later 
found to deviate from the specification and proposal. Any delivery made which does not meet the requirements 
of the specifications and proposal may be rejected or accepted on an adjusted price basis as determined by the 
Purchasing Manager. 

 
55. Tax Provisions: Purchases made by the County of Monroe are not subject to State or Local sales taxes or 

Federal Excise taxes. To satisfy the requirements of the New York State Sales Tax, either the purchase order 
issued by an agency or institution of New York State for supplies or equipment or the voucher forwarded to 
authorize payment for such supplies and equipment will be sufficient evidence that the sale by a contractor or 
vendor was made to the County of Monroe, an exempt organization under section 1116 (a) (I) of the Tax Law.  
Exemption certificates for Federal Excise taxes will be furnished upon request by the Purchasing Division. No 
person, firm or corporation is, however, exempt from paying the New York State Truck Mileage and 
Unemployment Insurance or the Federal Social Security Taxes. This exemption does not apply to materials not 
incorporated into the work of a Public Works Contract. 

 
GUARANTEES BY CONTRACTOR 

 
56. Contractor hereby guarantees: 
 

(a) To save the County, its agents and employees, harmless from any liability imposed upon the County 
arising from the negligence, either active or passive, of the contractor, as well as for the use of any 
copyrighted or uncopyrighted composition, secret process, patented or unpatented invention, article or 
appliance furnished or used in the performance of the contract of which the contractor is not the 
patentee, assignee or licensee. 

 
(b) To pay for all permits, New York licenses and fees and gives all notices and complies with all laws, 

ordinances, rules and regulations. 
 

(c) That the equipment offered is standard new equipment, latest model of regular stock product with all 
parts regularly used with the type of equipment offered; also, that no attachment or part has been 
substituted or applied contrary to manufacturer's recommendations and standard practice. Every unit 
delivered must be guaranteed against faulty material and workmanship for a period of one year unless 
otherwise specified. 

 
57. Waiver of Immunity Clause: 
 



 
 

103-a. Ground for cancellation of contract by municipal corporations and fire districts. 
 
 
 
A clause shall be inserted in all specifications or contracts made or awarded by a municipal corporation or any 
public department, agency or official thereof on or after the first day of July, nineteen hundred fifty-nine or by a 
fire district or any agency or official thereof on or after the first day of September, nineteen hundred sixty, for 
work or services performed or to be performed or goods sold or to be sold, to provide that upon the refusal of a 
person, when called before a grand jury, head of a state department, temporary state commission or other state 
agency, the organized crime task force in the department of law, head of a city department or other city agency, 
which is empowered to compel the attendance of witnesses and examine them under oath, to testify in an 
investigation concerning any transaction or contract had with the state, any political subdivision thereof, a public 
authority or with any public department, agency or official of the state or of any political subdivision thereof or of a 
public authority, to sign a waiver of immunity against subsequent criminal prosecution or to answer any relevant 
question concerning such transaction or contract. 

 
(a) such person and any firm, partnership or corporation of which he is a member, partner, Purchasing 

Manager or officer shall be disqualified from thereafter selling to or submitting bids to or receiving 
awards from or entering into any contracts with municipal corporation or fire district or any public 
department, agency or official thereof, for goods, work or services, for a period of five years after such 
refusal and to provide also that 

 
(b) any and all contracts made with any municipal corporation or any public department, agency or official 

thereof on or after the first day of July, nineteen hundred fifty-nine or with any fire district or any agency 
or official thereof on or after the first day of September, nineteen hundred sixty, by such person and by 
any firm, partnership or corporation of which he is a member, partner, Purchasing Manager or officer 
may be cancelled or terminated by the municipal corporation or fire district without incurring any penalty 
or damages on account of such cancellation or termination but any monies owing by the municipal 
corporation or fire district for goods delivered or work done prior to the cancellation or termination shall 
be paid. 

 
The provisions of this section as in force and effect prior to the first day of September, nineteen 
hundred sixty, shall apply to specifications or contracts made or awarded by a municipal corporation on 
or after the first day of July, nineteen hundred fifty-nine but prior to the first day of September, nineteen 
hundred sixty. 

 
 103-b.  Disqualification to contract with municipal corporations and fire districts. 
 

Any person who, when called before a grand jury, head of a state department, temporary state 
commission or other state agency, the organized crime task force in the department of law, head of a 
city department or other city agency, which is empowered to compel the attendance of witnesses and 
examine them under oath, to testify in an investigation concerning any transaction or contract had with 
the state, any political subdivision thereof, a public authority or with a public department, agency or 
official of the state or of any political  subdivision thereof or of a public authority, refuses to sign a 
waiver of immunity against subsequent criminal prosecution or to answer any relevant question 
concerning such transaction or contract and any firm, partnership or corporation of which he is a 
member, partner, Purchasing Manager or officer shall be disqualified from thereafter selling to or 
submitting bids to or receiving awards from or entering into any contracts with any municipal 
corporation or fire district or with any public department, agency or official thereof, for goods, work or 
services, for a period of five years after such refusal or until a disqualification shall be removed 
pursuant to the provisions of section one hundred three-c of this article. 
 
It shall be the duty of the officer conducting the investigation before the grand jury, the head of a state 
department, the chairman of the temporary state commission or other state agency, the organized 
crime task force in the department of law, the head of a city department or other city agency before 
which the person so refusing is known to be a member, partner, officer or Purchasing Manager, to the 
commissioner of transportation of the state of New York and the appropriate departments, agencies 
and officials of the state, political subdivisions thereof or public authorities with whom the person so 
refusing and any firm, partnership or corporation of which he is a member, partner, Purchasing 
Manager or officer, is known to have a contract. However, when such refusal occurs before a body 
other than a grand jury, notice of refusal shall not be sent for a period of ten days after such refusal 
occurs. Prior to the expiration of this ten day period, any person, firm, partnership or corporation which 
has become liable to the cancellation or termination of a contract or disqualification to contract on 
account of such refusal may commence a special proceeding at a special term of the supreme court, 
held within the judicial district in which the refusal occurred, for an order determining whether the 



 
 

questions in response to which the refusal occurred were relevant and material to the inquiry. Upon the 
commencement of such proceeding, the sending of such notice of refusal to answer shall be subject to 
order of the court in which the proceeding was brought in a manner and on such terms as the court 
may deem just. If a proceeding is not brought within ten days, notice of refusal shall thereupon be sent 
as provided herein. 

 
 103-d.  Statement of non-collusion in bids and proposals to political subdivision of the state. 
 

(FN1)  Every bid or proposal hereafter made to a political subdivision of the state or any public department, 
agency or official thereof where competitive bidding is required by statute, rule, regulation or local law, 
for work or services performed or to be performed or goods sold or to be sold, shall contain the following 
statement subscribed by the bidder and affirmed by such bidder as true under the penalties of perjury: 
Non-collusive bidding certification. 

 
(a) “By submission of this bid, each bidder and each person signing on behalf of any bidder certifies and in 

the case of a joint bid each party thereto certifies as to its own organization, under penalty of perjury, 
that to the best of knowledge and belief: 

 
(1) The prices in this bid have been arrived at independently without collusion, consultation, 

communication or agreement, for the purpose of restricting competition, as to any matter 
relating to such prices with any other bidder or with any competitor; 

 
(2) Unless otherwise required by law, the prices which have been quoted in his/her bid have not 

been knowingly disclosed by the bidder and will not knowingly be disclosed by the bidder prior 
to opening, directly or indirectly to any other bidder or to any competitor and; 

 
(3) No attempt has been made or will be made by the bidder to induce any other person, 

partnership or corporation to submit or not to submit a bid for the purpose of restricting 
competition. 

 
(b) A bid shall not be considered for award nor shall any award be made where (a) (1) (2) and (3) above 

have not been complied with; provided however, that if in any case the bidder cannot make the 
foregoing certification, the bidder shall so state and shall furnish with the bid a signed statement which 
sets forth in detail the reasons therefore. Where (a) (1) (2) and (3) above have not been complied with, 
the bid shall not be considered for award nor shall any award be made unless the head of the 
purchasing unit of the political subdivision, public department, agency or official thereof to which the bid 
is made or his/her designee, determines that such disclosure was not made for the purpose of 
restricting competition. 

 
The fact that a bidder (a) has published price lists, rates or tariffs covering items being procured, (b) 
has informed prospective customers of proposed or pending publication of new or revised price lists for 
such items or; 

 
(c) Has sold the same items to other customers at the same prices being bid, does not constitute, without 

more, a disclosure within the meaning of subparagraph one (a). 
 

Any bid hereafter made to any political subdivision of the state or any public department, agency or 
official thereof by a corporate bidder for work or services performed or to be performed or goods sold or 
to be sold, where competitive bidding is required by statute, rule, regulation or local law and where such 
bid contains the certification referred to in subdivision one of this section, shall be deemed to have been 
authorized by the board of Purchasing Managers of the bidder and such authorization shall be deemed 
to include the signing and submission of the bid and the inclusion therein of the certificate as to non-
collusion as the act and deed of the corporation. 

 
58. Anti-discrimination Clause: During the performance of this contract, the contractor agrees as follows: 
 

(a) The contractor will not discriminate against any employee because of race, creed, color, sex or national 
origin and will take affirmative action to insure that they are afforded equal employment opportunities 
without discrimination because of race, creed, color, sex or national origin. Such action shall be taken 
with reference but not be limited to: recruitment, employment, job assignment, promotion, upgrading, 
demotion, transfer, layoff or termination, rates of pay or other forms of compensation and selection for 
training or retraining, including apprenticeship and on-the job training. 

 
 (b) The contractor will send to each labor union or representative of workers with which he has or is bound 

by a collective bargaining or other agreement or understanding, a notice, to be provided by the New 



 
 

York State Division for Human Rights, advising such labor union or representative of the contractor's 
agreement under clauses (a) through (g) hereinafter called "non-discrimination clauses"). If the 
contractor was directed to do so by the contracting agency as part of the bid or negotiation of this 
contract, the contractor shall request such labor union or representative to furnish him with a written 
statement that such labor union or representative will not discriminate because of race, creed, color, 
sex or national origin and that such labor union or representative either will affirmatively cooperate, 
within the limits of its legal and contractual authority, in the implementation of the policy and provisions 
of these non-discrimination clauses or that it consents and agrees that recruitment, employment and 
the terms and conditions of employment under this contract shall be in accordance with the purposes 
and provisions of these non-discrimination clauses. If such labor union or representative fails or refuses 
to comply with such a request that it furnish such a statement, the contractor shall promptly notify the 
New York State Division of Human Rights of such failure or refusal. 

 
 (c) The contractor will post and keep posted in conspicuous places, available to employees and applicants 

for employment, notices to be provided by the New York State Division of Human Rights setting forth 
the substance of the provisions of clauses (a) and (b) and such provisions of the State's laws against 
discrimination as the New York State Division of Human Rights shall determine. 

 
(d) The contractor will state, in all solicitations or advertisements for employees placed by or on behalf of 

the contractor, that all qualified applicants will be afforded equal employment opportunities without 
discrimination because of race, creed, color, sex or national origin. 

 
(e) The contractor will comply with the provisions of the Human Rights Law of the State of New York as set 

forth in section 290-301 of the Executive Law of New York, will furnish all information and reports 
deemed necessary by the State Division for Human Rights under these non-discrimination clauses and 
such sections of the Executive Law and will permit access to his/her books, records and accounts by 
the State Division for Human Rights, the Attorney General and the Industrial Commissioner for 
purposes of investigation to ascertain compliance with these non-discrimination clauses and such 
sections of the Executive Law and applicable Federal Civil Rights Laws. 

 
(f) This contract may be forthwith cancelled, terminated or suspended, in whole or in part by the 

contracting agency upon the basis of a finding made by the New York State Division for Human Rights 
that the contractor has not complied with these non-discrimination clauses and the contractor may be 
declared ineligible for future contracts made by or on behalf of the State or a public authority or agency 
of the State, until he/she satisfies the New York State Division for Human Rights that he/she has 
established and is carrying out a program in conformity with the provisions of these non-discrimination 
clauses. Such finding shall be made by the New York State Division for Human Rights after conciliation 
efforts by the Commission have failed to achieve compliance with these non-discrimination clauses and 
after a verified complaint has been filed with the Division, notice thereof has been given to the 
contractor and an opportunity has been afforded him/her to be heard publicly before three members of 
the Division. Such sanctions may be imposed and remedies invoked independently of or in addition to 
sanctions and remedies otherwise provided by law. 

 
(g) The contractor will include the provisions of clauses (a) through (f) in every subcontract or purchase 

order in such a manner that such provisions will be binding upon each subcontractor or vendor as to 
operations to be performed within the State of New York. The contractor will take such action in 
enforcing such provisions of such subcontract or purchase order as the contracting agency may direct; 
including sanctions or remedies for non-compliance. If the contractor becomes involved in or is 
threatened with litigation with a subcontractor or vendor as a result of such direction by the contracting 
agency, the contractor shall promptly so notify the Attorney General, requesting him to intervene and 
protect the interests of the State of New York. 

 
59.               Workmen's Compensation: Contractor will secure workman's compensation and keep insured during 

the life of the contract for the benefit of such employees as are required to be insured by the provisions 
of Chapter 41 of the laws of 1914, as amended, known as the Workmen's Compensation Law and also 
provisions of Article 9 of the Workmen's Compensation Law known as the Disability Benefits Law. The 
contract shall be void and of no effect unless the contractor complies with these provisions. 



 
 

CANCELLATION OF CONTRACT 
 

60. Upon failure of the contractor to deliver within the time specified or failure to make prompt replacement of 
rejected commodities when so requested, the Purchasing Manager may purchase from other sources to replace 
the commodity rejected or not delivered. On all such purchases, the contractor agrees to reimburse the County 
promptly for costs associated with purchasing from other sources. Should the cost be less than the contract 
price, the contractor shall have no claim to the difference. Such purchases may be deducted from contract 
quantity by the Purchasing Manager. 

 
61. A contract may be cancelled at the contractor's expense upon nonperformance of contract. 
 

DRAWINGS 
 
62. Rough and/or shop drawings shall be furnished as deemed necessary and required by the specification. Such 

drawings shall be consistent with the contract documents and shall be considered as forming part of the 
specification and the contract to which they relate. 

 
63. All lettering on the drawings shall be considered a part of the drawings. 
 
64. Approval by the Purchasing Manager of shop drawings of details for any commodity will not relieve the contractor 

from responsibility for furnishing same of proper dimension, size, quantity and quality to efficiently perform the 
work and carry out the requirements and intent of the layout or descriptive drawings forming part of the proposal 
and specifications. Such approval shall not relieve the contractor from responsibility for errors of any sort in the 
shop drawings. If the shop drawings deviate or are intended to deviate from the layout or descriptive drawings on 
specifications, the contractor shall so advise the Purchasing Manager in writing at the time the shop drawings are 
submitted, stating the difference in value between the contract requirements and that denoted by said shop 
drawings. 

 
65. Rough and/or shop drawings will be examined by the Purchasing Manager and if necessary, will be returned to 

the contractor for correction. After the corrections have been made, the contractor shall resubmit to the 
Purchasing Manager as many copies as required for final approval. 

 
66. All drawings and copies thereof shall become the property of the County. 
 

CONTRACTS INVOLVING INSTALLATION 
 
67. Contractor shall clean up and remove all debris and rubbish resulting from his/her work from time to time as 

required or directed. Upon completion of the work the premises shall be left in a neat unobstructed condition, the 
buildings broom clean and everything in satisfactory repair and order. 

 
68. Equipment, supplies and materials shall be stored at the site only upon the approval of the using Agency and at 

the contractor's risk. In general, such on-site storage should be avoided to prevent possible damage or loss of 
the material. 

 
69. Work shall be performed so as to cause the least inconvenience to the County and with proper consideration for 

the rights of other contractors or workmen. The contractor shall keep in touch with the entire operation and install 
his/her equipment promptly. 

 
70. Installation shall also include the furnishings of any rigging necessary to move equipment into the buildings; also 

the removal and resetting of any removable windows used for moving equipment into building. 
 
71. Bidders shall acquaint themselves with conditions to be found at the site and shall assume all responsibility for 

placing and installing the equipment in the locations required. 
 
72. All materials used in installation shall be of the highest quality and shall be free from all defects which would mar 

the appearance of the equipment or render it structurally unsound. 
 
73. Contractor shall furnish adequate protection from damage for all work and shall repair damages of any kind for 

which he/she or his/her workmen are responsible. 
 
  



 
 

SAVINGS CLAUSE 
 

74. The contractor shall not be responsible for any losses resulting from his/her failure to perform properly, if such 
failure was due to causes beyond his/her control and without his/her fault or negligence, including but not 
restricted to acts of God, wars, acts of public enemies, strikes, fires and floods, provided that the contractor shall 
within ten (10) days from the beginning of any such delay, notify the Purchasing Manager, in writing, of the cause 
of such delay. 

 
75. The terms, conditions and requirements set forth in these General Specifications shall be binding upon bidders 

and contractors submitting bids or furnishing materials in connection with proposals received or contracts 
awarded by the County pursuant to rules and regulations promulgated by the Purchasing Manager of the Monroe 
County Division of Purchasing and Central Services. 


	BP0807-13 (1)
	BP0807-13 (2)
	BP0807-13 (3)
	General Specs

